4d0d Sl

—
(Y| Tl 383
wwufla

ITS BORE



LL
oC
O
M
)
=

TABLE OF CONTENTS

SCEN ISCAR



ITSB0RE USER GUIDE

The ITS BORE System

Toolholders

SKA/SKB Page 390 EMH Page 398

SKA-FC

LL
o
O
M
9
=

Extensions and Reducers

/ EX Page 396
HSK RE
Nl ‘ Tr;:L: -
i -
CAMFIX RE AVI Page 397
CATM CHR Page 398
BT/BTB
BT-FC Pages 392-393 TP Page 400
N I
\ -
ISOM/ISO Page 393 TCS/TCC Page 401

R ”7

,,,,, e o

STy
T
|

see ISCAR MILLING
MTT/MTD Page 395 ODP LINES catalog pages
582,610,624, 650,668

EROT ).

— U

ST AMT Page 402
Eﬂ — J ___________
DIN2079 BLANK Page 402

Member IMC Group




LL
o
O
M
n
=

386

ITS50RE

The ITS BORE System

USER GUIDE

Rough Boring Heads

Fine Boring Heads (10 um)

BHR MB 16, 20, 25, 32, 40, 50, 63, 80

BHE MB 14, 16, 20, 25, 32, 40

(218-200) Page 404
|HPR IHSRBW CR LNHT

110000

IHCR IHBR IHSR BW| CR SOMT

(214.5-66) Page 418
IHWF E IHFF (E) IHRF IHRF CH IHRF BW

1

E

LOCH

005
~1<|0.01
Non0.002,

i

é

TCH AL 200, 300, 400, 500, 600, 700, 800

(2200-1200) Page 407

BT-FM
I
IHSR BW

‘ oy
‘ @m =
TCHH EX 100/300

s
Extension slides

IHPR  |IHBR

m
i

i3]
il

i ﬁ ﬁ ﬁ ﬂ
E
(22.5-22) Page 418

BHE MB-H 32, 50

JJ——' PICCO ACE BH

BHE MB 50, 63, 80

Rough & Fine Boring Heads

BHC MB 25, 32, 40, 50, 63, 80

(228-120) Page 411
IHSR C

(22.5-30)
SLEEVE — ___IHAXF
‘ T
ﬁ@g y QT IHAXF EE-@ IHAXF-E
“e38 H)Q
ok z 11 e S S ——
PICCO ACE BH JEAXE=AV]
BHEH
E
‘ L
(228-56)
hi—|
T fa)
e T
5 Qg&&
ol m| T T
(240-90)
T Wil
g Lg
(254-132)
IHWF E IHFF (E) IHRF IHRF CH IHRF BW
I Ol
~o.5.§. § 07
e
(272-200)

cw b
IHFF

IHRF

IHRF BW

Pages 418-422

ISCAR




ITSB0RE USER GUIDE

The ITS BORE System

Fine Boring Heads (2 pm) BHF MB 50, 63, 80

BHF MB 16, 20, 25, 32, 40 (277-500) Pages 429-431,432
IHFF IHRF  IHRF CH IHRF BW

(218-63) Page 425
I IHFF_ IHRFCH  I|HRF BW

LL
o
O
M
9
=

| BHFH
IHFF
BHF MB 50-BL @
(22.5-22) Pages 42342427 . : <
SLEEVE —
@ ] BBH
p 4
FE! @3, IHAXF-E = Jj_
i IHAXF
1553 L e
o 5 -
f;g% ] SLEEVE
£ L IHAXE...
= ol e
d@ﬁ s
ADBH
J;r_ PICCO ACE BH
PICCO ACE BH b
BHF MB 50-50X60 #ﬂﬂ
ADBH
(22.5-30) ‘ J
; TCH AL 200, 300, 400, 500, 600, 700, 800
(200-1200) Page 438
Lol W IHFF50
\ q]
- j ﬁ IHRF50
' ? BHF/D L200
T | e IHRF-BW
‘ i ==
' picco ACE BH
<4
" | cw200
(228-54) DIN69871 -FM]
BHD 32, 40, 50, 63, 80
Pages 414-417
~—L— HFF@®
L IHRE CH BHEH
= |—-— —
= . : %F IHRF IHRF BW
T I\
=l 1= s EE
(254-108) 7 LA

d2 BBH

IHAXE IHFF

IHRF IHRF
IHRF CH
IHRF BW
. -I =]
f m

pages 425428

Member IMC Group




LL
o
O
M
n
=

388

ITS50RE

ITS BORE Boring Heads Selection Guide

USER GUIDE

MB 14 16 20 25 32 40 50 63 80
Size
BHR BHR BHR BHR BHR BHR BHR BHR
N MB16-16 [MB20-20 |MB25-25 |MB32-32 MB40-40 (MB50-50 ©68-90 |MB63-63 MB80-80 ©120-200 Roughing
©018-22 |022-28 |(J28-38 |35.5-50 050-68 |MB50-63 ¥90-120 |©90-120
O =
=
o
[
Page 404 |Page 404 |Page 404 |Page 404 |Page 404 | Page 404 Page 404 |Page 404
BHC BHC BHC BHC BHC BHC
MB25-25 (MB32-32 MB40-40 (MB50-50 ©60-75 |MB63-63 (MB80-80 ©95-120
H o 036-46
£ i
ir B=
+ g
= o0 nse 3
o) o 4 :
g Q o 2
3 [ ]
T [f=smied)
Page 411 |Page 411 Page 411 |Page 411 Page 411 Page 407
BHE BHE BHE BHE BHE BHE BHE BHE BHE
MB14-14 (MB16-16 |MB20-20 |MB25-25 [MB32-32 MB40-40 (MB50-50 ©2.5-110|MB63-63 |MB80-80 TCH AL200 ©200-602
714.5-18 |018-24 |022-30 ©6-125 |J6-200 TCH AL300 @300-702

235-53

TCH AL400 ©400-802
TCH AL500 ©500-902
TCH AL600 ©600-
1002 TCH AL700
2700-1102 TCH
AL800 ©800-1202

Page 418|Page 418 |Page 418 |Page 418|Page 418 |Page 418 |Page 418 Page 418 |Page 418 ) Finishing
BHE BHE BHD50 L200
MB32- MB50-50...H ©200-1202
o 32..H 02.5-22
02.5-18
o) i —
Page 418 Page 418 Page 437
BHF BHF BHF BHF MB50-50 BHF BHF BHF
MB20-20 |MB25-25 |MB32-32 ©2.5-108 BHF MB63-63 |IMB80-80 |MB80-125
022-29 |28-38 |035.5-50 MB50-80 @2.5- ©2.5-125 (2.5-160 |&135-500

Finish

7

160 BHF MB50-63

= BHF L200
v 2200 -1202
Page 425 |Page 425 |Page 425|Page 425 |Page 425 |Page 425 Page 432 |Page 432 |Page 432 |Page 437
BHF BHF
MB50-32... MB50-50...
BL @2.5-12 :?
- %
Page 423 Page 423 Page I
BHD BHD BHD BHD
MB32-32- MB50-50X60 MB63- | MB80-80X104
83 135-51 02.5-110 63X89 26-200
26-125 %
e
8
fio
Page 414 |Page 414|Page 414 Page 414 |Page 414 A Page 438

ISCAR



ITSB0RE USER GUIDE

MB Connection

ITSBORE is a modular toolholder system for boring,

LL
o
O
M
n
=

milling, drilling and tapping. This rigid, high-precision § ) Tightening | Maximum
system is manufactured in one of the world's most S ) |om, | SZeAllen | Cp e Driving
advanced production facilities. The system is designed 2 Key (mm) (Nm) A Torque
with extreme flexibility and simplicity, making it a (Nm)
suitgble for machinle tools, machinipg centers and 2 110 55 505 20
flexible manufacturing systems. It is recommended
for machining strict tolerances with a high degree of 16 | 10 2.5 22,5 40
surface finish. Its cylindrical-conical coupling and 20 | 13 3 4-4.5 70
radial-expanding pin ensure maximum rigidity and 25 | 16 3 6.5-7.5 120
concentricity in boring and milling. The system has 32 | 20 4 7-8 200
an internal coolant supply in all components. 40 | 25 5 16-18 400
50 | 32 6 30-35 700
63 | 42 8 70-80 1600
80 | 42 8 70-80 1600
110| 76 14 200-220 6300

Member IMC Grou

7l 389




ITS50RE

SKA-MB

y

MB Modular Connection System
with DIN69871 Form AD/ADB
/1S07388/1 Taper Shanks

| 4
DCONWS BD

1

@Cutting edge position

LL
o
O
M
n
=

s oows  wen  w  w  ow B

SKA 30-MB32 30 32.00 30.00 10.5 - M12 0.40 HW 4.0
SKA 30-MB50 30 50.00 60.00 41.0 - M12 0.67 HW 6.0
SKA 40-MB40 40 40.00 45.00 26.0 - M16 0.94 HW 5.0
SKA 40-MB40X120 ADB 40 40.00 120.00 101.0 4450 M16 1.70 HW 5.0
SKA 40-MB50 40 50.00 48.00 29.0 - M16 0.99 HW 6.0
SKA 40-MB50X120 ADB 40 50.00 120.00 101.0 - M16 2.04 HW 6.0
SKA 40-MB63 40 63.00 80.00 61.0 - M16 1.52 HW 8.0
SKA 45-MB50 45 50.00 48.00 29.0 ° M20 1.77 HW 6.0
SKA 50-MB110X150 50 110.00 150.00 131.0 - M24 8.47 HW 10.0
SKA 50-MB50 50 50.00 48.00 29.0 - M24 2.82 HW 6.0
SKA 50-MB50X120 ADB 50 50.00 120.00 101.0 60.00 M24 4.03 HW 6.0
SKA 50-MB63 50 63.00 56.00 37.0 - M24 2.95 HW 8.0
SKA 50-MB63X150 ADB 50 63.00 150.00 131.0 70.00 M24 2.81 HW 8.0
SKA 50-MB80 50 80.00 62.00 43.0 ° M24 3.51 HW 8.0
SKA 50-MB80X180 ADB 50 80.00 180.00 161.0 - M24 7.90 HW 8.0
SKA 60-MB110X100 60 110.00 100.00 81.0 - M30 10.50 HW 10.0
SKA 60-MB110X200 60 110.00 200.00 181.0 - M30 18.00 HW 10.0
SKA 60 MB63X60 60 63.00 60.00 41.0 71.00 M30 9.47 HW 8.0
SKA 60-MB80X65 60 80.00 65.00 46.0 - M30 10.38 HW 8.0

o Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability e The coolant passages of holders with A/B suffix are plugged
with screws so they can be used either as SKA or SKB (through coolant).

ITS50RE

SKA-FC-MB SS L8

MB Modular Boring Connection
System with DIN 69871 Face
Contact ADB Tapered Shanks

by

DCONWS CRKS |-

'

Fig. 2
$s DCONWS LPR BD LB CRKS ig.
SKA 40 FC MB50 ADB 40 50.00 48.00 = 29.0 M16 1. 0.90 HW 6.0
SKA 40 FC MB50X120 ADB 40 50.00 120.00 = 101.0 M16 2. 1.70 HW 6.0
SKA 40 FC MB63 ADB 40 63.00 80.00 - - M16 1. 150 HW 8.0
SKA 50 FC MB50 ADB 50 50.00 48.00 = 29.0 M24 1. 2.70 HW 6.0
SKA 50 FC MB50X120 ADB 50 50.00 120.00 60.00 101.0 M24 2. 3.50 HW 6.0
SKA 50 FC MB63 ADB 50 63.00 56.00 = 37.0 M24 1. 2.80 HW 8.0
SKA 50 FC MB63X150 ADB 50 63.00 15000 75,50 1310 M24 2 5.00 HW 8.0
SKA 50 FC MB80 ADB 50 80.00 62.00 = 43.0 M24 1. 3.40 HW 8.0
SKA 50 FC MB80X180 ADB 50 80.00 180.00 - 161.0 M24 2 690 HW 8.0

ITS50RE

SKB-MB ==

F

MB Modular Connection System
with DIN69871 Form B (coolant
through flange) Taper Shanks

2

CRKS S - DCONWS

(@Cutting edge position

s oows T S

SKB 40-MB50 40 50.00 29.0 48.00 M16 1.04 HW 6.0
SKB 40-MB63 40 63.00 61.0 80.00 M16 1.56 HW 8.0
SKB 50-MB50 50 50.00 29.0 48.00 M24 291 HW 6.0
SKB 50-MB63 50 63.00 37.0 56.00 M24 3.07 HW 8.0
SKB 50-MB80 50 80.00 43.0 62.00 M24 3.60 HW 8.0

o Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability.

ISCAR




ITS50nRE

CATM-MB

MB Modular Boring Connection
System with CATM FORM

AD ANSIB5.5 Caterpillar
Tapered Shanks and Metric
Pull Stud Threads

y

(@Cutting edge position

[ 4

CATM 40 MB50
CATM 40 MB63

CATM 45 MB50
CATM 50 MB50
CATM 50 MB63
CATM 50 MB80

SS DCONWS LB LPR CRKS

40 50.00 47.0 66.00 M16 1.21 HW 6.0
40 63.00 ° 100.00 M16 1.91 HW 8.0
45 50.00 29.0 48.00 M20 1.83 HW 6.0
50 50.00 29.0 48.00 M24 3.06 HW 6.0
50 63.00 37.0 56.00 M24 3.08 HW 8.0
50 80.00 43.0 62.00 M24 3.38 HW 8.0

* Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability.

ITSB0RE o

HSK A-MB r

MB Modular Connection 7

System with DIN 69893

HySK A Taper Shanks DCCiNWS BD

@Cutting edge position

DCONMS DCONWS LB LPR BD @ § 4% /
HSK A40 MB32 40.00 32.00 28.0 48.00 0.32 COOLING TUBE HSK A40  WRENCH COOL TUBE HSK40* HW 4.0
HSK A50 MB50 50.00 50.00 = 66.00 0.69 COOLING TUBE HSK A50  WRENCH COOL TUBE HSK50* HW 6.0
HSK A63 MB40 63.00 40.00 34.0 60.00 - 0.92 COOLING TUBE HSK A63  WRENCH COOL TUBE HSK63* HW 5.0
HSK A63 MB40X120 63.00 40.00 94.0 120.00 46.00 1.60 COOLING TUBE HSK A63  WRENCH COOL TUBE HSK63* HW 5.0
HSK A63 MB50 63.00 50.00 40.0 66.00 - 1.04 COOLING TUBE HSK A63  WRENCH COOL TUBE HSK63* HW 6.0
HSK A63 MB50X120 63.00 50.00 94.0 120.00 1.06 COOLING TUBE HSK A63  WRENCH COOL TUBE HSK63* HW 6.0
HSK A63 MB63 63.00 63.00 = 75.00 1.15 COOLING TUBE HSK A63  WRENCH COOL TUBE HSK63* HW 8.0
HSK A80 MB50 80.00 50.00 44.0 70.00 1.61 COOLING TUBE HSKA80  WRENCH COOL TUBE HSK80* HW 6.0
HSK A80 MB63 80.00 63.00 54.0 80.00 1.50 COOLING TUBE HSK A 80 WRENCH COOL TUBE HSK80* HW 8.0
HSK A80 MB80 80.00 80.00 - 86.00 2.54 COOLING TUBEHSKA80  WRENCH COOL TUBE HSK80* HW 8.0
HSK A100 MB50 100.00 50.00 43.0 72.00 - 2.58 COOLING TUBE HSK A100  WRENCH COOL TUBE HSK100* HW 6.0
HSK A100 MB50X120 100.00 50.00 91.0 120.00 60.00 1.06 COOLING TUBE HSK A100  WRENCH COOL TUBE HSK100* HW 6.0
HSK A100 MB63 100.00 63.00 53.0 82.00 ® 2.86 COOLING TUBE HSK A100  WRENCH COOL TUBE HSK100* HW 8.0
HSK A100 MB63X150 100.00 63.00 121.0 150.00 70.00 4.71 COOLING TUBE HSK A100  WRENCH COOL TUBE HSK100* HW 8.0
HSK A100 MB80 100.00 80.00 59.0 88.00 3.60 COOLING TUBE HSK A100  WRENCH COOL TUBE HSK100* HW 8.0
HSK A100 MB80X180 100.00 80.00 151.0 180.00 6.50 COOLING TUBE HSK A100  WRENCH COOL TUBE HSK100* HW 8.0

* A cooling tube must be used with all coolant through HSK spindles e Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying

capability.
* Optional, should be ordered separately

ITSB0RE
HSK E-MB

MB Modular Connection System
with DIN 69893 E Taper Shanks

F

- DCONWS

l

@Cutting edge position

[ 4

HSK E40 MB32
HSK E50 MB50
HSK E63 MB50

DCONMS DCONWS LPR
40.00 32.00 42.00 0.30 HW 4.0
50.00 50.00 66.00 0.7 HW 6.0
63.00 50.00 66.00 1.87 HW 6.0

e A cooling tube must be used with all coolant through HSK spindles e Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying
capability.

LL
o
O
M
n
=

Member IMC Group
o=
L 4 11 ]




LL
o
O
M
n
=

ITS50RE

HSK F-MB

MB Modular Connection System
with DIN 69893 F Taper Shanks

!

— DCONWS

|

y

@Cutting edge position

DCONMS

DCONWS

LB

LPR

[

/

HSK F 63 MB50

63.00

50.00

39.0

65.00

1.00

HW 6.0

¢ A cooling tube must be used with all coolant through HSK spindles e Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying

capability.

ITS50RE

C#-MB

MB Modular Boring Connection

System with CAMFIX
Exchangeable Shanks

CAMFiIX

DCONMS

e

DCONWS DCONMS

|

Fig 2

il

DCONWS BD

b

LB

LPR

B ( &

D

C4 MB32X42
C4 MB40X45
C5 MB50X55
C6 MB40X50
C6 MB40X120
C6 MB50X55
C6 MB50X67
C6 MB50X120
C6 MB63X77
C8 MB50X60
C8 MB50X120
C8 MB63X70
C8 MB63X150
C8 MB80X75
C8 MB80X120

LPR LB BD Fig.
40.00 32.00 42.00 22.0 i, 0.30 HW4.0 COOLING TUBE C4* WRENCH COOL TUBE C4*
40.00 40.00 45.00 = ilo 0.40 HW 5.0  COOLING TUBE C4* WRENCH COOL TUBE C4*
50.00 50.00 55.00 = 1. 0.72 HW6.0 COOLING TUBE C5* WRENCH COOL TUBE C5*
63.00 40.00 50.00 28.0 ° lo 0.90 HW 5.0  COOLING TUBE C6* WRENCH COOL TUBE C6*
63.00 40.00 120.00 98.0 44,00 2, 1.50 HW 5.0  COOLING TUBE C6* WRENCH COOL TUBE C6*
63.00 50.00 55.00 33.0 50.00 2. 0.80 HW 6.0 COOLING TUBE C6* WRENCH COOL TUBE C6*
63.00 50.00 67.00 45.0 o i, 1.10 HW 6.0  COOLING TUBE C6* WRENCH COOL TUBE C6*
63.00 50.00 120.00 98.0 54.00 2, 1.90 HW 6.0  COOLING TUBE C6* WRENCH COOL TUBE C6*
63.00 63.00 77.00 = - 1. 1.54 HW8.0 COOLING TUBE C6* WRENCH COOL TUBE C6*
80.00 50.00 60.00 30.0 ° ilo 1.99 HW 6.0  COOLING TUBE C8* WRENCH COOL TUBE C8*
80.00 50.00 120.00 90.0 54.00 2, 2.80 HW6.0 COOLING TUBE C8* WRENCH COOL TUBE C8*
80.00 63.00 70.00 40.0 - 1. 2.16 HW8.0 COOLING TUBE C8" WRENCH COOL TUBE C8*
80.00 63.00 150.00 120.0 67.00 2. 4.00 HW 8.0  COOLING TUBE C8* WRENCH COOL TUBE C8*
80.00 80.00 75.00 = . 1lo 2.60 HW 8.0  COOLING TUBE C8* WRENCH COOL TUBE C8*
80.00 80.00 120.00 1l 4.30 HW 8.0 COOLING TUBE C8* WRENCH COOL TUBE C8*

* Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability.
* Optional, should be ordered separately

ITS50RE

BT-MB

MB Modular Connection
System with BT MAS-403
FORM AD/ADB Taper Shanks

y

i
DCONWS  BD
by

@Cutting edge position

BT30 MB32

BT30 MB50

BT40 MB40

BT40 MB40X120 ADB
BT40 MB50

BT40 MB50X120 ADB
BT40 MB63

BT45 MB50

BT50 MB50

BT50 MB50X120 ADB
BT50 MB63

BT50 MB63X150 ADB
BT50 MB80

BT50 MB80X180 ADB
BT50 MB110X140
BT60 MB110X110
BT60 MB110X200

O

ss DCONWS LB LPR BD CRKS ) /
30 32.00 10.6 32.00 M12 0.38 HW 4.0
30 50.00 38.6 60.00 M12 0.70 HW 6.0
40 40.00 18.0 45.00 - M16 0.99 HW 5.0
40 40.00 93.0 120.00 44,50 M16 1.78 HW 5.0
40 50.00 21.0 48.00 - M16 1.00 HW 6.0
40 50.00 93.0 120.00 M16 2.08 HW 6.0
40 63.00 39.0 66.00 M16 1.35 HW 8.0
45 50.00 29.0 62.00 M20 2.32 HW 6.0
50 50.00 28.0 66.00 - M24 3.78 HW 6.0
50 50.00 82.0 120.00 60.00 M24 4.64 HW 6.0
50 63.00 37.0 75.00 - M24 3.98 HW 8.0
50 63.00 112.0 150.00 70.00 M24 5.85 HW 8.0
50 80.00 37.0 75.00 M24 4.30

50 80.00 142.0 180.00 M24 8.19 HW 8.0
50 110.00 102.0 140.00 M24 6.80 HW 10.0
60 110.00 63.0 110.00 M30 11.50 HW 10.0
60 110.00 152.0 200.00 M30 18.10 HW 10.0

* Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability.

ISCAR




ITS50nRE

BT-FC-MB

MB Modular Boring System
with BT MAS-403 Face Contact
ADB Tapered Shanks

L DCONWS BD

Pt

SS DCONWS LPR BD LB Fig.
BT30 FC MB50 30 50.00 60.00 32.0 1.
BT40 FC MB50 40 50.00 48.00 21.0 1. 0.90 HW 6.0
BT40 FC MB50X120 ADB 40 50.00 120.00 93.0 2. 1.90 HW 5.0
BT40 FC MB63 40 63.00 66.00 - 1. 1.20 HW 8.0
BT50 FC MB50 50 50.00 66.00 - 28.0 1. 3.30 HW 6.0
BT50 FC MB50X120 ADB 50 50.00 120.00 60.00 82.0 2. 4.20 HW 6.0
BT50 FC MB63 50 63.00 75.00 - 37.0 1. 3.70 HW 8.0
BT50 FC MB63X150 ADB 50 63.00 150.00 70.00 112.0 2. 5.80 HW 8.0
BT50 FC MB80 50 80.00 75.00 - 37.0 1. 4.00 HW 8.0
BT50 FC MB80X180 ADB 50 80.00 180.00 142.0 2. 7.50 HW 8.0
ITS50RE
BTB-MB r
MB Modular Connection
System with BT MAS-403
Type B Taper Shanks
(@Cutting edge position
5 mmme  E o B %
BTB40 MB50 40 50.00 21.0 48.00 M16 0.96 HW 6.0
BTB40 MB63 40 63.00 - 66.00 M16 1.34 HW 8.0
BTB50 MB50X66 50 50.00 28.0 66.00 M24 3.89 HW 6.0
BTB50 MB63X75 50 63.00 37.0 75.00 M24 4.00 HW 8.0
BTB50 MB80 50 80.00 37.0 75.00 M24 4.30 HW 8.0

o Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability.

ITSB0RE
ISOM-MB

MB Modular Connection System
with DIN 2080-A Taper Shanks

! Ki
DCONWS

1

(aCutting edge position

] 4

ISOM 30-MB50
ISOM 40-MB50
ISOM 40-MB63
ISOM 45-MB50
ISOM 50-MB50
ISOM 50-MB63
ISOM 50-MB80

SS DCONWS LB LPR CRKS

30 50.00 - 58.00 M12 0.78 HW 6.0
40 50.00 36.0 48.00 M16 0.95 HW 6.0
40 63.00 - 60.00 M16 1.34 HW 8.0
45 50.00 33.0 48.00 M20 1.81 HW 6.0
50 50.00 33.0 48.00 M24 2.82 HW 6.0
50 63.00 41.0 56.00 M24 3.04 HW 8.0
50 80.00 45.0 60.00 M24 3.60 HW 8.0

¢ Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability.

ITSBGRE
ISO-MB

MB Modular Connection System
with ISO 297 Taper Shanks

(@ .

F

r DCONWS

@Cutting edge position

[ 4

ISO 40-MB50
1SO 40-MB63

1ISO 50-MB50
1ISO 50-MB63
1ISO 50-MB80

SS DCONWS LB LPR CRKS

40 50.00 36.0 48.00 UNC 5/8"-11 1.03 HW 6.0
40 63.00 - 60.00 UNC 5/8"-11 1.36 HW 8.0
50 50.00 33.0 48.00 UNC 1.0"-8 2.83 HW 6.0
50 63.00 41.0 56.00 UNC 1.0"-8 2.94 HW 8.0
50 80.00 45.0 60.00 UNC 1.0"-8 3.56 HW 8.0

* Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability.

Member IMC Grou

ITS BORE

T Al 393




ITSB0nRE
ST-MB

MB Modular Connection System T
with Straight Cylindrical Shanks DOONMS

| DCONWS

@Cutting edge position

LL
o
O
M
n
=

wows ocows o o ow  r B

ST 16-MB16 16.00 16.00 100.00 66.0 1 1 0.15 HW 2.5
ST 20-MB20 20.00 20.00 125.00 85.0 1 1 0.27 HW 3.0
ST 25-MB32 25.00 32.00 100.00 35.0 0 2 0.41 HW 4.0
ST 32-MB50 32.00 50.00 140.00 60.0 0 2 0.42 HW 6.0
o Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability.
() Maximum overhang
(2 0 - Without coolant supply, 1 - With coolant supply
ST-MB Straight Carbide Shank with MB Connection Assembly Options
ST16-32 MB16-MB32 Diameter Range: 18-50 mm
Rear Connection HSK - Hydraulic Chuck HSK Rear Connection
HSK HSK
DIN
BT DIN
BT
CAMFIX O CAMFIX

MAXIN Power Chuck

ER Collet Chuck

je——— —— 7 = =

|
Straight Carbide Shank

ST 16-32

BHF MB 16-32

Rough Boring Head

BHR-MB 16-32
18-50 Dia. Range

CC-MB-ER

IHRF 16-32
IHFF 25-32

—_—

@)

|
|
BHF-MB
Fine Boring Heads
18-50 Dia. Range

ER Collet Chuck

IHSR 18-50 1/

IHCR 28-50 m\?/

IHPR 36-50 ( / )

ISCAR




ITS50RE

ST-MB-E Lo ”lﬁ

je—— LF (assembly)

MB Modular Connection System h v 5
with Cylindrical Carbide Shanks (51000 N[V )N Y - |
) ool
OAL " |DCONWS

ITS BORE

Q
wows _ooows o - e f (

ST 16-MB16X110E 16.00 16.00 110.00 144.00 100.0 0.28 HW 2.5
ST 16-MB16X140E 16.00 16.00 140.00 174.00 125.0 0.17 HW 2.5
ST 16-MB16X170E 16.00 16.00 170.00 204.00 160.0 0.42 HW 2.5
ST 20-MB20X135E 20.00 20.00 135.00 175.00 125.0 0.40 HW 3.0
ST 20-MB20X170E 20.00 20.00 170.00 210.00 160.0 0.69 HW 3.0
ST 20-MB20X210E 20.00 20.00 210.00 250.00 200.0 0.40 HW 3.0
ST 25-MB25X160E 25.00 25.00 160.00 210.00 160.0 0.40 HW 3.0
ST 25-MB25X205E 25.00 25.00 205.00 255.00 200.0 1.28 HW 3.0
ST 25-MB25X255E 25.00 25.00 255.00 305.00 250.0 1:55 HW 3.0
ST 32-MB32X195E 32.00 32.00 195.00 258.00 200.0 1.96 HW 4.0
ST 32-MB32X250E 32.00 32.00 250.00 313.00 250.0 2.50 HW 4.0
ST 32-MB32X315E 32.00 32.00 315.00 378.00 320.0 3.30 HW 4.0
o Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability.

ITSB0RE =
MTT-MB : Tt
MB Modular Connection ’ ] !
System with DIN 228/B 1806 q,,i,ei,,, 777777 —| DCONWS
Morse Taper Shanks l
‘ < LPR— ]
LA @Cutting edge position

Tt° DCONWS LPR é /
MTT 5-MB63 MT5 63.00 65.00 2.16 HW 8.0

¢ Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability.

ITSoOR=

y

MTD-MB

MB Modular Connection
System with DIN 228/A 220
Morse Taper Shanks

(@Cutting edge position

%
MTD 4-MB50 MT4 50.00 63.00 Mi6 093 HW 6.0
MTD 4-MB50 SIP MT4 50.00 63.00 M14 098 HW 6.0

* Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability.

Member IMC Group

(T | Tl 395



WA ITS50nRE THID LSCMS_, ¢ -
M@ DIN2079-MB —
O MB Modular Connection T T 1 T
System with DIN 2079 Spindle BD_2 DCONMS Lyl pconws BD
MA@ Connecting Interface l T—r i
@p) e
LF  DCONWS LSCMS LB BD BD.2 DCONMS DBC  THID 5] /
DIN2079 MB50 40 35.00 50.00 10.00 210 90.00 110.00 88.89 66.70 M12 1.96 HW 6.0
DIN2079 MB63 40 47.00 63.00 10.00 31.0 90.00 110.00 88.89 66.70 M12 2.06 HW 8.0
DIN2079 MB63 50 45.00 63.00 12.00 31.0 135.00 150.00 128.57 101.60 M16 4.60 HW 8.0
DIN2079 MB80 50 50.00 80.00 12.00 36.0 135.00 150.00 128.57 101.60 M16 5.00 HW 8.0

e Standard connection plate that can be assembled easily on most CNC spindle machines with a DIN2079 interface. This connection plate enables the use of ITS BORE
components with the MB connection by using any standard adapter with four screws. It is affixed directly on the machine spindle.

ITS50RE

EX-MB

Extensions for the MB Modular
Connection System

)

EX 14X25-MB14 14.00 25.00 14.00 0.04
EX 16X25-MB16 16.00 25.00 16.00 0.06
EX 20X32-MB20 20.00 32.00 20.00 0.09
EX 25X25-MB25 25.00 25.00 25.00 0.10
EX 25X40-MB25 25.00 40.00 25.00 0.16
EX 32X32-MB32 32.00 32.00 32.00 0.20
EX 32X50-MB32 32.00 50.00 32.00 0.31
EX 40X40-MB40 40.00 40.00 40.00 0.39
EX 40X63-MB40 40.00 63.00 40.00 0.61
EX 50X50-MB50 50.00 50.00 50.00 0.70
EX 50X80-MB50 50.00 80.00 50.00 1.20
EX 50X100-MB50 50.00 100.00 50.00 1.63
EX 63X63-MB63 63.00 63.00 63.00 1.49
EX 63X100-MB63 63.00 100.00 63.00 2.39
EX 63X125-MB63 63.00 125.00 63.00 2.99
EX 80X80-MB80 80.00 80.00 80.00 3.10
EX 80X125-MB80 80.00 125.00 80.00 490
EX 80X160-MB80 80.00 160.00 80.00 6.25
EX 110X140-MB110 110.00 140.00 110.00 10.45
EX 110X200-MB110 110.00 200.00 110.00 14.30

o Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability.

SN ISCAR




ITSB0RE LL]
RE MB-MB %’i oC
Reducers for the MB Modular
Connection System ]t O
1- DCONWS [l
@p)
|_
. [
RE MB16-MB14X24 16.00 14,00 25.00 19.5 0.04
RE MB20-MB14X19 20.00 14.00 20.00 14.5 0.03
RE MB20-MB16X20 20.00 16.00 20.00 16.0 0.06
RE MB25-MB14X19 25.00 14.00 20.00 13.5 0.06
RE MB25-MB16X20 25.00 16.00 20.00 15.0 0.08
RE MB25-MB20X25 25.00 20.00 25.00 20.0 0.09
RE MB32-MB14X25 32.00 14.00 25.00 17.5 0.08
RE MB32-MB16X24 32.00 16.00 24.00 18.0 0.13
RE MB32-MB20X25 32.00 20.00 25.00 20.0 0.14
RE MB32-MB25X28 32.00 25.00 28.00 23.0 0.16
RE MB40-MB14X25 40.00 14.00 25.00 16.5 0.23
RE MB40-MB16X24 40.00 16.00 24,00 17.0 0.22
RE MB40-MB20X26 40.00 20.00 26.00 20.0 0.23
RE MB40-MB25X28 40.00 25.00 28.00 22.0 0.26
RE MB40-MB32X32 40.00 32.00 32.00 27.0 0.29
RE MB50-MB14X25 50.00 14.00 25.00 14.5 0.40
RE MB50-MB14X39 50.00 14.00 39.00 30.5 0.42
RE MB50-MB16X24 50.00 16.00 24,00 15.0 0.39
RE MB50-MB16X40 50.00 16.00 40.00 31.0 0.41
RE MB50-MB16X74 50.00 16.00 74.00 65.0 0.47
RE MB50-MB20X26 50.00 20.00 26.00 18.0 0.40
RE MB50-MB20X70 50.00 20.00 70.00 62.0 0.50
RE MB50-MB20X93 50.00 20.00 93.00 85.0 0.56
RE MB50-MB25X117 50.00 25.00 117.00 110.0 0.68
RE MB50-MB25X28 50.00 25.00 28.00 21.0 0.42
RE MB50-MB25X87 50.00 25.00 87.00 80.0 0.64
RE MB50-MB32X144 50.00 32.00 144,00 137.0 1.09
RE MB50-MB32X32 50.00 32.00 32.00 25.0 0.46
RE MB50-MB32X87 50.00 32.00 87.00 80.0 0.71
RE MB50-MB40X176 50.00 40.00 176.00 170.0 1.87
RE MB50-MB40X36 50.00 40.00 36.00 30.0 0.51
RE MB50-MB40X87 50.00 40.00 87.00 80.0 0.97
RE MB63-MB50X40 63.00 50.00 40.00 34.0 0.97
RE MB80-MB50X45 80.00 50.00 45.00 36.0 1.35
RE MB80-MB63X60 80.00 63.00 60.00 52.0 1.77
RE MB110-MB80X70 110.00 80.00 70.00 52.0 6.00
* Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability.
ITSB0RE
RE MB-AVI i Aﬁ
MB Modular System Vibration I . 1 ootws B*D
Damping Reducers y v
LPR
Q
RE MB50-MB16X74-AVI 50.00 16.00 74.00 17.50 65.0 0.51
RE MB50-MB20X93-AVI 50.00 20.00 93.00 21.50 85.0 0.65
RE MB50-MB25X117-AVI 50.00 25.00 117.00 27.00 110.0 0.92
RE MB50-MB32X144-AVI 50.00 32.00 144.00 35.00 138.0 1.47
RE MB50-MB40X176-AVI 50.00 40.00 176.00 47.00 170.0 2.66
RE MB63-MB50X220-AVI 63.00 50.00 220.00 60.00 2140 5.00
RE MB80-MB63X280-AVI 80.00 63.00 280.00 77.00 272.0 10.40

* Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability.

Member IMC Group
o=
L 4 11 ]




LL
o
O
M
n
=

398

ITSB0nRE
CHR MB

Coolant Supply Collar for the
MB Modular Boring System

R3/8

e - L]

] 15T
o 1

} T
DCONMS E ——-+DCONWS BD
! 45 l

CHR MB63

L» LB =
LPR->

DCONWS BD LB LPR %
63.00 63.00 116.00 35.0 63.00 3.30

¢ Important: coolant flow must be started prior to rotating the spindle to avoid damage of the O-rings e Verify that the weight of the entire tool assembly does not exceed the
machine spindle's carrying capability.

() Maximum RPM
(2 Goolant pressure (Bar)

ITS50nRE

EMH MB

Weldon and Whistle Notch
Side-Lock Holders with
the MB Modular Boring
Connection System

a—LPR -
ADJRGA

2° Whistle notch
> 1 EMH 1835-E

EMH MB50-6

EMH MB50-8

EMH MB50-10
EMH MB50-12
EMH MB50-14
EMH MB50-16
EMH MB50-20
EMH MB50-25
EMH MB63-16
EMH MB63-20
EMH MB63-25
EMH MB63-32
EMH MB80-40

DCOINMS [Il:: scy 1 Dcorv\lvvs BF
= i
=3
LLB* Em\mlggg-s
DCONMS DCONWS BD LB LPR L5 ADJRGA Fig. &
50.00 6.00 25.00 325 44,00 7.00 20 1. 0.51
50.00 8.00 28.00 330 44.00 7.00 20 1. 0.54
50.00 10.00 35.00 42.0 52.00 11.00 3.0 1. 0.68
50.00 12,00 42.00 480 57.00 11.00 30 1. 0.85
50.00 14.00 42,00 48.0 57.00 11.00 3.0 i, 0.84
50.00 16.00 48.00 61.0 67.00 17.00 4.0 1. 1.12
50.00 20.00 51.00 67.00 16,00 40 1. 1.08
50.00 25.00 63.00 - 80.00 22.00 40 2. 121
63.00 16.00 48.00 53.0 64.00 14.00 4.0 1. 1.45
63.00 20.00 52.00 56.0 66.00 14.00 40 1. 155
63.00 25.00 64.00 - 74,00 16.00 4.0 2 2.11
63.00 32.00 72.00 76.00 14.00 4.0 2. 242
80.00 40.00 80.00 83.00 12.00 4.0 2. 3.21

* Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability.

ISCAR




ITS50RE
CC MB-ER
DIN 6499 ER Collet Chuck

with the MB Modular Boring
Connection System

|
DCONNWS
DCONXWS

DCONMS ~ CSI  DCONNWS® DCONXWS® BD LPR L5 ADJRGA & @ /
2.0

CC MB16 ER11M 16.00 ER11 0.5 7.0 16.00 25.00 2.50 0.05  NUTER11 MINI  WRENCH ER11 MINI*
CC MB20 ER16M 20.00 ER16 05 10.0 22.00 32.00 1.00 20 0.05  NUTER16 MINI  WRENCH ER16 MINI*
CC MB25 ER20M 25.00 ER20 1.0 13.0 28.00 40.00 2.50 2.0 0.14  NUT ER20 MINI WRENCH ER20 MINI*
CC MB32 ER25M 32.00 ER25 1.0 16.0 35.00 42.00 1.50 2.0 023 NUT ER25 MINI WRENCH ER25 MINI*
CC MB40 ER25 40.00 ER25 1.0 16.0 42.00 45.00 5.00 20 0.45  NUT ER25 TOP WRENCH ER25*
CC MB50 ER25 50.00 ER25 1.0 16.0 42.00 48.00 7.00 2.0 0.67  NUT ER25 TOP WRENCH ER25*
CC MB50 ER32 50.00 ER32 20 20.0 50.00 55.00 7.00 20 0.79  NUT ER32 TOP WRENCH ER32*
CC MB63 ER32 63.00 ER32 20 20.0 50.00 59.00 12.00 20 1.35  NUT ER32 TOP WRENCH ER32*
CC MB63 ER40 63.00 ER40 3.0 26.0 63.00 64.00 12.00 2.0 155 NUT ER40 TOP WRENCH ER40*

® For ER collets, see ISCAR Tooling Systems Catalog.

) Minimum diameter

) Maximum diameter

*  Optional, should be ordered separately

ITS BORE

ITSB0RE

DC MB

DIN238 DC Drill Chuck
Arbor with the MB Modular
Connection System

()]
DC MB50 B16 5000 B16 10.00 040
DC MB63 B16 63.00 B16 13,50 041

e Without drill chuck.

Member IMC Group

(T [Tl 399



ITS50RE

SMH MB

Shell Mill Holders with
the MB Modular Boring
Connection System

LL
o
O
M
n
=

DCONMS  DCONWS BD DBC THID LF LSCWS Fig. &

SMH MB40-16 40.00 16.00 32.00 - 16.00 17.00 1 0.32
SMH MB40-22 40.00 22.00 40.00 - - 13.00 19.00 1 0.38
SMH MB50-16 50.00 16.00 32.00 = - 15.00 17.00 1 0.48
SMH MB50-22 50.00 22.00 40.00 = = 15.00 19.00 1 0.55
SMH MB50-27 50.00 27.00 50.00 = - 16.00 21.00 1 0.66
SMH MB50-32 50.00 32.00 60.00 = - 15.00 24.00 1 0.79
SMH MB63-22 63.00 22.00 60.00 = - 15.00 19.00 i, 1.01
SMH MB63-27 63.00 27.00 60.00 - - 16.00 21.00 1. 1.09
SMH MB63-32 63.00 32.00 70.00 = - 15.00 24.00 1 1.24
SMH MB80-32 80.00 32.00 88.00 - - 24,00 24.00 1 2.09
SMH MB80-40 80.00 40.00 88.00 66.70 M12 24.00 27.00 2 2.25
SMH MB80-50 80.00 50.00 90.00 = - 24.00 30.00 2 2.58
SMH MB80-60 (1) 80.00 60.00 128.50 101.60 M16 31.50 40.00 2. 419
SMH MB110-60 (" 110.00 60.00 128.50 101.60 M16 36.00 40.00 2. 7.56

* When mounting slitting cutters, remove the drive dogs and use spacer rings. ® Verify that the weight of the entire tool assembly does not exceed the machine spindle's
carrying capability.
() Shell locking screw not supplied

Spare Parts

) @ @ & o f @
Designation @

SMH MB40-16 M 8 CLAMP SCREW SEM 16 BH DOG DRIVE SMH 16 KEY SMH 16 M3X8 SMH KEY SCREW
SMH MB40-22 M 10 CLAMP SCREW SEM 22 BH DOG DRIVE SMH 22 KEY SMH 22 M4X10SMH KEY SCREW
SMH MB50-16 M 8 CLAMP SCREW SEM 16 BH DOG DRIVE SMH 16 KEY SMH 16 M3X8 SMH KEY SCREW
SMH MB50-22 M 10 CLAMP SCREW SEM 22 BH DOG DRIVE SMH 22 KEY SMH 22 M4X10SMH KEY SCREW
SMH MB50-27 M 12 CLAMP SCREW SEM 27 BH DOG DRIVE SMH 27 KEY SMH 27 M5X12SMH KEY SCREW
SMH MB50-32 M 16 CLAMP SCREW SEM 32 BH DOG DRIVE SMH 32 KEY SMH 32 MBX16SMH KEY SCREW
SMH MB63-27 M 12 CLAMP SCREW SEM 27 BH DOG DRIVE SMH 27 KEY SMH 27 M5X12SMH KEY SCREW
SMH MB63-32 M 16 CLAMP SCREW SEM 32 BH DOG DRIVE SMH 32 KEY SMH 32 M6EX16SMH KEY SCREW
SMH MB80-32 M 16 CLAMP SCREW SEM 32 BH DOG DRIVE SMH 32 KEY SMH 32 MBX16SMH KEY SCREW
SMH MB80-40 M 20 CLAMP SCREW SEM 40 BH DOG DRIVE SMH 40 KEY SMH 40 M6X18SMH KEY SCREW

ITS50nRE
LPR

TP MB'M ﬂ—‘ > \ﬂ

Tapping Chucks with the MB T T

Modular Connection System SEENVE OO o Fib ..: » Fif

l ’ : 1
L—LB—»

DCONMS  Tap min Tap max LB LPR BD DCONWS FIf Flb &
TP MB50-M 3-12 50.00 M1 M14 65.0 76.00 36.00 19.00 75 75 0.78
TP MB50-M 8-20 50.00 M4.5 M20 = 106.00 53.00 31.00 12.5 12.56 1.60
TP MB63-M 3-12 63.00 M1 M14 57.2 70.00 36.00 19.00 75 7.5 1.14
TP MB63-M 8-20 63.00 M4.5 M20 93.0 104.00 53.00 31.00 125 12.5 1.88

¢ Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability.

ISCAR




ITS50RE _ «lSCMSw <LPR L|J
TCS-DIN LI oC
Quick Change Tap T JIISSR - o P

Collets for Solid Taps DCONMS) T 7 DCONws  BD O

! M

Iy | LSCWS @)

|_
DCONWS®  s@ S10 S20 BD  DCONMS  LPR LSCMS  LSCWS s]
TCS #1 DIN 4-3 4.00 3.00 M4 = 30.00 19.00 7.0 21.50 17.0 0.48
TCS #1 DIN 3.5-2.7 3.50 2.70 M3 M4.5, M5 30.00 19.00 7.0 21.50 17.0 0.01
TCS #1 DIN 4.5-3.4 4.50 3.40 M3.5 M6 30.00 19.00 7.0 21.50 17.0 0.08
TCS #1 DIN 6-4.9 6.00 490 M4.5, M6 M8 30.00 19.00 7.0 21.50 17.0 0.08
TCS #1 DIN 8-6.2 8.00 6.20 M8 - 30.00 19.00 7.0 21.50 17.0 0.10
TCS #1 DIN 9-7 9.00 7.00 = M12 30.00 19.00 7.0 21.50 17.0 0.08
TCS #1 DIN 10-8 10.00 8.00 M10 - 30.00 19.00 7.0 21.50 17.0 0.10
TCS #1 DIN 11-9 11.00 9.00 M14 M14 30.00 19.00 7.0 21.50 17.0 0.48
TCS #2 DIN 8X6.2 8.00 6.20 M8 = 48.00 31.00 11.0 35.00 30.0 0.28
TCS #2 DIN 9X 7 9.00 7.00 - M12 48.00 31.00 17.0 35.00 30.0 0.28
TCS #2 DIN 10X 8 10.00 8.00 M10 ° 48.00 31.00 17.0 35.00 30.0 0.28
TCS #2 DIN 11X 9 11.00 9.00 = M14 48.00 31.00 17.0 35.00 30.0 0.48
TCS #2 DIN 12X 9 12.00 9.00 - M16 48.00 31.00 17.0 35.00 30.0 0.27
TCS #2 DIN 14X11 14.00 11.00 - M18 48.00 31.00 17.0 35.00 30.0 0.25
TCS #2 DIN 16X12 16.00 12.00 - M20 48.00 31.00 17.0 35.00 30.0 0.24

() According to tap shank size.

@) Square size.

@) Tap size according to DIN371

) Tap size according to DIN376/374

ITSB0RE
LSCMS = LPR

TCC-DIN 1 g t‘ﬁ

Quick Change Tap Collets I |

with a Safety Clutch DCONMS Iz ] BEeiS Ep

T 1]
Sl Lsowsl=
)

DCONWS(™ s@ 5160 S20) BD DCONMS LPR LSCMS  LSCWS kol
TCC #1 DIN 2.8-2.1 2.80 2.10 M2, M2.5 M4 32.00 19.00 25.0 2150 17.0 047
TCC #1 DIN 4-3 4.00 3.00 M3.5 - 32.00 19.00 25.0 21.50 17.0 0.34
TCC #1 DIN 4.5-3.4 4.50 3.40 M4 M6 32.00 19.00 25.0 21.50 17.0 0.17
TCC #1 DIN 6-4.9 6.00 4,90 M4.5, M6 M8 32.00 19.00 25.0 21.50 17.0 0.17
TCC #1 DIN 7-5.5 7.00 5.50 M7 M10 32.00 19.00 25.0 21.50 17.0 0.17
TCC #1 DIN 8-6.2 8.00 6.20 M8 - 32.00 19.00 250 21.50 17.0 0.16
TCC #1 DIN 9-7 9.00 7.00 - M12 32.00 19.00 25.0 21.50 17.0 017
TCC #1 DIN 10-8 10.00 8.00 M10 - 32.00 19.00 25.0 21.50 17.0 0.16
TCC #1 DIN 11-9 11.00 9.00 M10 M14 32.00 19.00 25.0 21.50 17.0 0.15
TCC #2 DIN 6X4.9 6.00 4.90 M4.5, M6 M8 50.00 31.00 34.0 35.00 300 053
TCC #2 DIN 7X5.5 7.00 5.50 M7 M10 50.00 31.00 34.0 35.00 30.0 0.54
TCC #2 DIN 8X6.2 8.00 6.20 M8 - 50.00 31.00 34.0 35.00 300 0.53
TCC #2 DIN 9X7 9.00 7.00 M7 M12 50.00 31.00 34.0 35,00 300 053
TCC #2 DIN 10X8 10.00 8.00 M10 - 50.00 31.00 34.0 35.00 30.0 0.53
TCC #2 DIN 11X9 11.00 9.00 - M14 50.00 31.00 340 35.00 30,0 053
TCC #2 DIN 12X9 12.00 9.00 - M16 50.00 31.00 34.0 35,00 300 052
TCC #2 DIN 14X11 14.00 11.00 - M18 50.00 31.00 34.0 35.00 30.0 0.51
TCC #2 DIN 16X12 16.00 12.00 - M20 50.00 31.00 34.0 35,00 300 050

() According to tap shank size.

@) Square size.

@) Tap size according to DIN371

@) Tap size according to DIN376/374

Member IMC Group




ITS50RE
AMT MB-MT
MB Modular Connection

System with Morse Taper
Tang DIN 228 A/B

LL
o
O
M
n
=

DIN 228A DIN 228B
Tt DCONMS d2 BD THID LB LPR 5]
AMT MB50-MT1 MT1 50.00 12.07 20.00 M6 68.0 80.00 0.52
AMT MB50-MT2 MT2 50.00 17.78 30.00 M10 86.0 100.00 0.78
AMT MB50-MT3 MT3 50.00 23.82 36.00 Mi12 110.0 120.00 1.02
AMT MB63-MT3 MT3 63.00 23.82 36.00 M12 108.0 120.00 1.40
AMT MB63-MT4 MT4 63.00 31.26 48.00 M16 133.0 150.00 2.20

* Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability.

AMT A
Screw for Shanks — Morse
Taper Tang AMT -

Spare Parts

1

AMT MB50-MT2 AMT MT2-SCREW
AMT MB50-MT3 AMT MT3-SCREW
AMT MB63-MT3 AMT MT3-SCREW
AMT MB63-MT4 AMT MT4-SCREW

ITS50mRE o -
L p——
BLANK MB T
Blanks with MB Modular T
Connection System DCONMS jD
55-60 HRc 122-25 HRc
. s &
BLANK MB50-63X160 50.00 63.00 160.00 4.44
BLANK MB63-80X200 63.00 80.00 200.00 8.77
BLANK MB80-100X250 80.00 100.00 250.00 16.62
BLANK MB110-130X250 110.00 130.00 250.00 18.00

* Material: 39NiCrMo3

ISCAR




ITS50nRE

Rough Boring Options

USER GUIDE

Roughing with High Feed

Roughing with High
Cutting Depth

Light Roughing
or Semi-Finishing
Applications

o |

‘%@H

-

K} !
A | A . A
1 | T - ' AT T Iz
CR LNHT CR LNHT CR SOMT CR SOMT IHSR IHSR IHCR IHSR PLT IHSR
Fig. a Fig. b Fig. ¢

1 Radial setting of the cutting edges should be
carried out with tool presetting equipment.
2 Boring bars fitted with two insert pockets are for roughing
operations involving heavy chip removal.
The double-insert boring bars include:
- Two IHSR/CR SOMT/CR LNHT insert holders on the
same plane with the two cutting edges set at an identical
radial distance for high feed rate roughing operations
(Fig. a).
- An IHCR insert holder and an IHSR insert holder not on
the same plane with the two cutting edges set at different
radial distances for high-depth roughing operations (Fig. b).
3 Boring bars fitted with a single insert holder are for
roughing and finishing operations involving normal
chip removal. The serrated surface protection
plate PLT should always be used (Fig. c).

Rough Boring Head Diameter Range

10 20 30 40 50 60

BHR MB16-16x34 18-22

70 80 90 100 110 120 130 200 300 400

500 600 700 800 900 1000 1100 1200

Assembly
Reference

Page

BHR MB20-20x40 22-28

BHR MB25-25x50 28-38

BHR MB32-32x63 35.5-50

BHR MB40-40x80 50-68

843

BHR MB50-50x100 68-90

BHR MB50-63x80

90-120

BHR MB63-63x125

90-120

BHR MB80-80x140

120-200

TCH AL200

200-602

TCH AL300

300-702

TCH AL400

400-802

TCH AL 500

500-

902

847

TCH AL 600

600-

1002

TCH AL 700

700-1102

TCH AL 800

800-1202

Member IMC Grou

p
=™
L 4 11 ]

LL
o
O
M
n
=

403




l TSBGRE f~LF (assembly):]
BHR MB - ﬂ{‘i

~—]

Rough Boring Heads for A

LL
o
O
M
n
=

Diameter Range 18-200 mm ‘||i{%|" EiD BOOMMSIE =
v
HeR| IHSRBW
c D
BD DCONMS LF DN DCX® R IHO RPMX =
BHR MB16-16X34 16.00 16.00 34.00 18.0 220 - H...18-22 12000 0.06
BHR MB20-20X40 20.00 20.00 40.50 22.0 28.0 - H...22-28 12000 0.11
BHR MB25-25X50 25,00 25.00 50.00 28.0 380 - IH..28-38 10000 0.18
BHR MB32-32X63 32.00 32.00 63.00 35.5 500 - IH...36-50 10000 0.36
BHR MB40-40X80 40.00 40.00 80.00 50.0 68.0 - IH...50-68 8000 0.70
BHR MB50-50X100 55.00 50.00 100.00 68.0 900 50.0 IH...68-90 8000 149
BHR MB50-63X80 72.00 50.00 80.00 90.0 120.0 60.0 IH...90-120 8000 1.50
BHR MB63-63X125 72.00 63.00 125.00 90.0 120.0 63.0 IH...90-120 6000 3.09
BHR MB80-80X140 95.00 80.00 140.00 120.0 200.0 75.0 IH...120-800 5000 5.38

o Verify that the weight of the entire tool assembly does not exceed the machine spindle's carrying capability.
() Cutting diameter minimum

@) Cutting diameter maximum

@ Insert holders

@) Maximum RPM

Spare Parts

&

&

/

&

Designation

BHR MB16-16X34 BH NUT BHR MB16 PLT 16 SR M3X14 DIN912 SR M3X8 DIN913
BHR MB20-20X40 BH NUT BHR MB20 PLT 20* SR M4X15DIN912 BH M3X5UNI5923
BHR MB25-25X50 BH NUT BHR MB25 PLT 25 SR M4X20 DIN912 SR M3X8 DIN913
BHR MB32-32X63 BH NUT BHR MB32 PLT 32* SR M5X25DIN912 SR M4X12 DIN913
BHR MB40-40X80 BH NUT BHR MB40 PLT 40* SR M6X30 DIN912 SR M5X14 DIN913
BHR MB50-63X80 BH NUT BHR MB50 PLT 50 SR M10X40DIN912 SR M5X12 DIN913
BHR MB63-63X125 BH NUT BHR MB63 PLT 63* SR M10X40DIN912 SR M6X16 DIN913
BHR MB80-80X140 BH NUT BHR MB80 PLT 80" SR M12X45DIN912 SR M8X25 DIN913

* Optional, should be ordered separately

ISCAR




ITSB0RE USER GUIDE

BHR MB - Additional Information

LL
o
O
M
n
=

34 o 27.5
26 - —
BHR MB16- 16X34 | == & x 017@:3 L
018 ~ .22 5 18 sl & ey
~ . § < o
MB16 |HSR 18-22 5 IHSR20-24 BW
405 o 325_ R
31 5 { 3
BHR MB20- 20X40 | < g e e
022 ~ 28 S jg SioL__ ° 8
MB20 IHSR 22-28 §  IHSR 23.5-30BW
50 o 39
37.5 g e o
, | P T 5 w
BHR MB25- 25X50 of o [g s g 4 <2 o
Q N N N &
728 ~ 38 5| e g 18 <
s HSR28:G8 £ IHSR 26-38 CH15 | IHSR 26-38 CH45
IHCR 28-38 IHSR 29.5-40BW IHSR 26-38 CH30
~ 50 63
& )
5 3 3 o) 3
BHR MB32- 32X63 Y b 5 %I -2 3
?35.5 ~ 50 H T 1§ 5e 8 s
£ IHSR 34.5-49 CH45
50 IHPR 36-50 IHSR 36-50-09 IHSR 34.5-49 CH15
MB32 :ngg g%_gg IHGR 36-30-09 ®  HSR 39-52 BW IHSR 34.5-49 CH30
6{30 63.5 8
N Z —
i . 24— s ) .
BHR MB40- 40X80 Q & S <|% 2
@50 ~ 68 ¢ ‘ 8 79 "t ¢
| g €
_IHSR 50-68-12 §' L IHSR 46.5-66 CH45
mB4o  HSR50-68 IHPR50-68  IHCR 50-68-12 ZIHSR51-70 BW | IHSR 46.5-66 CH15  IHSR 46.5-66 CH30
IHCR 50-68
100 80.5 ‘ 100
o m Az 10
| ﬁf/ '@I‘ o] [e ' ©
9] ©) 8 N \) 4
BHR MB50- 50X100 o 3 ile ﬁg 8
268 ~ 90 Q %g T °Q
AL < |
A £ gL IHSR 65-88 CH45
MB50  IHSR 68-90 = ! ISR 65-88 CH15  "149R 65-88 CH30
IHCR68-90  IHPR 68-90 ISR 69-92 BW
555 ——=
7
S U =
o
§ N
o o
BHR MB50- 63X80 g £ 8 -
@90 ~ 120 | 8 1 2
Q £ [ |
®|
Y,
IHCR 90-120 IHPR 90-120 IHSR 91-122 BW
125 100.5
98
]
N
S o &
BHR MB63- 63X125 Qé = é i
@90 ~ 120 e g o °8
£
MB63 IHSR 90-120 IHBR 90-120 7 '
IHCR 90-120 1ot 90,120 IHSR 91-122 BW
110.5
108
)
o N
o ® S + T
[SIRS] I 3 Bk
S} T S}
Q :
Q
1
‘ [ ——
MB8O IHSR 120-160IHBR 120-160 0
IHCR 120-160IHPR 120-160 IHSR 121-162 BW
BHR MBS0- 80X140 ‘ 0 ‘ —
@120 ~ 200 ‘ O -
o~
Bl
3 SR S6
Q g Q
MBS0 _—
IHSR 160-800 - L U g
IHCR 160-800  IHPR 160-800 IHBR 160-800 IHSR 161-802 BW
IHSR 160-800-19 IHPR 160-800-19 161-

Member IMC Group

(T [Tl 405




LL
o
O
M
n
=

oan §m
MiNi FACE LINE

IHSR-MIFR
Trepanning Cartridges Carrying

i
1

J

MINCUT Inserts Mounted on the (r.
BHR MB32-32X63 Boring Head = nam
L P ol
DAXN®™ DAXX®@ CWN® Ccwx@ OAL WB OAH Insert & ?
IHSR 8-21 MIFR8 8.0 210 1.50 2.20 32.00 23.00 17.50 MIR 8 SR 14-297 T-8/5
19.0 34.0 2.00 3.00 27.00 22.00 17.80 MILR10 SR 34-506 T-9/5
() Minimum axial grooving diameter
2 Maximum axial grooving diameter
() Minimum cutting width
@) Maximum cutting width
For inserts, see pages: MIFR (406)
For holders, see pages: BHR MB (404)
”cll'- MIFR 10 MIFR 8
MIN] FACE LINE CDX TPDY’ g E
MIFR /@7 _/ {}E 4 =
Screw-Clamped Inserts | DAXN-DAXX L NSL—J v e J
for Internal Face Grooving I | ow oo =
and Turning ﬁéﬁ
RE
T
. . Recommended
PTG Machining Data
fface- | fface-
= groove | tumn
Designation INSL CW CwTOL®" RE RETOL® WF S1 DAXN®  DAXX4  CDX PDY S | (mmirev)| (mmirev)
MIFR 8-1.50-0.20 17.70 1.50 0.02 0.20 0.020 2.60 6.5 8.0 115 5.50 11.00 o 0.02-0.10 | 0.02-0.06
MIFR 8-1.60-0.80 17.70 1.60 0.02 0.80 0.020 2.60 6.5 8.0 12.1 5.50 11.00 o 0.02-0.10 | 0.02-0.06
MIFR 8-2.00-0.20 17.70 2.00 0.02 0.20 0.020 2.80 6.5 8.0 16.0 5.50 11.00 o 0.02-0.10 | 0.02-0.06
MIFR 8-2.20-0.20 17.70 2.20 0.02 0.20 0.020 2.90 6.5 8.0 21.0 5.50 11.00 o 0.02-0.10 | 0.02-0.06
MIFR 10-2.00-0.20 25.10 2.00 0.02 0.20 0.020 3.00 7.6 10.0 - 9.00 14.80 o 0.02-0.10 | 0.02-0.06
MIFR 10-2.00-1.00 2510 2.00 0.02 1.00 0.020 3.00 7.6 10.0 o 9.00 14.80 o 0.02-0.10 | 0.02-0.06
MIFR 10-2.50-0.20 2510 2.50 0.02 0.20 0.020 3.10 7.6 10.0 30.0 9.00 14.80 o 0.02-0.10 | 0.02-0.06
MIFR 10-2.50-1.25 25.10 2.50 0.02 1.25 0.020 3.30 7.6 10.0 - 9.00 14.80 (] 0.02-0.10 | 0.02-0.06
MIFR 10-3.00-0.20 25.10 3.00 0.02 0.20 0.020 3.40 7.6 10.0 30.0 9.00 14.80 () 0.02-0.10 | 0.02-0.06
MIFR 10-3.00-1.50 25.10 3.00 0.02 1.50 0.020 3.30 7.6 10.0 34.0 9.00 14.80 o 0.02-0.10 | 0.02-0.06

¢ Recommended cutting speeds and feeds can increased by 20-30% for aluminum, and reduced by 20-30% for titanium and Inconel

() Cutting width tolerance (+/-)

(2 Corner radius tolerance (+/-)

) Minimum axial grooving diameter

4 Maximum axial grooving diameter
For tools, see pages: IHSR-MIFR (406)

ISCAR




ITS50RE = o =
8o

TCH AL

Aluminum Twin Cutter

W I
Heads for Rough and Fine

=2
%BD DCONM*SH = DCN-DCX
Ss 5 — -|
Boring Operations, Diameter P \DBC Iy \hm

Range 200-1200 mm

O
DCN®  DCX?  BD DCONMS  DBC ss OAW  CXT BH  csPo  pemxe S

LL
o
O
M
n
=

TCH AL200 200.0 602.0 194.00 40.00 66.70 80 ° = 54.00 1 700 3.20
TCH AL300 300.0 702.0 288.00 40.00 66.70 80 ° - 54.00 1 400 3.90
TCH AL400 400.0 802.0 394.00 40.00 66.70 80 ° 1/4GAS 61.00 0 300 6.90
TCH AL500 500.0 902.0 494.00 60.00 101.60 80,110 128.0 1/4GAS 69.00 0 200 8.70
TCH AL600 600.0 1002.0 594.00 60.00 101.60 80,110 128.0 1/4GAS 71.00 0 200 8.34
TCH AL700 700.0 1102.0 694.00 60.00 101.60 80,110 128.0 1/4GAS 74.00 0 200 8.34
TCH AL800 800.0 1202.0 794.00 60.00 101.60 80,110 128.0 1/4GAS 80.00 0 150 15.20

e Aluminum body, with steel serrated seats ® The "O" position on the counterweight balances the BHF boring head for 200 mm boring diameter position. For every 10 mm
change in boring diameter, move the counterweight by 1 measurement mark e Verify that the weight of the entire tool assembly does not exceed the machine spindle's
carrying capability e For spare parts, see pages 436-437, 468

() Cutting diameter minimum

(@) Cutting diameter maximum

@) 0 - Without coolant supply, 1 - With coolant supply

@) Maximum RPM

For tools, see pages: IHBR (409) ¢ IHCR (408) ¢ IHPR (408) ® IHSR (408) * IHSR-BW (410)

Large Diameter Double Edge Rough Boring Options

LF 3
- OAW LF F2 = s, - LF 4
DIN2080-CP | ~ B - -
obaston ) e = | N IHSR 161-802 BW
SMH 40-60
MB80-110-140
¥ TCHH EX 100/300 =
) DON-DCX EX1C DON-DCX DON-DCX (3, -DCX 3,
SS}E ) DOONNS H7 (e oy TCHH X 100 DM\N BD DCX (34) DMIN BD DON-DOX (3,4)
Eﬁmwo FM 60X 7 [ BBQL 7f%7 . Y /
- TOHH EX 100/300
v IHPR 160-800-19
IHSR 160-800 -800- DMIN=(DCN (3,4)+BD+1)/2
ISR 160-600 IHSR 160-800-19 (DCN (3,4) )
IHPR 160-800 L HBR160-800

Aluminum Twin Cutter Heads

Extension Slides | Dimensions TCH 200 TCH 300 TCH 400 TCH 500 TCH 600 TCH 700 TCH 800
IH.R 160-800/-19 DCN-DCX 200-300 300-400 400-500 500-600 600-700 700-800 800-900
IH.R 160-800/-19 TCHH EX 100 DCN-DCX 300-400 400-500 500-600 600-700 700-800 800-900 900-1000
IH.R 160-800/-19 TCHH EX 300 DCON-DCX 400-600 500-700 600-800 700-900 800-1000 900-1100 1000-1200
IHSR 161-802 BW DCN-DCX (3,4) 202-302 302-402 402-502 502-602 602-702 702-802 802-902
IHSR 161-802 BW TCHH EX 100 DCN-DCX (3,4) 302-402 402-502 502-602 602-702 702-802 802-902 902-1002
IHSR 161-802 BW TCHH EX 300 DCN-DCX (3,4) 402-602 502-702 602-802 702-902 802-1002 902-1102 1002-1202
IH.R 160-800 LF 86 86 93 101 103 106 112
IH.R 160-800-19 LF 94 94 101 109 111 114 120
IH.R 160-800 TCHH EX 100 LF 2 116 116 123 131 133 136 142
IH.R 160-800 TCHH EX 300 LF 2 126 126 133 141 143 146 152
IH.R 160-800-19 TCHH EX 100 LF 2 124 124 131 139 14 144 150
IH.R 160-800-19 TCHH EX 300 LF 2 134 134 141 149 151 154 160
IHSR 161-802 BW LF.3 56.5 56.5 63.5 715 73.5 76.5 82.5
IHSR 161-802 BW TCHH EX 100 LF_4 86.5 86.5 93.5 101.5 103.5 106.5 112.5
IHSR 161-802 BW TCHH EX 300 LF 4 96.5 96.5 103.5 111.5 1135 116.5 122.5

Member IMC Group
o=
L 4 11 ]




ITS50RE

IHSR f
Rough Boring Tools for Twin V\IF
Cutters with a Radial and Axial 7 —
Edge Positioned Inner to the 90°
Opposite Finishing Tool OAL

LL
o
O
M
n
=

DCN( DCX? WF OAL Insert & ? /

IHSR 18-22 18.0 22.0 8.00 156.00 CCMT 0602... SR 14-548 T-7/5
IHSR 22-28 22.0 28.0 9.50 19.00 CCMT 0602... SR 14-548 T-7/5
IHSR 28-38 28.0 38.0 12.50 23.00 CCMT 0602... SR 14-548 T-7/5
IHSR 36-50 36,5 50.0 16.00 32.00 CCMT 0602... SR 14-548 T-7/5
IHSR 36-50-09 365 50.0 15.00 32.00 CCMT 09T3... SR 16-236 T-15/5
IHSR 50-68 50.0 68.0 19.00 40.00 CCMT 09T3... SR 16-236 T-15/5
IHSR 50-68-12 50.0 68.0 19.00 40.00 CCMT 1204... SR 16-212 T-20/5
IHSR 68-90 68.0 90.0 22.00 54.00 CCMT 1204... SR 16-212 T-20/5
IHSR 90-120 90.0 120.0 27.00 70.50 CCMT 1204... SR 16-212 T-20/5
IHSR 120-160 120.0 160.0 32.00 94.50 CCMT 1204... SR 16-212 T-20/5
IHSR 160-800 160.0 800.0 32.00 130.00 CCMT 1204... SR 16-212 T-20/5
IHSR 160-800-19 160.0 800.0 40.00 130.00 CNMG 1906... SR 10402352 HW 4.0

e For user guide, see pages 403, 471-477

() Cutting diameter minimum

() Cutting diameter maximum

For inserts, see pages: CCET-WF (453) ¢ CCGT-AF (455) » CCGT-AS (455) ¢ CCGW/CCMT (CBN) (454) ¢ CCMT (PCD) (454) » CCMT-14 (453) » CCMT-PF (452)
o CCMT-WG (454) ¢ CCMT/CCGT (453) » CCMT/CCGT-SM (452)

For holders, see pages: BHR MB (404) ¢ TCH AL (407) » TCHH EX (438)

ITSB0RE
IHCR T
Boring Toolholders for the MB vxF
Modular Boring System L U
90°
S|
OALJ
e & }
IHCR 28-38 28.0 38.0 12.30 23.00 CCMT 0602... SR 14-548 T-7/5
IHCR 36-50 35.5 50.0 14.80 32.00 CCMT 0602... SR 14-548 T-7/5
IHCR 36-50-09 36.0 50.0 14.80 32.00 CCMT 09T8... SR 16-236 T-15/5
IHCR 50-68 50.0 68.0 18.70 40.00 CCMT 09T3... SR 16-236 T-15/5
IHCR 50-68-12 50.0 68.0 18.70 40.00 CCMT 1204... SR 16-212 T-20/5
IHCR 68-90 68.0 90.0 21.70 54.00 CCMT 1204... SR 16-212 T-20/5
IHCR 90-120 90.0 120.0 26.70 70.50 CCMT 1204... SR 16-212 T-20/5
IHCR 120-160 120.0 160.0 31.70 9450 CCMT 1204... SR 16-212 T-20/5
IHCR 160-800 160.0 800.0 31.70 130.00 CCMT 1204... SR 16-212 T-20/5

e For user guide, see pages 403, 471-477

() Cutting diameter minimum

(2) Cutting diameter maximum

For inserts, see pages: CCET-WF (453) « CCGT-AF (455)  CCGT-AS (455) ® CCGW/CCMT (CBN) (454) ® CCMT (PCD) (454) * CCMT-14 (453) ® CCMT-PF (452)
* CCMT-WG (454)  CCMT/CCGT (453) ® CCMT/CCGT-SM (452)

For holders, see pages: BHR MB (404) e TCH AL (407)  TCHH EX (438)

ITSBGRE
IHPR 1
75° Rough Boring Toolholders WF
9
T
75°
l~——OAL

o0 oo w o PP

IHPR 36-50 35.5 50.0 15.00 32.00 SCMT 09T8... SR 16-236 T-15/5

IHPR 50-68 50.0 68.0 19.00 40.00 SCMT 09T3... SR 16-236 T-15/5

IHPR 68-90 68.0 90.0 22.00 53.90 SCMT 1204... SR 16-212 T-20/5

IHPR 90-120 90.0 120.0 27.00 70.50 SCMT 1204... SR 16-212 T-20/5

IHPR 120-160 120.0 160.0 32.00 94.50 SCMT 1204... SR 16-212 T-20/5

IHPR 160-800 160.0 800.0 32.00 130.00 SCMT 1204... SR 16-212 T-20/5

IHPR 160-800-19 160.0 800.0 40.00 129.00 SNMG 1906... SR10402352 HW 4.0

® For user guide, see pages 403, 471-477

() Cutting diameter minimum

(2 Cutting diameter maximum

For inserts, see pages: SCGT-AS (458) ¢ SCMT-14 (457) ® SCMT-19 (458) ¢ SCMT-SM (457)
For holders, see pages: BHR MB (404) ¢ TCH AL (407) e TCHH EX (438)

ISCAR




ITS50RE LLI
IHBR 1 oC
Rough Boring Toolholders JWF O
T\90"# ]

e—— OAL — CD

=

oow oo - - & >

90.0 120.0 27.00 70.50 TCMT 2205... SR 16-212 T-205
IHBR 120-160 120.0 160.0 32.00 94.50 TCMT 2205... SR 16-212 T-205

160.0 800.0 32.00 130.00 TCMT 2205... SR 16-212 T-20/5

® For user guide, see pages 403, 471-477

() Cutting diameter minimum

(2 Cutting diameter maximum

For inserts, see pages: TCMT-19 (458) ® TCMT-SM (459)
For holders, see pages: BHR MB (404) ¢ TCH AL (407) e TCHH EX (438)

ITS50RE "
IHSR-CH

Chamfering Tools for
BHR Boring Heads

LF OAL DCN-DCX

DCN®  PSIRR LF OAL WF L BD DCX?  Insert & ?

IHSR 26-38 CH15 26.0 15.0 21.40 23.00 12.50 1.60 25.00 38.00  CCMT0602... SR 14-548 T-7/5
IHSR 26-38 CH30 26.0 30.0 20.00 23.00 12.50 3.00 25.00 38.00  CCMT0602.. SR 14-548 T-7/5
IHSR 26-38 CH45 26.0 45.0 18.70 23.00 12.50 4.30 25.00 3800 CCMT0602.. SR 14-548 T-7/5
IHSR 34.5-49 CH15 34.5 15.0 29.40 31.00 15.00 1.60 32.00 49.00  CCMT 0602... SR 14-548 T-7/5
IHSR 34.5-49 CH30 34.5 30.0 28.00 31.00 15.00 3.00 32.00 49.00  CCMT 0602... SR 14-548 T-7/5
IHSR 34.5-49 CH45 34.5 45.0 26.70 31.00 15.00 4.30 32.00 49.00  CCMT 0602... SR 14-548 T-7/5
IHSR 46.5-66 CH15 46.5 15.0 36.60 39.00 19.00 240 40.00 66.00  CCMTO09T3.. SR 16-236 T-15/5
IHSR 46.5-66 CH30 46.5 30.0 34.40 39.00 19.00 4.60 40.00 66.00  CCMT09T3.. SR 16-236 T-15/5
IHSR 46.5-66 CH45 46.5 45.0 32.50 39.00 19.00 6.50 40.00 66.00  CCMT 09T3... SR 16-236 T-15/5
IHSR 65-88 CH15 65.0 15.0 49.80 53.00 22.00 3.20 50.00 88.00 CCMT 1204.. SR 16-212 T-20/5
IHSR 65-88 CH30 65.0 30.0 46.80 53.00 22.00 6.20 50.00 88.00  CCMT 1204... SR 16-212 T-20/5
IHSR 65-88 CH45 65.0 45.0 44.20 53.00 22.00 8.80 50.00 88.00 CCMT 1204.. SR16-212 T-20/5

* For user guide, see pages 403,471-477

() Cutting diameter minimum

() Cutting diameter maximum

For inserts, see pages: CCET-WF (453) ¢ CCGT-AF (455) ® CCGT-AS (455) ® CCMT-14 (453)  CCMT-PF (452) ¢ CCMT-WG (454) ¢ CCMT/CCGT (453)

* CCMT/CCGT-SM (452)

For holders, see pages: BHR MB (404)

Member IMC Group
o=
L 4 11 ]




WA ITS50RE — » DMIN |= -~ DMIN—»
BHR 20-200 = BD < BD__»| TCH202-802
AN |HSR-BW m|| ‘
O Back Face Turning Tools for BHR =1 1
D and TCH AL Rough Boring Heads %' '-'F L
90%,] WE 902 fwr
CIQ - OALI*poN-Dox T
ss BD DCN®@ LF DCX® WF OAL Insert
IHSR 20-24 BW BHR MB16-16 160 20 275 24 10 16.00 COMT 0602...
IHSR 23.5-30BW BHR MB20-20 20.0 235 325 30 1 19.50 CCMT 0602...
IHSR 29.5-40BW BHR MB25-25 250 25 390 40 145 24.00 CCMT 0602...
IHSR 39-52 BW BHR MB32-32 32.0 39 50.0 52 17 32.00 CCMT 09T8...
IHSR 51-70 BW BHR MB40-40 40.0 51 63.5 70 21 42.00 CCMT 1204...
IHSR 69-92 BW BHR MB50-50 55.0 69 805 ) 245 57.00 CCMT 1204...
IHSR 91-122 BW BHR MB63-63 72.0 91 1005 122 285 76.00 COMT 1204...
IHSR 121-162 BW BHR MB80-80 95.0 121 1105 162 315 101.00 COMT 1204...
BHR MB80-80 95.0 161 1105 202 3156 122 COMT 1204...
TCH AL200 194 202 56.5 302 28 122 COMT 1204...
TCH AL300 288 302 56.5 402 28 122 CCMT 1204...
IHSR 161-802 BW TCH AL400 304 402 635 502 2 122 COMT 1204...
TCH AL500 494 502 715 602 28 122 COMT 1204...
TCH AL600 594 602 735 702 28 122 COMT 1204...
TCH AL700 694 702 765 802 28 122 COMT 1204...
TCH AL800 794 802 825 902 28 122 COMT 1204..

e DMIN=(min bore diameter)=(DCN+BD+1)/2 e BD=Size of the boring head being used e For user guide, see pages 403, 471-477

() Suitable boring heads

(2 Cutting diameter minimum

@) Cutting diameter maximum

For inserts, see pages: CCET-WF (453) ¢ CCGT-AF (455) » CCGT-AS (455) ¢ CCGW/CCMT (CBN) (454) ¢ CCMT (PCD) (454) » CCMT-14 (453) ® CCMT-PF (452)
o CCMT-WG (454) ¢ CCMT/CCGT (453) » CCMT/CCGT-SM (452)

For holders, see pages: BHR MB (404) ¢ TCH AL (407, 438)  TCHH EX (438)

Spare Parts

P

IHSR 20-24 BW SR 14-548 T-7/5
IHSR 23.5-30BW SR 14-548 T-7/5
IHSR 29.5-40BW SR 14-548 T-7/5
IHSR 39-52 BW SR 16-236 T-16/5
IHSR 51-70 BW SR 16-212 T-20/5
IHSR 69-92 BW SR 16-212 T-20/5
IHSR 91-122 BW SR 16-212 T-20/5
IHSR 121-162 BW SR 16-212 T-20/5
IHSR 161-802 BW SR 16-212 T-20/5

ITS50RE

CR LNHT

Boring Cartridge with a
Tangential Insert for BHR
MB50-50X100 Boring Head

DCN DOX@ WF OAL MIID®
CR LNHT10 68-90-CP 68.00 90.00 23.10 53.76 HTP LN.. 1006

e For user guide, see pages 403, 471-477

() Cutting diameter minimum

(2 Cutting diameter maximum

() Master insert identification

For inserts, see pages: HTP LN.. 1006 (450)
For holders, see pages: BHR MB (404)

Spare Parts

Designat| & / /
CR LNHT SR 34-550 BLD T10/S7 SW6-SD

ISCAR




ITSB0nRE
CR SOMT

Boring Cartridge with a Square
Insert for BHR MB50-50X100

LL
o
O
M
n
=

Boring Head
DCN DOX@ WF OAL MIID®
CR SOMTO09 68-90-CP 68.00 90.00 23.60 54.00 SO.T09...

e For user guide, see pages 403, 471-477

() Cutting diameter minimum

@) Cutting diameter maximum

() Master insert identification

For inserts, see pages: SOGX/T-AL (115) ® SOMT-DT (116) ® SOMT-GF (115) ® SOMT-HD (116)
For holders, see pages: BHR MB (404)

Spare Parts

s

CR SOMT SR 34-506 SW4-SD BLD TO9/M7-SW4

Iy _v_ 7 |

ITSDVHE : ‘2 X t<— LF (assembly)
ADJRGR | 10pm

BHC MB ! 2pm | (MEO
Combi Rough and Fine Boring T IHRF C
Heads with 10 pm Direct DCONMSH]- P CDCN-DCX
Diameter Adjustment and IHSR G
2 um by a Vernier Scale

DCONMS LF DCN( DCX® ADJRGR IH RPMX® %

BHC MB25-25-57 25.00 56.50 28.0 36.0 0.50 H...-C 10000 0.23
BHC MB32-32-71 32.00 71.00 36.0 46.0 0.50 H...-C 10000 0.45
BHC MB40-40-90 40.00 90.00 46.0 60.0 1.00 H...-C 8000 0.70
BHC MB50-50-87 50.00 87.00 60.0 75.0 1.00 H..-C 8000 1.21
BHC MB63-63-109 63.00 109.00 75.0 95.0 2.00 H...-C 6000 2.70
BHC MB80-80-130 80.00 130.00 95.0 120.0 2.00 H..-C 5000 4.41

* The roughing head precedes the finishing head by 0.2 mm. Each head can be adjusted independently e Important: insert radius for combi rough and fine boring must be
the same size. e For spare parts, see page 468

() Cutting diameter minimum

(2 Cutting diameter maximum

@) Maximum RPM

For tools, see pages: IHFF-C (413) ¢ IHRF-C (413) ¢ IHSR-C (413)

Graduated dial of 0.01 mm with
circular vernier of 0.002 mm

Member IMC Group
o=
L 4 11 ]




USER GUIDE

ITS50RE

BHC MB - Additional Information

LL
o
O
M
n
=

56.3
IHFF 28-36 C IHRF 28-36 C
BHC MB25-25-57 o S ‘g{ 5 gt
N | ¢ ol i
@28 ~ 36 : ) 8 g
IHSR 28-36 C IHSR 28-36 C
MB25 56.5
IHFF 36-46 C IHRF 36-46 C
BHC MB32-32-71 . g e
236 ~ 46 E i &
IHSR 36-46 C o
MB32
IHSR 36-46 C
IHFF 46-60 C 898
S IHRF 46-60 C
© B
BHC MB40-40-90 b ¢ 3
046 ~ 60 | HL\J g
MB40 - - IHSR 46-60 C o 1
= IHSR 46-60 C
86.8
‘68 -~ IHFF 60-75 C 868
] % f P—HRF 60-75 C
BHC MB50-50-87 5 o 8 # ©
260 ~ 75 . | oI, 8
| 1 H 8
MBS0 B 87 IHSR 60-75 C tﬂ '
g | HSR60-75C
108.8 108.8
B :]» IHFF 75-95 C [nn IHRF 75-95 C
" —0 i o
BHC MB63-63-109 0 y 8
@75 ~ 95 8 = : J 5
MB63 o 1 EL IHSR 75-95 C 109 jt IHSR 75-95 C
1298 129.8
100.5
—IHFF 95-120 C 1 IHRF 95-120 C
kA s
BHC MB80-80-130 o g ﬁ 8
295 ~ 120 © 3 o 8
1 Y
- 1 ;::D r
MB80 ! 430 | IHSR95-120C 130 IHSR 95-120 C

ISCAR




ITS50nRE ; LL]
IHRF'C WF m
Boring Tools for Twin Cutters ~L 9 O
Positioned Inner to the Opposite t
Finishing Tool on MB BHC ] [l
Combi Boring Heads 0
OAL c|i)

oo oo ur on & P 4

IHRF 28-36 C 28.0 36.0 9.80 24.00 CCGT 0602... SR 14-548 T-7/5

IHRF 36-46 C 36.0 46.0 11.30 30.00 CCGT 0602... SR 14-548 T-7/5

IHRF 46-60 C 46.0 60.0 13.80 40.00 CCGT 09T3... SR 16-236 T-15/5

IHRF 60-75 C 60.0 75.0 18.80 54.00 CCGT 09T3... SR 16-236 T-15/5

IHRF 75-95 C 75.0 95.0 24.30 68.00 CCGT 09T8... SR 16-236 T-15/5

IHRF 95-120 C 95.0 120.0 29.30 87.00 CCGT 09T8... SR 16-236 T-15/5

e For user guide, see page 477

() Cutting diameter minimum

@) Cutting diameter maximum

For inserts, see pages: CCGT-AS (455) » CCGW/CCMT (CBN) (454) ¢ CCMT (PCD) (454) « COMT-14 (453)  CCMT-PF (452) « CCMT-WG (454) ¢ CCMT/CCGT (453)

o CCMT/CCGT-SM (452)
For holders, see pages: BHC MB (411)

ITS50RE

IHFF-C V\tF
Triangular Finishing Insert Holders oy
for BHC Combi Boring Heads f
91°
le——— OAL ——»

ur Y

IHFF 28-36 C 9.80 24.00 28.00 36.00 TPGX 0902... SR 14-298 T-8/5
IHFF 36-46 C 11.30 30.00 36.00 46.00 TPGX 0902... SR 14-298 T-8/5
IHFF 46-60 C 13.80 40.00 46.00 60.00 TPGX 1108... SR-17979 M3X8 T-8/5
IHFF 60-75 C 18.80 54.00 60.00 75.00 TPGX 1103... SR-17979 M3X8 T-8/5
IHFF 75-95 C 25.30 68.00 75.00 95.00 TPGX 1108... SR-17979 M3X8 T-8/5
IHFF 95-120 C 29.30 87.00 95.00 120.00 TPGX 1108... SR-17979 M3X8 T-8/5

e For user guide, see page 477

() Cutting diameter minimum

(2 Cutting diameter maximum

For inserts, see pages: TPGX (459) ¢ TPGX (CBN) (460)

For holders, see pages: BHC MB (411)

ITS50RE :

IHSR-C WF

Rhombic Roughing Insert Holders R

for BHC Combi Boring Heads T

90°
OAL

o oom e Y I
IHSR 28-36 C 28.0 36.0 10.00 24.00 CCMT 0602... SR 14-548 T-7/5
IHSR 36-46 C 360 46,0 1150 30,00 COMT 0602... SR 14-548 T7/5
IHSR 46-60 C 46.0 60.0 14.00 40.00 CCMT 09T3... SR 16-236 T-15/5
IHSR 60-75 C 60.0 750 19.00 54,00 CCMT 09T3... SR 16-236 T-15/5
IHSR 75-95 C 750 95.0 2450 68.00 COMT 09T3... SR 16-236 T-15/5
IHSR 95-120 C 95.0 120.0 2950 87.00 COMT 09T3... SR 16-236 T-15/5

e For user guide, see page 477

() Cutting diameter minimum

() Cutting diameter maximum

For inserts, see pages: CCET-WF (453) ¢ CCGT-AF (455) ® CCGT-AS (455) ® CCGW/CCMT (CBN) (454) ® CCMT (PCD) (454) « CCMT-14 (453) « CCMT-PF (452)
* CCMT-WG (454) « CCMT/CCGT (453) * CCMT/CCGT-SM (452)

For holders, see pages: BHC MB (411)

Member IMC Group
o=
L 4 11 ]




WA ITS5O0RE LF (assembly)
IHRF |HRF CH IHRF BW BHEH
AEN BHD MB D Zum 4@0
O Fine Boring Heads with Digital e DON-DCX
m 2 um Direct Adjustment DCO*NMSEE[ i PeiHDE ﬁ,”g'égoﬁg'ﬁg \iBg0
Diametric Display T Dconws S "~ ' '

N Flesffrs B

‘ IHAXF IHFF

LF DCONMS DCN() DCX® LPR ADJRGR  DCONWS  RPMX® &

BHD MB32-32-83 83.00 32.00 36.0 51.0 7.5 3.00 20000 0.41
BHD MB40-40-90 90.00 40.00 48.0 64.0 76.0 4.00 - 20000 0.73
BHD MB50-50-60 80.00 50.00 25 110.0 61.0 5.00 16.00 20000 1.10
BHD MB63-63-89 88.50 63.00 6.0 125.0 69.5 5.00 16.00 20000 2.20
BHD MB80-80-104 104.00 80.00 6.0 200.0 84.5 5.00 16.00 20000 3.90

* For spare parts, see pages 435-436 ¢ Note that a protruding reset button dictates the enlargement of the actual DCONMS by 2 mm in each size respectively.
This is important when the tool is being used for back-boring applications where you must clear any obstacles inside the machine/workpiece.

() Cutting diameter minimum

(2 Cutting diameter maximum

3 Maximum RPM

For tools, see pages: IHAXF (432) o IHAXF-AVI (434) o IHAXF-E (434) o IHFF (436) ® IHRF (436) ® IHRF-BW (439) ¢ IHRF-CH (439) * IHWF (436)

ISCAR




4d0d Sl

2pum

w
=
=)
G
o
L
%)
S

BHD MB50-50X60 22.5-110

Fine Boring Head Range 2 pm Direct Diametric Adjustment

ITS50RE

-D16

REQUIRED FOR
IHAXF.../8

91/0€-¢¢ 4XVHI

68

0€-¢cy

91/2¢¢-81 4XVHI

[m 115}
91/81-91 4XVHI

8L-910
9L/91-¥1 AXVHI

9L-v10
9L/¥1-¢l 4XVHI

vi-¢clg
9L/€L-11 4XVHI

63
60
50
42
40
35

28—
1
l a1 g

-~—24

el-110
91/¢1-01 4XVHI

SLEEVE D8
gl 919 1 ES e

¢k-0lg
91/01-8 dXVHI

01-80
91/8-9 dXVHI

8-90
8/9 - AXVHI

]

9vQ
8/7-G'C AXVHI

—
(I

o 0g ii!I
N
[ —

¥-G'¢@

63

¢€ J4dHI
G¢ 4dHl

[43EE[]
G¢ 44HI

GOIX 91Ld Had

9G-9€0

Yv-820
@ 2€ 4dHI

G¢ 44dHI
2e 44HI
G2 44HI

€GX 91a Ha4d

L. T

99-8¢@

G'88-990

Md ¢08-9G 4dHI

98-¢50

18-G' LV oS I=ddVM
92-6¥0 08=ddVvA
CL-G'8EQ oGr=ddV4

HO 0G 4dHlI

g
%

98-79Q

@ 0S 44Hl

0S 44HI

98-v50

v_ Ol 1NN Hg

GeLL-180

Md ¢08-9G JdHI

G/Xy¢ H3Hd

ol _SELL-I80
Ol LNN HE

FLE-220

90L-¢LD oSl=ddVH

FOF-G'290 08=ddVM

/6-G'€90 oSr=ddVX

HO 0G 44dH

G/Xy¢ H3H4d

R0

O LNN HY

OL1-080

0S 44Hl

0G 44HI

7 _ ¢eMO

G/Xy¢ H3Hd

0F1+-080
3 0F 1NN Hg

P

Member IMC Grou

(T [Tl 415




w
=
)
G
o
L
S

ITS50RE

Head Range 2 pm Direct Diametric Adjustment

Fine Boring

2pum

63X89 26-125

BHD MB63-

91/0€-¢¢ dXVHI

0g-cco

-

91/2¢-81 JXVHI
¢¢8lQ

<

91/81-91 4XVHI
81910

<

9L/9L-v1 dXVHI
9L-v10

9l/vl-2l dXVHI
| v1-clo

68
63

60
50

M%%‘@
8 o

<

9L/EL-LL 4XVHI
| 110

91/21-0F 4XVHI
¢l-0lo

91/01-8 JXVHI
01-80

8-90
08X8¢ H3HG

4N\ _ |
5 ¢+ | 0e-gco

ol

@)

u

9G-9€0
Y¥-8¢0

-

S
G2 44HI
¢ 44HI
G2 44HI

9G-9€0
Yv-820

.

S —
G2 44HI
¢ 44HI
G2 44HI

1e] fe]
2 =
SOIX 910 Hag SOIX 910 HEg
95980 95980
v7-820 7820
W 28 JdHI W 28 JdHi
S¢ JaHl S¢ JaH
2€ H3Hi 28 H3H
S 4 G2 H3H
8 8
£5X 9+a Hag £5X 9+ Hag
08%6¢ HaHE 08%6¢ HaHG
0 95-820 5ﬂ 95-820
5 5

G'ge1-9'880
Md ¢08-99 JdHI

€€1-G80

821-080 o5 I=ddvM
¥21-9/0 0€=ddVvM
G'0CH-9'CLD oSr=HdVM

HO 0G 44HI

2¢e1-880

m 08 d4dHiI

0G J3HI
% T = 6202880

108 .

G'¢0¢-9'9S1LY 8vIX8¢ HIHG

G'291-G'GL1LY 801X8¢ HIHG
M8 208-9G 44HI

00¢-¢SL@ 8 1x8¢ HIHG

G6L-Lv1QD oS =ddVM

L6H-EVLD 08=ddVM

1255

/81-6ELD oSh=HdVM

091-¢lI@ 8v1X8¢ HIHG
GGI-201@ oS1=ddVA
§'0S1-9'¢0LD  08=HdWM
LY 1-660 oSh=ddVM

HO 0G 449HI

""H3Hg

00¢-SS+@ 8¥1x8¢ H3Ha

091-GLI@ 801x8¢ HIHa
0G J44HI
0G d44HI

M: 2EMO
8V 1X82 H3HAG

ISCAR



4d0d Sl

2pum

w
=
=)
G
o
L
S

91/08-¢¢ 4XVHI
08-¢co

(S

91/2¢-81 dXVHI
¢c8lo

<

91/81-91 4XVHI
81910

<

91/91-VI AXVHI
9l-v10

<q

9l/vl-cl dXVHI
v1-clo

68
63
60
50

<

9L/EL-LE dXVHI
-0

91/21-0F dXVHI

¢l-010

91/01-8 dXVHI
01-80

S

BHD MB80-80X104 26-200

Fine Boring Head Range 2 pm Direct Diametric Adjustment

ITS50RE

9G6-9€0
Y-820

M ¢€ JdHl
G2 4dHl

28 44HI
G¢ 44HI

GOIX 9La Hag

9G-960

v-8¢0

@M 2€ 4dHl
G2 ddHI

€ 44HI
G2 44HI

€9X 91a Had

E 0S 44HI

G'9e1-9'880

€€1-G80

821-080 oS 1=ddVX

Y21-9/0 08=ddVvM
SG'0Cl-G'CLD oSP=HdVM
o

g HO 0 JdHI

00¢-S'¢LO

2¢e1-880
0SG d4dHI

08X8¢ HIHd

99-8¢0

108

G'202-G'SSHO 8y X8z HaHg
[FS291-6'SH1@ 80K%8z HIHg
& 208-9S JuHI

00¢-¢SH@ 8¥1X8¢ HIHA

G6L-LV LD oGL=HdVM

LBL-EV1D  c08=ddVM

i/‘ KAPR

J

9

1 K

"125.5
e

—_

/81-6E1QD oSh=ddVM
091-¢L L@ 8Y X8 HIHG
GG1-L01D oS1=HdWM
G'0S1-G'¢0ID 08=HdWM
Ly1-660 oSr=ddVM

HO 0G 4dHI

""H3IHg

00¢-9SIL@ 8Y1x8¢ HIaHAG

ﬁluq

=

091-GLI@ 801x8¢ HIHT

0G JdHiI
0G d4HI

l n: ZEMO
8718z HIHg

Member IMC Group

(T [Tl 417




WA ITS50nRE = LF (assembly) RF  HRF BW PICCO ACE BH
IHWF E 10 pm
m BHE MB ~ LpR| | HFEE) IHRF CH| BHEH 2um KM
Fine Boring Heads with the ADJRGR _ Only for BHE MB50-50x80
O MB Connection, 10 upm Direct ‘ 1'— < » ’ —
MANY Diametric Adjustment and f 1 gggiﬁ,: ' I o5t 811 '
2 um by a Vernier Scale DOONMS St = SR § DCONWS
P  E— IS - 4 IHAXF ‘
|_ DCONWS DON-DOX | ] PICCO ACE BH
- o)
DCONMS LF DCN) DCX® LPR ADJRGR DCONWS ko]
BHE MB14-14-30 14.00 30.00 14.5 18.0 22.0 1.00 - 0.05
BHE MB16-16-34 16.00 34.00 18.0 24.0 26.0 2.00 = 0.08
BHE MB20-20-40 20.00 40.00 22.0 30.0 31.5 3.00 - 0.05
BHE MB25-25-50 25.00 50.00 28.0 40.0 40.0 3.00 - 0.20
BHE MB32-32-63 32.00 63.00 35.0 53.0 515 4.00 = 0.41
BHE MB40-40-80 40.00 80.00 48.0 66.0 66.0 5.00 - 0.79
BHE MB50-50-80 50.00 80.00 2.5 110.0 61.0 5.00 16.00 1.04
BHE MB63-63-89 63.00 89.00 6.0 125.0 69.5 10.00 ° 1.00
BHE MB80-80-104 80.00 104.00 6.0 200.0 84.5 12.00 - 3.84

* For boring options, see pages 388, 419-422 e For spare parts, see pages 435-436, 467

() Cutting diameter minimum

(2) Cutting diameter maximum

For tools, see pages: [HAXF (432) o IHAXF-AVI (434) e IHAXF-E (434) * IHFF (436) ® IHRF (436) ® IHRF-BW (439) ¢ IHRF-CH (439) * IHWF (436)

Boring Head Diameter Ranqe
_ 30 | 70 80 90 100 120 130 140 150 160 170 180 190 200

BHE MB32-35-53 H
BHE MB50-50-60 H
BHE MB14-14-30
BHE MB16-16-34
BHE MB20-20-40
BHE MB25-25-50
BHE MB32-32-63
BHE MB40-40-80
BHE MB50-50-80
BHE MB63-63-89
BHE MB80-80-104 o i 6200
BHC MB25-25-57
BHC MB32-32-71
BHC MB40-40-90
BHC MB50-50-86
BHC MB63-63-108
BHC MB80-80-129 g- | 120

BHE MB50-50-80 Graduated dial of 0.01 mm with
circular vernier of 0.002 mm

ITSB0RE
10 ym
BHE MB-H ’@

O

ar Max

2pm
Fine Boring Heads for High
Rotation Speed with a T
10 Micrometer Direct Dia. DCONMS
Adjustment and 2 Micrometer
by a Vernier Scale

PICCO ACE BH

DCONMS LPR DCNM DCX® DCONWS ADJRGR RPMX® s]

32.00 53.00 2.5 18.0 8.00 0.50 10000 0.35
BHE MB50-50-60 H 50.00 60.00 2.5 22.0 16.00 1.00 8000 1.00

® For spare parts, see pages 435-436, 467

() Cutting diameter minimum

(2 Cutting diameter maximum

) Maximum RPM

For tools, see pages: IHAXF (432) o IHAXF-AVI (434) o IHAXF-E (434)

ISCAR




USER GUIDE

ITS50RE

BHE MB - Additional Information

255X

‘e

BHE MB14-14-30

0145 ~ 18 z ;e
MBI4 HWF14E ¥
Q
34 27.5
BHE MB16-16-34 ay
018 ~ 24 <
&
40
315
BHE MB20-20-40 o
022 ~ 30 g IR
s ZE 2
MB20 IHRF 20 8
415
‘\\rd‘o
o
BHE MB25-25-50 . AV 2
028 ~ 40 g 1 2
8 IHRF 25 CH15 28-38 IHRF 25 CH45 28-38 &
MB25 IHFF 25 IHRF 25 CH30 28-38

IHRF 25

N
8l 2 g o
= © ( [ %
BHE MB32-32-63 8 @ . 3
35 ~ 53 o £/ § °
8 S IHRF 32 CH15 35-53 IHRF 32 CH45 36-50
VIBS2 — IHRF 32 CH30 35-53
80
N —
[To)
BHE MB40-40-80 & s 8 g
748 ~ 66 g g 3
5 ° @
| -
MB40 IHFF 40 IHRF 40 CH15 48-66 :HEE 38 gﬂ%é 32-22
IHRF 40 IHRF 50.5-65BW

Member IMC Group

LL
o
O
M
n
=




2pum
10 ym

w
=
)
G
o
L
%)
S

G'88-950 G'eL-180
M8 208-95G 4dHI

M8 ¢08-9S9 44HI

® GIXvZ HaHg
g Mbn s D
G'88-950 S'Ch-180 OF 1NN Hg
98-250 210
91/08-22_JXVHI 90F-2.0 oGH=HdVM
o — . =,
W 08000 HGLYD oSHHdVA 1015290 0e=Hdvx
91L/22-8L AXVHI , 95950 94870 0E=HdVH L 165890 oGv=tdvi
1Y .
v ceslo | 0] ZIGBED Sh=advyl %
91/81-91 dXVHI 26 99H1 HO 09 J4HI
, 81910 T
v SZ 49HI
| 9L/9L-YL IXVHI @wr , 26 43HI
v oLvio & i $ $/Xvz HaHg
OL/vL-gl AXVHI | o S
4 @. viclo | 8 el A -
® SOIX91a Hag o =i
9L/BL-LL dXVHI .
T AT L0 OFINN HE

63
50

91/¢1-0L dXVHI

o 2010 v5960 0080
91/0L-9 IXVHI | r-820 05 J9Hi
01-80 2¢ dgHI T
H|v 91/8-9 IXVHI L 52 3ar 05 33
B i

50
42

40

35

8-90 2EMO

8/9-v JXVHI G/Xy¢ HaHG

BHE MB50-50x80 22.5-113.5

63

1

10 um Direct Diametric Adjustment and 2 um by a Vernier Scale

o 5 3
Mu © Ok 1NN R4
S P00
o o5
T
©
(V]
T 0L1-08Q
(o)) o
lu £ 5
(14 = &
. o g 1's
8 S 3
(=
E i < 2




4d0d Sl

S
3
™

10 um

w
=
=)
G
o
L
S

BHE MB63-63x89 26-129.5

Fine Boring Head Range
10 um Direct Diametric Adjustment and 2 um by a Vernier Scale

ITS50RE

91/08-¢¢ 4XVHI

08-¢co

91/22-81 JXVHI
, 22810

68
63

V. 9ug1-91 dxvHI
81910

T

9L/9L-I dXVHI

50
50

|
T

m 9L-vl@

9L/¥L-¢k dXVHI
v1-¢clo

9L/EL-LE dXVHI
eh-L1o

T

91/21-0F dXVHI

@ ck-0lQ

91/01-8 IXVHI

63

€9x91d Had

08X8¢ H3Hg

W_ﬂ 0G 44HI

08G ddHiI

2€ 4dHI
g 44HI

% 8/X€9 HAg

T
5001

@200°0 "N
100 -
250 O

£93Hg

v.2-0vQ

L

SH-G'2LO
Md ¢08-9G 4dHI

T

S62H-G2LO

€L1-690
801790 oG1=ddVM
701-090 <0€=ddVX

§'6¢1-9'980

M3 208-9G 4dHI

08x8¢ HIHd

93.5

121-680
2C1-8.0 oSl=ddvX
8LL-V.0 08=ddVA
VEL-0LD oSy=ddVM

30 08 44HI

i
KAPR

T 001950 oGr=Hdvx
HO 0S JeHi

08X8¢ HIHd
© T

“=  /21-950 S¢1-980
08 JgHi
05 3
ZEMD
0H-2.0 g 08X82 HHg
- 0S JdHi
| e
=
06 33HI 2 =
_—_—— - @200°0 "woN
B (%] :uuoiOT
$21-2.0 -0
~

L

A See page 482

Member IMC Group

(T | Tl 421




2pum
10 ym

w
=
)
G
o
L
S

§'¢02-9'SS1@ 8V IX8c HIHG
G§29L-G'SLI@ 801X8¢ HIHG
Md 208-95 4dHI

$GEI-G830
M8 208-9S JuHI
s\
;\\ s BT
L . . -
@ §'202-9'880 002-2G+@ 8V 1X82 HaHd
SBI-2VI0 oG F=advi
161E7ID 0e=ddvl
, J8I-6E10 oGr=advi
010622 S S61-G80 091-¢I 10 801X8Z HaHg
= f 08220 06re0 821080 oSF=ddvy SSI-J01D oG H=Hdvi
o 510 0= S0SI-G20tD J0e=ddvyl
m B 91/¢c-8L JXVHI G2 dgHi ; ﬁ%ﬁ@ omlmn_<x o« /V1-660 oSh=ddvM
: e @8l R g 508k-5¢L0 Sr=HdwH % FI0 05 JaHi
._.m wm\wmw,wm AXVHI 2 3H g ZEMD
= v oLorvt soni | 3 S0IX9Ta Hag AV HO 05 JaHi _V “FEnHg
©
e 91710 v — 2
X OL/PL-ZL AXVHI “ 9
—0GdaHl | - |— -— = | = -
S o g el T O 3 - 0025220 — T
0. T 9L/EL-LL dXVHI ¢eddHl | — 002-GS+@ 8¥1X82 HIHG
3 .
2 g 5 e ﬁ@ 091-GI 10 801X8Z HaHg
o 2 9L/21-0L IXVHI 0G J9HI
= o @ ¢H-0lo ze1-88
N 91018 ® Z 0% 33HI
o o /018 XVHI 2 Z€ JaHi
u 5 a‘ﬂ 0180 g ZE 4HI 0G 34HI
ol 91/8-9 IXvHI | o o 87 1X8Z HIH
o R & 1Wm‘w‘@® £5%91a Hag > ,, e |
B R ~08x8z HaHg 08¥8Z HIHg * % ﬁxm@ EEE] 05 43Hi g ,
\\\\\ o [ 8] o _ X R A L
0-90 = : = e =
g = 95-820 - ? & e
g zon e 3 R B B
250 me R 950 O @50 © @50 O
083 08 IHE 083HE

>

08 3Hg
n_ =
m A om-ovaw A - 002-880

10 um Direct Diametric Adjustment and 2 um by a Vernier Scale

Fine Boring Head Range

3
S | ]
4404 Sl




ITS50RE Only for BHF MB! X68 BL LU
BHF MB-BL ADJIR_EEA nly for 50-50X68 2m ﬂn m
0 DCONWStHe PICCO ACE BH Wearmax
Fine Boring Heads with ; | ; - O
i i 0002 ] =

a %alar;cll\;llg Meof;an::s)m ¢ DCONMS E ey &1 BD | E m
and a 2 Micrometer Direc L : o1 | DoN-DCX ¢ {i}
Diametric Adjustment to ZLe

IHAXF CD

DCONMS BD LPR DCN() DCX® DCONWS ~ ADJRGR  RPMX® &
BHF MB50-32X60 BL 50.00 32.00 60.00 2.5 12.0 8.00 3.00 20000 0.80
BHF MB50-50X68 BL 50.00 50.00 68.50 6.0 22.0 16.00 4.00 20000 112

* For boring options, see page 427 e For spare parts, see page 466 e For cutting conditions, see page 477
) Cutting diameter minimum

(2 Cutting diameter maximum

@) Maximum RPM

For tools, see pages: IHAXF (432)

Balancing Weights W1 & W2

BHF MB50-32X60 BL and BHF MB50-50X68
BL with the simple positioning of the two
counterweights into the graduated groove.
The table below displays all tools available for
the working range of 2.5-22 mm diameters.

TOOLS & BORE SKB 40-MB50 BTB 40 MB50 HSK 63 MB50
Wi W2 Wi W2 Wi W2
25 66° 283° 54° 202° 60° 257°
3 76° 283° 56° 284° 8° 196°
b P e I 35 83° 360° 440 246° 107° 261°
4 116° 285° 30° 224° 128° 264°
4 71 293° 50° 204° 63° 262°
45 75° 287° 55° 287° 6° 1940
IHAXF 4-6/8 55 I 238° 4e 248° 129° 287°
55 126° 208° 302 229° 120° 268°
6 128° 264° 145° 301° 136° 254°
6.6 2° 302° 45° 307° 68° 280°
65 75° 288° 56° 288° 78 274°
IHAXF 6-8/8 7.7 5° 280° 55° 280° 179° 351°
75 16° 199° 78° 205° 120° 284°
8 121° 292° 18° 2140 128° 275°
8 70° 295° 49° 207° 88° 300°
85 75° 280° 55° 281° 51° 245°
IHAXF 8-10/8 9 67° 255° 49° 258° 160° 330°
95 131° 302° 19° 216° 1120 273°
10 119° 272° 167° 320° 129° 266°
10 65° 293° 46° 203° 56° 257°
105 66° 273° 29° 262° 182° 351°
IHAXF 10-12/8 11 440 234° 45° 255° 163° 317°
115 130° 295° 16° 214° 181° 270°
12 127° 275° 156° 312° 138° 259°




LL|
o
O
M
n
=

IHAXF 6- 8/16

IHAXF 8-10/16

IHAXF 10-12/16

IHAXF 12-14/16

IHAXF 14-16/16

IHAXF 16-18/16

IHAXF 18-22/16

ISCAR

Balancing Data for Various BHF...MB

...BL Boring Combinations (continued)

 BORE SKB 40-MB50 BTB 40 MB50 HSK 63 MB50
Wi W2 Wi W2 Wi W2
6.0 43° 315° 46° 346° 46° 346°
6.5 63° 326° 44° 326° 59° 336°
7 82° 305° 67° 304° 93° 323°
7.5 30° 205° 62° 255° 6I5R 163°
8 124° 242° 126° 258° 92° 219°
8 42° 312° 36° 336° 48° 348°
8.5 52° 328° 39° 339° 75° 330°
9 68° 318° 51° 317° 112° 331°
9.5 104° 283° 73° 268° 56° 212°
10 110° 270° 15° 200° 113° 222°
10 35° 336° 30° 330° 44° 344°
10.5 44° 321° 32° 332° 45° 345°
1 56° 307° 35° 312° 71° 325°
1.5 153° 328° 21° 223° 327° 121°
12 139° 297° 171° 333° 84° 234°
12 30° 330° 26° 326° 40° 340°
12.5 32° 332° 28° 328° 48° 334°
13 64° 281° 40° 280° 80° 304°
18.5 38° 236° 42° 261° 38° 208°
14 138° 253° 177° 300° 114° 236°
14 22° 324° 18° 318° 39° 339°
14.5 30° 330° 16° 316° 57° 357°
15 3r° 257° 22° 266° 54° 302°
1515 184° 340° 35° 270° 130° 297°
16 160° 253° 172° 277° 138° 251°
16 26° 326° 24° 324° 58° 358°
16.5 36° 303° 14° 313° 3r° 319°
17 37° 276° 27° 292° 56° 272°
17.5 151° 287° 187° 324° 128° 288°
18 160° 279° 189° 304° 140° 243°
18 10° 310° 6° 305° 28° 328°
18.5 29° 328° 0° 300° 17° 318°
19 200° 317° 230° 332° 26° 269°
19.5 190° 295° 208° 307° 169° 303°
20 180° 242° 188° 249° 174° 234°
20.5 179° 240° 186° 247° 168° 228°
21 176° 236° 174° 236° 169° 229°
215 190° 252° 141° 202° 170° 230°
22 180° 240° 170° 230° 176° 236°




ITS50RE

LF (assembly)
Only for BHF MB50-50X60
BHF MB16-MB50 ®© ® Wyt W 2um ﬂ°
Dia. 2.5-108 ¥ ] 7 PICCO ACE BH

Fine Boring Heads with a
2 um Direct Diametric

Adjustment for a Diameter
Range of 2.5 up to 108 mm ‘

DCONMS BD LF LPR ADJRGR DCN® DCX? DCONWS Fig. |H RPMX® & & f

DCN-DCX

LL
o
O
M
n
=

BHF MB16-16X34 RV 16.00 16.00 340 2600  1.00 18.0 23.0 1. H.16. 12000 0.11 BHLOCKNUT 14/16 BHLOCK SR 14/16
BHF MB20-20X40 RV 20.00 2000 400 3260  2.00 220 29.0 1. IH.20. 12000 0.14 BHLOCKNUT 20 BH LOCK SR 20
BHF MB25-25X50 25.00 2500 50.0 40.00 200 28.0 38.0 ° 1. H.25. 10000 0.21 BHLOCKNUT 25 BH LOCK SR 25
BHF MB32-32X63 32.00 3200 630 5150  3.00 355 50.0 - 1. IH.32. 10000 043 BHLOCKNUT 32 BH LOCK SR 32
BHF MB40-40X80 40.00 40.00 800 66.00  4.00 48.0 63.0 - 1. IH.40. 8000 079 BHLOCKNUT40  BHLOCKSR40
BHF MB50-50X60 50.00 50.00 790 60.00  4.00 2.5 108.0 16.00 2. H.50. 8000 1.09 BH NUT 10 BH LOCK SR 50

e For user guide, see pages 428, 481 e For spare parts, see page 466

() Cutting diameter minimum

@) Cutting diameter maximum

(3 Maximum RPM

For tools, see pages: IHAXF (432) o IHAXF-AVI (434) o IHAXF-E (434) o IHFF (436) ® IHRF (436) ® IHRF-BW (439) ¢ IHRF-CH (439)

Fine Boring Head Diameter Range Assembly Reference
10 20 30 40 50 60 70 80 90 100 110 120 130 150 180 280 400 600 700 800 1200 Page
BHF MB16-16x34 18-23

BHF MB20-20x40 22-29
BHF MB25-25x50 28-38 864
BHF MB32-32x63 35.5-50
BHF MB40-40x80 48-63
BHF MB50-32x60 BL 2.5-12
BHF MB50-50x68 BL 6-22
BHF MB50-50x60 2.5-108 864
BHF MB50-63x87 2.5-160
BHF MB50-80x94 2.5-220
BHF MB80-80x94 2.5-220
BHF MB80-125x114 36-500
TCH AL 200 200-602

TCH AL 300 300-702
TCH AL 400 400-802
TCH AL 500 500-902
TCH AL 600 600-1002
TCH AL 700 700-1102
TCH AL 800 800-1202

862

871

876

Member IMC Group




ITS50nRE USER GUIDE

BHF Fine Boring Heads high precision machining to a close tolerance with high surface quality.
These heads enable a fine diametric adjustment as small as 2 um with a direct reading.

BHF MB16-MB40 Diameter Range: 18-63

LL|
o
O
M
n
=

218-23
BHF MB16-16X34 RV

222-29
BHF MB20-20X40 RV

— g\ —0
=0 |
BHF MB25-25x50

50 —— >

\

228-38
BHF MB25-25x50

)

BHF MB25-25x50

BHF MB16-MB40 Diameter Range: 18-63

IHFF 32

236-50
BHF MB32-32x63

IHRF 32

BHF MB32-32x63

| 80 |

248-63
BHF MB40-40x80

BHF MB40-40x80

ISCAR




ITS50RE

Fine Boring Heads with Balancing Rings

2 pm Direct Diametric Adjustment

USER GUIDE

BHF MB50-32x60 BL 2.5-12

2pum

60

36

50

BHF MB50-32x60 BL

28

:
4
!

IHAXF 2.5-4/8
IHAXF 4-6/8
IHAXF 6-8/8

02.5-4
4-6
06-8
©8-10

|

IHAXF 8-10/8

©10-12

IHAXF 10-12/8

€ soay

) Tool siide
a Expanding Pin
A a Graduated Dial
B Slide Locking Screw
a Coolant Nozzle

Boring Bar Locking
Screws

a Balancing Rings

A See page 481

BHF MB50-50x68 BL 26-22

2um

68.5

63

€ soay

50

50

42

«<——— 35 —>

© e e
e 5§ 8
S Y

g
.
E
|

014-16

IHAXF 14-16/16

G

016-18

H

IHAXF 16-18/16

) Tool siide
9 Expanding Pin

A n Graduated Dial

B Slide Locking
Screw

G Coolant Nozzle

Boring Bar
Locking Screws

) oiling Nipple

e Balancing Rings

IHAXF 18-22/16

@18-22

A See page 481

Member IMC Group

LL
o
O
M
n
=

(T [Tl 427




w
=
)
G
o
L
%)
S

ITS50RE

Fine Boring Head Range
2 um Direct Diametric Adjustment

2pum

BHF MB50-50x60 22.5-108

91/08-¢¢_dXVHI
0€-¢cc@

m 91/2¢-81 dXVHI
¢¢8lQ

* 91/81-91 dXVHI
81-910

v 9L/9L-¥I dXVHI
9l-v10

&/
9L/vL-¢cl dXVHI
v1-¢clo

v 9L/EL-LL JXVHI

- 7 CL-11Q
J
91/2L-0F JXVHI

- | ¢l-0lg
J
91/01-8 JXVHI

01-80

14
91/8-9 dXVHI
8-90

8/9-v 4XVHI
90

68

63
50

50
42
40
35
28—

SLEEVE D8-D16

¥5-960
ci-820

M ¢ JuHI
G¢ 44HI
é g € 44HI

§¢ 44HI

GoLX 9LaHag

¥9-960
v-8¢@

W [4%=t=lxll

G¢ 4dHI

¢ 44Hl

G¢ 44HI

63

€9X 91d Hag

18-990
M8 ¢08-9G 4dHI

HM: “““ i 111-950

¥8-¢S0

G615 170 S1=ddv

SV2-6v0 0e=ddv)
& S +L6E0 Sr=HdvM
o

N

HO 06 JdHI

¥8-¥S0

m 09 d4HI

% - 05 44HI

801750
o oF INN Ha

LLE-180

M3 ¢08-99 4dHI

OF LNN Hd

601-220

¥01-¢/@ SH="dVX

66-G"290 08=ddVM

KAPR

§6-G'690 .Sr=HdVX

HO 0§ ddHI

G/Xy¢ HIHd

|

OL 1NN H4

801-080

09 d4dHI

0G d44HI

ZEMO

il

A See page 481

ISCAR



USER GUIDE

ITS50RE

Fine Boring Head Range
2 pm Direct Diametric Adjustment

BHF MB50-63x87 22.5-160
BHF MB63-63x87 22.5-160

LL
o
O
M
n
=

2pum

e— 38.5 —>I n Body
) Tool siide
BHFH 30x93 A e Graduated Dial

i«— 38.5 > Toolholder
Y Locking Screw

©95-160
IHFF 50
IHRF 50

a Expanding Pin

D @ a Slide Locking Screw

Coolant Nozzle

) oiling Nipple
Toolholder
Locking Screw

Q77-125
IHFF 50
IHRF 50

BHFH 30x75

125

fe— 80 —— >
l«— 50 ——>!

i

27—

]
()
1
[
A\
IHRF 25
236-80
THFF 3 2
IHRF 32

@28-70
IHFF 25

BHF MB50-63x87

] BBH 30x40 [ BBH 30x70 [ BBH 30x115

68

35

o
=]

i

40

e— 28 H‘

[~ 21—»\

© © © © © © © ©

63 © IS S @ 3 ) B N 3
® > =) i v v T T RN @

H S P oy <) - I < © o N

2 © o S| E= <|= o~  ol” ~ | olx

DK:G ol ol i Al ™ o|% AN % Yy DL

s 4= R 9% FE YE HE ¢E 28 g

' o olt Q| Qlf olt QlL ol aQlt QlE QlL

T
BHF MB63-63x87

! |<7 L1
’4— L —>|
é 6 } b 7 Dia Range L L1
D
|

‘[ | 246 20 24
D IHAXF 4-6/8
e
| 02.5-4 12 21
SLEEVE D8-D16 IHAXF 2.5-4/8

A See pages 481-482

Member IMC Grou

TRl 429




ITSB0RE USER GUIDE

Fine Boring Head Range
2 um Direct Diametric Adjustment

BHF MB50-80x94 22.5-220

LL
o
O
M
n
=

2pm
BHF MB80-80x94 ©2.5-220 H
. l 385 - n Body
| B ool siide
' BHFHa0a%5  §|o A B Graduated Dial
| Yl
-l
. S| T Toolholder
| 8le o Locking Screw
1 — |0
| fﬁg’ % % - @ B Expanding Pin

B Slide Locking Screw

BHFH 30x93 Coolant Nozzle
— <
125 8 Oiling Nipple
< 30 Toolholder
80 «~— 50— Locking Screw
818s
o
w9 % btee —— q I
BHF MB50-80x94 ! 2 ad glzz
- | §lEs
' 1
| | BBH 30x40 BBH 30x70 BBH 30x115
| ! 68
| 63
3 1
| 50
24 50
80 42

i

ﬁll-g e 21 —»\ _ 'y
\/ _ —
©)
I'I]Illl:
© © © © © © © ©
© S %) < ro) R ) Q S
© > = iy v o T o o @
9 ) | o - Y] < © @© ]
c © © [ |~ < ©o|— |~ NIl
| c‘g o|L olw e Tl -|w -lw Tl Nl D
! s o2 T 2 HE Y FE gE 22 gk
| o Qlt QlL QlLt QlLt QlLt QlL QlLt Qlf Qlt
L L1
| @4-6 20 24
IHAXF 4-6/8
@2.5-.4 12 21
SLEEVE D8-D16 IHAXF 2.5-4/8

A See pages 481-482

ISCAR




ITSB0RE USER GUIDE

Fine Boring Head Range
2 pm Direct Diametric Adjustment

LL
o
O
M
n
=

BHF MB80-125x114 236-500 2pum
e 51— n Body
| ) Tool siide
m BHFH 40x400 A a Graduated Dial

; Toolholder
Locking Screw
‘ BHFH 40x300 a Expanding Pin
‘ a Slide Locking Screw
Coolant Nozzle
) oiling Nipple

@405-500
IHFF 50
IHRF 50

@305-410
IHFF 50
IHRF 50

BHFH 40x200

'
Hf BHFH 40x133
'

200

IHFF 50
IHRF 50
E ©205-310

IHFF 50
IHRF 50

©135-210
>

BHF MB80-125x114

|
o oo
|

| x
: € ® ©
mm{m|

@46-137
—>|

IHFF 40
HRF 40

©36-123
IHFF 32
IHRF 32

A See page 482

Member IMC Group

| Tl 431



2pm

ITS50RE = LF (assembly)=|
- LPR—~ ‘
BHF MB50-MB80

PICCO ACE BH

‘I‘ Bar Max

Dia. 2.5-500

Fine Boring Heads with a

2 um Direct Diametric
Adjustment for a Diameter
Range of 2.5 up to 500 mm

ADBH

LL
o
O
M
n
=

DCONMS BD LF DCN® DCX®) LPR ADJRGR  RPMX® &

BHF MB50-63X87 (1) 50.00 63.00 87.0 2.5 125.0 49.00 5.00 8000 1.28
BHF MB50-80X94 (2 50.00 80.00 94.0 2.5 160.0 58.00 5.00 8000 2.22
BHF MB63-63X87 (1 63.00 63.00 87.0 2.5 125.0 49.00 5.00 6000 1.57
BHF MB80-80X94 (2 80.00 80.00 94.0 2.5 160.0 58.00 5.00 5000 2.63
BHF MB80-125X114 80.00 125.00 114.0 135.0 500.0 63.00 5.00 4000 572

® For user guide, see pages 429-431, 478-483 e For spare parts, see page 466
) Use with slide BHFH 30X75 or BHFH 30X93.

(2) Use with slide BHFH 30X93 or BHFH 30X135.

(@) Use with slide BHFH 40X133, BHFH 40X200, BHFH 40X300 and BHFH 40X400.
@) Cutting diameter minimum

(8) Cutting diameter maximum

(6) Maximum RPM

ITS50nRE
-+ LSCMS =

IHAXF -~ LSCMS {=— OHN —» e OHN— =

Brazed and Indexable rLDRED* - «— LDRED —»| | LSCMS [+-OHN=) o

Boring Bars for the MB = (‘ ,,,,,, e &1 Eﬂ;%:

Modular Boring System TDCoNMSas J (DCN-DCX P %{DCN'DCX BCONMSgS e

& DCONMSg5 KAPR -
Fig. 1 — Fig.2 Fig. 3

DCN®  DCX® LDRED OHN® LSCMS DCONMS® Fig.  KAPR® Insert CSP® & ?
IHAXF 2.5-4/8 (1) 250 4.00 12,5 21.00 22.00 8.00 1. 30 SOLID 0
IHAXF 4- 6/8 (1 4.00 6.00 20.0 24.00 24.00 8.00 1. 3.0 SOLID 0
IHAXF 6- 8/16 6.00 8.00 21.0 29.00 22.00 16.00 2. 3.0 WCGT 0201... 1 SR 14-299 T-6/5
IHAXF 6- 8/8 6.00 8.00 21.0 23.00 16.00 8.00 3. 50 WCGT 0201... 1 SR14299  T-6/5
IHAXF 8-10/16 8.00 10.00 28.0 36.00 22.00 16.00 2. 3.0 WCGT 0201... 1 SR 14-299 T-6/5
IHAXF 8-10/8 8.00 10.00 - 28.00 16.00 8.00 & 5.0 WGGT 0201... 1 SR14-299  T6/5
IHAXF 10-12/16 10.00 12.00 350 43.00 22.00 16.00 2, 30 TPGX 0902... 1 SR14-298  T-8/5
IHAXF 10-12/8 10.00 12.00 ° 36.00 16.00 8.00 3. 5.0 TPGX 0902... 1 SR 14-298 T-8/5
IHAXF 11-13/16 11.00 13.00 40.0 48.00 22.00 16.00 2. 3.0 TPGX 0902... 1 SR 14-298 T-8/5
IHAXF 12-14/16 12.00 14.00 420 48.00 22.00 16.00 2, 30 TPGX 0902... 1 SR14-298  T-8/5
IHAXF 12-14/8 12.00 14.00 - 42.00 14.00 8.00 3. 3.0 TPGX 0902... 1 SR 14-298 T-8/5
IHAXF 14-16/16 14.00 16.00 50.0 52.00 22.00 16.00 2, 30 TPGX 0902... 1 SR14-298  T-8/5
IHAXF 14-16/8 14.00 16.00 - 48.00 14.00 8.00 3 30 TPGX 0902... 1 SR14298  T-8/5
IHAXF 16-18/16 16.00 18.00 50.0 58.00 22.00 16.00 2. 3.0 TPGX 0902... 1 SR 14-298 T-8/5
IHAXF 16-18/8 16.00 18.00 - 54.00 14.00 8.00 3. 3.0 TPGX 0902... 1 SR 14-298 T-8/5
IHAXF 18-22/16 18.00 22,00 - 63.00 22.00 16.00 2, 30 TPGX 0902... 1 SR14-298  T-8/5
IHAXF 22-30/16 22,00 30.00 - 68.00 22.00 16.00 2, 30 TPGX 0902... 1 SR14-298  T-8/5

() Brazed tool

() Cutting diameter minimum

@) Cutting diameter maximum

4) Minimum overhang

) For DCONMS=8 mm, 16 mm O.D. sleeves should be used

() Tool cutting edge angle

(™ 0 - Without coolant supply, 1 - With coolant supply

For inserts, see pages: TPGX (459) » TPGX (CBN) (460) » TPGX (PCD) (460) « WCGT (459)

For holders, see pages: ADBH (435) » BHD MB (414) » BHE MB (418)  BHE MB-H (418)  BHF MB-BL (423) » BHF MB16-MB50 Dia. 2.5-108 (425) » SLEEVE (433)

ISCAR




PICCOACE ITS50RE

PICCO ACE-BH

Holders with Short Shanks for
ITS BORE System Carrying
PICCOCUT Inserts

le—— B ——»

OAL

|
BD DCONWS

l [

- DCONMS

DCONMS

DCONWS

BD

OAL

LB

/

PICCO ACE-BH 16-4 16.00
16.00
16.00

16.00

PICCO ACE-BH 16-5
PICCO ACE-BH 16-6
PICCO ACE-BH 16-7

4.00
5.00
6.00
7.00

14.50
14.50
19.90
19.90

42.50
42.50
43.50
43.50

21.50
21.50
21.50
21.50

WRENCH ACE 4-5
WRENCH ACE 4-5
WRENCH ACE 6-7
WRENCH ACE 6-7

¢ Holders are suitable for right- and left-hand PICCO inserts

The PICCO-ACE-BH Holders Can Carry a Wide Range of PICCOCUT Insert Geometries

Y

y

B

PICCO 050

PICCO 050C

PICCO 051

PICCO 050 I1B50 (CBN)

e

*

PICCO 520

PICCO 060

PICCO MF

PICCO 010

PICCO 020

ITSBORE
BBH D16

Extension Slides for MB
Modular Fine Boring Holders

DCONMS g6

DCONMS

LPR

BD

LS

BBH D16-53 16.00
BBH D16-105 16.00

53.00
95.00

25.00
25.00

21.50
21.50

0.50
0.80

For tools, see pages: IHFF (436) * IHRF (436)

ITSB0RE
SLEEVE

Reduction Sleeves for
Boring Bars on the MB
Modular Boring System

D OAL—»\

v 2

DCONMSg7

v
DCONWSh8

7
Fig.1

§ @

Fig.2

DCONMS

DCONWS

OAL

Fig.

SLEEVE D 8-D16

16.00

8.00

23.00

For tools, see pages: [HAXF (432)

Member IMC Group

LL
o
O
M
n
=




ITS50RE

IHAXF-AVI fe—22—><— OHN— 22 OHN

Heavy Metal Vibration

i }
Damping Boring Bars DCOf\iM895 —-—-—@~ DCOI\JMSQS S ‘I_V/Aiﬁ-__é DCNfDCX

LL
o
O
M
n
=

— 1
3 B
T 4
IHAXF 6- 8-AVI 6.00 8.00 36.0 16.00 WCGT 0201... SR 14-299 T-6/5
IHAXF 8-10-AVI 8.00 10.00 48.0 16.00 WCGT 0201... SR 14-299 T-6/5
IHAXF 10-12-AVI 10.00 12.00 60.0 16.00 TPGX 0902... SR 14-298 T-8/5
IHAXF 12-14-AVI 12.00 14.00 72.0 16.00 TPGX 0902... SR 14-298 T-8/5
IHAXF 14-16-AVI 14.00 16.00 84.0 16.00 TPGX 0902... SR 14-298 T-8/5
IHAXF 16-18-AVI 16.00 18.00 96.0 16.00 TPGX 0902... SR 14-298 T-8/5

¢ Note: Not recommended to be used on balanceable BHF-BL fine boring heads.

() Cutting diameter minimum

@) Cutting diameter maximum

() Minimum overhang

For inserts, see pages: TPGX (459) ¢ TPGX (CBN) (460) ® WCGT (459)

For holders, see pages: ADBH (435) ® BHD MB (414) « BHE MB (418) « BHE MB-H (418) * BHF MB16-MB50 Dia. 2.5-108 (425)

ITS50nRE
OHN |

IHAXF-E | ffv;

Carbide Vibration j

Dampening Boring Bars DCONMSg5 {—-—- ‘\L@ [ DCN-DCX

.
\SB

DCN( DCX@ OHN® DCONMS Insert & ?
IHAXF 6- 8-E 6.00 8.00 45.0 16.00 WCGT 0201... SR 14-299 T-6/5
IHAXF 8-10-E 8.00 10.00 60.0 16.00 WCGT 0201... SR 14-299 T-6/5
IHAXF 10-12-E 10.00 12.00 75.0 16.00 TPGX 0902... SR 14-298 T-8/5
IHAXF 12-14-E 12.00 14.00 90.0 16.00 TPGX 0902... SR 14-298 T-8/5
IHAXF 14-16-E 14.00 16.00 106.0 16.00 TPGX 0902... SR 14-298 T-8/5
IHAXF 16-18-E 16.00 18.00 120.0 16.00 TPGX 0902... SR 14-298 T-8/5

¢ Note: Not recommended to be used on balanceable BHF-BL fine boring heads.

() Cutting diameter minimum

() Cutting diameter maximum

() Minimum overhang

For inserts, see pages: TPGX (459) ¢ TPGX (CBN) (460) « WCGT (459)

For holders, see pages: ADBH (435) ¢ BHD MB (414) ¢ BHE MB (418) » BHE MB-H (418) » BHF MB16-MB50 Dia. 2.5-108 (425)

ITSB0RE ~—BD2—~ = OAW =

BBH 30/40

Extension Slides for MB *T

Modular Fine Boring Holders L PR

l«BD-=

s . B
BBH 30X40 30.5 40.0 25.00 52.50 43,00 0.27
BBH 30X70 30.5 70.0 25.00 82.50 43,00 0.38
BBH 30X115 30.5 115.0 27.00 127.50 43.00 0.64
BBH 40X69 40.0 69.0 32.00 86.00 56.00 0.69
BBH 40X114 40.0 114.0 32.00 131.00 56.00 0.98
BBH 40X189 40.0 189.0 38.00 206.00 56.00 1.94

For tools, see pages: IHFF (436) ¢ IHRF (436)

ISCAR




ITS50RE

BHFH OAL ‘ - OAW»‘
Counter Weight Slides for MB T T 7
Modular Fine Boring Holders o

LL
o
O
M
n
=

L /

BHFH 30X75 30.5 75.00 25.00 0.44 SR M10X25 DIN912
BHFH 30X93 30.5 93.00 25.00 0.54 SR M10X25 DIN912
BHFH 30X135 30.5 135.00 25.00 0.76 SR M10X25 DIN912
BHFH 40X133 40.0 133.00 40.00 1.52 SR M10X25 DIN912
BHFH 40X200 40.0 200.00 40.00 2.30 SR M10X25 DIN912
BHFH 40X300 40.0 300.00 40.00 3.47 SR M10X25 DIN912
BHFH 40X400 40.0 400.00 40.00 4.56 SR M10X25 DIN912
For tools, see pages: IHFF (436) ¢ IHRF (436)  IHRF-BW (439) * IHRF-CH (439)

ITS50RE = OAW [~
BBH 63 i
Extension Slides for MB Modular

BHE Fine Boring Holders

N
l<BD-+!
e
Designation BD_2 LPR BD LB OAW ka]
BBH 63X78 63.00 78.00 32.00 66.0 28.0 0.52
For tools, see pages: IHFF (436) ¢ IHRF (436)
ITSB0RE
BHEH
Slides for MB Modular BHE o
i i D]
Fine Boring Holders [ SCONWS BD
1
o w e wows B S S L
BHEH 24X75 240 75.00 14.50 - 0.20
BHEH 28X80 28.0 80.00 22.50 16.00 0.33 SR M6X6 DIN913* SR M5X25DINg12* HW 4.0* HW 3.0*
BHEH 28X108 28.0 108.00 22.50 - 0.53
BHEH 28X148 28.0 148.00 22.50 - 0.69

* Optional, should be ordered separately
For tools, see pages: IHFF (436) ¢ IHRF (436)  IHRF-BW (439) e IHRF-CH (439)

ITS50RE . oA
ADBH = T
Sleeve for MB Modular ) ‘f u
Fine Boring Holders i OAL

DA |

SN . [.oconws

o mows o L)

ADBH 30XD16 30.00 16.00 25.00 39.00 30.5 0.15

For tools, see pages: [HAXF (432) o IHAXF-AVI (434)  IHAXF-E (434)

Member IMC Group

(T [ Tall 435



ITSBCRE
Ccw32 kg

Counter Balancing Weight Tf i I
Used on BHEH Slide for OAL {j |
Fine Boring Holders

g L !ﬁv

LL
o
O
M
n
=

&

31.50 0.05

ITS50RE

IHFF V\tF
Triangular Insert Holders J

for Mounting on MB
Fine Boring Heads

91°
\
OAL |
IHFF 25 10.00 2650 280 400 TPGX 0902... SR 14-298 T8/5
IHFF 32 11.50 3450 3.0 530 TPGX 0902... SR 14-298 T8/5
IHFF 40 14.00 44.60 480 660 TPGX 1103... SR-17979 M3X8 T8/5
IHFF 50 19.00 52.00 540 86.0 TPGX 1103... SR-17979 M3X8 T8/5

() Cutting diameter minimum

() Cutting diameter maximum

For inserts, see pages: TPGX (459) ¢ TPGX (CBN) (460)

For holders, see pages: BBH 30/40 (434) ¢ BBH 63 (435) ¢ BBH D16 (433) ® BHD 50 L200 (437) » BHD MB (414) ® BHE MB (418) ® BHEH (435)  BHF L200 (437) o
BHF MB16-MB50 Dia. 2.5-108 (425) ® BHFH (435)

ITS50RE

IHRF }

80° Rhombic Insert er

Holders for Mounting on —

MB Fine Boring Heads T

90°
OAL ==

WF T
IHRF 16 8.00 17.00 18.0 24.0 CCGT 0602... SR 14-548 T-7/5
IHRF 20 8.50 21.00 22.0 30.0 CCGT 0602... SR 14-548 T-7/5
IHRF 25 10.00 26.50 28.0 40.0 CCGT 0602... SR 14-548 T-7/5
IHRF 32 11.50 34.50 35.0 53.0 CCGT 0602... SR 14-548 T-7/5
IHRF 40 14.00 44.00 48.0 66.0 CCGT 09T8... SR 16-236 T-16/5
IHRF 50 19.00 52.00 54.0 86.0 CCGT 09T3... SR 16-236 T-16/5

() Cutting diameter minimum

(2 Cutting diameter maximum

For inserts, see pages: CCET-WF (453) » CCGT-AF (455) « CCGT-AS (455) » CCGW/CCMT (CBN) (454) « CCMT (PCD) (454) « CCMT-14 (453) » CCMT-PF (452)

o CCMT-WG (454) e CCMT/CCGT (453) ® CCMT/CCGT-SM (452)

For holders, see pages: BBH 30/40 (434)  BBH 63 (435) « BBH D16 (433) ¢ BHD 50 L200 (437) « BHD MB (414) « BHE MB (418)  BHEH (435) ¢ BHF L200 (437)
* BHF MB16-MB50 Dia. 2.5-108 (425) e BHFH (435)

ITSB0RE
IHWF f
Trigon Insert Holders for Mounting WF
on MB Fine Boring Heads ¥
95°

le—— OAL
WF OAL DCN® DCX? Insert
| HWF14E | 8.00 14.00 145 180 WGGT 0201...

() Cutting diameter minimum

(2) Cutting diameter maximum

For inserts, see pages: WCGT (459)

For holders, see pages: BHD MB (414) e BHE MB (418)

ISCAR




ITS56RE -

ADJRGR
BHD 50 L200 ' DCN-DCX
Digital Fine Boring Slide Head for . ||
TCH AL Large Diameter Holders OAL

LL
o
O
M
9
=

IHFF 50 IHRF 50 CH45 54-800
‘ IHRF 50 IHRF 50 CH30 54-800
Serated Surface IHRF 56-802BW IHRF 50 CH15 54-800
v
O
Designation DCN® DCX@ OAL OAH ADJRGR RPMX® ka)
BHD 50 L200 200.0 1202.0 110.00 74.0 5.00 20000 1.70
() Cutting diameter minimum
(2 Cutting diameter maximum
) Maximum RPM
For tools, see pages: IHFF (436) » IHRF (436) * IHRF-BW (439) » IHRF-CH (439)
Iy _v_ 7 |
l TSDVHE ADJRGRﬁ LF (assembly)
BHF L200 I [e=
Fine Boring Slide Head for TCH I DCN-DCX
AL Large Diameter Holders
OAL
- IHRF 50 CH45 54-800
Serrated Surface (=] IHRF 50 CH30 54-800
v IHRF 56-802B IHRF 50 CH15 54-800
O
Designation DCN( DCX®@ OAL LF ADJRGR )
BHF L200 200.0 1202.0 110.00 67.0 5.00 1.27

() Cutting diameter minimum
(2 Cutting diameter maximum
For tools, see pages: IHFF (436) ¢ IHRF (436)  IHRF-BW (439) e IHRF-CH (439)

ITS50RE

Cw200

Counter Balancing Weight
for TCH AL Rough and
Fine Boring Holders

30x56.5

L elbilolo}o)

O
owz0 | 10500 o7

3-B@RE
= =

Member IMC Group

(T [Tl 437



I TSBGRE Ay BH

>80 [+ o =
TCH AL =H
Aluminum Twin Cutter ‘
Heads for Rough and Fine H%BD et & e
Boring Operations, Diameter Si* ] tex

\DBC J .

Range 200-1200 mm %

LL
o
O
M
n
=

O
DCN®  DCX?  BD DCONMS  DBC ss OAW  CXT BH  csPo  Rpmx¢ S

TCH AL200 200.0 602.0 194.00 40.00 66.70 80 ° > 54.00 1 700 3.20
TCH AL300 300.0 702.0 288.00 40.00 66.70 80 ° - 54.00 1 400 3.90
TCH AL400 400.0 802.0 394.00 40.00 66.70 80 o 1/4GAS 61.00 0 300 6.90
TCH AL500 500.0 902.0 494.00 60.00 101.60 80,110 128.0 1/4GAS 69.00 0 200 8.70
TCH AL600 600.0 1002.0 594.00 60.00 101.60 80,110 128.0 1/4GAS 71.00 0 200 8.34
TCH AL700 700.0 1102.0 694.00 60.00 101.60 80,110 128.0 1/4GAS 74.00 0 200 8.34
TCH AL800 800.0 1202.0 794.00 60.00 101.60 80,110 128.0 1/4GAS 80.00 0 150 15.20

¢ Aluminum body, with steel serrated seats ® The "O" position on the counterweight balances the BHF boring head for 200 mm boring diameter position. For every 10 mm
change in boring diameter, move the counterweight by 1 measurement mark e Verify that the weight of the entire tool assembly does not exceed the machine spindle's
carrying capability e For spare parts, see pages 436-437, 469

() Cutting diameter minimum

() Cutting diameter maximum

() 0 - Without coolant supply, 1 - With coolant supply

4 Maximum RPM

For tools, see pages: IHBR (409) ¢ IHCR (408) ® IHPR (408) ¢ IHSR (408)  IHSR-BW (410)

Large Diameter Double Edge Fine Boring Options

LF

ﬂ OAW
DIN2080-CP 80
(centering plug) T r

B

DCN-DCX

HSK A 100 FM 60X 70|
BT-FM

DING9871-FM

— IHRF 50 CH15 54-800
IHRF 56-802BW— TCHH EX 100/300J vz IHRF 50 CH30 54-800 -
IHRF 50 CH45 54-800 —

TCHH EX 100/300 TCHH EX 100/300

DCN-DCX(3,4)

DCN-DCX
Aluminum Twin Cutter Heads
Extension
Fine Boring Slide Head Slides Dimensions | TCH200 | TCH300 | TCH400 | TCH500 | TCH 600 | TCH 700 | TCH 800
BHF (200 / BHD50 1200 DON-DCX 200-300 300-400 400-500 500-600 600-700 700-800 800-900
BHF 200 / BHD50 L200 TCHH EX 100 DON-DCX 300-400 400-500 500-600 600-700 700-800 800-900 | 900-1000
BHF L200 / BHD50 L200 TCHH EX 300 DCN-DCX 400-600 500-700 600-800 700-900 800-1000 900-1100 | 1000-1200
BHF 200 / BHD50 L200 DCN-DCX(3,4) | 202-302 302-402 402-502 502-602 602-702 702-802 802-902
BHF (200 / BHD50 1200 TCHH EX100 | DCN-DCX(3,4) | 802-402 402-502 502-602 602-702 702-802 802-902 | 902-1002
BHF 200 / BHD50 L200 TCHHEX 300 | DCN-DCX(3,4) | 402-602 502-702 602-802 702-902 | 802-1002 | 902-1102 | 1002-1202
BHF L200 LF 120 120 127 1356 137 140 146
BHF 1200 TCHH EX 100 LF 2 150 150 157 165 167 170 176
BHF 1200 TCHH EX 300 LF 2 160 160 167 175 177 180 186
BHF 1200 LF 3 103 108 110 118 120 123 129
BHF 1200 TCHH EX 100 LF 4 133 133 140 148 150 153 159
BHF 1200 TCHH EX 300 LF 4 143 143 150 158 160 163 169
BHD50 200 LF 147 147 154 162 164 167 173
BHD50 1200 TCHH EX 100 LF 2 177 177 184 192 194 197 203
BHD50 1200 TCHH EX 300 LF 2 187 187 194 202 204 207 213
BHD50 200 LF 3 130 130 137 145 147 150 156
BHD50 1200 TCHH EX 100 LF 4 160 160 167 175 177 180 186
BHD50 1200 TCHH EX 300 LF 4 170 170 177 185 187 190 196

ITS50RE

r:
Borng Too v0-0-0
Boring Tools Extension Slides Oﬁﬁl =©=©

for TCH AL Boring Heads i OAL -

0727475 8 10

O

|- >
ES

Designation OAH OAW OAL %

TCHH EX100 31.00 355 1565.00 1.50
TCHH EX300 41.00 365 256.00 2.80

For tools, see pages: IHBR (409) » IHCR (408) » IHPR (408) » IHSR (408) * IHSR-BW (410)

ISCAR




ry_v_ 7 |
ITS50RE ¥ oM o = LLJ
IHRF-BW ‘ Jeo oC
Back Face Turning Toolholders e pEeoas v ponALE00-800 O
for BHF and TCH AL - IHRF...BW Z 7  LF IHRR.BW
1 1 T
Fine Boring Heads o twe m
DCON-DCX] - <%Dcx CD
Ss BD DCN® LF DCX® WF OAL Insert |:
IHRF 20-25BW BHF MB16-16x34 16 20 275 25 8 18 CCMT 0602...
IHRF 24.5-32BW BHF MB20-20x40 20 245 33.5 32 8.5 22.5 CCMT 0602...
IHRF 31.5-41.5BW BHF MB25-25x50 25 31.5 41.5 40.5 95 285 CCMT 0602...
IHRF 38.5-51.5BW BHF MB32-32x63 32 385 53 51.5 11 8515) CCMT 0602...
IHRF 50.5-65BW BHF MB40-40X80 40 50.5 68 65 13.5 46 CCMT 09T8...
BHF MB50-50X60 50 56 62 87 17.5 53 CCMT 09T3...
BHF MB63-63X87+BHFH... 75-93 82 70.5 127 17.5 53 CCMT 09T8...
BHF MB80-80X94+BHFH... 93-135 100 79.5 162 175 53 CCMT 09T3...
BHF MB80-125X114+BHFH... 133-400 140 98 502 175 53 CCMT 09T8...
TCH AL200+BHF L200/BHD 50 L200 194 202 103 302 17.5 53 CCMT 09T3...
IHRF 56-802BW TCH AL300+BHF L200/BHD 50 L200 288 302 103 402 17.5 53 CCMT 09T8...
TCH AL400+BHF L200/BHD 50 L200 394 402 110 502 17.5 53 CCMT 09T3...
TCH AL500+BHF L200/BHD 50 L200 494 502 118 602 17.5 53 CCMT 09T8...
TCH AL600+BHF L200/BHD 50 L200 594 602 120 702 17.5 53 CCMT 09T3...
TCH AL700+BHF L200/BHD 50 L200 694 702 123 802 175 53 CCMT 09T8...
TCH AL800+BHF L200/BHD 50 200 794 802 129 902 17.5 53 CCMT 09T3...

* DMIM=(min bore diameter)=(DCN+BD+1)/2 e BD=Size of the boring head being used

M) Cutting diameter minimum

(2) Cutting diameter maximum

For inserts, see pages: CCGT-AS (455) ¢ CCGW/CCMT (CBN) (454) « CCMT (PCD) (454) « CCMT-14 (453) « CCMT-PF (452) ® CCMT-WG (454) ¢ CCMT/CCGT (453)
* CCMT/CCGT-SM (452)

For holders, see pages: BHD 50 L200 (437) ® BHD MB (414)  BHE MB (418)  BHEH (435)  BHF L200 (437) » BHF MB16-MB50 Dia. 2.5-108 (425) ¢ BHFH (435)

Spare Parts

$ »

ICCET 5 6% D

ITS50RE

IHRF-CH il

Chamfering Tools for =Te [o7 1

BHF Boring Heads J{ ‘

- | I oY LF OAL DCN-DCX
il ||

DCN() DCX® LF OAL WF LFA PSIRR Insert
IHRF 16 CH20 18-23 18.00 2300 17.60 20.00 11,00 220 200 COGT 0602...
IHRF 16 CH30 18-23 18.00 23.00 16.80 20,00 9.00 3.20 300 COGT 0602...
IHRF 16 CH45 18-23 18.00 23.00 15.54 20.10 9.50 4.60 45.0 CCGT 0602...
IHRF 16 CH60 18-23 18.00 23.00 14.50 20.00 9.50 5.60 60.0 CCGT 0602...
IHRF 20 CH15 22-29 2200 29.00 2230 24.00 11,00 1.70 150 CCGT 0602...
IHRF 20 CH20 22-29 22.00 29.00 21.70 24,00 11.00 2.20 20.0 CCGT 0602...
IHRF 20 CH30 22-29 2200 29,00 20,80 24,00 9.00 3.20 300 COGT 0602...
IHRF 20 CH60 22-29 22,00 29.00 18.40 24,00 9.50 560 60.0 COGT 0602...
IHRF 25 CH15 28-38 28.00 38.00 24,00 25.70 10.40 1.70 15.0 CCGT 0602...
IHRF 25 CH30 28-38 28.00 38.00 22.60 25.60 10.40 3.20 30.0 CCGT 0602...
IHRF 25 CH45 28-38 28.00 38.00 2140 2590 1040 440 450 COGT 0602..
IHRF 32 CH15 35-53 35.00 53.00 32.00 33.70 12.60 1.70 15.0 CCGT 0602...
IHRF 32 CH30 35-53 35.00 53.00 3050 33.70 1240 3.20 300 COGT 0602...
IHRF 32 CH45 36-50 36.00 50,00 29.20 33.70 12,10 460 450 CCGT 0602...
IHRF 32 CH60 36-50 36.00 50.00 29.30 34.80 12.00 5.60 60.0 CCGT 0602...
IHRF 40 CH60 48-63 4800 £3.00 39.10 4750 16.50 8.40 60.0 CCGT 09T3..
IHRF 40 CH15 48-66 4800 66.00 4490 4740 17.50 250 150 COGT 09T3..
IHRF 40 CH30 48-66 48.00 66.00 38.20 42.90 14.40 4.70 30.0 CCGT 09T3...
IHRF 40 CH45 48-66 4800 £6.00 36.40 43,00 14.40 6.70 450 COGT 09T3..
IHRF 50 CH15 54-800 54.00 800.00 48.10 50.60 19.00 2.50 16.0 CCGT 09T3...
IHRF 50 CH20 54-800 54.00 800.00 52.20 55.50 18.00 3.30 20.0 CCGT 09T8...
IHRF 50 CH30 54-800 54.00 80000 499 50.80 19.00 470 300 CCGT 09T3..
IHRF 50 CH45 54-800 54.00 80000 4400 50.60 19.00 6.70 450 COGT 09T3...
IHRF 50 CH60 54-800 54.00 800.00 47.10 55.50 16.50 8.40 60.0 COGT 09T3...

() Cutting diameter minimum

(2 Cutting diameter maximum

For inserts, see pages: COGT-AS (455) ¢ CCGW/CCMT (CBN) (454) » CCMT (PCD) (454) » COMT-14 (453) » COMT-PF (452) » CCMT-WG (454) » CCMT/CCGT (453)
e CCMT/CCGT-SM (452)

For holders, see pages: BHD 50 L200 (437) » BHD MB (414) » BHE MB (418) » BHEH (435) » BHF L200 (437) » BHF MB16-MB50 Dia. 2.5-108 (425)  BHFH (435)

Member IMC Group
o=
L 4 11 ]




ITSB0RE

KIT BHD-MB

Digital Display Fine Boring
Head and Various Boring

DCN-DCX
Tools and Inserts DCONMS

T lerad BT

LL
o
O
M
n
=

DCN( DCONMS DCX®

KIT BHD MB50-50 6-110 6.00 50.00 110.00
KIT BHD MB63-63 6-125 6.00 63.00 125.00
KIT BHD MB80-80 6-200 6.00 80.00 200.00

() Cutting diameter minimum
() Cutting diameter maximum

Boring Kit BHD MB50-50 metric/inch (86-110 mm)
Fine Boring Head with a 2 pm Direct Diametric Adjustment Resolution and a Built-in Digital Display

r 2pm Tools Inserts

BHD MB50-50x60

2 WCGT 020102L

IHFF 25

5 TPGX 730-L

IHFF 32

1 TPGX 220-L

IHFF 50

IHAXF 6-8/16
IHAXF 8-10/16
IHAXF 11-13/16
IHAXF 16-18/16
IHAXF 22-30/16
BBH D16-53
BHEH 24x75
BH NUT 10
1CW 32

JE'Y JRY Y (RN RN Y Y Y UY Y Y Y

MB Boring Range

50 6-110

@6-30 236-56 054-86 280-110 ©92-110

ot } =
NUTH (aa 7

WO'I*(IT 79 'II*(IF
T

)| 4 S

Joo

K 1 BEH
26-8 528 D16-53

IHAXF 6-8/16 40

|HFF 50 BHEH 24x75

gt
Tz

a
0812 E 054-86 | IHFF50 BHEH 24x75
IHAXF 8-10/16 6 A '
011-17 ﬁ 028-44
FAXF 1173716 A HFF 25 080-110 | IHFF50
01623 — | oses6
TFAF 1578776

o5 A v [HFF 32 - 092-110

[HAXF 22-30/16

2208 ISCAR




ITS50nRE
Boring Kit BHD MB63-63 6-125 metric/inch (86-125 mm)
Fine Boring Head with a 2 pm Direct Diametric Adjustment Resolution and a Built-in Digital Display

r 2pm Tools Inserts

BHD MB63-63-89 2 WCGT 020102L
BBH 63X78 5 TPGX 730-L
BHEH 28X80 1 TPGX 220-L
BBH 16-53
Cwa2

IHAXF 6- 8/16
IHAXF 8-10/16
IHAXF 11-13/16
IHAXF 16-18/16
IHAXF 22-30/16
IHFF 25

IHFF 32

IHFF 50

LL
o
O
M
n
=

0] 6] a]a 0
o] a[2] [o]-]

Y JUIFY (Y (Y PTY Y Y Y IFY P P Y Y

MB d1 Boring Range
KIT BHD MB63-63 6-125 63 2.5-125

@6-30 228-56 Q40-74 @72-103 086-125

BHEH 28X80
44l

06-8

068
IHAXF 6-8/16 Py
PO

08-12 R
IHAXF 810716 0y
N

BHEH 28X80|

@40-56 ©86-125

011-17 8 12

AT T HFF 32 A
— 1 028-44

016-23 4 I

IHAXF 16-18/16 IHFF 25 -’F.‘
A 036-56 A

02230 HFF32 o474 |

THAXF 22-30716 HFF50

Boring KIT BHD MB80-80 6-200 metric/inch (86-200 mm)
Fine Boring Head with a 2 um Direct Diametric Adjustment Resolution and a Built-in Digital Display

r 2pm Tools Inserts

HD MB80-80-104 2 WCGT 020102L
BH D16-53 PGX 730-L
BH 63X78 PGX 220-L
H
H

(3}
=

ey
]
o |

EH 28X108
EH 28X148
W32

F 6- 8/16

F 8-10/16
F 11-13/16
F 16-18/16
AXF 22-30/16
HFF 25

IHFF 32

IHFF 50

QW |W|W|(=@

AX
AX
AX
AX

6] a0 |
alala] Jol

I|T|T|XT|T

JEY Iy Y Y Y Y EY Y P EFY Y Y Y Y

Designation MB Boring Range
KIT BHD MB80-80 6-200 80 6-200

26-30 028-56 040-86 085-116 ©115-160 @155-200

1

BHEH 28X80' *
poa 3N
@6-8 — 28

268
IHAXF 6-8/16 %0
08-12 @ 5
IHAXF 8-10/16 A 6
01117 )
IHAXF 11-13/16

BHEH 28X80) BHEH 28x148

0115-160 BHEH 28x148 9155-200
HFF 50 ' THFF 50

) IHFF 25

236-56
| IHFF 32

016-23

IHAXF 16-18716
02230

IHAXF 2230716

Member IMC Group
=™
L 4 11 ]




LL
o
O
M
n
=

ITSB0RE
KIT BHE MB
Contains a Fine Boring Head and

A

X
.3 § Gl
Various Boring Tools and Inserts DCONMS ;;g © \E@T [«
Z ok
IHFF (E)
IHAXF
DCN® DCX® DCONMS RPMX
KIT BHE MB32-32 2.5-12 H (1) 2.50 12.00 32.00 10000
KIT BHE MB50-50 6-110 6.00 110.00 50.00 8000
KIT BHE MB50-50 6-22 H (1) 6.00 22.00 50.00 8000
KIT BHE MB63-63 6-125 6.00 125.00 63.00 6000
KIT BHE MB80-80 6-200 6.00 200.00 80.00 5000
* For kit contents and boring options, see following page. ¢ 0.01 mm direct diametric adjustment and 0.002 mm by a vernier scale.
() Balanced to G2.5/12,000 RPM
(2 Cutting diameter minimum
() Cutting diameter maximum
@) Maximum RPM
Boring KIT BHE MB32-32 2.5-12 H (82.5-12 mm)
Fine Boring Head 10 um Direct Diametric Adjustment and a 2 um by a Vernier Scale
,r b Boring Tools Inserts
1 BHE MB32-32X53 H 5 TPGX 090202L
1 IHAXF 2.5-4/8 2 WCGT 020102L
1 IHAXF 4-6/8
1 IHAXF 6-8/8
1 IHAXF 8-10/8

1 IHAXF 10-12/8

Boring Range

2.5-12

‘
28
@ 8
16

@810
210-12
THAXF 10-12/8

THAXF 8-10/8 ‘a
I

©02.5-4

THAXF 2.5-4/8
04-6

THAXF 4-6/8
268

THAXF 6-8/8

ISCAR




ITSB0RE
Boring KIT BHE MB50-50 6-22 H (@6-22 mm)
Fine Boring Head 10 um Direct Diametric Adjustment and a 2 um by a Vernier Scale

10 ym .
r 2 um Boring Tools Inserts

BHE MB50-50X60 H 5 TPGX 090202L

IHAXF 6-8/16 2 WCGT 020102L
IHAXF 8-10/16

IHAXF 10-12/16
IHAXF 12-14/16
IHAXF 14-16/16
IHAXF 16-18/16
IHAXF 18-22/16

Designation MB Boring Range
KIT BHE MB50-50 6-22 H 50 6-22

10 pum direct diametric adjustment and 2 um by a Vernier scale

LL
o
O
M
n
=

60 63

o
S

&9

|
G!JM
@
4
é
q

IHAXF 10-12/16,

6-8

IHAXF 6-8/16
@8-10

IHAXF 8-10/1
@10-12
@12-14

IHAXF 12-14/16
214-16

IHAXF 14-16/16
216-18

IHAXF 16-18/16
@18-22

IHAXF 18-22/16

Boring KIT BHE MB50-50 6-110 (26-110 mm)
Fine Boring Head 10 um Direct Diametric Adjustment and a 2 um by a Vernier Scale

10 ym q
r 2 um Boring Tools

BHE MB50-50x80
IHFF 25

IHFF 32

IHFF 50

IHAXF 6-8/16
IHAXF 8-10/16
IHAXF 11-13/16
IHAXF 16-18/16
IHAXF 22-30/16
BBH D16x53
BHEH 24x75
BH NUT 10

1 CW 32

Designation MB Boring Range
KIT BHE MB50-50 6-110 50 6-110

10 pum direct diametric adjustment and 2 um by a Vernier scale

r“1 a0

 — " -
D= G

1
1
1
1
1
1
1
1
1
1
1
1

26-30 @80-110 @92-110

BHEH 24x75
IHFF 50

Cw 32
BHEH 24x75

=

IHAXF 8-10/16
01117 f%]

IHAXF 11-13/16

016-23 37

IHAXF 16-18/16

022:30
1RAXF 22-30716

@80-110

| 1HFF 50

©92-110

Member IMC Group




LL
o
O
M
n
=

444

ITSB0RE
Boring KIT BHD MB63-63 6-125 (g6-125 mm)

Fine Boring Head 10 um Direct Diametric Adjustment and a 2 um by a Vernier Scale

r P Boring Tools
1 BHD MB63-63x89
1 IHFF 32
1 IHFF 50
1 IHFF 6-8/16
1 IHAXF 8-10/16
1 IHAXF 11-13/16
1 IHAXF 16-18/16
1 IHAXF 22-30/16
1 BBH 63x78
1 BHEH 28x80
1 BH WASHER [H..50
1CW 32
Designation MB Boring Range
KIT BHD MB63-63 6-125 63 6-125
26-30 240-74 @72-110 286-125
L S 685 L ‘ A
o 91 ® ® 885 ®
110
= -

BHEH 28x80 ‘V T IHFF 50

268 g_? 28 775 845 072-110

A EEne 4 o BHEH 26x80

Qﬁigw B 60 ' cws2

%«1\&:71 713716 1 BBH 63x78 WD

e i

A 54-74
022-30 IHFF 50
HAXF 22-30/16

Boring KIT BHE MB80-80 6-200 (86-200 mm)

Fine Boring Head 10 um Direct Diametric Adjustment and a 2 um by a Vernier Scale

F

10 um
2um

Boring Tools

BHE MB80-80x104

IHFF 32

IHFF 50

IHFF 6-8/16

IHAXF 8-10/16

IHAXF 11-13/16

IHAXF 22-30/16

BBH 63x78

BHEH 28x80

BHEH 28x108

BHEH 28x148

1
1
1
1
1
1
1 IHAXF 16-18/16
1
1
1
1
1
1

BH WASHER IH..50

1CW 32
Designation MB Boring Range
KIT BHE MB80-80 6-200 80 6-200
() The specified boring range differs from the one specified for the boring bar.
The extra range is not recommended for high rotational speeds.
40-90 088-132 0115-200

BHEH 28x80 '\ T

1Y B a -
IHAXF 6-8/16 4

1117
" AXF 1113716

21623
IHAXF 16-18/16

©22-42
IHAXF 22-30/16

28-12
IHAXF 8-10/16 6l

0

IHFF 32
! ©54-90
IHFF 50

BHH 63x78
@40-56

088-132

BHEH...
cw32

IHFF 50
©115-160 BHEH 28x108
©155-200 BHEH 28x148

|

1255

ISCAR




ITS50RE E

% LL]
KIT BHF MB-BL — % | s
Contains a Balanceable Fine N |
Boring Head and Various DCOFMS Z % 8
Boring Tools and Inserts foE: IHAXF IHAXF

DCONMS DCN@ DCX® RPMX®
KIT BHF MB50-50 6-22 BL (1) 50.00 6.00 22,00 20000

() Balanced to G2.5/20,000 RPM.
(2 Cutting diameter minimum

@) Cutting diameter maximum

4 Maximum RPM

Boring KIT BHF MB50-50 6-22 BL (26-22 mm)
BHF BL Fine Boring Balanceable Head

r 2pm Tools Inserts

1 BHF MB50-50X68 BL 5 TPGX 090202L
1 IHAXF 6-8/16 2 WCGT 020102L
1 IHAXF 8-10/16
1 IHAXF 10-12/16
1 IHAXF 12-14/16
1
1
1

IHAXF 14-16/16
IHAXF 16-18/16
IHAXF 18-22/16

Designation MB Boring Range
KIT BHF MB50-50 6-22 BL 50 6-22

() On BHF BL max. balanceable dia. is 20 mm.

3 % 0002

68.5

6-8 }
THAXF 6-8716
=

2810 -

IHAXF 810716 42
g ;

010-12

e
IHAXF 10-12/16

1214
e
THAXF 12-14716 !

214-16 B —
THAXF 14-16/16

o16-18 (1 ——
IHAXF 16-18/16 >

018-22 _
IHAXF 18-22/16

Member IMC Group




LL
o
O
M
n
=

ITS50RE

ITS
KIT BHF-MB \“%
Contains a Fine Boring Head and =
Various Boring Tools and Inserts DCONMS ‘_ ©
DCN® DCX® DCONMS RPMX®
KIT BHF MB50-50 6-108 6.00 108.00 50.00 8000
KIT BHF MB50-63 6-125 6.00 125,00 50.00 8000
KIT BHF MB50-80 6-220 6.00 220.00 50.00 8000
KIT BHF MB63-63 6-125 6.00 125.00 63.00 6000
KIT BHF MB80-80 6-220 6.00 220.00 80.00 5000
() Cutting diameter minimum
(2 Cutting diameter maximum
@) Maximum RPM
Boring KIT BHF MB50-50 6-108 (26-108 mm)
r 2pm Tools Inserts
1 BHF MB50-50x60 2 WCGT 020102L
1 IHFF 25 5 TPGX 730-L
1 IHFF 32 1 TPGX 220-L
1 IHFF 50
1 IHAXF 6-8/16
1 IHAXF 8-10/16
1 IHAXF 11-13/16
o o 1 IHAXF 16-18/16
r“;1 BBH D16x53 BHNUT 10 1 IHAXF 22-30/1 6
-_ 1 BBH D16x53
) e [l | 1 BHEH 24x75
1 BH NUT 10
1 CW 32
MB Boring Range
50 6-108
328-54 054-84 @80-108 392-108
Q
T BH &5
61 NUT - ‘
8 o 10 79 1_ite o % %
VAN —
19
| BBH = 7
. 63 4 e
mWJ 40 DIB:S3 1, IHFF 50 BHEH 24x75 CW 32
¥ a 50 al 05484 | IHFF50 BHEH 24x75
IHAXF 8-10/16 A 6
o11-17 — %J
IHAXF 11-13/16 IHFF 25 280-108 IHFF 50
216-23 o
Q028 36-54
[HAXF 16-18/16 A y HFF32 ©92-108

022-30
[HAXF 22-30/16

ISCAR




ITS50RE

Boring KIT BHF MB50-63 6-125 / Boring KIT BHF MB63-63 6-125 (6-125 mm)

F

2 um Tools

Inserts

BHF MB...-63x87

5 TPGX 090202L

IHAXF 6-8/16

1 TPGX 110302L

IHAXF 8-10/16

2 WCGT 020102L

LL
o
O
M
n
=

IHAXF 11-13/16

IHAXF 16-18/16

IHAXF 22-30/16

ADBH 30xD16

BBH 30x40

BBH 30x70

BHFH 30x75

IHFF 25

IHFF 32

Alalalalalalalalalalala]a

IHFF 50

Designation

KIT BHF MB50-63 6-125
KIT BHF MB63-63 6-125

() The specified boring range differs from the one specified for the boring bar. The extra range is not recommended for high rotational speeds.

Boring Range

50

6-125

63

6-125

@6-30

~

©28-80

A

Q77-125

|

IHAXF 22-30

©22-30

@

1 @\ [ 1 O\
L A\ L A\
©
) Y| © =i LY | S
. f !
Q 24 5
S % 2 385
& * T 3
8 A T ] 3 z o\ 4
21 &
| Q77125
@ 1 2 IHFF 50
26-8
IHAXF 6-8 = 40 o
. @
28-10 58 2
IHAXF 8-10 a
1) @11-17 ©28-70
IHAXF 11-13 IHEE 25
@7‘,
016-23 . o0 |
M \GaxF 16-18 IHFF 32
IHRF 32

Member IMC Group

(T [Tl 447



LL|
o
O
M
n
=

ITS50RE

Boring KIT BHF MB50-80 6-220 / KIT BHF MB80-80 6-220 (26-220 mm)

F

2um Tools

Inserts

BHF MB..-80x94

5 TPGX 090202L

IHAXF 6-8/16

1 TPGX 110302L

IHAXF 8-10/16

2 WCGT 020102L

IHAXF 11-13/16

IHAXF 16-18/16

IHAXF 22-30/16

ADBH 30xD16

BBH 30x40

BBH 30x70

BBH 30x115

BHFH 30x93

BHFH 30x135

IHFF 25

IHFF 32

Alalalalalala|lalala|lalalalala

IHFF 50

Designation

KIT BHF MB50-80 6-220
KIT BHF MB80-80 6-220

() The specified boring range differs from the one specified for the boring bar. The extra range is not recommended for high rotational speeds.

Boring Range

50

6-220

80

6-220

26-30

)

N
T X

ADBH 30xD16

IHAXF 6-8

28-10 .
S
IHAXF 8-10
g
(1) @11-17 ‘
IHAXF 11-13
216-23 @

“
IHAXF 16-18

©22-30 @ —

I

{

228-96

<(

"1

©§®r

PSRN

m@,:
e V

BBH 30x70 BBH 30x40

BBH 30x115

~-—

80

o

125

028-86

——
IHFF 25
IHRF 25

@

©30-86

IHFF 25
IHRF 25

©36-96

295-220

<"
L

[

BHFH 30x93

@95-160 ‘
IHFF 50

BHFH 30x135

@140-220
IHFF 50

@
-— O ]
o

ISCAR




y vy vy_ Vv |
ITS5CRE P e—— KIS
Y [ L!j BHFH 40x300 THFF 50 &

KIT BHFH-MB
AT Bret 40000 I
IHFF 50

Contains Adapters, Extensions e
and Boring Bars for 36 to
IHFF 50
BHFH 40x133

410 mm Boring Range
DCONMS DCN® DCX?
KIT BHFH MB80-125 80.00 36.00 410.00

() Cutting diameter minimum
(2 Cutting diameter maximum

LL
o
O
M
n
=

KIT BHFH MB80-125 36-410
Holder for BHF MB80-125x114 @36-410

ACCESSORIES
BBH 40x69
BBH 40x114
BBH 40x189
BHFH 40x133
BHFH 40x200
BHFH 40x300
IHFF 32

IHFF 40

IHFF 50

Designation MB Boring Range
KIT BHFH MB80-125 36-410 80 36-410

036-137 @135-410

y < Y

) | ) |

Alalalalalalalala

A

|

BBH 40x69
@
S
j.
ol
- 9

l 125 @135-210 ‘
¥ HFF50

BHFH 40x133
BHFH 40x200
BHFH 40x300

BBH 40x114
9

@205-310
@36-123 IHFF 50

IHFF 32
i ©305-410

IHFF 50

BBH 40x189

©46-137

IHFF 40
IHRF 40

Member IMC Group

(T [Tl 449



LL|
o
O
M
n
=

1AanaPLUNGE

PLUNGING LINE

HTP LN.. 1006

Tangentially Clamped Inserts with
4 Cutting Edges for Plungers

59

RE #~ »
) . Recommended
Dimensions Tough Hard Machining Data
gl g8l8|2|~ fz

Designation Wi L S RE S § § 5 <§ (mm/t)
HTP LNAR 1006 FR (1) 6.50 10.50 10.13 1.00 o 0.05-0.15
HTP LNAR 1006 FR-P 6.50 10.50 10.13 1.00 . 0.05-0.15
HTP LNHT 1006 ER 6.50 10.50 9.93 1.00 ° . ° . 0.10-0.15
HTP LNHT 1006 ETR 6.50 10.50 9.93 1.00 . . . 0.12-0.20
HTP LNMT 1006 ER (2 6.50 10.50 9.96 1.00 ° . ° 0.08-0.15

e FR-P - For machining aluminum, ER- For general applications, ETR- First priority for hardened steel

M FR - Sharp cutting edge for unstable conditions and for ISO S material
(2 Mounting this insert increases tool diameter by 0.1 mm
For tools, see page: CR LNHT (410)

7

ETR

A,

FR, FR-P

ER- For general
applications

ISCAR

ETR- First priority
for hardened steel

FR-P- For machining

aluminum




INDDEXA BIDHWL’ﬁIET I A @
SOMT-DT

Inserts for DR Dirills for T
General Applications at R i
Medium-to-High Feeds J.

LL
o
O
M
n
=

Dimensions Tough «<— Hard
o | 8| o| o |88
S | B 8| 8| 8
Designation IC S RE O | © © O |9 | ©
SOMT 09T306-DT 9.00 3.81 0.60 . ° ° ° °

For tools, see pages: CR SOMT (411)  DR-2D-N (106) » DR-3D-N (108)  DR-4D-N (109) ® DR-4D-T (112) » DR-CA (113)

DR-TWIST ,
INDEXABLE DRILL LINE RE

SOMT-GF : | @ !
Inserts for DR Drills for

Soft Materials at Low-
to-Medium Feeds

S |l
Dimensions Tough «<— Hard
(=] (=]
& S
Designation IC S RE $] [&]
SOMT 09T306-GF 9.00 3.81 0.60 ° .
For tools, see pages: CR SOMT (411) « DR-2D-N (106) ® DR-3D-N (108) ® DR-4D-N (109) » DR-4D-T (112) » DR-CA (113)
DR-TWIST - m
RE
SOGX/T-AL @
Inserts for DR Dirills for Aluminum r
S
Dimensions
=3
Designation IC S RE o
SOGT 09T306-AL 9.00 3.81 0.60 °
e Sharp cutting edge with polished rake for aluminum
For tools, see pages: CR SOMT (411) » DR-2D-N (106) ® DR-3D-N (108) » DR-4D-N (109) ® DR-4D-T (112) » DR-5D-N (111)
DR-TWIST - m
RE
SOMT-HD @
Inserts for DR Dirills for Carbon T
Steel and Soft Materials '13 i @ i
i ~
Dimensions
2
Designation IC S RE o
SOMT 09T306-HD 9.00 3.81 0.60 °

For tools, see pages: CR SOMT (411)  DR-2D-N (106) » DR-3D-N (108) » DR-4D-N (109) ® DR-4D-T (112) » DR-CA (113)

Member IMC Group

(T [Tl 451



Ll RELL ] 2

AN CCMT/CCGT-SM

O Single-Sided Turning Inserts for m

Semi-Finish and Finishing on

m Soft Materials and Exotic Alloys !

@p) .

|_

Dimensions Tough <— Hard azxm?;zng:ti
S8 2|8|c|2|g|8|s|s|s| | f

Designation L IC S RE D1 § § § S <2> § § 5 5 § S (mm) | (mm/rev)
CCGT 060201-SM 6.45 6.35 2.38 0.10 2.80 ® |0.25-2.000.05-0.20
CCGT 060202-SM 6.45 6.35 2.38 0.20 2.80 ® |0.25-2.00|0.05-0.25
CCMT 060202-SM 6.45 6.35 2.38 0.20 2.80 o [ o 0.25-2.00 | 0.05-0.25
CCMT 060204-SM 6.45 6.35 2.38 0.40 2.80 o o ° ° ° ° ® |0.50-2.50|0.07-0.25
CCMT 060208-SM 6.45 6.35 2.38 0.80 2.80 o o ° ® |[0.50-2.50|0.07-0.25
CCMT 09T302-SM 9.70 9.52 3.97 0.20 4.40 [ . . [ L] ® |050-250 |0.06-0.25
CCMT 09T304-SM [<N(i] 9.52 3.97 0.40 4.40 . . . . ° ° . ° ® (050-2.50 [ 0.06-0.25
CCMT 09T308-SM [N (1] 9.52 3.97 0.80 4.40 . ° ° . ° . . ° ® [0.50-3.00 | 0.07-0.25
CCMT 120404-SM 12.90 12.70 476 0.40 5.50 o o ° ° ® |0.70-350 | 0.07-0.25
CCMT 120408-SM mbAl] 12.70 476 0.80 5.50 o o ° ° ° ® |0.70-3.50 | 0.07-0.30

For tools, see pages: IHCR (408) ¢ IHRF (436) » IHRF-BW (439) » IHRF-C (413) ® IHRF-CH (439) » IHSR (408) * IHSR-BW (410) ® IHSR-C (413) » IHSR-CH (409)

Y 7.y v ¥/ _7V)
DV I Ui F'II
CCMT-PF '-ll
80° Rhombic Inserts with a
Positive Flank for Semi-Finish
and Finishing on Soft
Materials and Exotic Alloys
’ . Recommended
Dimensions Tough <— Hard Machining Data
s|8|2|s|(s|s|s % f
Designation L IC S RE D1 8| 8|&|8|8 |8 |8 (mm) (mm/rev)
CCMT 060202-PF 6.30 6.35 2.38 0.20 2.80 . . . ° ° . 0.20-2.50 0.04-0.25
CCMT 060204-PF 6.30 6.35 2.38 0.40 2.80 . . . ° ° . 0.40-2.50 0.04-0.30
CCMT 09T302-PF 9.70 9.52 3.97 0.20 4.40 o o . o [ 0.50-3.00 0.05-0.30
CCMT 09T304-PF 9.70 9.52 3.97 0.40 4.40 . . . . ° ° . 0.50-3.50 0.05-0.35

For tools, see pages: IHCR (408) ¢ IHRF (436) * IHRF-BW (439) o IHRF-C (413) ® IHRF-CH (439) * IHSR (408) * IHSR-BW (410) o IHSR-C (413) » IHSR-CH (409)

ISCAR




VI U

CCMT-14

80° Rhombic Inserts with a
7° Positive Flank for Semi-
Finishing and Finish Turning

LL
o
O
M
n
=

' . Recommended

Dimensions Tough <— Hard Machining Data

S| 8|l |8|8|5|5| = f
Designation L IC S RE D1 S § § <:> E S 5 (mm) (mm/rev)
CCMT 060204-14 6.30 6.35 2.38 0.40 2.80 [ ° [ . [ [ 0.50-2.50 0.14-0.25
CCMT 09T304-14 9.70 9.52 3.97 0.40 4.40 ° ° ° 0.50-3.00 0.14-0.25
CCMT 09T308-14 9.70 9.52 3.97 0.80 4.40 [ [ L] ° . 0.80-3.00 0.14-0.30
CCMT 120408-14 12.90 12.70 4.76 0.80 5.50 [ [ 0.80-3.00 0.14-0.30

For tools, see pages: IHCR (408) ¢ IHRF (436) » IHRF-BW (439) * IHRF-C (413) ® IHRF-CH (439) » IHSR (408) * IHSR-BW (410) o IHSR-C (413) » IHSR-CH (409)

ISOTURN
CCET-WF sz
80° Rhombic Inserts with a 7° 86°
Positive Flank and a Wiper Near \ D1
the Corner for High Feed Finishing -
0.3
S -
Dimensions Recommended Machining Data
’S ap f
Designation L IC S RE D1 3 (mm) (mm/rev)
CCET 0602005-WF 6.30 6.35 2.38 0.05 2.80 L] 0.05-2.00 0.01-0.20
CCET 09T3005-WF 9.50 9.52 3.97 0.05 4.40 o 0.05-2.00 0.01-0.20

For tools, see pages: IHCR (408) ¢ IHRF (436) ® IHSR (408) ¢ IHSR-BW (410) ® IHSR-C (413) ® IHSR-CH (409)

oV I v

CCMT/CCGT

80° Rhombic Inserts with a
7° Positive Flank for Semi-
Finishing and Finish Turning

Dimensions Tough «<— Hard a:gzmmgngzti
3| = = | 3 ap f
S| S| K| 8| B
Designation L IC S RE D1 |0 |9 | Q| e (mm) (mm/rev)
CCGT 060202 6.45 6.35 2.38 0.20 2.80 ° 0.50-2.00 0.10-0.20
CCGT 060202L (1) 6.45 6.35 2.38 0.20 2.80 ° ° 0.50-2.00 0.10-0.20
CCGT 060204 6.45 6.35 2.38 0.40 2.80 ° 0.50-2.00 0.10-0.20
CCGT 060204L (1 6.45 6.35 2.38 0.40 2.80 ° 0.50-2.00 0.10-0.20
CCMT 060202 6.45 6.35 2.38 0.20 2.80 . ° 0.50-2.00 0.10-0.20
CCMT 060204 6.45 6.35 2.38 0.40 2.80 ° ° ° 0.50-2.00 0.12-0.22
CCMT 09T302 9.70 952 3.97 0.20 440 . ° 0.50-2.50 0.12-0.25
CCMT 09T304 9.70 9.52 397 0.40 4.40 ° ° 0.50-2.50 0.12-0.25
CCMT 09T308 9.70 9.52 3.97 0.80 4,40 ° ° 0.80-3.00 0.14-0.25

® Use left-hand inserts for left-hand external tools and for right-hand internal tools
) | eft-hand insert
For tools, see pages: IHCR (408) * IHRF (436) ¢ IHRF-BW (439) ® IHRF-C (413) ® IHRF-CH (439) e IHSR (408) ¢ IHSR-BW (410) ® IHSR-C (413) ¢ IHSR-CH (409)

Member IMC Group

(T [Tl 453



VI U

CCMT-WG

80° Rhombic Inserts with a 7°
Positive Flank and a Wiper Near
the Corner for High Feed Finishing

LL
o
O
M
n
=

Dimensions Tough «<— Hard | Recommended Machining Data
255 2 f
Designation L IC S RE D1 5 § S (mm) (mm/rev)
CCMT 060204-WG 6.30 6.35 2.38 0.40 2.80 [ [ 0.40-2.00 0.10-0.35
CCMT 09T304-WG 9.70 9.52 3.97 0.40 4.40 [ 0.40-2.00 0.14-0.30
CCMT 09T308-WG 9.70 9.52 3.97 0.80 4.40 [ 0.50-2.50 0.20-0.38
CCMT 120408-WG 12.90 12.70 4.76 0.80 5.50 [ 0.50-3.00 0.20-0.36

For tools, see pages: * IHCR (408) * IHRF (436) » IHRF-BW (439) » IHRF-C (413)  IHRF-CH (439) » IHSR (408) » IHSR-BW (410) » IHSR-C (413) ¢ IHSR-CH (409)

| 7.
VI VN

CCMT (PCD)
Inserts with a Single PCD

Top Corner Tip, 7° Clearance m
and Positive Rake Angle

for Finishing Aluminum

. . Recommended
PLIEIESTS Machining Data
© ap f
Designation L IC S RE LE D1 = (mm) (mm/rev)
CCMT 060202D 6.30 6.35 2.38 0.20 3.1 2.80 [ 0.08-3.00 0.05-0.30
CCMT 060204D 6.30 6.35 2.38 0.40 3.0 2.80 o 0.10-3.00 0.05-0.30
CCMT 09T304D 9.70 9.52 3.97 0.40 3.9 4.40 o 0.10-3.00 0.05-0.30

For tools, see pages: IHCR (408)  IHRF (436) ® IHRF-BW (439) ¢ IHRF-C (413) ¢ IHRF-CH (439) * IHSR (408) * IHSR-BW (410) ¢ IHSR-C (413)

7.y v J¥/_vV)
VI Ui -
™
CCGW/CCMT (CBN) ﬁ‘ﬁ
80° Rhombic Inserts with ﬂ
a Single CBN Top Corner
Tip and 7° Clearance for i
Machining Hardened Steel
Dimensions Tough «<— Hard h?lzz?lmirzgngaetg
Slg|s| * '
Designation L IC S RE LE D1 o | o | o (mm) (mm/rev)
CCGW 03X102T01015-1 3.63 3.57 1.39 0.20 20 1.90 o ° 0.05-0.50 0.05-0.20
CCGW 03X104T01015-1 3.63 3.57 1.39 0.40 2.3 1.90 o o 0.05-0.50 0.05-0.20
CCGW 04T102T01015-1 4.44 437 1.79 0.20 20 2.30 . o 0.05-0.50 0.05-0.20
CCGW 04T104T01015-1 4.44 4.37 1.79 0.40 2.3 2.30 o o 0.05-0.50 0.056-0.20
CCMT 060202T 6.30 6.35 2.38 0.20 2.6 2.80 o 0.05-0.50 0.05-0.20
CCMT 060204T 6.30 6.35 2.38 0.40 2.7 2.80 [ 0.05-0.50 0.05-0.20
CCMT 09T304T 9.70 9.62 3.97 0.40 29 4.40 o 0.05-0.50 0.05-0.20
CCMT 09T308T 9.70 9.52 3.97 0.80 3.6 4.40 o 0.056-0.50 0.05-0.20

For tools, see pages: [HCR (408) * IHRF (436) ® IHRF-BW (439) ¢ IHRF-C (413) ® IHRF-CH (439) * IHSR (408) ® IHSR-BW (410) ® IHSR-C (413)

ISCAR




1907 Ui

CCGT-AS

80° Rhombic Inserts with a 7°
Positive Flank, Very Positive
Rake Angle and Sharp Cutting
Edge for Machining Aluminum

e

LL
o
O
M
n
=

Dimensions Recommended Machining Data
o ap f
Designation L IC S RE D1 § (mm) (mm/rev)
CCGT 060201-AS 6.40 6.35 2.38 0.10 2.80 ° 0.50-2.00 0.10-0.20
CCGT 060202-AS 6.40 6.35 2.38 0.20 2.80 [ 0.50-2.00 0.10-0.20
CCGT 060204-AS 6.40 6.35 2.38 0.40 2.80 o 0.50-2.00 0.10-0.25
CCGT 09T301-AS 9.70 9.52 3.97 0.10 4.40 o 0.50-2.50 0.10-0.25
CCGT 09T302-AS 9.70 9.52 3.97 0.20 4.40 [ 0.50-2.50 0.10-0.25
CCGT 09T304-AS 9.70 9.52 3.97 0.40 4.40 o 0.50-2.50 0.10-0.25
CCGT 09T308-AS 9.70 9.52 3.97 0.80 4.40 o 0.80-3.00 0.10-0.30
CCGT 120402-AS 12.90 12.70 476 0.20 5.50 L] 0.50-2.50 0.10-0.25
CCGT 120404-AS 12.90 12.70 4.76 0.40 5.50 o 0.50-2.50 0.10-0.25
CCGT 120408-AS 12.90 12.70 4.76 0.80 5.50 o 1.00-3.50 0.10-0.30

For tools, see pages: [HCR (408) * IHRF (436) ¢ IHRF-BW (439) ¢ IHRF-C (413) ¢ IHRF-CH (439) * IHSR (408) ® IHSR-BW (410) ® IHSR-C (413) ¢ IHSR-CH (409)

IS07T Ui :
- 80°

CCGT-AF - e

80° Rhombic Inserts with a 7° T L

Positive Flank, Very Positive Ic @ D]

Rake Angle and Sharp Cutting L

Edge for Machining Aluminum RE LHJ N g =

Dimensions Recommended Machining Data
8 ap f

Designation L IC S RE D1 &} (mm) (mm/rev)
CCGT 09T308-AF 9.70 9.52 3.97 0.80 4.40 ° 0.80-3.00 0.15-0.25
CCGT 120408-AF 12.90 12.70 4.76 0.80 5.50 o 1.00-3.50 0.15-0.30

For tools, see pages: IHCR (408) ¢ IHRF (436) * IHSR (408) * IHSR-BW (410) ® IHSR-C (413) » IHSR-CH (409)

Member IMC Group

(T [Tl 455



VI Ui " %1 g
DCMT-14 | - T
55° Rhombic Inserts with a == i 4 Tl
Positive Flank for Semi-Finishing b1
and Finish Turning on Soft ¥

LL
o
O
M
n
=

Materials and Exotic Alloys }
— S -
' . Recommended
Dimensions Tough <— Hard Machining Data
o (Yo}
g1E|g|8|8| = '

Designation L IC S RE D1 O || o | o|Qo (mm) (mm/rev)
DCMT 11T304-14 11.60 9.52 3.97 0.40 4.40 o [ ° 1.00-2.50 0.14-0.25
DCMT 11T308-14 11.60 9.52 3.97 0.80 4.40 [} ° ° o 1.50-3.00 0.14-0.29

7.y v ¥/ 7V

DV I Ui

DCMT/DCGT

55° Rhombic Inserts with i =

a 7° Positive Clearance for - ﬁ

Finishing Applications

I . Recommended
Dimensions Tough Hard Machining Data
28|22 (8|2|2|8| = f

Designation L Ic S RE D1 S| 8|3 |S| &8 | S| 8| mm | mmhev
DCGT 070201R () 7.70 6.35 2.38 0.10 2.80 ° 0.25-1.50 | 0.05-0.15
DCGT 070202 7.70 6.35 2.38 0.20 2.80 o 0.50-2.00 0.08-0.20
DCGT 070204 7.70 6.35 2.38 0.40 2.80 (] 0.80-2.50 0.10-0.25
DCMT 070202 7.70 6.35 2.38 0.20 2.80 o o o o 0.50-2.00 0.08-0.20
DCMT 070204 7.70 6.35 2.38 0.40 2.80 o o ° ° ° o 0.50-2.00 0.08-0.22
DCGT 11T302 11.60 9.52 3.97 0.20 4.40 (] 0.50-2.00 0.08-0.20
DCGT 11T304 11.60 9.52 3.97 0.40 4.40 o o 1.00-2.50 0.12-0.25
DCMT 117302 11.60 9.52 3.97 0.20 4.40 [} ° o o 0.50-2.00 0.08-0.20
DCMT 11T304 11.60 9.52 3.97 0.40 4.40 o ° o 0.50-2.00 0.12-0.25
DCMT 11T308 11.60 9.52 3.97 0.80 4.40 o o o 1.50-3.00 0.14-0.29

* Right-hand inserts for right-hand external tools and for left-hand internal tools e For user guide and cutting speed recommendations, see pages ..
() Right-hand insert

oV I VRN
| R
DCMT/DCGT-PF 7 ﬁ

55° Rhombic Inserts with a
Positive Flank for Semi-Finish
and Finishing on Soft v

Materials and Exotic Alloys

Dimensions Tough «<— Hard a:‘;ﬁm{:;ng:g
Yo} o w0
s|lg|g|8|5|8|5|5|3 3 f
Designation L IC S RE D1 S| 8|&8|3|8|8|8|3 |8 (mm) | (mm/rev)
DCGT 070201-PF 7.70 6.35 2.38 0.10 2.80 o 0.30-3.00 | 0.02-0.25
DCGT 070202-PF 7.70 6.35 2.38 0.20 2.80 [ 0.40-3.00 | 0.03-0.25
DCGT 070204-PF 7.70 6.35 2.38 0.40 2.80 o 0.50-3.00 | 0.05-0.25
DCMT 070201-PF 7.70 6.35 2.38 0.10 2.80 ° ° 0.30-3.00 | 0.02-0.25
DCMT 070202-PF 7.70 6.35 2.38 0.20 2.80 o 0.40-3.00 | 0.03-0.25
DCMT 070204-PF 7.70 6.35 2.38 0.40 2.80 [ 0.50-3.00 | 0.05-0.25
DCMT 070208-PF 7.70 6.35 2.38 0.80 2.80 o . 0.70-3.00 | 0.08-0.25
DCGT 11T301-PF 11.60 9.52 3.97 0.10 4.40 [ 0.30-3.00 | 0.03-0.25
DCGT 11T302-PF 11.60 9.52 3.97 0.20 4.40 [ 0.40-3.00 | 0.04-0.25
DCGT 11T304-PF 11.60 9.52 3.97 0.40 4.40 o 0.50-3.00 | 0.05-0.25
DCGT 11T308-PF 11.60 9.52 3.97 0.80 4.40 [ 0.70-3.00 | 0.10-0.25
DCMT 11T302-PF 11.60 9.52 3.97 0.20 4.40 [ [ . [ [ 0.30-3.00 | 0.04-0.25
DCMT 11T304-PF 11.60 9.52 3.97 0.40 4.40 o o ° ° ° ° () 0.50-3.00 [ 0.05-0.25
DCMT 11T308-PF 11.60 9.52 3.97 0.80 4.40 o o ° ° ° o ° o 0.70-3.00 [ 0.10-0.25




VI U

SCMT-SM

Square Inserts with a 7°
Positive Flank for Semi-Finishing
and Finish Turning on Soft
Materials and Exotic Alloys

LL
o
O
M
n
=

. . Recommended
Dimensions Tough Hard Machining Data
['e) o o Yo}
2/s|8|2|8|5|8 % l
Designation L S RE D1 3|88 |8|&|8|38 (mm) (mm/rev)
SCMT 09T304-SM 9.52 397 0.40 4.40 . . ° . 0.50-3.00 0.07-0.25
SCMT 09T308-SM 9.52 3.97 0.80 4,40 . ° ° . ° ° . 0.50-3.00 0.10-0.30
SCMT 120404-SM 12.70 4.76 0.40 5.50 [ 0.50-3.50 0.10-0.25
SCMT 120408-SM 12.70 4.76 0.80 5.50 ° ° ° o 1.00-4.00 0.10-0.30
For tools, see page: IHPR (408)
iSCTURN : o0
SCMT-14 16 § 7
Square Inserts with a 7° , y ’ N '
Positive Flank for Semi-Finishing le=L @ [ i
and Finish Tuming on Soft SO e ) '
Materials and Exotic Alloys RE Ly S
Dimensions Tough <— Hard Recommended Machining Data
gl 5|5 a f
Designation L S RE D1 S 3 3 (mm) (mm/rev)
SCMT 09T304-14 9.52 3.97 0.40 4.40 o ° 1.00-3.50 0.12-0.30
SCMT 120404-14 12.70 4.76 0.40 5.50 [ 1.00-4.00 0.12-0.30

For tools, see page: IHPR (408)

™,

4 il .I'“'l'*qu'|'l'|'- ol a4
I ]

Member IMC Grou

P
o=
L 4 11 ]




y 7.
VI Vv ——

SCMT-19
Square Inserts with a 7° Positive
Flank for Semi-Roughing at

LL
o
O
M
n
=

Medium to High Feeds i )
RE E Sl
Dimensions Tough <— Hard Recommended Machining Data
[Ye)
glg|85l5| = b

Designation L S RE D1 O ||| o | o (mm) (mm/rev)
SCMT 120408-19 12.70 476 0.80 5.50 [ ° o . [ 3.00-8.00 0.08-0.15
SCMT 120412-19 12.70 4.76 1.20 5.50 o 3.00-8.00 0.08-0.15

For tools, see page: IHPR (408)

.y Ut ¥/ _ 7V}

VI URnN RE

SCGT-AS &

Square Inserts with a 7° Positive . b1

Flank, Very Positive Rake

Angle and Sharp Cutting Edge | '

for Machining Aluminum 90" ~— IC=L —| S |l

Dimensions Recommended Machining Data
8 ap f

Designation L IC S RE D1 o (mm) (mm/rev)
SCGT 09T308-AS 9.52 9.62 3.97 0.80 4.40 ° 0.50-3.00 0.10-0.30
SCGT 120404-AS 12.70 12.70 476 0.40 5.50 L] 1.00-4.00 0.10-0.30
SCGT 120408-AS 12.70 12.70 4.76 0.80 5.50 [ 1.00-4.00 0.10-0.30

For tools, see page: IHPR (408)

VI VRN ——

TCMT-19

Triangular Inserts with a 7°
Positive Flat Rake for
Semi-Roughing Applications

at Medium to High Feeds [
S
’ . Recommended
Dimensions Tough Hard Machining Data
212|E|s % f

Designation L IC S RE D1 © | | o | QO (mm) (mm/rev)
TCMT 110204-19 11.00 6.35 2.38 0.40 2.80 [ o L] 0.50-3.00 0.10-0.30
TCMT 16T308-19 16.50 9.52 3.97 0.80 4.40 [ ° o 1.00-4.00 0.20-0.35
TCMT 220508-19 22.00 12.70 5.00 0.80 5.50 o 1.00-4.00 0.20-0.35

For tools, see page: IHBR (409)

ISCAR




VI VRN
TCMT-SM o = e

Triangular Inserts with a 7°
Positive Flank for Semi-Finishing
and Finish Turning on Soft
Materials and Exotic Alloys

. . Recommended
Dimensions Tough Hard Machining Data
o 3 3 © 3 = o 8 ~ ~ ap f
RN | RN | % [B| S| BB
Designation L IC S RE D1 ||| o |Qo © |l ||| o (mm) | (mm/rev)
TCMT 110204-SM 11.00 6.35 2.38 0.40 2.80 . o ° ° . ° . ® [ 0.20-3.00 | 005025
TCMT 110208-SM 11.00 6.35 2.38 0.80 2.80 o ° o 0.50-2.50 | 0.07-0.25
TCMT 16T304-SM 16.50 9.62 3.97 0.40 4.40 o ° [ [ o L] ® [ 0.50-3.00 | 0.06-0.25
TCMT 16T308-SM 16.50 9.52 3.97 0.80 4.40 o o [} ° ° o 0.50-3.00 | 0.08-0.28
TCMT 16T308-SM* 16.50 9.52 3.97 0.80 4.40 ° 0.50-3.00 | 0.08-0.28
For tools, see page: IHBR (409)
.y v ¥/ _ 7V}
VI RN -
WCGT ol
Trigon Inserts with a 7° i
Positive Flank and Chipformer
for Finish Turning 202,
- S ‘¢
Dimensions Tough «<— Hard Recommended Machining Data
58| 2 f
Designation L IC S RE o o (mm) (mm/rev)
WCGT 020102L 218 3.97 1.59 0.20 . L] 0.40-2.00 0.05-0.10
WCGT 020104L 218 3.97 1.59 0.40 o o 0.40-2.00 0.10-0.15
For tools, see pages: IHAXF (432) o IHAXF-AVI (434) o IHAXF-E (434) o IHWF (436)
7.y v J¥/_vVY)
oV I Ui
TPGX -~ i‘_
Triangular Inserts with an 11° 7]
Positive Flank and Ground
Chipformer for Finish Turning @
y
S =
! . Recommended
Dimensions Tough Hard Machining Data
=
2lg| 8|8 i f
Designation L IC S RE D1 S | © | © (&} (mm) (mm/rev)
TPGX 090202-L 9.52 5.56 2.38 0.20 3.00 ° ° ° o 1.00-2.00 0.10-0.20
TPGX 090204-L 9.52 5.56 2.38 0.40 3.00 o ° ° o 1.00-2.50 0.15-0.20
TPGX 110302-L 11.00 6.35 3.18 0.20 3.50 o o ° ° 1.00-2.50 0.10-0.20
TPGX 110304-L 11.00 6.35 3.18 0.40 3.50 o ° ° o 1.00-3.00 0.15-0.20
TPGX 110308-L 11.00 6.35 3.18 0.80 3.50 o 1.00-3.50 0.15-0.25

LL
o
O
M
n
=

For tools, see pages: IHAXF (432) o IHAXF-AVI (434) ¢ IHAXF-E (434) e IHFF (436) ® IHFF-C (413)

Member IMC Group

(T [ Tll 459



Designation
PICCO R/LX050.2-5R15
PICCO R/LX050.2-10R05
PICCO R/LX050.2-10R15
PICCO R/LX050.3-16R10
PICCO R/LX050.3-16R20
PICCO R/LX050.4-10R10
PICCO R/LX050.4-10R20
PICCO R/LX050.4-16R10
PICCO R/LX050.4-16R20
PICCO R/LX050.5-15R10
PICCO R/LX050.5-15R20
PICCO R/LX050.5-25R10
PICCO R/LX050.5-25R20
PICCO R/LX050.6-15R10
PICCO R/LX050.6-15R20
PICCO R/LX050.6-22R20
PICCO R/LX050.6-35R20

e Left-hand inserts on request

() Minimum overhang

@) Cutting depth maximum

ISCAR

Y 7.y v ¥/ _ VY]
L RS
AEN TPGX (CBN) =
O Triangular Inserts with CBN n., sy
Single Top Corner Brazed Tip, ; F ¥
m 11° Clearance for Machining D
Cast Iron and Hardened Steel T
C|£ R
— ’ . Recommended
Dimensions Tough Hard Machining Data
S 2 ap f
Designation L IC S RE LE D1 o o (mm) (mm/rev)
TPGX 090202T 9.52 5.56 2.38 0.20 25 2.50 [ o 0.05-0.50 0.03-0.20
TPGX 090204T 9.52 5.56 2.38 0.40 2.6 2.50 o o 0.05-0.50 0.03-0.20
TPGX 110302T 11.00 6.35 3.18 0.20 33 3.50 o [ 0.05-0.50 0.03-0.20
TPGX 110304T 11.00 6.35 3.18 0.40 3.0 3.50 o [ 0.05-0.50 0.03-0.20
For tools, see pages: IHAXF (432) o IHAXF-AVI (434) o IHAXF-E (434) * IHFF (436) » IHFF-C (413)
‘7. vy v ¥/ 7Y}
VI Ui 70
TPGX (PCD) et AN =
Triangular Inserts with PCD oy [y
Single Top Corner Brazed Tip, ; n i1
11° Clearance and Positive Rake H D%
Angle for Finishing Aluminum
sl
Dimensions Recommended Machining Data
ap f
Designation L IC S RE LE D1 a8 (mm) (mm/rev)
TPGX 090202 9.52 5.56 2.38 0.20 3.0 2.50 [ 0.10-3.00 0.05-0.30
TPGX 090204 9.52 5.56 2.38 0.40 3.0 2.50 . 0.10-3.00 0.05-0.30
TPGX 110302 11.00 6.35 3.18 0.20 34 3.50 [ 0.10-3.00 0.05-0.30
TPGX 110304 11.00 6.35 3.18 0.40 3.8 3.50 [ 0.10-3.00 0.05-0.30
For tools, see page: AIHAXF (432)
PICCOCUT A — S 1
PICCO R/LX050 —— — R @DM'N — 4{\;
( ! \ v
Reinforced Boring Inserts
with Internal Coolant Holes
N
DMIN<3

Dimensions

S

DCONMS WF a RE LF OHN( CDX@ DMIN §
4.00 1.80 0.15 19.00 5.0 0.10 2.00 °
4.00 1.80 0.05 24.00 10.0 0.10 2.00 .
4.00 - 1.80 0.15 24.00 10.0 0.10 2.00 o
4.00 0.70 2.70 0.10 30.00 16.0 0.15 3.00 °
4.00 0.70 2.70 0.20 30.00 16.0 0.15 3.00 o
4.00 1.60 3.60 0.10 24.00 10.0 0.20 4.00 o
4.00 1.60 3.60 0.20 24.00 10.0 0.20 4,00 .
4.00 1.60 3.60 0.10 30.00 16.0 0.20 4.00 .
4.00 1.60 3.60 0.20 30.00 16.0 0.20 4.00 o
5.00 2.10 4.60 0.10 30.00 15.0 0.30 5.00 .
5.00 2.10 4.60 0.20 30.00 15.0 0.30 5.00 [
5.00 2.10 4.60 0.10 40.00 25.0 0.30 5.00 o
5.00 2.10 4.60 0.20 40.00 25.0 0.30 5.00 .
6.00 2.50 5.50 0.10 30.00 15.0 0.40 6.00 .
6.00 2.50 5.50 0.20 30.00 15.0 0.40 6.00 °
6.00 2.50 5.50 0.20 37.00 22.0 0.40 6.00 .
6.00 2.50 5.50 0.20 50.00 35.0 0.40 6.00 .




PICCOCUT | e w LL|

PICCO R/L 050, 053, 055 | —  E=—oocows ﬁ fdﬁ s

Inserts for Internal Turning . 1 = ngN O

and Chamfering { Sll~ = 5

a ! ’i’i;iﬂ‘ m

) VﬁT 2(?\@ CDX CD

Right-hand shown |_

Dimensions Tough «<— Hard _
5| 8
Designation DCONMS WF a LF OHN® RE CDX® DMIN < e
PICCO R 050.06-2 (1) 4.00 - 050 20.00 20 0.04 0.08 0.60 ° °
PICCO R 050.06-3 (1 4.00 - 0.50 20.00 30 0.04 0.08 0.60 ° °
PICCO R 050.08-4 4.00 - 0.70 20.00 40 0.04 0.08 0.80 °
PICCO R/L 050.1-5 400 - 090 20.00 45 0.05 0.10 1.00 ° °
PICCO R/L 050.1-7 4.00 - 090 22.00 65 0.05 0.10 1.00 ° °
PICCO R 050.15-5 4.00 - 1.30 19.00 50 0.05 0.10 1.50 °
PICCO R 050.15-10 400 - 1.30 24,00 10.0 0.06 0.10 1.50 °
PICCO R/L 050.2-5 4.00 > 1.70 19.00 40 0.05 0.10 2.00 ° °
PICCO R 055.2-5 4.00 - 1.70 19.00 5.0 0.05 0.10 2.00 )
PICCO R/L 050.2-10 4.00 - 1.70 24,00 90 0.05 0.10 2.00 ° °
PICCO R 055.2-10 4.00 > 1.70 24.00 10.0 0.05 0.10 2.00 °
PICCO L 050.2-15 4.00 - 1.70 29.00 15.0 0.05 0.10 2.00 o °
PICCO R 050.2-15 400 - 1.70 29.00 14.0 0.05 0.10 2.00 ° °
PICCO R 055.2-15 4.00 > 1.70 29.00 15.0 0.05 0.10 2.00 °
PICCO R 050.25-5 4.00 0.20 2.20 19.00 50 0.05 0.15 250 )
PICCO R 050.25-10 4.00 0.20 2.20 24,00 10.0 0.07 0.15 2.50 .
PICCO R 050.25-16 4.00 0.20 2.20 30.00 16.0 0.07 0.15 2.50 °
PICCO R 053.3-10 4.00 0.60 2.60 24,00 9.0 0.03 0.20 2.80 °
PICCO R 055.3-10 400 060 2.60 24,00 10.0 0.05 0.20 2.80 °
PICCO R/L 050.3-10 4.00 060 2.60 24,00 9.0 0.10 0.20 2.80 ° °
PICCO R 053.3-16 4.00 0.60 2.60 30.00 15.0 0.03 0.20 2.80 )
PICCO R 055.3-16 4.00 060 2.60 30.00 16.0 0.05 0.20 2.80 .
PICCO R/L 050.3-16 4.00 060 2.60 30.00 15.0 0.10 0.20 2.80 ° °
PICCO R 053.3-20 4.00 0.60 2.60 34.00 19.0 0.03 0.20 2.80 °
PICCO R/L 050.3-20 400 060 2.60 34.00 19.0 0.10 0.20 2.80 ° °
PICCO R 050.35-10 4,00 1.10 3.10 24,00 10.0 0.10 0.25 350 °
PICCO R 050.35-16 4.00 1.10 3.10 30.00 16.0 0.10 0.25 350 °
PICCO R 050.35-20 4.00 1.10 3.10 34,00 200 0.10 0.25 350 .
PICCO R 050.35-24 4.00 1.10 3.10 38.00 24.0 0.10 0.25 350 °
PICCO R 053.4-10 4.00 1.50 3.50 24,00 90 0.03 0.30 4,00 )
PICCO R 055.4-10 400 1.50 350 24,00 10.0 0.05 0.30 4.00 °
PICCO R/L 050.4-10 4.00 1.50 350 24.00 9.0 0.10 0.30 4,00 ° °
PICCO R 053.4-16 4.00 1.50 3.50 30.00 15.0 0.03 0.30 4,00 °
PICCO R 055.4-16 4,00 1.50 350 30.00 16.0 0.05 0.30 4,00 .
PICCO R/L 050.4-16 4.00 1.50 350 30.00 15.0 0.10 030 4.00 ° °
PICCO R 053.4-20 4.00 1.50 3.50 34.00 19.0 0.03 0.30 4,00 )
PICCO R 055.4-20 4.00 1.50 350 34.00 200 0.05 0.30 4.00 °
PICCO R/L 050.4-20 4.00 1.50 350 34.00 19.0 0.10 0.30 4,00 ° °
PICCO R/L 050.4-24 4.00 1.50 3.50 38.00 230 0.10 0.30 4,00 . °
PICCO R/L 050.4-28 4,00 1.50 350 42,00 27.0 0.10 0.30 4,00 ° °
PICCO R 055.4-28 4.00 1.50 3.50 42,00 280 0.05 050 4,00 °
PICCO R 055.5-10 5.00 1.90 4.40 25.00 90 0.05 0.50 5.00 °
PICCO R/L 050.5-10 5.00 1.90 440 25.00 9.0 0.15 050 5.00 ° °
PICCO R 055.5-15 5.00 1.90 4.40 30.00 14.0 0.05 0.50 5.00 °
PICCO R/L 050.5-15 5.00 1.90 4.40 30.00 14.0 0.15 050 5.00 ° °
PICCO R 055.5-20 5.00 1.90 4.40 35.00 19.0 0.05 0.50 5.00 °
PICCO R/L 050.5-20 5.00 1.90 4.40 35.00 19.0 0.15 050 5.00 . °
PICCO R 055.5-25 5.00 1.90 4.40 40.00 24.0 0.05 0.50 5.00 °
PICCO R/L 050.5-25 5.00 1.90 440 40.00 24.0 0.15 050 5.00 ° °
PICCO R 055.5-30 5.00 1.90 4.40 45,00 29.0 0.05 050 5.00 °
PICCO R/L 050.5-30 5.00 1.90 4.40 45,00 29.0 0.15 050 5.00 ° °
PICCO R/L 050.5-35 5.00 1.90 440 50.00 340 0.15 0.50 5.00 ° °
PICCO R 055.6-15 6.00 2.30 5.30 30.00 14.0 0.05 050 6.00 °
PICCO R/L 050.6-15 6.00 2.30 5.30 30.00 14.0 0.15 0.50 6.00 ° °
PICCO R 055.6-22 6.00 230 530 37.00 21.0 0.05 050 6.00 °
PICCO R/L 050.6-22 6.00 2.30 5.30 37.00 21.0 0.15 0.50 6.00 ° °
PICCO R 055.6-25 6.00 2.30 530 40.00 24.0 0.05 050 6.00 °
PICCO R/L 050.6-25 6.00 230 530 40.00 24.0 0.15 0.50 6.00 ° °
PICCO R 055.6-30 6.00 230 530 45,00 290 0.05 050 6.00 °

e Specify right- or left-hand bars

) Maximum D.0.C.=0.01-0.03 mm, maximum feed=0.01 mm/rev.
@) Minimum overhang

() Cutting depth maximum

Member IMC Group

(T [ Tl 461



PICCOCUT ‘ P —
PICCO R/L 050, 053, 055 L,:%%Nm * ﬁ f

(Continue) OHN -1 NN
Inserts for Internal Turning ] S~ N ‘1%MIN
and Chamfering a o 'i’j;iﬂ‘

)

Right-hand shown

LL
o
O
M
n
=

Dimensions Tough «<— Hard
] | 2
Designation DCONMS WF a LF OHN® RE CDX® DMIN 9 e
PICCO R/L 050.6-30 6.00 2.30 5.30 45.00 29.0 0.15 0.50 6.00 o °
PICCO R/L 050.6-35 6.00 2.30 5.30 50.00 34.0 0.15 0.50 6.00 . .
PICCO R/L 050.6-42 6.00 2.30 5.30 57.00 41.0 0.15 0.50 6.00 o °
PICCO R/L 050.7-20 7.00 2.80 6.30 35.00 19.0 0.15 0.60 6.80 . (]
PICCO R/L 050.7-25 7.00 2.80 6.30 40.00 24.0 0.15 0.60 6.80 o °
PICCO R/L 050.7-30 7.00 2.80 6.30 45.00 29.0 0.15 0.60 6.80 o °
PICCO R/L 050.7-35 7.00 2.80 6.30 50.00 34.0 0.15 0.60 6.80 . (]
PICCO R/L 050.7-40 7.00 2.80 6.30 55.00 39.0 0.15 0.60 6.80 . (]
PICCO R/L 050.7-45 7.00 2.80 6.30 60.00 44.0 0.15 0.60 6.80 . (]
PICCO R/L 050.7-50 7.00 2.80 6.30 65.00 49.0 0.15 0.60 6.80 [ (]
® Specify right- or left-hand bars
) Maximum D.0.C.=0.01-0.03 mm, maximum feed=0.01 mm/rev.
@) Minimum overhang
(3 Cutting depth maximum
PICCOCYT . ; LF L
PICCO R 050.20 ‘@4———— DCONMS ﬁ r
Inserts for Internal Turning i SANNY Y
and Chamfering Next to the e Qbi,i%/”“
Bottom of Blind Holes a Yb——— 1} N\
\A/LFT Qc}»\i CDX
Right-hand shown
Dimensions
g
Designation DCONMS WF a LF OHN® RE CDX®@ DMIN ©
PICCO R 050.20.2-10 4.00 = 1.70 24.00 10.0 0.05 0.10 2.00 o
PICCO R 050.20.3-10 4.00 0.60 2.60 24.00 10.0 0.10 0.20 2.80 o
PICCO R 050.20.4-16 4.00 1.50 3.50 30.00 16.0 0.10 0.30 4.00 .
PICCO R 050.20.5-20 5.00 1.90 4.40 35.00 19.0 0.15 0.50 5.00 o
e Specify right- or left-hand bars
() Minimum overhang
() Cutting depth maximum
PICCO 050... PICCO 050.20...

20°

ISCAR




PICCOCUT : LL
ri LF ——— ¥
PICCO R/L 047 T = conwss aa oC
Inserts for Internal Deep Profiling 8\ [} O
WE 83 OHN—» m
| 1]
a ' — D—Vi_ ]
- LY W% WB
AN E@ Right-hand shown CIL)
Dimensions =
=
Designation DCONMS WF a LF OHN® WB CDX@ DMIN RE e
PICCO R/L 047.4-20 4.00 1.50 3.50 34.00 20.0 3.00 0.30 4.00 0.15 (]
PICCO R/L 047.5-25 5.00 1.90 4.40 40.00 25.0 3.80 0.50 5.00 0.15 [
PICCO R/L 047.6-30 6.00 2.30 5.30 45.00 30.0 4.50 0.50 6.00 0.15 o
PICCO R 047.T6-22 6.00 2.30 5.30 37.00 22.0 3.40 1.80 6.00 0.15 o
PICCO R 047.T6-30 6.00 2.30 5.30 45.00 30.0 3.40 1.80 6.00 0.15 o

® Left hand inserts on request
() Minimum overhang
(2 Cutting depth maximum

PICCOCUT : - -
PICCO R/L 050-C / il == Dconws ﬁ r
Inserts with Chipformers for S\ L
Internal Boring and Profiling -~ OHN —»
WF [T \
B LI i S—
':."\-‘_ a ¥ [ Y L ___]
H 20\ S m Right-hand shown
Dimensions
2
Designation DCONMS WF a LF OHN( CDX@ DMIN RE e
PICCO R/L 050.4-10C 4.00 1.50 3.50 24.00 10.0 0.30 4.00 0.10 L]
PICCO R/L 050.4-20C 4.00 1.50 3.50 34.00 20.0 0.30 4.00 0.10 [
PICCO R/L 050.4-24C 4.00 1.50 350 38.00 24.0 0.30 4.00 0.10 o
PICCO R/L 050.4-28C 4.00 1.50 3.50 42.00 28.0 0.30 4.00 0.10 L]
PICCO R 050.4-16C 4.00 1.50 3.50 30.00 16.0 0.30 4.00 0.10 .
PICCO R/L 050.5-10C 5.00 1.90 4.40 25.00 10.0 0.50 5.00 0.15 .
PICCO R/L 050.5-15C 5.00 1.90 4.40 30.00 15.0 0.50 5.00 0.15 L]
PICCO R/L 050.5-20C 5.00 1.90 4.40 35.00 20.0 0.50 5.00 0.15 o
PICCO R/L 050.5-25C 5.00 1.90 4.40 40.00 25.0 0.50 5.00 0.15 °
PICCO R/L 050.5-30C 5.00 1.90 4.40 45.00 30.0 0.50 5.00 0.15 L]
PICCO R/L 050.5-35C 5.00 1.90 4.40 50.00 35.0 0.50 5.00 0.15 .
PICCO R/L 050.6-15C 6.00 2.30 5.30 30.00 15.0 0.50 6.00 0.15 °
PICCO R/L 050.6-22C 6.00 2.30 5.30 37.00 22.0 0.50 6.00 0.15 L]
PICCO R/L 050.6-25C 6.00 2.30 5.30 40.00 25.0 0.50 6.00 0.15 [
PICCO R/L 050.6-30C 6.00 2.30 5.30 45.00 30.0 0.50 6.00 0.15 °
PICCO R/L 050.6-35C 6.00 2.30 5.30 50.00 35.0 0.50 6.00 0.15 L]
PICCO R/L 050.6-42C 6.00 2.30 5.30 57.00 420 0.50 6.00 0.15 °
PICCO R/L 050.7-20C 7.00 2.80 6.30 35.00 20.0 0.60 6.80 0.15 .
PICCO R/L 050.7-25C 7.00 2.80 6.30 40.00 25.0 0.60 6.80 0.15 L]
PICCO R/L 050.7-30C 7.00 2.80 6.30 45.00 30.0 0.60 6.80 0.15 [
PICCO R/L 050.7-35C 7.00 2.80 6.30 50.00 35.0 0.60 6.80 0.15 °
PICCO R/L 050.7-40C 7.00 2.80 6.30 56.00 40.0 0.60 6.80 0.15 L]
PICCO L 050.7-50C 7.00 2.80 6.30 65.00 50.0 0.60 6.80 0.15 (]
o All left-hand inserts on request
() Minimum overhang
@ Cutting depth maximum
Stainless Steal T1EL
PICCO A 050.6-35C with Chipbraaker PICCO A 050.6-35 Standard
= 0,083 mmfres fou OLCES e = 003 e = 0.05 mmifres

= >

Member IMC Group

(T [Tl 463



WR PiCccocuT : | .
AEN PICCO R/L 090 %/fgﬁws ﬁ f?ﬁ\i
O Inserjs for Interngll —3 N
Turning and Profiling - y 90°WF OHN — %{él; — DMIN
m a v/ E&I;’vﬁf‘_f_;f; R
CD 1 20"(4& fcpx
|_ Right-hand shown
= Dimensions
]
Designation DCONMS WF a LF OHN(M RE CDX®@ DMIN e
PICCO R/L 090.3-10 4.00 0.60 2.60 24.00 9.0 0.10 0.20 2.80 o
PICCO R/L 090.3-16 4.00 0.60 2.60 30.00 15.0 0.10 0.20 2.80 o
PICCO R/L 090.4-10 4.00 1.50 3.50 24,00 9.0 0.10 0.30 4.00 o
PICCO R/L 090.4-16 4.00 1.50 3.50 30.00 15.0 0.10 0.30 4.00 o
PICCO R/L 090.5-10 5.00 1.90 4.40 25.00 9.0 0.15 0.50 5.00 o
PICCO R/L 090.5-15 5.00 1.90 4.40 30.00 14.0 0.15 0.50 5.00 o
PICCO R/L 090.5-20 5.00 1.90 4.40 35.00 19.0 0.15 0.50 5.00 o
e Specify right- or left-hand bars
() Minimum overhang
() Cutting depth maximum
PicCcOcuT .
e Ty
PICCO R 050 (CBN) N DCONMS <
CBN Tipped Inserts for v [}
Internal Turning, Profiling and WF 8° [+ OHN—=
Chamfering of Hard Steel _ Zl | 'f‘
LPPER
o \ae oo i e o -
Dimensions
e
Designation DCONMS WF a LF OHN® CDX®@ DMIN RE =
PICCO R 050.3-10B 4.00 0.60 2.60 25.50 10.0 0.20 2.80 0.10 o
PICCO R 050.4-10B 4.00 1.50 3.50 25.50 10.0 0.30 4.00 0.10 °
PICCO R 050.5-15B 5.00 1.90 4.40 31.50 15.0 0.50 5.00 0.15 o
PICCO R 050.6-15B 6.00 2.30 5.30 31.50 15.0 0.50 6.00 0.15 o
PICCO R 050.7-20B 7.00 2.80 6.30 36.50 20.0 0.60 6.80 0.15 [
¢ |tis not recommended to use coolant when machining with CBN tipped tools e Available on request only
) Minimum overhang
(@ Cutting depth maximum
PICCOCUT : —
PICCO R/LHD 050 1 DCONMS ﬁ /ﬁi
Inserts for Internal Turning ST [} . DKMN
and Chamfering of Hard ' 52.[1‘: = ‘17
Steel - Up to 65 HRC - i
MT 2&}\& CDX
Dimensions
g
Designation DCONMS WF a LF OHN( RE CDX®@ DMIN <]
PICCO R/LHD 050.2-5 4.00 - 1.70 19.00 40 0.05 0.10 2.00 o
PICCO R/LHD 050.3-10 4.00 0.60 2.60 24.00 9.0 0.10 0.20 2.80 o
PICCO R/LHD 050.3-16 4.00 0.60 2.60 30.00 15.0 0.10 0.20 2.80 o
PICCO R/LHD 050.4-10 4.00 1.50 3.50 24.00 9.0 0.10 0.30 4.00 o
PICCO R/LHD 050.4-20 4.00 1.50 3.50 34.00 19.0 0.10 0.30 4.00 o
PICCO R/LHD 050.5-10 5.00 1.90 4.40 25.00 9.0 0.15 0.50 5.00 °
PICCO R/LHD 050.5-15 5.00 1.90 4.40 30.00 14.0 0.15 0.50 5.00 o
PICCO R/LHD 050.6-15 6.00 2.30 5.30 30.00 14.0 0.15 0.50 6.00 o
PICCO R/LHD 050.7-20 7.00 2.80 6.30 35.00 19.0 0.15 0.60 6.80 o
PICCO R/LHD 050.7-25 7.00 2.80 6.30 40.00 24.0 0.15 0.60 6.80 o
PICCO R/LHD 050.7-35 7.00 2.80 6.30 50.00 34.0 0.15 0.60 6.80 o

* Specify right- or left-hand bars
() Minimum overhang
(2 Cutting depth maximum

ISCAR




PICCOCUT 'F' LL]
L LF
PICCO R/L 520 = — ji; L oC
Inserts for Internal Chamfering < | DCONMS O
"3 RE CDX m
= " N
- Right-hand shown |_
Dimensions =
S
Designation DCONMS WF KAPR() LF RE CDX DMIN e
PICCO R/L 520.0045-15 5.00 1.50 45.0 30.00 0.20 3.50 1.00 o
PICCO R/L 520.0060-15 5.00 1.50 60.0 30.00 0.20 4.00 1.00 o

e Left hand inserts on request
) Tool cutting edge angle

ITS50RE

Accessories fOALj T O

PLT P DCONMS

Cover Plate Protects the H

Serrated Faces When a L vy

Single Toolholder is Used Gt

DCONMS H OAL [
16.00 7.0 14.00 SR M3x12 DIN912
20.00 85 17.00 SR M4x14 DIN912
25.00 102 21.00 SR M4x16 DIN7991
32.00 139 28.00 SR M5x20 DIN7991
40.00 17.4 35.00 SR M6x25 DIN7991
50.00 214 4750 SR MB8x25 DIN7991
63.00 26.4 62.00 SR M10x30 DIN7991
80.00 339 82.50 SR M12x35 DIN7991

Member IMC Group




ITS50RE

BH MB COUPLING SET

LL
o
O
M
n
=

b oor—] /r
di d2 o \
P \
\
| Designation | di d2 1 OR
BH MB14 COUPLING SET 14 10 25 -
BH MB16 COUPLING SET 16 10 25 -
BH MB20 COUPLING SET 20 13 3 °
BH MB25 COUPLING SET 25 16 3 -
BH MB32 COUPLING SET 32 20 4 ORM 0075-10
BH MB40 COUPLING SET 40 25 5 ORM 0100-10
BH MB50 COUPLING SET/M5 50 32 6 ORM 0130-10
BH MB63-80 COUPLING SET 63-80 42 8 OR 2075
BH MB110 COUPLING SET 110 76 14 OR 3112
BHF - SPARE PARTS
IHFF
4 518 2
1 2 3 4 5
- SR M3X6 DIN 912 BH HW 1.5 HANDLE SR M3X4.5 DIN 913
SR M4X8 DIN 912 BH HW 1.5 HANDLE SR M3X4.5 DIN 913
- SR M5X10 DIN 912 BH HW 2.0 HANDLE SR M4X4 DIN 913
SR MeX12 DIN 912 BH HW 2.0 HANDLE SR M4X5 DIN 913
- SR M8X14 DIN 912 - BH HW 2.5 HANDLE SR M5X6 DIN 913 SR
BHNUT 10 SR M10X25 DIN 912 SR M10X16 DIN 913 BH HW 2.5 HANDLE SR M58 DIN 913
BHF - SPARE PARTS
1 3
EFE SR M5X12 DIN 912 SR M10X25 DIN 912
BHF - SPARE PARTS
1 3
BHF...-63... SR MBX10 DIN 915
. SR MBX14 DIN 915 SR M10X25 DIN 912 BH HW 3.0 HANDLE
BHF...-125... SR MBX22 DIN 915
BHF - SPARE PARTS
BHF 50 IHAXF 16/AVI/E BHF 32 BL IHAXF 16/AVI/E
IHAXF 8 BHF 50 BL
4 123
1 2 3 4
BHF...-50... SR M5X8 DIN 913 SLEEVE D 8-D16 SR M10X10 DIN 913 BH HW 2.5 HANDLE
SR M5X8 DIN 913
SR M4X5 DIN 913 BH HW 2.0 HANDLE
SHESEa BE SR M5X12 DIN 913
BHF...-50... BL SR M5X8 DIN 913 SLEEVE D 8-D16 SR M10X10 DIN 913 BH HW 2.5 HANDLE

ISCAR




ITS50RE

BHE MB - SPARE PARTS

USER GUIDE

BHE MB14-14X30
BHE MB16-16X34
BHE MB20-20X40

BHE MB25-25X50

BHE MB32-32X63
BHE MB40-40X80
BHE MB50-50X80
BHE MB63-63X89
BHE MB80-80X104

BHE - SPARE PARTS

BHE MB50-50X80
BHE MB63-63X89

BHE MB80-80X104

BHE - SPARE PARTS

BHE MB32-32X53 H

BHE MB50-50X60 H
BHE MB50-50X80
BHE MB63-63X89
BHE MB80-80X104

1 2 3 4 5
SR M3X6 DIN 912 = BH HW 1.5 HANDLE SR M3X3.5 DIN 913
SR M3X6 DIN 912 BH HW 1.5 HANDLE SR M3X4.5 DIN 913
SR M4X8 DIN 912 - BHHW 1.5 HANDLE SR M3X4.5 DIN 913
SR M5X10 DIN 912 BH HW 1.5 HANDLE SR M4X4 DIN 913
SR M6X12 DIN 912 = BH HW 2.5 HANDLE SR M5X5 DIN 913
- SR M8X14 DIN 912 - BH HW 3.0 HANDLE SR M6X6 DIN 913
BH NUT 10 SR M10X25 DIN 912 SR M10X16 DIN 913 BH HW 3.0 HANDLE SR M6X8 DIN 913
= SR M10X20 DIN 912 = BH HW 3.0 HANDLE SR M6X8 DIN 913
SR M10X25 DIN 912 - BH HW 3.0 HANDLE SR M6X12 DIN 913
IHRF BW.
B
3
1 2 3
SR M5X12 DIN 912
SR M5X25 DIN 912 SR M10X20 DIN 912 SR M10X25 DIN 912
4
i SIN[EE £ 401 IHAXF 18/AVI/E BHE MB63-63X89 IHAXF 18/AVI/E
Do | s BHE MBB0-80X104
En[IENG
123
1 3
1 2 3 4
SR M5X5 DIN 913 - SR M5X8 DIN 913
SR M5X5 DIN 913 = SR M5X12 DIN 913 BHHW 25 HANDLE
SR M6X8 DIN 913 SLEEVE D 8-D16 SR M10X10 DIN 913
SR M6X8 DIN 913 SLEEVE D 8-D16 SR M10X10 DIN 913
SR M6X8 DIN 913 = SR M6X6 DIN 913 BH HIV 3.0 HANDLE
SR M6X12 DIN 913 SR M6X6 DIN 913

Member IMC Group

LL
o
O
M
n
=




LL
o
O
M
n
=

ITS50RE

BHC - SPARE PARTS

USER GUIDE

BHC

Designation | 1 2 3 4 5
BHC MB25-25X57 SR M4X8 DIN 913 BH SR M4X11 DIN 912 PT BH NUT-BHC MB25 BH HW 2.0 HANDLE SR M4X5 DIN 913
BHC MB32-32X71 SR M5X10 DIN 913 BH SR M5X12.5 DIN 912 PT BH NUT-BHC MB32 BH HW 2.5 HANDLE SR M5X5 DIN 913
BHC MB40-40X90 SR M6X12 DIN 913 BH SR M6X16 DIN 912 PT BH NUT-BHC MB40 BH HW 3.0 HANDLE SR M6X6 DIN 913
BHC MB50-50X87 SR M6X14 DIN 913 BH SR M8X20 DIN 912 PT BH NUT-BHC MB50 BH HW 3.0 HANDLE SR M6X8 DIN 913
BHC MB63-63X109 SR M6X16 DIN 913 BH SR M10X26 DIN 912 PT BH NUT-BHC MB63 BH HW 3.0 HANDLE SR M6X8 DIN 913
BHC MB80-80X130 SR M6X20 DIN 913 BH SR M12X30 DIN 912 PT BH NUT-BHC MB80 BH HW 3.0 HANDLE SR M6X12 DIN 913
BHR - SPARE PARTS p o |E®’ o]
fig.1 \.\\ 2 2 | —02
>‘ 1 |F IHFR CH ‘ ——— IHRF BW
=1 S..
BHR —
]
{ | 3
\ 2
fig.2 \‘
) IH
L 1
| Designation | 1 2 3
BHR MB16...16 BH NUT BHR MB16 SR M3X14 DIN912 SR M3X4 DIN913
BHR MB20...20 BH NUT BHR MB20 SR M4X15 DIN912 SR M3X5 DIN913
BHR MB25...25 BH NUT BHR MB25 SR M4X20 DIN912 SR M3X8 DIN913
BHR MB32...32 BH NUT BHR MB32 SR M5X25 DIN912 SR M4X12 DIN913
BHR MB40...50 BH NUT BHR MB40 SR M6X30 DIN912 SR M5X14 DIN913
BHR MB50...50 BH NUT BHR MB50 SR M8X35 DIN912 SR M5X12 DIN913
BHR MB50...63 BH NUT BHR MB63 SR M10X40 DIN912 SR M6X16 DIN913
BHR MB63...63 BH NUT BHR MB63 SR M10X40 DIN912 SR M6X16 DIN913
BHR MB80...80 BH NUT BHR MB80 SR M12X45 DIN912 SR M8X25 DIN913
TCH AL - SPARE PARTS
(Rough Boring) IHSR 161-800 BW
4
5 4 4
IH...160-800
7
8
6 1
TCH AL ! = 2
— 7
| Designation | 1 2 3 4
TCH AL 200-300-400
TCH AL 500-600-700-800 BH TCH NUT A BH TCH NUT B BH TCH NUT C SR M12X40 DIN 912
Designation | 5 6 7 8
TCH AL 200 SR M8X40 DIN 915 SR M12X35 DIN 912 BH SERRATED PLATE 200 SR M8X25 DIN 912
TCH AL 300 SR M8X40 DIN 915 SR M12X35 DIN 912 BH SERRATED PLATE 300 SR M8X25 DIN 912
TCH AL 400 SR M8X40 DIN 915 SR M12X35 DIN 912 BH SERRATED PLATE 400-700 SR M8X20 DIN 912
TCH AL 500-600-700-800 SR M8X40 DIN 915 SR M16X50 DIN 912 BH SERRATED PLATE 400-700 SR M8X25 DIN 912

ISCAR




ITSB0RE USER GUIDE

TCH AL - SPARE PARTS IHFF..., IHRF...

(Fine Boring) IHRF...CH, IHRF...BV\;

— g

11

BHF L200 -
) - !
2
6

CW 200

LL
o
O
M
n
=

1 2 3 4 5

TCH AL 200-300-400

TCH AL 500-600-700-800 BH TCH NUT A BH TCH NUT B BH TCH NUT C SR M12X40 DIN 912 SR M8X40 DIN 915
6 7 8 9 10 11
TCH AL 200 SR M12X35 DIN 912 BH SERRATED PLATE 200 SRMBX25 DIN912 SR M10X20 DIN 912 SR M6X8 DIN 915 BH HW 3.0 HANDLE
TCH AL 300 SR M12X35 DIN 912 BH SERRATED PLATE 300 SRMBX25 DIN912 SR M10X20 DIN 912 SR M6X8 DIN 915 BH HW 3.0 HANDLE
TCH AL 400 SR M12X35 DIN 912 BH SERRATED PLATE 400-700  SRM8X20 DIN 912 SR M10X20 DIN 912 SR M6X8 DIN 915 BH HW 3.0 HANDLE
TCH AL 500-600-700-800 SR M16X50 DIN 912 BH SERRATED PLATE 400-700  SRM8X25DIN912 SR M10X20 DIN 912 SR M6X8 DIN 915 BH HW 3.0 HANDLE

ADBH - SPARE PARTS

1
ADBH 30XD16 TSR MBX8 DN 915

BBH-D - SPARE PARTS

IHRF..

=

] 2

BBH D16-53 SR M5X12 DIN 912 WASHER DIN 125A M5
BBH D16-105 SR M5X12 DIN 912 WASHER DIN 125A M5

BHFH - SPARE PARTS IHRF...CH.. HRE...BW..

1
BHFH 30X75
BHFH 40X133 SR M10X18 DIN 912
BHFH 30X93

BHFH 40X200
BHFH 30X135
BHFH 40X300
BHFH 40X400

SR M10X25 DIN 912

Member IMC Grou

p
=™
L 4 11 ]




LL
o
O
M
n
=

ITS50RE

BHEH - SPARE PARTS

BHEH 24x75

BHEH 28x80

BHEH 28x108
BHEH 28x148

SR M10X20 DIN 912

SR M10X25 DIN 912

EMH - SPARE PARTS

Screw

Screw

USER GUIDE

Screw #1 Screw # 2
EMH MB 50-6 EMH 50-6 SCREW M6x10 EM SCREW
EMH MB 50-8 EMH 50-8 SCREW M8x10 EM SCREW
EMH MB 50-10 EMH 50-10 SCREW M10x12 EM SCREW
EMH MB 50-12 EMH 50-12 SCREW M12x16 EM SCREW
EMH MB 50-14 EMH 50-14 SCREW M14x16 EM SCREW
EMH MB 50-16 EMH 50-16 SCREW M14x16 EM SCREW
EMH MB 50-20 EMH 50-20 SCREW M16x16 EM SCREW
EMH MB 63-16 EMH 63-16 SCREW M14x16 EM SCREW
EMH MB 63-20 EMH 63-20 SCREW M16x16 EM SCREW
EMH MB 63-25 EMH 63-25 SCREW M18x20 EM SCREW
EMH MB 63-32 EME 63-32 SCREW M18x20 EM SCREW
EMH MB 80-40 EMH 80-40 SCREW M20x20 EM SCREW
BH WASHER - SPARE
PARTS I
For Kit BHE 1515 :
— 6.9
For K BHE
KIT BHE MB50-50X80
KIT BHE MB63-63X89
BH WASHER IH..50 KIT BHE MB80-80X104
KIT BHF MB50-50X80 6-108
CC - SPARE PARTS
Components for CC MB
1 2 Wrench
CC MB16-ER11M CC MB16 SCREW NUT ER11 MINI WRENCH ER11 MINI
CC MB20-ER16M CC MB20 SCREW NUT ER16 MINI WRENCH ER16 MINI
CC MB25-ER20M CC MB25 SCREW NUT ER20 MINI WRENCH ER20 MINI
CC MB32-ER25M CC MB32 SCREW NUT ER25 MINI WRENCH ER25 MINI
CC MB40-ER25 CC MB40 SCREW NUT ER25 TOP WRENCH ER25
CC MB50-ER25 CC MB50 SCREW NUT ER25 TOP WRENCH ER25
CC MB50-ER32 CC MB50 SCREW NUT ER32 TOP WRENCH ER32
CC MB63-ER32 CC MB63 SCREW NUT ER32 TOP WRENCH ER32
CC MB63-ER40 CC MB63 SCREW NUT ER40 TOP WRENCH ER40

ISCAR




ITS5552 USER GUIDE

DUInis LLI
A
BHR Rough Boring Cutting Data 8
Boring Range Boring Range Boring Range
18-28 28-50 50-68 @p)]
o Workpiece Hardness 0verhang ap (mm) 0.5-1.2 1.2-2.5 0.8-1.5 1.5-2.5 0.8-1.5 1.5-3.0 |:
2| Material HB LDRED/BDRED | RE (Radius) 0.2 0.4 0.2-0.4 0.4 0.2-0.4 0.4-0.8
2.5 Ve (m/min) 150-180 120-150 160-200 140-170 160-200 140-180
oo f (mm/rev) 0.1-0.2 0.08-0.2 0.15-0.2 0.15-0.2 0.15-0.25 0.08-0.2
4 Ve (m/min) 140-160 100-140 160-180 120-150 160-180 120-150
Carbon Steel | HB<200 o f(mmievy | 01-018 | 008015 | 01012 | 00801 | 01-012 | 00801
6.3 Ve (m/min) 60-80 40-60 60-90 50-60 70-90 50-70
o f (mm/rev) 0.06-0.12 0.06-0.1 0.06-0.12 0.06-0.1 0.06-0.1 0.06-0.1
2.5 Ve (m/min) 130-160 100-130 140-180 120-160 140-180 120-160
oo f (mm/rev) 0.08-0.15 | 0.08-0.12 0.08-0.2 0.06-0.12 | 0.08-0.25 | 0.08-0.18
Carbon Steel | HB>200 4 Ve (m/min) 110-140 80-110 100-140 80-120 100-140 80-120
oo f (mm/rev) 0.08-0.12 0.08-0.1 0.08-0.15 | 0.06-0.15 0.08-0.2 0.06-0.15
6.3 Ve (m/min) 70-90 60-70 80-100 60-80 80-100 60-80
o f (mm/rev) 0.08-0.1 0.06-0.08 0.06-0.1 0.06-0.08 | 0.08-0.15 0.06-0.1
Boring Range Boring Range Boring Range
68-120 120-200 200-500
o Workpiece | Hardness 0verhang ap (mm) 0.8-1.5 1.5-3.5 0.8-2.0 2.0-3.5 0.8-2.0 2.0-4.0
@| Material HB LDRED/BDRED | RE (Radius) 0.2-0.4 0.4-0.8 0.2-0.4 R=0.4-0.8 | R=0.2-0.4 | R=0.4-0.8
25 Ve (m/min) 160-220 150-180 180-250 160-200 220-280 200-220
(L f (mm/rev) 0.15-0.25 0.08-0.2 0.15-0.3 0.1-0.2 0.15-0.3 0.1-0.15
Carbon Steel | HB<200 4 Ve (m/min) 140-180 120-150 160-200 140-180 NR. NER.
oo f (mm/rev) 0.08-0.2 0.08-0.15 0.1-0.2 0.08-0.15
6.3 Ve (m/min) 70-100 50-70
° f (mm/rev) 0.06-0.1 0.06-0.1 N.R N.R N.R N.R
2.5 Ve (m/min) 140-180 120-160 150-170 100-140 100-140 80-120
oo f (mm/rev) 0.15-0.3 0.12-0.2 0.15-0.25 0.1-0.2 0.15-0.3 0.1-0.2
Carbon Steel | HB>200 4 Ve (m/min) 120-150 100-140 100-130 80-110 NR NA
oo f (mm/rev) 0.1-0.2 0.1-0.18 0.08-0.2 0.08-0.12
6.3 Ve (m/min) 80-100 60-80 NR NR NR NR
° f (mm/rev) 0.08-0.12 0.08-0.12 o o o o
N.R. = Not Recommended
Stability
eee Good
ee Normal
° Poor

0[]

IHSR IHSR PLT IHSR

1]
A
T

_
L
|

In case of a single or a stepped boring cutter configuration, only half the feed should be applied.

Member IMC Group




ITS555:2 USER GUIDE

LLI DUInis
C
8 BHR Rough Boring Cutting Data
Boring Range Boring Range Boring Range
@p) 18-28 28-50 50-68
m| | Workpiece | Hardness |  Overhang 2 (mm) 0.5-1.0 1.0-18 0.5-1.0 1018 | 0512 12-2.0
2| Material HB LDRED/BDRED | RE (Radius) 0.2 0.4 0.2-0.4 0.4 0.2-0.4 0.4-0.8
2.5 Ve (m/min) 140-160 90-120 150-180 100-130 160-200 140-180
oo f (mm/rev) 0.08-0.18 0.08-0.15 0.08-0.2 0.08-0.18 0.1-0.25 0.1-0.15
Garbon Steel | HB<200 4 Ve (m/min) 100-130 70-100 110-150 90-120 140-180 100-130
oo f (mm/rev) 0.08-0.15 0.06-0.12 0.08-0.18 0.08-0.15 0.8-0.18 0.08-0.12
6.3 Ve (m/min) 80-100 60-90 80-100 70-90 100-140 80-120
(] f (mm/rev) 0.08-0.15 0.06-0.1 0.06-0.12 0.06-0.12 0.6-0.15 0.08-0.1
2.5 Ve (m/min) 130-150 120-140 130-150 120-140 140-170 120-150
oo f (mm/rev) 0.08-0.18 0.06-0.15 0.08-0.18 0.06-0.15 0.08-0.2 0.08-0.18
Carbon Stesl | HB>200 4 Ve (m/min) 100-130 100-120 100-130 100-120 120-150 100-120
oo f (mm/rev) 0.08-0.15 0.06-0.13 0.08-0.15 0.06-0.13 0.08-0.18 0.08-0.15
6.3 Ve (m/min) 80-100 70-90 80-100 70-90 100-120 70-90
o f (mm/rev) 0.08-0.12 0.06-0.11 0.08-0.12 0.06-0.11 0.08-0.12 0.06-0.11
Boring Range Boring Range Boring Range
68-120 120-200 200-500
Workpiece | Hardness 0verhang ap (mm) 1.8 25 0.8-2.0 2.0-3.5 0.8-2.0 2.0-4.0
Material HB LDRED/BDRED | RE (Radius) 0.2-0.4 0.4-0.8 0.2-0.4 0.4-0.8 0.2-0.4 0.4-0.8
25 Ve (m/min) 160-220 140-180 160-220 140-180 160-220 140-180
(L f (mm/rev) 0.1-0.3 0.1-0.25 0.1-0.3 0.1-0.25 0.1-0.35 0.1-0.3
Carbon Steel | HB<200 4 Ve (m/min) 150-200 120-160 120-160 120-160 NR NR
oo f (mm/rev) 0.1-0.2 0.08-0.18 0.1-0.2 0.08-0.18
6.3 Ve (m/min) 100-140 100-140
° f (mm/rev) 0.08-0.18 | 0.08-0.15 N.R N.R N.R N.R
2.5 Ve (m/min) 160-200 140-180 140-200 140-180 140-200 140-180
oo f (mm/rev) 0.1-0.3 0.01-0.25 | 0.01-0.35 0.01-0.3 0.01-0.35 0.01-0.3
Carbon Steel | HB>200 4 Ve (m/min) 140-160 120-140 150-180 120-140 NR NR
oo f (mm/rev) 0.08-0.2 0.08-0.15 | 0.08-0.12 | 0.08-0.12
6.3 Ve (m/min) 100-120 70-90 NR NR NR NR
[ f (mm/rev) 0.08-0.16 | 0.08-0.12

N.R. = Not Recommended
Stability
eee Good

ee Normal

° Poor

0[]

IHSR IHSR PLT IHSR

L]
A
T

_
L
|

In case of a single or a stepped boring cutter configuration, only half the feed should be applied.

ISCAR




ITS5552 USER GUIDE

DUInis LLI
C
BHR Rough Boring Cutting Data 8
Boring Range Boring Range Boring Range
18-28 28-50 50-68 @)
o| Workpiece | Hardness | Overhang a, (mm) 0.5-1.0 1.0-1.8 0.5-1.0 1.0-1.8 0.5-1.2 1.2-2.0 —
L|  Material HB LDRED/BDRED | RE (Radius) 0.2 0.4 0.2-0.4 0.4 0.2-0.4 0.4-0.8
25 Ve (m/min) 100-150 110-130 120-160 100-150 120-160 110-160
eoo f (mm/rev) 0.08-0.15 | 0.06-0.12 | 0.08-0.18 | 0.06-0.12 | 0.08-0.25 | 0.08-0.18
Stainless Ferritic & 4 Ve (m/min) 90-130 90-120 100-140 90-140 100-150 80-120
Steel Martensitic oo f (mm/rev) 0.08-0.12 | 0.06-0.1 0.08-0.12 | 0.06-0.1 0.08-0.18 | 0.08-0.12
6.3 Ve (m/min) 60-90 50-70 60-90 50-70 70-100 50-70
o f (mm/rev) 0.06-0.1 0.06-0.1 0.06-0.12 | 0.06-0.1 0.06-0.15 | 0.08-0.1
25 Ve (m/min) 110-130 100-130 120-150 110-140 110-160 100-150
ooo f (mm/rev) 0.08-0.15 | 0.06-0.12 | 0.08-0.18 | 0.06-0.12 | 0.08-0.25 | 0.06-0.12
Stainless AUstentic 4 Ve (m/min) 80-110 80-110 90-130 90-120 100-150 90-130
Steel oo f (mm/rev) 0.08-0.12 | 0.06-0.1 0.08-0.12 | 0.06-0.1 0.08-0.18 | 0.06-0.1
6.3 Ve (m/min) 60-90 50-70 60-90 50-70 70-100 50-70
M . f (mm/rev) 0.06-0.1 0.06-0.1 0.06-0.12 | 0.06-0.1 0.06-0.15 | 0.06-0.1
2.5 Ve (m/min) 90-130 100-130 120-150 110-140 120-160 100-150
eoo f (mm/rev) 0.08-0.15 | 0.06-0.12 | 0.08-0.18 | 0.06-0.12 | 0.08-0.25 | 0.06-0.12
Stgiifetss Ferritic & 4 Ve (m/min) 70-110 80-110 90-130 90-120 100-150 90-130
Steol Martensitic oo f (mm/rev) 0.08-0.12 | 0.06-0.1 0.08-0.12 | 0.06-0.1 0.08-0.18 | 0.06-0.1
6.3 Ve (m/min) 60-90 50-70 60-90 50-70 70-100 50-70
. f (mm/rev) 0.06-0.1 0.06-0.1 0.06-0.12 0.06-0.1 0.06-0.15 0.06-0.1
2.5 Ve (m/min) 80-120 70-110 100-150 90-140 110-150 100-150
eoe f (mm/rev) 0.08-0.15 | 0.06-0.12 | 0.08-0.18 | 0.06-0.1 0.08-0.25 | 0.06-0.12
Stgilsefss — 4 Ve (m/min) 70-100 70-100 80-130 70-120 90-140 90-130
Steel oo f (mm/rev) 0.08-0.12 | 0.06-0.1 0.08-0.12 | 0.06-0.1 0.08-0.18 | 0.06-0.1
6.3 Ve (m/min) 60-90 50-70 60-90 50-70 70-100 50-70
o f (mm/rev) 0.06-0.1 0.06-0.1 0.06-0.12 | 0.06-0.1 0.06-0.15 | 0.06-0.1
N.R. = Not Recommended
Stability
000 Good
®®  Normal
° Poor

o R
A 7N A =

f P
IHSR IHSR PLT IHSR

In case of a single or a stepped boring cutter configuration, only half the feed should be applied.

Member IMC Group




ITS555:2 USER GUIDE

LLI DUiriE
C
8 BHR Rough Boring Cutting Data
Boring Range Boring Range Boring Range
CD 68-120 120-200 200-500
|: o| Workpiece | Hardness Overhang ap (mm) 0.8-1.8 1.8-2.5 0.8-2.0 2.0-3.0 0.8-2.0 2.0-3.5
€| Material HB LDRED/BDRED | RE (Radius) 0.2-0.4 0.4-0.8 0.2-0.4 0.4-0.8 0.2-0.4 0.4-0.8
25 Ve (m/min) 130-220 120-200 140-220 120-180 150-220 120-20
ooe f (mm/rev) 0.08-0.3 | 0.08-0.25 | 0.08-0.3 | 0.08-0.25 | 0.08-0.3 | 0.08-0.25
Stainless Ferritic & 4 Ve (m/min) 100-160 90-140 120-180 90-140 NR NR
Steel Martensitic oo f(mm/rev) | 0.08-0.25 | 0.08-0.18 | 0.08-0.25 | 0.08-0.18 ' '
6.3 Ve (m/min) 70-100 50-70
o f (mm/rev) 0.08-0.2 | 0.08-0.15 N.R N.R N.R N.R
2.5 Ve (m/min) 120-200 100-160 120-200 100-160 120-200 100-180
ooo f (mm/rev) 0.08-0.3 0.08-0.25 0.08-0.3 0.08-0.25 0.08-0.3 0.08-0.25
Stainless Alstentic 4 Ve (m/min) 100-150 90-140 100-160 90-140 NR NR
Steel oo f (mm/rev) 0.08-0.25 | 0.08-0.18 | 0.08-0.25 | 0.08-0.18
6.3 Ve (m/min) 70-100 50-70 \R \R \R \R
- . f (mm/rev) 0.08-0.2 | 0.08-0.15
2.5 Ve (m/min) 130-200 120-180 140-200 120-160 140-200 120-180
eoo f (mm/rev) 0.08-0.3 | 0.08-0.25 | 0.08-0.3 | 0.08-0.25 | 0.08-0.3 | 0.08-0.25
Stgirawlfetss Ferritic & 4 Ve (m/min) 110-150 90-150 100-160 90-140 NR NR
Steol Martensitic oo f (mm/rev) 0.08-0.25 | 0.08-0.18 | 0.08-0.25 | 0.08-0.18 ' '
6.3 Ve (m/min) 70-100 50-70 NI NE NR NE
o f (mm/rev) 0.08-0.2 0.08-0.15
2.5 Ve (m/min) 130-180 120-180 120-200 100-160 120-200 100-180
eoe f (mm/rev) 0.08-0.3 | 0.08-0.25 | 0.08-0.3 | 0.08-0.25 | 0.08-0.3 | 0.08-0.25
Stgilsetss — 4 Ve (m/min) 100-140 90-140 100-160 90-140 NR NR
Steel oo f (mm/rev) 0.08-0.25 | 0.08-0.18 | 0.08-0.25 | 0.08-0.18
6.3 Ve (m/min) 70-190 50-70
o f (mm/rev) 0.08-0.2 | 0.08-0.15 N.R N.R N.R N.R
N.R. = Not Recommended
Stability
009 Good
®®  Normal
° Poor

IHSR IHSR PLT IHSR

In case of a single or a stepped boring cutter configuration, only half the feed should be applied.

278 ISCAR




ITS5552 USER GUIDE

DUInis LLI
s
BHR Rough Boring Cutting Data 8
Boring Range Boring Range Boring Range
18-28 28-50 50-68 @p)]
o Workpiece | Hardness Overhang 2 (mm) 0.5-1.0 1.0-1.8 0.5-1.0 1.0-1.8 0.5-1.2 1.2-2.0 |:
@| Material HB LDRED/BDRED | RE (Radius) | 0.2-0.4 0.4 0.2-0.4 0.4 0.2-0.4 0.4-0.8
25 Vo (m/min) | 120-160 | 100-140 | 120-180 | 110-150 | 120-180 | 110-150
ooe f (mm/rev) | 0.06-0.15 | 0.06-0.18 | 0.06-0.15 | 0.06-0.12 | 0.08-0.2 | 0.08-0.12
Glrrgﬁ geg’t HB200 4 Vo (m/min) | 100-140 | 80-120 | 100-150 | 80-120 | 100-150 | 80-120
g o f(mm/iev) | 0.06-012 | 0.06-01 | 0.06-0.12 | 0.06-0.1 | 0.08-0.12 | 0.08-0.1
6.3 Vo (m/min) 70-100 60-90 70-100 60-90 70-100 60-90
. f(mm/irev) | 006-01 | 006-01 | 0.06-01 | 006-0.1 | 00801 | 0.08-0.1
25 Ve (m/min) | 140-200 | 140-200 | 140-220 | 160-250 | 180-220 | 200-280
eoe f(mm/frev) | 0.06-0.15 | 0.06-0.18 | 0.06-0.15 | 0.06-0.18 | 0.08-0.2 | 0.1-0.25
Glrrf% (G)ZSt 4 Vo(m/min) | 120-160 | 120160 | 120-180 | 140200 | 140-180 | 180-220
il o f(mm/fev) | 0.06-0.12 | 0.06-0.14 | 0.06-0.12 | 0.06-0.14 | 0.08-0.12 | 0.08-0.2
6.3 Ve (m/min) 70-100 60-90 70-100 60-90 60-100 60-120
. f(mmievy) | 006-01 | 006-01 | 006-01 | 006-0.1 | 00801 | 0.080.1
25 Ve (m/min) | 120-180 | 120-180 | 120-200 | 140-220 | 180-220 | 180-240
ooe f(mm/irev) | 0.06-0.15 | 0.06-0.18 | 0.06-0.15 | 0.06-0.18 | 0.08-0.18 | 0.1-0.2
Cast Iron | Spheroidal 4 Ve (Mm/min) 120-160 120-160 120-180 140-200 140-200 160-220
GGG | & Graphite o f(mm/rev) | 0.06-0.12 | 0.06-0.14 | 0.06-0.12 | 0.06-0.14 | 0.08-0.12 | 0.08-0.18
6.3 Vo (m/min) 60-100 60-90 60-100 60-90 60-90 60-100
. f(mmiev) | 006-01 | 006-01 | 0.06-01 | 006-0.1 | 00801 | 0.080.1
Boring Range Boring Range Boring Range
68-120 120-200 50-68
o | Workpiece | Hardness Overhang 2 (mm) 0.8-1.8 1.8-2.5 0.8-2.0 2.0-3.0 0.8-2.0 2.0-3.5
@| Material HB LDRED/BDRED | RE (Radius) | 0.2-0.4 0.4-0.8 0.2-0.4 0.4-0.8 0.2-0.4 0.4-0.8
25 Ve (m/min) | 120-200 | 110-150 | 150-250 | 180-280 | 150-250 | 180-280
eoe f(mm/irev) | 0.08-025 | 0.08-03 | 0.08-025 | 0.08-0.35 | 0.08-0.25 | 0.08-0.35
Glrrgﬁ g%St - 4 Vo (m/min) | 100-150 | 80-120 | 120-170 | 120-170 R R
g o f(mm/irev) | 0.08-0.18 | 0.08-02 | 0.08-0.18 | 0.08-0.25
6.3 Ve (m/min) 70-100 60-90
. f (mm/rev) | 0.08-0.15 | 0.08-0.12 N.R N.R N.R N.R
25 Vo (m/min) | 250-300 | 250-350 | 250-350 | 250-350 | 250-350 | 250-350
ooe f(mmiev) | 012035 | 0.12-035 | 0.15-03 | 0.15-04 | 0.15-03 | 0.15-0.4
(’]ﬁiﬁ g"gt 4 Vo (/min) | 200-270 | 230-300 | 200-300 | 200-270 R R
ol o f(mmirev) | 01-025 | 01203 | 0.15-03 | 0.15-0.35
6.3 Ve (m/min) 70-150 60-120
. f(mmievy) | 01-015 | 0.12-0.25 N.R N.R N.R N.R
25 Ve (m/min) | 200-240 | 200-280 | 200-280 | 220-300 | 220-300 | 220-300
ooe f(mmiev) | 012-03 | 01203 | 01503 | 0.15-0.35 | 0.15-0.3 | 0.15-0.35
Cast Iron | Spheroidal 4 Ve (m/min) | 160-220 | 180-240 | 180-250 | 200-270 AR AR
GGG | & Graphite o f (mm/rev) 0.1-02 | 012025 | 0.12-02 | 0.15-0.35 ' '
6.3 Ve (m/min) 60-100 60-100
° f (mm/rev) 0.1-0.15 0.12-0.2 N.R N.R N.R N.R
N.R. = Not Recommended
Stability
®0e® (ood
®®  Normal
L4 Poor

In case of a single or a stepped boring cutter configuration, only half the feed should be applied.

Member IMC Group




ITS5552 USER GUIDE

L] DU
oC
8 BHR Rough Boring Cutting Data
Boring Range Boring Range Boring Range
N 18-28 28-50 50-68
— o| Workpiece | Hardness |  Overhang 2 (mm) 0515 | 1525 | 0515 | 1525 | 0520 | 1230
€| Material HB LDRED/BDRED | RE (Radius) 0.2-0.4 0.4 0.2-0.4 0.4 0.2-0.4 0.4-0.8
2.5 Ve (m/min) 200-300 240-350 200-300 240-350 200-300 240-35
oeoo f (mm/rev) 0.06-0.2 0.06-0.25 0.06-0.2 0.06-0.25 | 0.06-0.25 0.06-0.3
Aluminum . 4 Ve (m/min) 150-220 150-220 150-220 150-220 150-220 150-220
/ Cast >12sl oo f (mm/rev) 0.06-0.2 0.06-0.2 0.06-0.2 0.06-0.2 0.06-0.2 0.06-0.2
6.3 Ve (m/min) 60-100 60-100 60-100 60-100 60-100 60-100
° f (mm/rev) 0.06-0.1 0.06-0.1 0.06-0.1 0.06-0.1 0.06-0.1 0.06-0.1
2.5 Ve (m/min) 180-250 220-280 180-250 220-280 180-250 220-280
ooo f (mm/rev) 0.06-0.2 0.06-0.25 | 0.06-0.25 | 0.06-0.25 | 0.06-0.25 0.06-0.3
Aluminum ; 4 Ve (m/min) 120-220 120-220 120-220 120-220 120-220 120-220
/ Cast <12l (1 f (mm/rev) 0.06-0.2 0.06-0.2 0.06-0.2 0.06-0.2 0.06-0.2 0.06-0.25
6.3 Ve (m/min) 60-100 60-100 60-100 60-100 60-100 60-100
. f (mm/rev) 0.06-0.1 0.06-0.1 0.06-0.1 0.06-0.1 0.06-0.1 0.06-0.1
Boring Range Boring Range Boring Range
68-120 120-200 200-500
o| Workpiece | Hardness | Overhang ap (mm) 0830 | 1840 | 0830 | 2040 | 0830 | 20-45
Material HB LDRED/BDRED | RE (Radius) 0.2-0.4 0.4-0.8 0.2-0.4 0.4-0.8 0.2-0.4 0.4-0.8
2.5 Ve (m/min) 200-300 240-350 200-300 240-350 200-300 240-350
ooo f (mm/rev) 0.06-0.25 0.06-0.3 0.06-0.25 0.06-0.4 0.06-0.25 0.06-0.4
Aluminum . 4 Ve (m/min) 1560-220 150-220 150-220 150-220
/ Cast >12si o f(mmirey) | 00602 | 00602 | 00602 | 0.06-0.2 N.R N.R
6.3 Ve (m/min) 60-100 60-100
o f (mm/rev) 0.06-0.1 0.06-0.1 N.R N.R N.R N.R
25 Ve (m/min) 180-250 220-280 180-250 220-280 180-250 220-280
ooo f (mm/rev) 0.06-0.25 0.06-0.3 0.06-0.3 0.06-0.4 0.06-0.3 0.06-0.4
Aluminum , 4 Ve (m/min) 120-220 120-220 120-220 120-220
/ Cast <ies oo f(mmiev) | 00602 | 00602 | 0.06-02 | 00602 N.A N.A
6.3 Ve (m/min) 60-100 60-100
. f (mm/rev) 0.06-0.1 0.06-0.1 N.R N.R N.R N.R
N.R. = Not Recommended
Stability
008 Good
®®  Normal
° Poor

Cutting Conditions
Cutting Conditions for BHR Rough Boring Heads

==, .

il L A
HSR | [HSR 2 7
IHCR | L IHSR
Twin boring cutters with the same cutting diameter Twin boring cutters with different cutting diameters and heights (Z=1)
~BDRED = B Working Range ap Steel ap Cast Iron, Aluminum
18-28 ap-1.5-2 ap - 2-2.5
28-50 ap - 2-3 ap - 2.5-3.5
50-68 ap - 3-4 ap-3.5-5
le_gall<B 68-200 ap - 4-5 ap - 5-7
200-500 ap-5-6 ap - 6-8

It's advisable to start with B holezboring bar diameter d

ISCAR




USER GUIDE

ITSB0RE LLI
C
Cutting Conditions for Boring Operations with BHC Combi Rough and Fine 8
Cutting | Feed fn=mm/rev Cutting Depth mm
o Boring Depthto | Working | Speed Roughing @)
0 | Material Diameter Ratio Conditions | Vc=m/min | RE=0.2 | RE=0.4 |Carbide Grade| Finishing | ©028-046 | ©46-075 |J75-0160 I—
Carbon Steel LDRED/BDRED = 2.5 good 160-250 | 0.1-0.2 | 0.1-0.2 =
HB < 200 LDRED/BDRED = 4 normal 120-180 | 0.1-0.2 | 0.1-0.2 | 1C807,1C908, | 0.15-0.3 1.5 2 2.5
LDRED/BDRED = 6.3 difficult 70-100 [*0.1-0.15| 0.1-0.2 [IC520N, IC20N,
Carbon Steel LDRED/BDRED = 2.5 good 140-200 | 0.1-0.2 | 0.1-0.2 [IC30N, IC8150,
HB > 200 LDRED/BDRED = 4 nlorlmal 100-160 | 0.1-0.2 | 0.1-0.2 |1C8250, IC3028| 0.15-0.3 1.5 2 2.5
LDRED/BDRED = 6.3 difficult 70-100 [*0.1-0.15/ 0.1-0.2
Stainless LDRED/BDRED = 2.5 good 100-140 | 0.1-0.2 |0.1 -0.2 1C807. IC30N
M| Steel AlSI LDRED/BDRED = 4 normal 80-110 [ 0.1-0.2 |0.1-0.2 ICé028 "1 0.15-0.3 1.5 2 25
304-316 LDRED/BDRED = 6.3 difficult 60-90  |*0.1-0.15] 0.1-0.2
LDRED/BDRED = 2.5 good 120-160 | 0.1-0.2 |0.1 -0.2 IB55. 10908
Cast Iron LDRED/BDRED = 4 normal 90-120 | 0.1-0.2 |0.1 -0.2 IC5065 IC42]8 0.15-0.3 2 2.5 3
LDRED/BDRED = 6.3 difficult 60-90  |*0.1-0.15[ 0.1-0.2 '
LDRED/BDRED = 2.5 good 250-350 | 0.1-0.2 |1 0.1-0.2
Aluminum LDRED/BDRED = 4 normal 160-250 | 0.1-0.2 | 0.1-0.2 ID5, IC20 0.15-0.3 2 2.5 3
LDRED/BDRED = 6.3 difficult 100-150 [*0.1-0.15| 0.1-0.2
* Only for finishing Inserts.
** Use inserts with the same corner radii for both roughing and finishing inserts
Ve Cutting speed (m/min)
D  Diameter of workpiece (mm)
n Number of revolutions / min' (rev./min)
Vs Feed rate (mm/min.)
fn Feed/ rev/ (mm/rev)
[l 3.14
[]:D:n
Ve= 3500 L
LDRED [ il
’— ) - ‘ —| BDRED |=
Ty o ? n= Vc 1000 LoRED
® ] =TT .
BDRED
Vf= n-fn
0.2
ap roughing ap finishing
In case of a single or a stepped boring cutter configuration, only half the feed should be applied.
Cutting Conditions for BHD / BHF / BHE Fine Boring Heads
N
an i
0.1-0.25
Feed f=mm/rev
o Cutting Speed Insert Radius
¥ | Material LDRED/BDRED Stability Ve=m/min RE=0.2 RE=0.4 Insert Grade
Carbon Steel LDRED/BDRED=2.5 good 200-300 0.05-0.08 0.08-0.10 IC20N
HB<200 | DRED/BDRED=4 nprmal 160-250 0.05-0.08 0.08-0.10 IC30N
L DRED/BDRED=6.3 difficult 70-100 0.05-0.08 - IC54
Carbon Steel LDRED/BDRED=2.5 good 160-250 0.05-0.08 0.08-0.10 IC20N
HB<200 L DRED/BDRED=4 nlorlmal 150-200 0.05-0.08 0.08-0.10 IC30N
LDRED/BDRED=6.3 difficult 70-100 0.05-0.08 -
) LDRED/BDRED=2.5 good 120-160 0.05-0.08 0.08-0.10 IC54
M ?%T'EZZ.%?S' LDRED/BDRED=4 normal 100-140 0.05-0.08 0.08-0.10
LDRED/BDRED=6.3 difficult 70-100 0.05-0.08 -
LDRED/BDRED=2.5 good 120-160 0.05-0.08 0.08-0.10 IC20
Cast Iron LDRED/BDRED=4 normal 100-140 0.05-0.08 0.08-0.10
LDRED/BDRED=6.3 difficult 70-100 0.05-0.08 -
LDRED/BDRED=2.5 good 300-400 0.05-0.08 0.08-0.10 IC20
Aluminum L DRED/BDRED=4 normal 250-350 0.05-0.08 0.08-0.10
L DRED/BDRED=6.3 difficult 100-150 0.05-0.08 -
M a,=0.1 min

Member IMC Group




ITSB0RE USER GUIDE

Fine Boring Head Range
2 pm Direct Diametric Adjustment

BHF MB50-80x94
BHF MB80-80x94
22.5-160

LL
o
O
M
n
=

2pum

3 21
[ee] o
o &
gl e == 4 ¥ op5-4
©| o 22
o O 7| IHAXF2.5-4/8
= o4
=
SLEEVED8-D16 | L— === .
IHAXF 4- 6/8
9 29 9 36 9 45
e o . © 2l © 5l
= == ' o6-8
IHAXF 6- 8/16 IHAXF 6- 8-AVI IHAXF 6- 8-E
52.5 | % &_‘ 60
I = B 9510

IHAXF 8-10/16 IHAXF 8-10-AVI IHAXF 8-10-E

‘ 43 60 75
— ﬁ =i Bl fg10-12
IHAXF 10-12/16

) |
0

L

\ IHAXF 10-12-AVI IHAXF 10-12-E
\
48 72 90
— -
2 25‘ —=-—— ] B : 012 - 14
IHAXF 12-14/16 IHAXF 12-14-AV/ IHAXF 12-14-E
3
® 52 84 105
U R
- = =
ADBH 30XD16 B—= (69 1 o14-16
IHAXF 14-16/16 IHAXF 14-16-AV IHAXF 14-16-E
58 96 ‘ 120 ‘
] —— | |
e — =] 9 B Aa~"9 to16-18
IHAXF 16-18/16 IHAXF 16-18-AV IHAXF 16-18-E
63

—
- fow-22.

IHAXF 18-22/16

-
— Ey 2

IHAXF 22-30/16

ISCAR




USER GUIDE

ITS50RE

Fine Boring Head Range
2 pm Direct Diametric Adjustment

LL
o
O
M
n
=

BHF MB80-125x114

236-500
AR IHRF 40 @ 36 ~ 138
[ IHFF 40
BBH 40X69 BBH 40X189 IHRF 32
BBH 40X114 IHFF 32

BHFH 40X400

BHFH 40X300

\

BHFH 40X200 ]

IHRF 56-802BW
IHRF CH...

IHRF 50

IHFF 50

BHFH 40X133

@135 ~ 500

2125

Member IMC Group




ITSB0RE USER GUIDE

Fine Boring Head Range
2 pm Direct Diametric Adjustment

BHF MB80-125x114 )
22.5-160 Hm

LL
o
O
M
n
=

115

2133
2135-210
2200
2300

2205-310

2305-410
2400

2 405-500

BHFH 40X133

BHFH 40X200

BHFH 40X300

BHFH 40X400
98

g8 %?/
98 T
28 7 <
Y
\? o
o~ ~ o~ o~
® - v :
+ J o | 7 g S N = |9
g © b I S I 2 ! s
£ £ £
S N Q
z I
BHFH 40X133 ot —
IHRF 56-802BW BHFH 40X200 I
BHFH 40X300 V

BHFH 40X400

ns

2133
2135-210
2200
2205-310
2300
2400

2305-410
2405-500

BHFH 40X133 —
BHFH 40X200

IHRF 50 CH45 54-800 BHFH 40X300
LIHRF 50 CH30 54-800 r
L |HRF 50 CH15 54-800 BHFH 40X400

ISCAR




ITS50RE

Fine Boring Head BHF 16-50

Operating Instructions

USER GUIDE

BHF 50 Shown

Assembly

e Before mounting the BHF boring head,
make sure the expanding pin [2] does not
protrude from the cylindrical body part.

* Insert BHF into the shank.

e Tighten pin [2] by turning clockwise
following the recommended tightening
torque guidelines below:

Recommended torque: (N.m)

BHF MB16-16x34 20- 25
BHF MB20-20x40 40- 4.5
BHF MB25-25x50 6.5- 7.5
BHF MB32-32x63 7.0- 8.0
BHF MB40-40x80 16.0 - 18.0
BHF MB50-50x60 30.0-35.0

¢ |nsert the screw [8]. If it protrudes, the sleeve should
be rotated until the screw can enter the recess in
the sleeve nut, reduction sleeve or boring bar.

Disassembly

In order to separate the BHF from the shank, loosen
the expanding pin [2] by turning counterclockwise.

Reduction Sleeve

n Body

a Expanding pin

e HAX A B craduated dial

e A n Slide locking screw

a Toolholder locking screw
a Coolant nozzle

Serrated face

a Oiling nipple
) Tool bore 16H7

m Slide adjustment range
Do not exceed the
range marks!!

m Cutting edge
position mark

Positioning

The tool slide [7] allows for a 4 mm adjustment

by turning graduated dial [3] counterclockwise.

When changing the direction of the dial rotation,
backlash must be compensated for.

After positioning, lock the tool slide

by means of the screw [4].

Loosen screw [4] before making any slide adjustment.

Maintenance

Weekly:
Lubricate through the nipple [8] with ISO UN G220 oil.

Periodically:
Clean and lubricate the conical and
cylindrical matching surfaces.

e Treat expanding pin [2] with an anti-friction lubricant.

Clean and lubricate the tool slide guideway.

Important Note:
Toolholder should be firmly affixed to the slide.

Member IMC Group

LL
o
O
M
n
=




LL
o
O
m
n
=

ITS50RE

Fine Boring Head BHF 63-125

Operating Instructions

USER GUIDE

BHF 50 Shown

BHFH

s

n Body
a Expanding pin
A B craduated dial
A n Slide locking screw

BBH

IHFF

ADBH 30xD16

a Toolholder locking screw
a Coolant nozzle

Slide holder

a Oiling nipple

a Toolholder locking
screws

m Slide adjustment range
Do not exceed the
range marks

IHFF / IHRF

i

Assembly

e Before mounting the BHF boring head,
make sure the expanding pin [2] does not
protrude from the cylindrical body part.

¢ Insert BHF into the shank.

e Tighten pin [2] by turning clockwise
following the recommended tightening
torque guidelines below:

Recommended torque:  (N.m)
BHF MB50- 63x87 30-35
BHF MB50- 80x94 30-35
BHF MB63- 63x87 80-90
BHF MB80- 80x94 80-90
BHF MB80-125x94 80-90

e Insert the screw [5]. If it protrudes, the sleeve
should be rotated until the screw can enter the
recess in the sleeve nut or boring bar.

Disassembly

In order to separate the BHF from the shank, loosen
the expanding pin [2] by turning counterclockwise.

ISCAR

IHAXF

Positioning

The tool slide [7] allows for a 5 mm adjustment

by turning graduated dial [3] counterclockwise.

When changing the direction of the dial rotation,
backlash must be compensated for.

After positioning, lock the tool slide

by means of the screw [4].

Loosen screw [4] before making any slide adjustment.

Maintenance

Weekly:
Lubricate through the nipple [8] with ISO UN G220 oil.

Periodically:

Clean and lubricate the conical and

cylindrical matching surfaces.

Treat expanding pin [2] with an anti-friction lubricant.
Clean and lubricate the tool slide guideway.

Important Note:
Toolholder should be firmly affixed to the slide.



ITS50RE

Operation and Maintenance

USER GUIDE

MB Connection
To LOCK, rotate the radial pin clockwise

To UNLOCK, rotate the radial pin counter-clockwise
Table shows the recommended tightening torques:

UNLOCKING

LOCKING

Stages for adjusting boring heads with dial:

n Loosen slide adjustment screw
B Adiust the dial screw
e Tighten slide adjustment screw

Before assembling the MB connection elements, make sure the radial pin
is not projected from the cylindrical parts.

CORRECT V WRONG X

v

’ .

Driving Torque

MB Nm
MB14 2-2.5
MB16 2-2.5
MB20 4-4.5
MB25 6.5-7.5
MB32 7-8
MB40 16-18
MB50 30-35
MBG63 70-80
MB80 70-80

MB110 200-220

Member IMC Grou

p
=™
L 4 11 ]

LL
o
O
M
N
=

483




USER GUIDE

ITS50RE

BHD Digital Fine Boring Head Metric/Inch Operating Instructions

LL
o
O
M
n
=

BHD MB 80-32

Tighten pin @ by turning clockwise
Following the recommended tightening
torque guidelines below:

Allen Key
Designation (Nm) (Lbf.ft) (mm)
BHD MB32-32-83 7.0-8.0 5.16-5.90 4
BHD MB40-40-90 | 16.0-18.0 | 11.80-13.28 5
BHD MB50-50-60 | 30.0-35.0 | 22.13-25.81 6
BHD MB63-63-89 | 70.0-80.0 | 51.63-59.0 8
BHD MB80-80-104 | 70.0-80.0 | 51.63-59.0 8

n Body

a Expanding pin

B oi

o Slide locking screw

a Toolholder locking screw
a Coolant nozzle

Slide holder

8 Qiling nipple

) Tool bore 16H7

m Slide adjustment range
m Cutting edge position mark
€A oigital display

m Selection button

m Battery cover

Assembly
e Before mounting the BHD boring head,
make sure the expanding pin [2] does not
protrude from the cylindrical body part.
Insert BHD boring head into the shank.

A\ Tighten pin [2] by turning clockwise.
Tighten screw [5]. If it protrudes, the sleeve
should be rotated until the screw can enter the
recess in the sleeve nut or boring bar.

Disassembly
To separate the BHD from the shank, loosen the
expanding pin [2] by turning counterclockwise.

Positioning
The display [12] shows the value of the adjustment
diameter with a 2um screen resolution.

e Switch on the BHD boring head by pushing
the selection button [13]. The display [12] will
show the value of the previous adjustment.
To reset the value displayed, press and hold the button
[13]. After 2 seconds, the display will show. Release
the button. The display will show the value 0.000.

A Loosen screw [4] before making any

slide adjustment to the dial [3].

Adjust the required diameter by turning the dial [3]
counterclockwise. The tool slide [7] allows a 5mm radial
adjustment. The display [12] will show the

new value in diameter. The absolute value

CANNQOT be viewed, only the relative value.

After positioning, lock the tool slide

by means of the screw [4]

see torque recommendation. If unused for more than
30 seconds, the display switches off automatically.

WARNINIG

A DO NOT perform any slide movement
when the display is switched off.

A DO NOT exceed the range marks [10].

Before carrying out a fine adjustment
(described in FIG.3):

1 Loosen screw [4] of slide adjustment.

2 Adjust dial [3] to required diameter.

3 Tighten screw [4].

Setting metric/inch
To change unit readout from metric to inch:

e Press and hold the button [13]. The display
shows “----", after 10 sec the new unit readout
appears on the left of the display.

e Release the button.

ISCAR




ITSB0RE USER GUIDE

BHD Digital Fine Boring Head Metric/Inch Operating Instructions

ﬂ 2] a Battery Replacement

When the batteries are low the display will show a warning
sign "batt” for a few seconds (FIG.4). It is recommended
to replace the batteries as soon as possible.

To replace the batteries (FIG.5):

Remove the battery compartment cover

[b] by unscrewing the 4 screws [a].

Replace the two batteries using type SR44 1.55V
and position them in the correct direction.

e Tighten the 4 screws [a].

The integrated seal [d] is now secured

LL
o
O
M
n
=

P

Fig. 3
L o ckin g Screw on the battery cover.
Tightening Torques (Nm) Maintenance Weekly:
Designation: (Nm) e | ubricate through the nipple [8] with ISO UN G220 oil.
BHD MB32-32-83 2.0 Periodically:
BHD MB40-40-90 25 Clgan gnd Iubricgte the conical and
cylindrical matching surfaces.
BHD MB50-50-60 S Treat the expanding pin [2] with an anti-friction Iubricant.
ERDE SOREREY & Clean and lubricate the tool slide guide way.
BHD MB80-80-104 4.0

WARNING
® The only maneuvering and adjustment screws to be
used are those listed in the components section.
e The screws not listed in the components section
should not be touched so as to avoid
malfunction of the boring bars and heads.
e Bit holders and boring bars should be assembled with
the insert turned in the same direction as the screw [4].
® The use of coolant on the BHD boring head
double-bit heads should be 40 BAR max.
e The machine tool must be equipped with all of
the active and passive safety devices that will
assure safe use of the BHD boring head.
e |SCAR requires that the machine tools where
the BHD boring head is mounted comply with
the provisions of the 2006/42/CE directive.

Fig. 4
9 Inserts
V We advise you to use the inserts proposed by ISCAR.
x The use of different inserts can affect
ultimate machining results.
Fig. 5 .

Member IMC Grou

LTl 485




ITSB0RE USER GUIDE

Cartridge should be mounting according
to the insert symbol direction

LL
o
O
M
n
=

CORRECT V WRONG X

=
w

EEL

CORRECT V

YR IR

]
§
v | "' B uhH.l.*

i :
—
i =
-

ISCAR




USER GUIDE

ITS50RE

Warning: slide position must be adjusted

within the indicated limits. Excess movements When BHF is assembled, the cutting edge should
damage internal kinematics be positioned in relation to the arbor key slots.

%Outmg Edge Position
/%fa M/[%Bﬂ i

LL
o
O
M
n
=

ok e m

Maintenance
Boring heads should be lubricated with ISO UN G220 oil weekly

Member IMC Group




w
=
)
G
o
L
%)
S

ITS50RE

4d0d Sl

488



Complete Machining Solutions
MATERIALS AND GRADES




@)
LLJ
A
<
o
Q)
A
Z
<
N
—
<
s
i
<
=

ISCAR Hole Making Grades Chart

USER GUIDE

Grade

PVD COATED

IC808G

ISO Grade Description Coating Layers *Coating Color
P25-P40
M30-M40 | A tough substrate with PVD coating, suitable for wide range of
applications on steel and stainless steel at low to medium speeds
and medium to high feeds. The grade is recommended for _
$20-S30 | interrupted cuts and machining under unstable conditions.
Base
P20-P40
M20-M30 | A broad-spectrum grade with a tough-submicron fine grain
K20-K30 substrate and PVD coating. Designed for machining main types
N10-N30 of engineering materials at various cutting speeds. Features TN —
excellent notch wear and built-up edge resistance. Suitable for .
$10-525 interrupted cutting and machining under unfavorable conditions.
H20-H30 Base
M10-M20
A hard substrate PVD coated grade. Intended mainly for
machining austenitic stainless steel, high-temperature alloys and
N10-N16 | TiN _
§10-520
Base
P10-P20
M10-M20
K10-K25 A hard submicron fine grain substrate, PVD coated grade
followed by a SUMOTEC surface treatment. Applied mainly to
machining heat- resistant superalloys at moderate cutting speeds. %
Base
P15-P30
M20-M30 | A tough, submicron fine grain size substrate with excellent
K20-K30 | chipping resistance, combined with a SUMOTEC PVD coating.
Provides high wear resistance. Recommended for a very wide TN
S10-S25 | range of materials.
H20-H30 Base
P15-P30
M20-M30
K15-K25 A tough, submicron fine grain size substrate with PVD coating.
Features high resistance to chipping and abrasive wear. Designed .
for machining a wide variety of engineering materials. - I _
§10-525
H10-H20 Base
P20-P40 | A tough substrate with PVD coating and a special SUMOTEC
M25-M35 | surface treatment. Suitable for machining steel and stainless steel
at low to medium cutting speeds and moderate to high feeds.
The grade features high toughness and recommended for TN
S15-S30 | interrupted cuts and machining under unstable conditions. May
be used on high temperature alloys at low cutting speeds. Base
P10-P20
M15-M25
K10-K20 Ultra-fine grain size, PVD coated. High wear resistance and
toughness. High speed, medium feed. Used for up to 62 HRC
hardened steel, Titanium, nickel-based alloys and stainless steel. '
§10-520 | ATN
H10-H20 Base
P10-P20 | A hard submicron grain size substrate with a PVD coating,
MO5-M15 | suitable for a wide range of a materials such as steels, alloy
K15-K30 | steels, hard steels, austenitic stainless steel and heat resistant
alloys at moderate to relatively high cutting speeds under stable _
S10-S20 | conditions. Features high wear resistance and plastic deformation
HO5-H15 | durabilty. Base

* For coated grades

ISCAR



ISCAR Hole Making Grades Chart

USER GUIDE

1C9080

for high speed drilling of cast iron and steel, to be used for the

Grade ISO Grade Description Coating Layers *Coating Color
P15-P30
M20-M30 | A tough submicron grain size substrate with PVD coating,
K20-K30 recommended for general use in a large variety of operations and
materials such as steels, alloy steels, austenitic stainless steel
and high temperature alloys at moderate cutting speeds. Features . _
S$10-825 high wear resistance and chipping durability.
H20-H30 Base
K10-K20 A PVD coated carbide grade that features good fracture
N1O-N25 toughness aqd high wear reastance. Used mostly for machining v
nodular cast iron at medium cutting speed. .
Base
(a] P20-P40
Ll
I<_t M25-M35 | A tough substrate with PVD coating, suitable for machining
le) steel and stainless steel at low to medium cutting speeds . '
(&) and moderate to high feeds. The grade is recommended for
(=] 315-830 | interrupted cuts and machining under unstable conditions.
E Base
P15-P35
K15-K35 | A PVD coated grade with excellent wear resistance. Generally
used for heavy machining alloy steel and cast iron. '
Base
P10-P20
MOS-M15 | A tough submicron grain size substrate with coating.
K15-K30 | Recommended for general use on a wide range of applications
1C1008 . o . ,
and materials as steels, alloy steels, austenitic stainless steel and TiN _
$10-820 | high temperature alloys at moderate cutting speeds.
HO05-H15 Base
P20-P35
A tough substrate with SUMOTEC CVD coating. ™
1C5500 Recommended for high speed drilling of steel.
Provides excellent tool life. m
Base
P10-P20
A submicron grain size substrate with SUMOTEC MTCVD coating.
1C8080 K10-K20 | Features excellent chipping and wear resistance. Recommended TiN ’
o for high speed drilling of cast iron and steel, to be used for the
E peripheral insert on DR drills. m
C<) Base
(&) P20-P30
g M15-M30 | A tough substrate with a cobalt enriched layer combined with
(&) a multi-layer CVD coating. Recommended for general use TN
1C9025 - . ’ " T
machining of steel in a wide range of conditions, featuring high —
toughness and wear resistance. m
Base
P10-P20
A submicron grain size substrate with a CVD coating.
K10-K20 | Features excellent chipping and wear resistance. Recommended TiN l

peripheral insert on DR drills.

,

Base

* For coated grades

Member IMC G

fember IMC Group
=™
L 4 11 ]

)
LLJ
A
<
o
O
A
Z
<
@p)
—
<
s
i
<
=




@)
LLI
A
<
o
©)
A
Z
<
N
—1
<
s
i
<
=

ISCAR Hole Making Grades Chart

USER GUIDE

Grade

UNCOATED

ISCAR

ISO Grade Description Uncoated Layers Uncoated
An uncoated, ultra-fine carbide grain size, which is characterized
by high wear resistance and toughness. Used mainly for
machining high-temperature superalloys and Titanium, may be
S$10-S20 | applied to cutting hardened steel and cast iron.
H15-H25 Base
M10-M20
A hard-uncoated submicron grain size carbide grade, suitable
for machining aluminum alloys and other non-ferrous materials at
s | high cutting speeds.
S10-S30
Base
M10-M30
A tough uncoated submicron grain size carbide grade, suitable
N10-N25 for steels, stainless steel and high temperature alloys at low
cutting speeds. Good choice for non-ferrous materials.
S10-S30
Base




USER GUIDE

@p)
O
MATERIAL GROUPS <]:
oC
Based on ISO 513 and VDI 3323 standards @
Material
o Tensile Strength Hardness | Group D
2] Material Condition [N/mm?] Kc1® [N/mm?]| mc®@ HB No. Z
< 0.25 %C Annealed 420 1350 0.21 125 1 <
> 0.25 %C Annealed 650 1500 0.22 190 2
Non-alloy steel and cast 7 557 5™ enched and tempered 850 1675 0.04 250 3 @p)
steel, free cutting steel
5 0.55 %C Annealed 750 1700 0.24 220 4 —1
Quenched and tempered 1000 1900 0.24 300 5 <E
Annealed 600 1775 0.24 200 6 E
Low alloy and cast steel (less than 5% of 930 1675 0.24 275 7 L]
alloying elements) Quenched and tempered 1000 1725 0.24 300 8 I_
1200 1800 0.24 350 9 <E
High alloyed steel, cast steel and tool steel Annealed 680 2450 0.28 200 10 E
Quenched and tempered 1100 2500 0.23 325 11
Stainless steel and cast steel Ferritic/martensitic 680 1875 0.21 200 12
Martensitic 820 1875 0.21 240 13
M | Stainless steel and cast steel Austenitic, duplex 600 2150 0.20 180 14
: Ferritic / pearlitic 1150 0.20 180 15
Gray cast iron (GO) Pearltic / martensitic 1350 0.28 260 16
, Ferritic 1225 0.25 160 17
Nodular cast iron (GGG) Pearlitic 1350 0.28 250 18
Malleable cast iron Ferritic 1225 0.25 130 19
Pearlitic 1420 0.3 230 20
Sl e Not hardenable 700 0.25 60 21
Hardenable 800 0.25 100 22
<12% Si Not hardenable 700 0.25 5 23
Aluminum-cast alloys Hardenable 700 0.25 90 24
>12% Si High temperature 750 0.25 130 25
>1% Pb Free cutting 700 0.27 110 26
Copper alloys Brass 700 0.27 90 27
Electrolytic copper 700 0.27 100 28
. Duroplastics, fiber plastics 29
Non metalic Hard rubber 30
Fo based Annealed 2600 0.24 200 31
Hardened 3100 0.24 280 32
High temperature alloys Ni or Co Annealed 3300 0.24 250 88
Hardened 3300 0.24 350 34
based
Cast 3300 0.24 320 35
Pure 400 1160 0.24 36
Titanium alloys Alpha+beta alloys, 1050 1045 0.04 37
hardened
Hardened steel Hardened 4600 55 HRC 38
Hardened 4700 60 HRC 39
Chilled cast iron Cast 4600 400 40
Cast iron Hardened 4500 55 HRC 41
- Steel
Stainless Steel
. Cast Iron
. Non-ferrous
- High Temp. and Titanium Alloys
- Hardened Steel and Cast Iron

() Specific cutting force for 1 mm?2 chip section.
(2 Chip thickness factor.

Member IMC Group




USER GUIDE

<]: MATERIAL GROUPS
m Hardness Conversion Table
@ N/mm?2  Kpsi
= T 80 560
(<fE) 200 100 700
<_E| 120 840
E 140 980
LLJ 300
F‘ 160 1120
E 180 1260
200 1400
400
X 220 1540
\
\\— 240 1680
\
5 500 \ 260 1820
A N
2 \ 280 1960
B
2 \
= 300 2100
[]
£ \
© 600 A\ 30 |2240
\
\
\
\
\
\
\
700 \
\
\
\
\ £
(o))
\\ 5
\ 7
2
10 20 30 40 50 60 70 g
'_
Rockwell “C" Hardness (HRC)

ISCAR




ISCAR MATERIAL GROUPS

USER GUIDE CD
According to VDI 3323 Standard <C
S @ > ' ( D
o = /
3 — < A
I}
g USA Germany U.K. France | Sweden Italy Spain Japan Russia EURONORM Z
S| AISI/SAE/ <C
S| uNs/
ASTM/AA | Werkstoff DIN BS AFNOR SS UNI UNE JIS GOST EN CD
1020 SN 400B; |
G10200; EN43B; ALY <C
. . SN 490 B:
K02301: Fe 430 B FN; , —
K02505; 43125 HR; N oC
: e 43/25HS; 1411 Fe430BFN; | AE2758 g Stdps
K02596; ! i ¥ ; i ; . ]
1| Koosor: IEBES s 438, EAE2 1412 Fed30B | Fed30BFN | SK400; Stdsp S LL]
; Fe 430 B _ STKM 19.C;
K02598; HFW4; S —
K02599; HFS4; e <
K02702: ERW 3 3
K0300 SS 41;
STK 41
E295:
St 50-2; Fe 490-2 FN; 1550; A 490-2; SS 490; Stops;
1 HELd Fe 490-2; 508 St 2172 Ch Fe 490-2 FN SS 50 St5sp
ST50-2 G (E295+CR)
SN400B;
SN400C;
K02404; S3550R; 50B; SN 490 B;
1| s 10045 s | E%2 FoSIOBAN | AE355B | o\ soe. S3550R
SS 490;
SS50
S27500; 150
1| Koro2 10143 St4430; ' E28:3 141401 | Fe430CFN | AE275D S27500
4360-43C
Fe 430 C
P2G5S; 164-4008 | SPH 265,
1 10180 i parl I SPH 265 P265S
DCO3GT; .
1| Ast 10333 USt3; * E FeP 02 AP 02 SPCD DC03G1
3CR
USt 13
SM400A;
SM 400 B:
. SM 400 C;
Koot sorsuea (sorsup) | 00T 1411; F40B | prorsp | SS4 Sttkp;
1|, 10090 | 10144 St44-3 niae | 1412, | Fed30C RN | o200 | sT4OD Stdps:
N Fed30D1) | ol 1414 Fe 430D (FP) STKR 400 Stasp
SM41 A
SM 41 B;
SM41C
DCOt;
1008; ; AP 11;
o DC 01; CR 4; C; FeP 01; | SPCC;
1| G10080; 10830 So s o 1142 o FeP 01: i DCO1 (FeP 05)
A 621 AP 00
St12
Fe 360B;
4360-40 B
1015; S205R ) ERW 3 5
N 2350R (Fe 3608), | CEWS3: Fe360B; | AE235B; TKM 12 A;
1 %211%3 HEES St87-2 S Ll 144937/23HR | Fe360B | STKM12AC
37/23 HS;
37/23 CR:
37/23CS
Fe 310-0;
| R , SGP;
1 10035 e ges? 00 | y5hs: AS3 1300 Fe 320 et S8 330; S0 s185
1449 15 HR; SS 34
1449 15 HS
CEW 2,
34/20 HR;
E195: 34/20 HS; Stops;
1| Kozs02 10034 a5 oty S0, | As2NE Fe 330 BN e E195
1449
34/20CS
DD12G1;
1 10334 y 2C FeP 12 AP 12 SPHD 10kp
1CR;
1CS;
1006; DD13; U Lk
1 oo 10335 S 2R 3¢ FeP 13 AP13 SPHE 08kp DD13
2 CR;
2¢s
DCO4;
i CRT: AP 04; SPCE;
1| A6 10338 s Ry ES 147 FeP 04 i, e 08JUA DCO4 (FeP 04)

Member IMC Group
T | Iy
L 4 11 ]




)
LLJ
A
<
o
Q)
A
Z
<
@p)
—
<
s
i
<
=

USER GUIDE

s| = () ‘a
o — ./
3 = <
I}
g USA Germany U.K. France Sweden Italy Spain Japan Russia EURONORM
% AISI/SAE/
=| UNS/
ASTM/AA | Werkstoff DIN BS AFNOR SS UNI UNE JIS GOST EN
SGV 410;
SGV 450;
K01700; SGV 480;
K02001; 141-360; FeE 235; S
Eggggﬁj F235GH; el 1330: Fe 860 1KW: 1) 7 Grado RAI §E¥ 288
1| ooy 10345 Hi; 154360, | A37CP it Fe3001KG (A5 ; ; P235GH
; ' : rado RC | SGV 42;
; Hi 161-360; Fo 360 2 KW; ,
K02503 164-360 Fe 360 2 KG v
K02601: SGV 49;
K02801 SPV 24
SPV 46;
SPV 50
040 A 10;
045 M 10; ,
4| 100 © 0301 clo; e ngoﬁg 1c10; F151; s 100 " o0
G10100 : 10 R ST c10 F151.A
En28; | araacio
En32 A;
1008
S275J0H; . .
1 10149 St44-3 U: 43‘(‘5% 2*30 E 283 1412-04 Fed30C i%‘g%% S275J0H
RoSt 44-2 -
1 10226 g@Dz » e 115110 FeP02 G FeP 02 G S6CC
A1011
(SS Grade 36 :
$235.0
(230) Type 2); O 40C; ) S8 .330;
- N 10114 sFtesgﬁg g s | E2e8 Fe360CFN | AE235C o $235.0
(SS Grade 36
(250) Type 1)
S380N;
1| nsro60 1.8900 S 436055 E 2145 FeE 390 KG $25¢ S380N
£335: En55C;
; Fe 590-2-FN; Fe 590; A590; SM570; Stéps;
1| As72Gr.65 |  1.0060 (Fes; 5822 . oo e A60-2 1650 oo | enin s e E335
4360-55 €
S250G1T: Fe 330; S5330;
1 HEE28 USt 34-2 RE2 Fe 330 B FU SS 34
164-3608
Ko1700;
; P235S; 720, | AS7AP:
1 ﬁ%i%%g 10112 it oo | Gae Fe 360 C AE 235 C P2358
3608 LT20
10SPb20; 10.Pb 20;
1 10722 s 10 PoF 2 cFiospo2o | 10507 108Pb20
1108;
1109,
111;
3 10820; 10820;
1 i 10721 e 10F2 CF 10820 o 10820
G11080;
G11090
12113;
11225149; 11swnppgo; | 20OMO7 Eg 81\3 bzl
1 : 10718 * Pb; $250 Po 1914 |cFosmmroog| . F21OM o gumost 11SMnP030
121 14: gsMnpo2s | o P 11SMPo28; | Sopar
G12134; F2112
G12144
1213; F210A;
1215; 11SMn30; 230 M 07; F210L;
1 o 10715 e o $250 1912 oFos2 | rEbu. SUM 22 11SMn30
G12150 Fo111
0 055 M 15;
1 , 070M20; | XC25; , _ $20C;
1| oz 11161 czze En3A | XC18 1450 o e S20CK; 2 CooE
G10200; Ck22 , c25 C25K
a0 En3C | 2c2 $22¢
En2
A1008
(HSLASF
Grade 80 , 60F55 HR: ,
1] 50 10086 sttiog(’)‘gcm BOFSSHS; | o on FeE 560 TM S500MC
A1011 60F55 CS
(HLAS-F Grade
80 [550)

ISCAR



USER GUIDE

&=
=

A

O

0

USA

Germany

U.K.

France

Sweden

Italy

Spain

Japan

Russia

EURONORM

Material Group No.

AISI/SAE/
UNS/
ASTM/AA

Werkstoff DIN

BS

AFNOR

SS

UNI

UNE

JIS

GOST

EN

A 1008
(HSLAS-F
Grade 70

(480]);

A 1008
(HSLAS Grade
70 [480]
Class 1)

1.0984

S500MC;
QStE 500 T™M

E 490 b;
S 490 MC

2662

FeE 490 T™M

S500MC

-

A 1008
(HSLAS Grade
65 [450]
Class 1);

A 1008
(HSLAS Grade
65 [450]
Class 2)

1.0982

S460MC;
QStE 460 T™M

1601-50F45;
50F45 HR;
50F45 HS;
50F45 CS

S460MC

=y

A 1008 (HSLAS
Grade 50 [340]
Class 1);

A 1008 (HSLAS
Grade 50 [340]
Class 2)

1.0976

S355MC;
QStE 360 T™M

46F40 HR;
46F40 HS;
46F40 CS

E355D

2642

FeE 355 T™M

S355MC

-

A 1008 (HSLAS]
Grade 50
(340));

A 1008 (HSLAS]
Grade45 [310]
Class 2);
A1011
(HSLAS-F
Grade 50 [340])

1.0972

8315MC;
QStE 300 T™M

1501-40F30;
43F35 HR;
43F35 HS;
43F35 CS

E315D

K01600;
K02007;
K02700;
K02701;
K02803;
K02900;
K03009;
K03300;
K11803;
K12000;
K12001;
K12037

1.0562

P3565N;
StE 355

225-490A

FeE 355 KG N;
E 355 R/FP;
A510 AP

2106

FeE 355;
FeE 355 KG;
FeE 355 KW

AE 355 KG;
AE 355 DD

SM 490 A;
SM 490 B;
SM 490 G;
SM 490 YA;
SM 490YB STK
490 YB;
STK 490;
STK 500;
SM50A;
SM50B

16GF

P355N

1024;
K03011;
K03014;
K12037;
K12709

1.0570

8355J2G3 (5355J2);
St 52-3 N (Fe 510 D1)

2132;
2134

fE 510

AE 355 D;
Fe 510 D1 FF

SM490 A;
SM 490 B;
SM 490 G;
SM 490 YA;
SM 490 YB;
SM 520 B;
SM 520 G;
STK 490;
STK 500;
STKM 16 C

17GS;
17G1S

S365J2G3

K01600;
K02302;
K02700;
K02701;
K02803;
K03301;
K11803;
K12037;
K12609;
A 299 (A);
A299 (B)

1.0566

P355NL1;
TStE 355

225-490 A

A510 FP

2107

Fe E 355 KT

SLA 365;
STK 490;
STK 500;
SLA 37;
STK 50;
STK 51

P355NL1

K01600;
K02007;
K02701;
K02803;
K117803;
K12001;
K12037;
K12609

1.0565

P355NH;
WSHE 355

225/490;
225-490 A;
500 Nb

A 510 AP

2106

FeE 355-2;
FeE 355 KW

P355NH

K12037

1.0549

§355 NLH;
TStE 365

50 EE

2136

Fe 510D

FeE 355 KTM

8355 NLH

K12000

1.0553

§355J0;
St52-3U;
Fe510C

50G;
4360-50C

E36-3

Fe 510 CFN

AE 355 C

SCC3

835540

D)
LLJ
A
<
o
O
A
Z
<
@p)
—
<
s
i
<
=




)
LLJ
A
<
o
Q)
A
Z
<
@p)
—
<
s
i
<
=

USER GUIDE

S >
S — <
=
3 <
S
g USA Germany U.K. France Sweden Italy Spain Japan Russia EURONORM
% AISI/SAE/
=| UNS/
ASTM/AA | Werkstoff DIN BS AFNOR SS UNI UNE JIS GOST EN
£ 252 (1)
; S355.0H; 50C; | TSE3553; AE 355 C;
1) A2 e Sts23U | 436050C | E36:3 Fe510C | “resi00 S35J0H
S235RG1;
; Fe 360 B;
S25R; |Fe360BFU; 1311; | AE25B: 16D;
iyl k02502 HEESE Fe360B:  |Fe360BFN 1312 el Fo 360 B StaKp
Ust 87-2
055 M 15;
1020; 070 M 20;
1022; En3A
; o | AF42c20;
1023; En3B; o C 20; F112; S20G; C22;
11 Giom: HEeE2 Lz En3C: )1@02252 = c 21 1022 $22¢ e 20/2D
G10220; En2:
10230 22 HS;
228
SG 295;
SGV 410;
SGV 450;
: SGV 480;
Ko1701: 151-400; ™ FF‘Z 111%11 ﬁ‘é’ A42GradoRCE|  SPV 315
4| Koos0s s POG5GH; 154400, | A42CP; byt oIS Ina2 Grado RO | SPYV 3, 16K; —_—
K02704; : HI 161400, | A42AP i LN SG 30: 20K
K02801 164-400 | Fesor SGV 42,
Fe 4102 KG Sy
SGV 49;
SPV 32:
SPV 36
HX300PD;
1| noresas | 10443 H300PD; E 2345 M 1305 HX300PD
H 300 PD
K12000; S355NL 50 EE; 2135,
1| o 1.0546 o s e | E5FP pae | FeE355KT |AE 355 Grado KT
SM 490 A;
SM 490 B:
SM 490 C:
SM 490 YA;
S355N: 50E; SM 490 VB
1| K700 1.0645 o e | E355R 2134 FOES5KG (AE 355 Grac K| “ty'eg o S356N
SM 50 B;
SM50C;
SM 50 YA:
SM 50 YB
K02705; , ,
1| Ko230s; 1,0539 s SIONH | oot | 213404 Fe510B | Fe355KGN S355NH
K12709 -
1213; F210A
1215; 11SMn30; 230 M 07; F210L:
1 g 10715 e NI ses0 1912 CFos2 | fANC | smz 11SMn30
G12150 F2111
10SPb20; 10 P 20;
1 10722 i 10 PoF 2 CFi0sPo20 | 10507 10SPb20
1215;
G12150;
A 29 (1215);
A108 (1215); 11SMna7: 12 SMn 35;
1] a0t | 10738 S $300 CF 9 Mn 36 s SUM 25 11SMna7
A510 (1215);
A519 (1215,
AB21 (1216)
VAL 11SMnPb3T: 12 SMnPb 35;
1| 12014 1.0787 e $300 P 1926 |CFosMnppag| 12505 11SMnPb37
12144 IR EE :
040 A 10;
045 M 10; 20 10;
1010; C10E; En2A | CIORR: 2C 15 C10k $ 00 CK; 08:
11 Gio100 laltes k10 EnoAt | xc1o s 1c10; F1510 S10C 10 Ci
En2B; c10
En32 A
1015, Ci6k
; 080A15 | XC12: ;
1017; C15E; ; ; 1C15; F1511; S15C;
1| Gioso; Uik Ok 15 022g/|21c5 );%11% 5 ci5 F1110: S 15CK E Gl
G10170 Ci5k

ISCAR



USER GUIDE

S @ > /
E - ‘ } ( )
e < l/
=
g <
g USA Germany U.K. France Sweden Italy Spain Japan Russia EURONORM
% AISI/SAE/
=| UNS/
ASTM/AA | Werkstoff DIN BS AFNOR SS UNI UNE JIS GOST EN
1020; En 43B; g“ 388 gf
G10200; Fe 430 B; A
K02301: 43/25 HR: AP
Eggggg ST 432%5;8; =2 1411, AE 275 B; 2960l Staps;
1| oo 10044 St 44-2; o8| NFAGS501 i FeasoBin | LEIOR 1 skann, Py S2750R
; Fe430B : E 28 STKM 19 C; J
K02598; HFS 4; STKR 400;
K02599; ERW 3: e
K02702; CEW 4; SS41;
K03000 SAW 4 o
SGC 440
$320GD; SZAC 440;
1 10250 S a7 $320GD S a0 $320GD
SGLH 440
1 10453 PP 22%55N,5L P2BSNL
DCO4;
* CR1; AP 04; SPCE;
1 10338 St4; ; ES 1147 FeP 04 ; ; 08JUA DCO4
ot cs?2 FeP 04 HR 4
1
Fe 360 D1
FF;
37/23 CR: Fe 360 C;
K02001; S23502G3 (S236502); | 37/23CS; | E243; 510 D; s 330 .
1| Kozeot: 10116 St37-3N; 3/2BHR | E244; o Fe 360 C FN: S oo $23502G3
K02701 Fe 360D 1 37/23Hs; | E24U Fe 360 D FF. P
40D; Fo 37-2
HFW 4;
HFS 4
1015, OIS | Gronm; ,
1017, cis, BOMIS; | 3o, 1C15;
1 o 1.0401 o End2 C; o 1350 Ci5; F111 S15C cis
; 17 Cs; ' cl6
G10170 TS| ararce
CR2;
DCO3; CRS; , AP 02, ,
1 10847 RSt Cs3: E 1146 FFeeF;%% APO2; Scp,gg' 08Ju DCo3
RRSt 13 1449 3 CR; FeP03
1449 2 CR
Fe 360 B FU;
K01500; 37/23 CR;
Ko1702: SO350R: 37/23 CS: AE 235 B FN:
K02401: S2350RG2 | 3723 HR: ] AE235BFU | SS330; Staps;
1] Kkoosoe: HBLES RSt37-2; g7/3Hs: | 242 NE el Fe3B0BFN | £ ag0BFN: S8 34 Stasp SR
K03000; Fe 360 B HFW 3: Fe 360 B FU
A570.36 HFS 3;
408
GE240,; 230-450;
1] Josoot 1,046 o A e 2513 GE240
C35;
080 M 30; ;
1035; C356; 801 aFs5; 1572; C a5 S35C;
2| Gioss0 HEA C35G os%nv\;'sa 1035, 1550 103 AU S35 CM Lese
XC 38
. C35G; . ' )
2| [ 11183 C35G; 080A35 | XC38TS 1572 e o N % C356
Ci3s
1039; 40Mn4;
2| o 11167 i BM5 40G
AF 60;
1040; cl0; Eng; ) C0;
2| Giouo HEs C40 osoma | G4 1040 Bk G40
1040
1045;
1045 H: F1140;
; CARR; : S45C;
1042; CASE; 080 H 46; ’ F1142: 3
2| oo 14191 R won s | SO 1672 C45 e 0l 45 C45E
H10450: Cagk
G10420
1025; Co5E; 2025 F1120; S25C;
2| Gioos0 L Ck 25 070M26 | “yo o5 s Co5k S28C e CreE

Member IMC Group
T | Iy
L 4 11 ]

D)
LLJ
A
<
o
O
A
Z
<
@p)
—
<
s
i
<
=




)
LLJ
A
<
o
Q)
A
Z
<
@p)
—
<
s
i
<
=

USER GUIDE

S é >
Q.
L~
3= <
S
g USA Germany U.K. France Sweden Italy Spain Japan Russia EURONORM
% AISI/SAE/
=| UNS/
ASTM/AA | Werkstoff DIN BS AFNOR SS UNI UNE JIS GOST EN
1043; C 45;
1045, Cl5; AF 65; C45 S45C;
2| o 10503 o oM | f 1650 oo F114 s 15 c45
10450 145
2 1322 14213 e XC 48 TS C53 ey 50
G10500; : o S50 CM
10550
F210.G:
1140; 35820, 3 35520;
2| S 10726 oo 212M36 | 35MF4 1957 35 MnS 6; .
F2131
1139,
1146; 46520;
2| il 10727 e 5MF 4 46520
G11460
S355.0;
2| ki2000 10653 st52-3U; 50C E 363 Fe510CFN | AE355C scC3 S350
Fe 510-C
2 1.0651 S3550RC S3550RC
K02700;
K02803; _ , SGV 410;
2| Ko3t03: 10473 :3953% A52CP o FeE3552 |AB52RCILRAN|  SGV450; P355GH
K03300; SGV 480
K12437
CleD;
2 1.0416 e 20-400 M 1306 cieD
S35502; .
2| Kioaar 10677 $355.204: A52FP 2107 P
Fe 510 D2
1049;
1050; CB0E; XC 50;
2| Gioe 11206 oL 0BOM50 |y 1674 50 50 C50E
10500
]ggg 150 M 19;
2| oo 14170 28Mn6 Ent4A | 20M5 C 28 Mn SCMn 1 30G 28Mn6
G15270 ikl
el XC35RR:
1035; o,
1038; . 080 M 30; ; , S35C;
2| Gl 14181 o Ens | yaono 1572 c35 o S35 CM; % CasE
G10350; 080 M 36 : S38C
. XC38H 1:
G10380; o
C 1034
C35R; XC38H 1L, F1135;
2 11180 oo 00Ags | *CEH] C35 ) C35R
1030; CAOE; 080 M 30; S30C;
2| oo 11178 o s XC 32 c30 2030 oo C30E
1049;
1050; End3 A
2| o 1.0540 050 s o5 1674 50 1050 $50C C50
10500
SMn 433
1536; SMn 433 HRCH:
2| Giss0 s Eild TOB  |"swn 433 ReH;
SMn 1 H
1025; C 25;
2| o 1,0406 c25 070M26 | 1C25 s
16522, 210A 15; F210F;
2 e 15520 210M 15 = F210F e
C45U;
C45W;
2 11730 Sl C45U
CasU
1045; 205 F 1145,
1049; CA5R; ' F 1147, S45C;
8| Gioese 11201 e 080 M 46 ;(Co 2K 1660 Cé5 S i 45 C45R
10490 C 48k
1040; CACE; 080M40; | 2C40;
3| o 11186 RO P BN C40 S40C 40 CA0F

ISCAR



USER GUIDE

[}
s =
Q.
L~
3= <
5}
g USA Germany U.K. France Sweden Italy Spain Japan Russia EURONORM
% AISI/SAE/
=| UNS/
ASTM/AA | Werkstoff DIN BS AFNOR SS UNI UNE JIS GOST EN
13;‘5‘ C76D;
8| G710 1.0614 C76D; XC 75 3CD75 75 C76D
' D752
610750
C92D;
1095; § 95 HS;
] B 1.0618 % %D; o XC 90 3CD 95 92D
95-2
C86D;
1086; | 80 HS; C85;
- - 1.0616 % 86 D; e XC 80 ey C86D
85-2
30Mn 5;
AM 30 Mn 5;
G28MnG; AS5; 16 27ChGSNMDTL;
3 11165 i Iy 118222? SOMn 2 s G28MnG
F8311
SG 365;
K01700; SGV 410;
K02001; SGV 450;
3 Egggg? 1.0481 F??l\iﬁf ; 044608 | A4BCP 2102 Fe 295 AT gg\\; g?g 14G2 P295GH
A516 Gr.70; ' vy A48 AP RAIl G 37;
A515 Gr. 70; SGV 42;
A414 GrF; SGV 46;
A414GrG SGV 49;
SPV 32
1043; C 45;
1045; C45; AF 65; C 45; S45C;
8l oo 1.0503 Ry 080 M 46 e 1650 I Fi14 S C45
G10450 1045
1335;
1335 H;
Uil SMn 438;
1541 H; 36Mn5; 40M5; F. 1203-36 Mn 6; 5 35G2;
3| Gisss0, LUEy 36Mn5 150M36 | a5 5 220 F.8212-36 Mn 5| SMin 438 35GL £8h1
o SCMn 3
5410;
H13350;
H15410
1045;
1045 H; F1140;
; C45RR ' $450;
1042; C45E; 089 H 46; g F1142; 3
| 1.1191 e oM | éa ;5H 1 1672 c45 Cls i SS4iSC(hJA, 45 C45E
H10450; C48k
G10420
38MnVS6;
3 1.1308 iy 38MnVS6
4.
4| 05 10635 Cs5 U5, 1%555; 1655 vgs F115 S 5855C588P 55 Cs6
G10550 : En9 AF70; 1055 ' ;
$55 OM
C55
C50RR;
. . . XC 54; ’ S55C;
al o 11203 oo OrOME®: | xG50; 1655 56 R | ssscoep; 55 C55E
2C 55 S 55CM
XC 55 H 1
S58C;
a4l 1050 © 0601 o0 060A62 |  CoO; C60: A 60; Ce0;
G10600 En43D 1060 1060 § 65 C-05P: 680G 43D
S 65CM
060 A 67;
1070; C67S; S| cesRR: $70C-CSP; B5GA;
B o 1.1231 e 0BOABT | e 1770 cer - o 678
En 43 E
1074;
1075;
1078; C758; 060AT78; | C75RR;
4| Gionoo: 1.1248 e s o 1774 c75 S75CM 75A 758
G10750;
G10780
1095; C100S; C100RR;
4| im0 11274 s 9% s 1870 €100 SK 95 -CSP C1008
SK 120;
Wi12; , , , SK 120 M:;
4l wi 1.1563 ocgg%/v c?zéégu C120KU Fg’]gg SK2; U12-1 1250
72301 SK2 M;
1C 120

D)
LLJ
A
<
o
O
A
Z
<
@p)
—
<
s
i
<
=




)
LLJ
A
<
o
Q)
A
Z
<
@p)
—
<
s
i
<
=

USER GUIDE

o
o = €
o - /
3= <
S
g USA Germany UK. France Sweden Italy Spain Japan Russia EURONORM
% AISI/SAE/
=| UNS/
ASTM/AA| Werkstoff|  DIN BS | AFNOR | sS UNI UNE JIS GOST EN
; C80S; .
4| 06 11269 Ck 85; CI0RR; 85 SK 85-CP 85A c80s
G10860 XC 90
C85E
1055; C55R; 070 M 55; 3 C 55; F.1155;
41 Gi0s50 17289 Cm 55 Eng | XC55H1 s C 55 k1 CsER
1074;
4| 5 10605 cr5 060A78 | C75 5 75
G10740; :
G10750
060 A 67;
1070; 080A67: |  CB8; $70 C-CSP;
4| Giomo HEEES Sl End3E | XC65 G S70CM e
1449 70 HS
Co6E2, Co6E2;
4 11219 o P CB6E2
1085; C5602;
5| oo 11220 o, C56D2 C56D2
COORR;
C90S; XC 90;
5 14217 o CS% Yos SK 95 C0s
C90E2U
, . S58C;
%00 BE. ogones | SO $60 C-CSP;
5 N 11221 ; 070 M 60; ) 1678 C60 S60 CM; 60GA CB0E
G10600; Ck 60 TOMo0 | Xes oAt
G10640 n 2060 i
C60CM
C50RR;
. : . XC 54; ’ S55C;
5[ o0 11203 8ﬁ55E5' °7°E2A955' XC 50; 1655 56 ?;g?( $ 55 C-CSP; 55 C55E
XC 56 H 1: $55 CM
2055
50P7;
: SUP6;
9260; 6557; N
6| oo 15028 o 60S7 SUPO M 6082G
SUPT;
SWOSM
9260 H
H92600: , 251 A 60; . F144B;
6| "soeo 15027 60817 2R | ws7 60Si7 s 6082
G600
56S7; F 144
9055; 56Si7: 251 A58; 2085; : FA44A 5552; 565ST;
61 qopsso | 10% 55517; Easa | %87 2090 %87 565i7; 6032 5557
55Si7 F.1440
9255; 51STT; 5087 18Si7; .
6| Gooss0 143020 5157 51Si7 50Si7 Z15E el
4587,
6 15024 4657 Y46S7; F 1451 4657
46817
G50986;
ASTM
6 SESO%Ede 1.3501 100Cr2; ng(;io 100C2 Sehchd
ASTM Grade ' 100 Cr 2 aCra !
G15116;
SAE E50100
SCMQZE;
SCMV 4;
K21390; 622, SFVAF 22A:
K21590: 100Mo9-10; | 622-490; | 12CDo-10; SFVAF 22
6| astmatse | 17380 10CMo910 | 622515, | 10CD 90 228 I2 et Wi SFVCM F22B; e IEE et
F22 622/690 STBA 24;
STFA 24;
STPA 24
02; 9OMnCHVe; BOZ | 90MWs; 90 MGV 8;
6| 131500 il 90 MnCrv 8 BO? 0MV8 LGl Lt
B60WCHVT7; BS1; 55 WCrv 8 KU; | 60 WCrSiV 8;
6 12530 60WCH 7 BS 1 s Ze 58WCr 9 KU F5042 BUCHT
51CrMnV4;
6 12081 510 4
50CrV 4
L2; 115CrV3; F.520.L;
6| a0 12210 Jrsents: 100C3 orevaky | R 11501V3

ISCAR



USER GUIDE

S @ > /
E - ‘ } ( )
e < l/
=
3 <
S
g USA Germany UK. France Sweden Italy Spain Japan Russia EURONORM
% AISI/SAE/
=| UNS/
ASTM/AA | Werkstoff DIN BS AFNOR SS UNI UNE JIS GOST EN
SKS 2;
105WCr6; 105 WCr 5; F.5233; SKS 2 M; ChW1G;
6 12419 e 1oswc g | 100 HETS 2140 | 1o7wersKy | L S, S 105WCr6
SKS 31
4820;
5120:
3 , . SMC 420 H;
6| o 17147 et 150M19 | 20MC5 2172 2 Wncrs; F150D  |SMnC 420 RCH: 18ChG 20MnCi5
G51200; SMnC 21 H
H51200
6| o 1,004 55552'77 250063 | 5587 2085 555i8 56Si7
6 aiy 10004 oo 250A53 | 5557 2000
. 60S2;
9262: HDT 450 F; . 60 SiCr 8; ;
6 ’ 10061 ' 60SC6 60 SiCr 8 ' 5552
395620 $340 MGC F 1442 e
2]2? SCM 435 H;
s 504 35 CrMo 4 DF; |SCM 435 HRCH;
; 34CiMos: P | FisA | scMm4ssM: ‘
6 élfggo 17220 GS3CMo4: | 708A30 34305r'\£%4ER' 2034 343(57%% EB' F1258; | SCM 435 RCH; Agggg%M 34CiMot
e G34 CrMo 4 ; Fi254 | SCM43TK:
o F1250 SCM 3 H;
H41370 SIEE
38MnSi4;
6 el 38 MnS 4
100CI6RR;
102616 '
13; 3 BL3: 100C6; F5230;
6| o0z 12067 1 ?goccrrés H e 102006k | 220 SUJ2 Ch 10216
Y100C6
6| L 12108 gg%g% 200 105 WGr 5 90015
6 T;QgQ;O 1.2330 gg%m%t 708A37 | 34CD4 2234 35 OrMo 4 35CrMo4
BOI; F522.A;
" | gommweivs; '
o1: 100MACIWA; BOO; ; 95 MIWCr 5 KU F.5220;
6| 151501 12510 100 MnCW 4 BO 1; QOBMB‘,’lVgX 5 2140 0Wers | o5Micws; | SKSS! e
BOO 105 Wr 5
; - . . F.524;
6 T4%b1 12542 jg\\,/vv%rr% 3211* s \\A’/Vgrr\\/’ 5 70 | 4swoveku | Fead; 5ChW25F 4BWCHVT
A5WCISI 8
55NiCrMoV6;
6 Tsﬁoe 12713 5%"\”:8%%66 o 2% | ssncovr F520.8 SKT 4 5ChNM SENICIMOV6
56 NICrMoV/ 6
6 10721 5ONICr3 55NCV 6 2550 F528
100CI6RR; F 131,
E52100; 100Cr6; 25135, ' ; SW2
6 ' 1.3505 ' ' | 100Ce; 2058 100Cr 6 100Cr6; ; SehCh 15 100016
(52986 100Cr 6 sa5A0 | 1000 I SUJ4
K11820; .
e 16Mo3; 2912: 11g kfé’ g E\/Gv'- F. 2601; SEATZ
6| Ki2320; 15415 o 1503-2438| 15D3 E R IR A I STFA 12,
A204 Grade A; ; STPA 12
A182 Grade F1 16 Mo 5 KW
4422, G2OMo5; 215,
6| cueon; 15419 20Mo4; BT, SCPH 11 G20Mo5
J12502 (6522 Mo 4 B1
A350-LF 5;
K13050; 14N 14N 6 KG: Fo641; .
6| ko703 1.9622 14N 6 el 14Ni6 KT 15 Ni6 1Y
K22103
1ANICHO: ‘ . SOy ,
6| 3415 15732 BN 14NC 1 BN | 15NCr11 | SNC 415 H: 12ChN3A 14NICr10
SNC 415 M

Member IMC Group
T | Iy
L 4 11 ]

D)
LLJ
A
<
o
O
A
Z
<
@p)
—
<
s
i
<
=




)
LLJ
A
<
o
Q)
A
Z
<
@p)
—
<
s
i
<
=

USER GUIDE

S @ > /
E - ‘ }
e < l/
=
3 <4
1]
g USA Germany UK. France Sweden Italy Spain Japan Russia EURONORM
% AISI/SAE/
=| UNS/
ASTM/AA | Werkstoff DIN BS AFNOR SS UNI UNE JIS GOST EN
3310,
3310 RH;
i ey e || Hg e OBl
6| 95 15752 11 4“!%’114?, 655 H13. | 14 NC 12 15F’\1'C£”; SSNNCCmf HRF&H; 16NiCr13
E 3310; 9 Mg U En36A | 16NC 12 A S0 i
o 14NICr14 b SNC 22 H
E9315:
(33106
SCM 415 H;
12CMo4;  [SCM 415 HRCH;
15CiMo5; F150.; | SCM415M:
6 e 15CrMo 5 e FI55. | SCM 415 RCH; J5iis
F.1551 SCM 415 TK;
SCM 21 H
17CrNiMog; )
6 16567 B 820A16 | 18NCD6 14 NICiMo 13
9310;
QZ%ORHH 832 H 13 14 NICrMo 13;
| 14NiCrMo13-4; 832 M 13; 15 NiCrMo 13; | 14 NiCrMo 13-1;
B ESs10H | 16657 14NCMo 134 | s.is7; | 16NCD13 16NCMo 12 | F.1560;
693106; En36C F.1569
H93100; n :
Ho3106
SCr 415;
: . 1203 SCr 415 H;
6 G55%11550 17015 1‘55%233 523M15 | 15CroRR: SCr 415 HRCH; 15Ch 1503
15C2 SCr 415 RCH;
SCro1H
5132, SCr 430;
. , 530 A 32: , , SCr 430 H;
6| 1¥H 17033 . 530H32 | 32C4 iy 804 | oo 430 HRCH; 35Ch 34Cr4
G51320; 34 Cr 4 34 Cr kB F8221 ,
oy 530 M 32 SCr 430 RCH;
SCr2H
5140;
: 530 A 40:
5140 H; ; 41 Cr 4 DF;
; 410r4; 530 M 40; HCrd P sorao;
6| StORH: 17035 o ot | 204 o Fi211; o a0 40Ch 41Cra
G51400; e F 1202
H51400
5140; 420rs;
6| o 17045 ot 530A40 | 42C4TS 2245 HCra 4204 SCr 440
5115:
' 507 MAT:
5117 16MnCI5: " | 16MnCrSRR:
6| corisn 17131 it 50 |’\4A 1 | evos 2173 16 MnCr 5 F1516 18ChG 16MnCrS5
51170
BGH 7139;
BOHLER E 411;
VW 4221;
16MnCISS; OPEL 0S1916;
6 1.7139 16MCIS 5 PROCONS 2127 16MnCrS5
7139;
E411:
SES
5155:
52?20'-'; 550r3; SBASE | 55ia, Leg
6 P 17176 ; 525 A 60; ' 2053 55Cr3 F 1431 SUP9A; 50ChGA 55013
G51550; 55Cr 3 : 55013 Pon
H51550; n4s 9
651600
442 4CiMo4; MOC 2;
6| o 17223 o oot HCMo4 | 42CMod | SNB 22 40ChFA
4140;
4140 B;
4140 RH; SCM 440 H;
442 SCM 440 HRCH;
4142 b 42CMod; 708 M 40; SCM 440 M;
; ; | s2cD4; 42 CiMo 4; ;
4145, 1.7005; 42CModV: 700 M 40; ; 2044 | Top, | soMadoRcH:
6| Gata00; 17207 42 CiMo 4 En19; 424&3‘2 e | 42004 384?'2’% Bl SCM 440 TK; AL AECHE
H41400: 42CiMo 4V En19 A SNB 7 Class 2:
G41420; SCM 4 H:
H41420: SNB 22-1
K14248;
K14047

ISCAR



USER GUIDE

o
s| = () /.
3 = < o4
=
3 <
I}
< USA Germany UK. France Sweden Italy Spain Japan Russia EURONORM
-
% AISI/SAE/
=| UNS/
ASTM/AA | Werkstoff DIN BS AFNOR SS UNI UNE JIS GOST EN
4147,
4147 H;
4150:
H50H;
8650: SCM 445 H;
8650 H: 50CHMod; 708 M 40; SCM 445 HRCH;
6| Garro I 50 CrMo 4 708 A 47 Bz st SCM 445 RCH; ELlines
G41500; SCM5 H
G86500;
H41470;
H41500;
Hes500
. . BGH 7321;
6| oo 17321 228"('/'%%244 2625 E320; 20MoCré
SIQUAL 7321
K11547:
K11562: 620 SCMV 2;
K11564; oo TUE; SFVA 12:
K11757: 13CrMod-5; : ) 14CiMo 3; TUF: STBA 22, 12ChM; ;
61 Kizeg, | 17 1804 | 2470 | 16CDEDS | 2216 140Mo45 | F2631; STFA 22: 15ChM ECiea)
K12052; o 14CiMo45 | STPAD;
ASTM A182 STPA 22
F12
SCMQ4E;
K21390; a8 o=t 6 SF%/i'\I/-lVZg;A'
6 K500 17380 6201023&291?0 ggg/g?g 12CD9-10; 2218 12GMos; TUH SPUAF 228, 12Ch8 10CMo9-10
ASTM A182 : ] " | 10cD 910 12 CiMo 10 : SFVCMF 22 B;
b GS12CMo 9 10; | 622/690: Lo 22
G12CMo9-12 | 1502-622 i
STPA 24
14MoV6-3; 1603-660-
6 1.7715 1AMV 63 440 13 MoCrV 6
E71400;
g 41CrAIMo7-10; | F174; .
6| lomo 18509 acmmor; | PN o6tz | 20 41CAMoT | 41CAMoT; S’g%ﬁ& 38CH2MJUA 418
s 41 CrlMo 7 F1740
6 1.6566 T7NICrMo6-4 17NICiMo6-4
6| Poss 12312 40CrMnMoS8-6 40CMD8S
20MnCrS5;
6 1.7149 20 MnCIS 5 20MnCrS5
6| PooNi 12738 jg%'mm??g‘; 40CMND 8 40Ch2GNM  |40CrMANiMo8-6-4
6 12311 jg%'rmm@ 40CMD8 35CMo8KU | F5302 40CiMiMo7
49CrMo4;
6 28 49 CrMo 4
. 52CrMoV4; .
- Y 17701 51CIMoV4; i O o 51 CiMoV 4 51CrMov4
G41500 51CiMové
51 CrMoV 4
SCM 415 M;
16CrMo4-4; A 18 CrMo 45 SCM 415;
6 LAE8Y 16 CiMo 4 4 KW STBA 22,
SFVA F12
SCM 418 H;
16CMo4; F1550;  |SCM 418 HRCH:
6 17242 iviet 15CD35 180M04 | L E I et noe 16CMod
SCM 418 TK
4419
4419 H:
4520:
G44190;
Ha4190; SB 450 M:
G45200; 16 Mo 5 KG; TUD; SB 480 M:
6l (50 g Bl 16 Mo 5 KW F.2602 SB46 M SB
K11820; 4OM
K12020;
K12023;
K12320;
K12821
6 30ChGSA

Member IMC Group

D)
LLJ
A
<
o
O
A
Z
<
@p)
—
<
s
i
<
=




)
LLJ
A
<
o
Q)
A
Z
<
@p)
—
<
s
i
<
=

USER GUIDE

o
s =
e <
=
3 <4
1]
g USA Germany U.K. France Sweden Italy Spain Japan Russia EURONORM
% AISI/SAE/
=| UNS/
ASTM/AA | Werkstoff DIN BS AFNOR SS UNI UNE JIS GOST EN
HY-80;
HY 80;
6 HY80;
K31820;
MIL-S-21952
605 M 36;
6 En 16;
En 16T
4?1380';"? 2%%%244 25 CiMo 4; F202. SS%MQS%T“;( 20ChM;
7| 4130RH; 17218 | 708A25 | 250D4 2095 * 222 | 9OM 430 RCH; ; 25CiMod
(G525 CiMo 4; 25 CiMo KB F.1256 30ChM
G41300; o SCM 430 TK:
H41300 STKS 1
21CrMoV5-11; '
7 18070 o o e 35 NiCr 9
6535 CMoV 10 4;
7 785 G35 CriMoV 10-4
7 17733 24CiMoV5-5 20CDV 6 21 CrMov 5 11
4240, SNB 24-1:
4340 .
oo SNB 24-2:
. 40NiCrMo6; 817 M 40; F.1275; SNB 24-3; .
7 gggggg 16565 40 NiCiMo 6 En 24 40NCMo7 | SNB 24-4: LGN AONCVOB
H43400: Sl g,
o0t SNCM 439 RCH
8640;
8640 H;
8740;
8;;‘22',"? 40 NICiMo 2 DF:
. 40NiCrMo2-2; 40NCD 2; 40 NiCrMo 2; F.1205; SNCM 240;
7 gggigg HESE 40 NiCMo 22 40NCD TS JONCMo2KB|  F1204  |sNoMosomoH| — SBCNGNM
G87420; e
Hgp00:
Hg7400:
K11640
8617;
8617 H;
8620; SNCM 220
8620 H; , | sNeM 220 H;
8620 RH; NOMo22; | S0 50 NGO | SNOM 220
7| 17 16523 2INCIMo2: " | 20NCD2 2506 20 NiCrMo 2 3 T HRcH: 20ChGNM 20NICIMo2-2
, ; 806 M 20; F1522; ,
G86170; 21 NiCrMo 2 e Lol | snom22o M,
G86200; ' SNCM 220 RCH;
Hgs170; SNCM 21 H
Hg6200:
Ki2147
3INICH4;
7 15755 oo 653M31 | 18NC13
3BNCTS; .
7| 313 15710 e B40A35 | 35NC6 SNC 236 36NICT6
4340;
G43400; 34CNIMoB; 816M6; | 34 CrNMo 8; . .
- 16582 BRI IO el 2541 |3BNCMo6KB|  FA272 38CH2N2MA 34CiNIMoB
643370
310MoVe;
7 18519 i 30ChaMF 31CiMoV9
30NiCrMo2-2; )
7| esa0 16545 OO b 30NCD 2 30 NICrMo 2 KB
4340; . 30 CND 8; .
7| oo 16580 30CINiMo8 823M30 | N0 30CNiMo8 | SNCM 431
. 55 C; 20MV6; b
7| Koigo7 15217 ng‘/vg*N GR55; | TSE4554; 203’\22\66
Grade 85 | TUE 4554
300M;
7| 4300m: 16028 HSNCMOVT-6 | S 155
K44220
40CIMoV13-5;
8 18523 39CIMoV139; | 897 M 39 36 CrMoV 12 40CiMoV13-9
39 CrMoV 139
31CMo12; F1712; 310iMo12;
8 18515 oo 72M2 | 30CD12 2240 32 GiMo 12 Ho o




USER GUIDE

: = ‘ } ( ) /.
Q.
L~
3 = < 7
S
g USA Germany U.K. France Sweden Italy Spain Japan Russia EURONORM
% AISI/SAE/
=| UNS/
ASTM/AA | Werkstoff DIN BS AFNOR SS UNI UNE JIS GOST EN
58CrV4;
I4EHIE 58CIV 4
8 17361 gf%rme 720M24 | 30CD12 2040 30CMo12 | F124A 32CMo12
. ‘ F128;
9840; 360NMod; | 817M37; | 40NCD3; 39 NICiMo 4: 3 40CHGNM: .
8| Gosu0 eI 3BCNMo4 | 816M40 | 35NCD5 39 NCMo 4 KB| 1280 U 40CHN2MA SECIES
35 NiCrMo 4
6145: 735 A 50; F143;
6150; 510V4; 735A51; | S0CIVARR: e SUP 10; -
8| 6150H: 18159 50CIV4: 736H51: | 500V 4 2230 50 CIV 4 ook | sup10csP; o 51CV4
G61500; 50 CIV 4 735M50; | 510V4 BTN SUP 10 M
H61500 En47 '
- SNC 631;
8| 15736 e 30NC 11 SNC 631 H
SNC 631 M
A128 Grade A; .
Ity 1.3401; MIZUNTIZ FFQQA%O}-G" SCMnH 1;
8| Jot120: S X 120 Mn 12; BW10 | Z120M12 2183 | ax12omn12 |, F2A0AT ; 110613L
o 13403 AN AM-X 120 M 12| SCMnH 11
; Feos1
491149
g| 442 12330 47CMod 708M40 | 42CD4 2044 420Mo4 | 42CMo4 S 47CMod
G41420 : SCM 440
4140 H;
8| 4140RH: 42CMod+QT
4140 HT
8
8
8 18705 21MnCr6-5
8
9 16659 3INCMo13-4 | 830 M 31 2534 F270
9 1.5864 BNCH8
9
9
9
9 18715 17MnCr5-3 17MnCr5-3
SLONG20;
SLON90:
1501-509; STBL 690:
K71340; . 1501510; | 9N X1ON; F.2645; STPL 690; :
100 51300 lEEe A 502-650; | Z8N09 X 12 Ni 09 XBNi 09 SLONSS; MEI
500-690 SLONGO;
STRL70;
STPL 70
2515;
A2515; XI2N5: Z18N5; ,
10 2517 1.5680 12Ni19; Z 10N 05; Sl X12N
E2517; 5Ni sLate
K41583
D4, 7200CD 12;
T30404: X2100MWA2: 7210CW X215CW12 | F5213;
10 "o 2 X 210 CW 12 £ 12:01; e 1KU xotocwi2 | SKD2 ML
730406 X100AWA2-1
H13; X40CIMoV5-1; X 40 CiMoV 5; X40CMov5 | F5318;
10 0 10344 Jaoarlovs . ARCI A 2042 VS g omiS | skoet ACHEMFIS | X40CIMovs-1
, X1000MMovs; , F536;
10| 1o 12363 X100CrMoV5-1; gz [ fgooé“gws 20 [*10 %'OV S| ooy, SKD 12 X100CIMoV5
X 100 CrMoV 5 1 X 100 CrMoV' 5
Hot; X30WONG-3; X30WOV9 | F5323; XBOWCIV9-3;
10 10801 = X30WCHV9 3 BRZ) | ZEUHCHE 3KU X 30 WCRV 9 S SChEhEF X30WCIVO 3
X1650MOVA2; X165CIMoW
10 1.2601 RS 2310 o X1650MoV12
X360Mo17;
10 12316 ot X38CiMo16
Heps 0 785 WDOV
M2; ; BM2, | 06-05-04-02; F550.A;
10 /5, 13343 HSS 652 s San 2720 e SKH 51 R6M5 HS6-5-2
HS6-5-2

Member IMC Group

D)
LLJ
A
<
o
O
A
Z
<
@p)
—
<
s
i
<
=




)
LLJ
A
<
o
Q)
A
Z
<
@p)
—
<
s
i
<
=

USER GUIDE

S é >
e <
=
3 <4
1]
g USA Germany UK. France Sweden Italy Spain Japan Russia EURONORM
% AISI/SAE/
=| UNS/
ASTM/AA | Werkstoff DIN BS AFNOR SS UNI UNE JIS GOST EN
F520G;
Hit; X37CrMoV5-1; 73800V 5; X 37 CiMoV 5 ;
10 ; 12343 ; BH 11 ; F5137: SKD 6 4ChEMFS X37CiMoV5-1
T20811 X38CrMoV5-1 X38CiMoV KU |y ot oy s
X37CrMoW5-1;
Hiz; 12606, | X37 CMoWw 5 1; 735 CWDV 5; X 35 CrMoW X37CrMoW5-1:
100 810 12605 X35CHWMOVS; BHT2 | Ya5ciMovs 05KU m soez S X35CHWMoV5
X 35 CriWWMoV 5
. X153CrMoV12; X160 CrMoV :
10 TSEE))in 12379 X155CVMo12-1: BD2 12; a0 X 1551026""0 21 Espon SSKK% 11? X153CIMoV12
X155 CVMo 12 1 7160 CDV 12
X33CrS16;
10 12085 Y59 15 785VCD 178 X33CrS16
21MnCr5;
10 12162 2o, 20MC5 21MNCI5
X45NiCrMo4;
10 10767 45NICIMoT: 45NCD 16 40 NiCrMoV 8 KU X45NICrMod
X 45 NiCiMo 4
X19NiCrMo4;
10 10764 X 19 NiCrMo 4; X19NICrMod
GX1INICIMod
10 > 1.2080 M BD3 ML X 205 Cr 12 KU FF5L522112;' SKD 1 Chi2 X210Cr12
730403 ' X210 Cr 12 7200C 12 Pl
X210 Gr 12
X38CrMoV5-3;
10 12867 o X38CrMoV5-3
2TNCIMoV15-6;
10 16957 2BNICIMoV14-5;
26 NICIMoV 14 5
SCMV 6;
SFVAF 5 A;
501; , SFVAF 5 B;
S xX1112 Corrmsts F240B; SR G
10|  S50100: 17362 oo o SFVA5D; X12CrMo5
$50200; [T ' SNB 5 Class 1;
Kd1545 STBA 29;
STFA 25;
STPA 25
M33;
T11333; HS2-9.2:8; 2908,
LL| By 2 $2-90-8 Sl F5611
T11334
W4T, HS7-4-2-5; 7110 WKCDV F5615;
M e 525 S7-42:5 07-05-04-04-02 HS 7-4-0-6 e
7110 DKOWV
09-08-04-
M42; HS2-10-1-8; ; F5617;
1 13247 o 10s BM 42 205(1)18 2716 HS2:918 | Ld g | SKHE HS2-10-1-8
HS2-91-8
7130 WKCDV
8104810, 10-10-04- F550.8:
1 13207 IR BT 42 04-03; HS10-4-810 |  F5553; SKH57 | R12FSKIOMS-SCh | HS10-4-3-10
10-4-3-10; HS 10-4-3-10
HS10-4-3-10
Ti5; HS121-45; F.5565;
1 ioois 13202 S BT15 | HS12-1-45 HS 12065 | g oos o R13FAK5
6-5-2-5;
6-5-2-5 HC;
HS6-5-2-5;
56505 HS6-5-2-5HC; F550.C;
11 13243 ey BM35 |zeswokey | 2723 HS 6525 F5613; SKH 55 R6MBKS HS6-5-2-5
06-05-05- HS 6-5-2-5
04-02;
7 90 WDKGV
06-05-05-04-02
Z 100 DOWV
M7; HS2-9-2; 00-04-02-02; F5607;
1 13348 o0 205 2782 HS292 A SKH 58 HS2-9-2
HS2-0'2
780 WKCV
T4, HS181-2:5; , F5530;
1 o 13256 Sioias BT 4 1|-IgSO1580141015 ; HS 18145 | oo s SKH 3 HS18-1-25

ISCAR



USER GUIDE

S @ >
Q.
L~
3 = <
S
g USA Germany UK. France Sweden Italy Spain Japan Russia EURONORM
% AISI/SAE/
=| UNS/
ASTM/AA | Werkstoff DIN BS AFNOR SS UNI UNE JIS GOST EN
18-0-1;
T, HS18-0-1; HS 18-0.1; F5520;
1| o 13355 o Bri | A0 2750 Hs1B01 | LS SKH 2 RI8 HS18-0-1
18-04-01
11
11
11
11
11
11
1 X1ONMoGrV6
430F; X12CMoS17;
12 oo 14104 el Z13CF 17 2383 X108 17 F3413 SUS 430 F X120iMoS17
12| 31500 | 14417 | GX2OINIMoN25T-3 2376 XN
X10CIAISTE; Fan3; .
12 14742 e Z12CAS 18 oS | susa 15Ch18SJu X10CrAISI8
XI0CHAISIT3; .
12 14724 X10CIAHS; X10CA2 |, 138 10Ch138du X10CAISI13
X 10 CrAl 13
434, X6CMo171;
120 oo 14113 jocmorrti | sas17 | zaop 1701 2305 F3116 SUS 434 X6CrMo17-1
) XBOCINISIZO;
12| HNe: 14747 ey, | wsses [ra0csN2002 X80CISNi20 | Fa2oB SUH 4
NiSi 20
$65006
s X10CrAISI25;
12 oo 14762 X10CIA4; 710 CAS 24 2300 F3154 SUH 446 X10CTAISi25
X 10 CrAl 24
Eve; X53CMMnNIN1-9; 752 OMN X 53 CiMnNIN .
12 oo 1471 | JOSCMNELS | aigsep | 232 0M o F3217  |SUH35 SUH36| 55CH20GOANG | XB3CIMANINZ1-0
X7Cr14;
12 14001 X7Cr14; Z8C13FF SUS 4105 X7Cri4
GX70r13
140B; X 89 CiMov
120 % 14112 X900MoV18 o SUS 4408 X90CIMoV18
40,
403§ X60r13; S
12 ' 1.4000 ; 403517 | z8C12 2301 X6Cr13 F3110 | SUS403FB; 08Ch13 X60r13
S41008; X6Cr13 S S
$40300
SUS 410;
SUS 410 FB;
410, X120r13; 408 21; SUS 410 TB;
S41000; GX120r13; MC1T | z10C13; X 12 Cr 13 KG; SUS 410 TKA; 120h13;
120 1001 0L X12Cr13; gadeA | Z13C13 2002 \yqocriakw | M1 | sus4toTke: 15Ch13L A
CA-15 X10Cr13 En56 A SUS F 410-A;
SUSF 4108;
SUSF 410-C
. . SUS 405,
12 8285560 1.4002 xxg%m ?'3 405817 | z8CAt2 X6 CrAl 13 F3i11 SUS 405 TB; X6CrAI13
SUS 405 TP
416; X12CrS13; 416 S 21;
12| o 1.4005 eI | anSE | zircrs 2380 X12 0rS 13 Fat1 SUS 416 1201813
12 14015 X8Cr17
SUS 430;
, , 4308 17; | sus4soTe;
12 g 14016 )z<gccrr1 i 420515 | z8C17 2300 X8Cr17 PO | suses0TiA 120017 X60r17
430518 ' SUS 430 TKC;
SUS 430 TP
ANC 1 grade
B;
12 14027 axoocris NG 10,9""“19 Z20C13M S8 2 200h1aL
420 C 24;
420C 29
SUS 420F;
12| OF 14028 X30Cr13; 208 ‘3‘; E gso g ?30 s X300r 13 F3403 “Sus0) 30Ch13 X30Cr13
$42020 ' X30Cr 13 EnS6C; | Soat : 2.0SP;
En56D SUS 420 J 2 FB;

SUS 420 J 2 TKA

D)
LLJ
A
<
o
O
A
Z
<
@p)
—
<
s
i
<
=




)
LLJ
A
<
o
Q)
A
Z
<
@p)
—
<
s
i
<
=

USER GUIDE

o
o = €
3 = < o4
=
3 <
S
g USA Germany UK. France Sweden Italy Spain Japan Russia EURONORM
% AISI/SAE/
=| UNS/
ASTM/AA | Werkstoff DIN BS AFNOR SS UNI UNE JIS GOST EN
GX120Cr29;
12 14086 e | w2
GXA0CINI2T4;
12 14340 | Gxa00mio7 4
X20CrMo13;
12 IR X 20 CrMo 13
439,
430 , | susasox:
12| 543035; 14510 ;gcc'rTT'? 3*7 74CT17 Xecmi7 | g%}f%? SUS 430 LXTB: 08CH17T X3CTH7
$43036; SUS XMETB
XM 8
12| w61 14749 X180iN28 Z12C25 X18CIN28
X301 7; Fal22; | SUS430L%
12 14511 vl Z4CNb 17 X6ONp17 | S | S8R0 X30Nb17
_ , , SUH 409,
12| A0 14512 ST WIS | 2acr10 X6 OrTi12 F3121 SUS 409 LTB: X2CiTH2
$40900 X6 CTi 12 409 19
SUS 409TB
XACNIMo16-5-1; Z6CND ,
12 14418 PR o 2387 XA4CINIMo16-5-1
, ‘ 4208 37; , | sus42041;
12 sggbo 14021 ;ggocr: ?'3 420529 | 50200(;31? 2303 X20Cr 13 I;3314%g SUS420J1FB;| 20013 X20Cr13
En56C ' SUS 420 J 1 TKA
420,
' X390r13; 740G 14C; F3404;
13 stz 1.4081 s A 2304 xacria | 308 | sus 042 400h13 X39Cr13
X20CMoVA 11 . _
13 14922 | Xe0oMovi2-1; | BS762 2317 K20 Cron I
X 20 CrMoV 12 1
X220rMoV12-1: .
13 14923 | X21CMONVIZ-1; T
X 22 CrMoV/ 12 1
, , 4205 37; , F310J; | SUS42041;
13 o 14021 Xxgg%r: A 420529, |4 502883130' 2303 X200r 13 F3402.  |sUsa2001FB;|  200m3 X20Cr13
En56C X20Cr13  |SUS 420J 1 TKA
744C 14 Gl
420; X460r13; ok F:3405;
13 giooho 14034 s 744G 14, xacria | 300 400n13 X460r13
738C13M
. X170Ni16-2; “[z15cNT602 F313; , ,
13 o 14067 X 20 CNi 17 2; 43E1n85$9’ ol 2301 XI6CNi16 | Fa4oT: sﬁgigﬂa 12‘5%21177%22 X17CNi16-2
X 22 CNi 17 7 15CN 16-02 X 19 CNi 17 2
CAB-NM: o 76 CN 13-04;
13| sa1500. 14313 N 76 CN 13-4; 2384 X30rNiMo13-4
191540 7 4 CND 13.4 M
X39CrMo17-1;
13 14122 o oL X 39 CiMo 17-1 X39CiMo17-1
422, X20CMOWVA2-1;
18 gy tags | 20oMorE T X20CMOWVA2-1
, X45CrSi9-3; , . .
13 oo 14718 X45CrS93; 40E1n‘°’5‘2‘5' 745CS9 X 45 CrSi 8 o SUH 1 425;‘38322 YA5CrSI9-3
G-X45CNi 93 :
1.2083; X40Cr14; X40Cr14; F.5263;
13 0 oA s frv) 21 [ xarcrizku | F8 ] s X400r14
CABNM; CXAOMN34; | 425C 11, . SCS6; .
13 Vo 14317 S | 1Y pacND134M GX 6 CNi 13 04 S GXACNI13-4
$13800; X3CrNIMoAl 13-8-2: ,
13 S 1453 | e | Fe-utst3 3CrNMoAl 13-8-2
16-6PH;
1S5PH | 455,
14 w12 oo | XsCiiCuNo1s-5 77CNU 1505 X5CINICu15-3
$15500; 4595,
92110
20 Z3COND 2507 P% | susaedi;
» X3CINIMo27-5-2; Az 3309 |95 399 J 1 FB; .
14| 31260, tadgo | JACNIIOETDZ s cboros| 202 XBOMNMo |28 550y 1 1o 10Ch28NSM | XaCMo27-5-2
$32900 - 2705 e T
X 8 CiNiMo 26 6

ISCAR



USER GUIDE

o
=
Q.
3 L~
3 <4
1]
g USA Germany UK. France Sweden Italy Spain Russia EURONORM
% AISI/SAE/
=| UNS/
ASTM/AA | Werkstoff DIN BS AFNOR SS UNI UNE JIS GOST EN
321531,
LW 18;
LW 24; X 6 CINITI 18 11;
IR T X 6 CrNITi 18
LWCF 24; 0BCh18N1T:
321; 321512 PG = 08Ch18N10T;
14 ; 1.4541 Y6CINTH8-10 " zeoNT1810| 2337 X6CNT18 | Fa523; SUS 321 " | xecimie-10
$32100 321§ 50, , : 09Ch18N10T;
: KW, [X6CiT 1810
301§ 51; 12Ch1BN10T
X 6 CINITi 18
321 S L
50-490;
1010;
1115
14 14425 | XCrNMole-133
. . SUS 316;
. SIS, |ZE e X5 CriMo SUS 316 A;
316; 316533, [26CND 17-11- _ _ ,
Sl X5OmiMo17-12-2; | S16817: | 02-FF; X5 (137N1'1\2/|' 17 FFS315%Z\ ' SSUUSSB%SI-TFBE;
_ MNiMo17-12-2; ' rNiMo 3534; i '
14| 316H; 1.4401 e o o | 316519, Z7OND17-11{ 2847 ok | s omo 17 | SUS1a TR, | OBONTBNTIMS | X6CiNMor7-12:2
$31600; 316 S 40: 02 . ;
: X5 CrNMo 17 1292 SUS 316 HTP;
331609 316S41; | Z7CND i
i PO 12 KW SUS 316 TB;
SUS 316 TBS
14 14821 X20CINiSi25-4 Z200NS25.04 X20CNiSi25-4
ANC 3
) grade A; SCS 12;
14| 92701 14312 oxiocnites | 2SR Zioon189M s 1 10Ch18NaL
302C 25
J92605; GXA0CINISIZ7 4; N
14 20 14823 | Jrier SCH 11X GXAOCINISI7-4
(GX7CNMoCuND18-18] .
14 14585 | GX7 CrNIMoCUNb X6 CiMoTi
1712
1818
Z4CNNb .
347; ‘ 347 C17; AMX 7 CrNIND
P GX5CINING19-11; Sl qg10M: , SCS 21 .
14|  Joosdo; 1452 | oo ine | 821gade | 20N 2010; S GXECINND19-11
J82710 Nb Fe413
1810M
(GX7NICIMoCuND25-20),
14 14500 | GX7 NC:MoCuNb 22?2‘%]
2520 :
304 S 15
304 S 31 .
LW 13; X5 CiNi 18 10; SSLJ%S3%?14A-
W15 | Z4CN1910 X5 CiNi 18 s
304; X5CrNi18-10; Lo i 2333; o F.3504; SsuusssgngSBF-,'
14 oo 1.4301 Xoomiiee | WWOF1y |zsoNizos| 3RS |xseiteto |, S0 SIASHES | oschiento X5CINI18-10
LWCF 15 |26 CN 18-09; KW: g
302817 | 27 CN 18-09 X5 CiNi 18 :
. SUS 304 TKA:
LS T ks SUS 304 TKC
304 S 17
304 S 40
“[z1on1812;
, 8048 11; 1 7 5 o 18-10: F310G;
3382 LL L\/vaéF2 gb- ZEEY T X3Cmitg 11; |, 13903
3 1.4306; XOOIN19-11; 0, M; 81131y 5 orni 19 10: X2CIN19-11;
i S0 14300 GXCNi19-11 S5 | z3oNtgre| 232 [X20NIBTL Ty | SOSTO OSCRTENTT 1 Gxcrnitg-11
J92500; EZT s axacnitgfof AMRAS
J92600 304 G 12; Flik ;
" | 230N 1911 F8412
3055 11
FF
304H;
304 H;
CF8; . 76CN18.10 AMXTCN | SCS 13 o
14| Jaos00; 14308 om0 | smc s M; 2010; SCS 13 A: orcngngL | BCMISTO
J92600; Z6CN19.9M F8411 SCS 13X
JO2650;
492710
ANC 3
GXI0CNI18-8: | gradeA; | Z10CND .
14  Jorot 14312 axoniiss | mear | “isom SCS 12 fochigNoL | Gxiocite-8
3025 3 25
X2CININ234; Z3CN 2304 ‘
14| sa3m 14362 . oot - 2307 XOCININZ3-4
201; , Z12CMN X12CMININ
14 200 14372 | X120IMANIN17Z-7-5 o SUS 201 e

D)
LLJ
A
<
o
O
A
Z
<
@p)
—
<
s
i
<
=




USER GUIDE

o
ON =
Q.
3 L~
ay : <
I}
Z g USA Germany U.K. France Sweden Italy Spain Russia EURONORM
< | Z|AISI/SAE/
=| UNS/
CD ASTM/AA | Werkstoff DIN BS AFNOR SS UNI UNE JIS GOST EN
| 316531, SUS 316;
316'S 33; SUS 316 A;
<C Lwos;  (FOOND 1812 X5 CiNiMo fasgs | SUSSIBFE
316; X3CiNiMo17-13-3; | LWCF 23; . 1713, 9598 | gys 316 TB: .
AEN 14 14455 | X5CNiMo 17133 | g16s 1 [FOSNDIBIS  2043 x8Cnio | X CRMOTT | s 16 78S, HECH IS
LL] 316540 | oL 00 1713 SUS 316 TKA:
316 41; SUS 316 TKC:
= 14436 SUS 316 TP
<C 72 CND 17-12;
E 3165 11; |73 CND 17-11-
316L; ‘ | st6s13; 02, SUS316L;
316L; SN2 | 3165 14; [Z3CND 17-12- CoomMe | F310K | SUsaiBLEB:
14| 31603 tads | JOCIOTEISE 1 i a0 02, 2348 i F3533 | SUS316LTBS; X2OINMo17-13-2
J92700; oo T2 | s 61, [z3CND 17-12- F3537 | SUS316LTP;
J92800 S537; 02 FF: SUS 316 F 316 L
T75 Z3CND
18-12-03
316LN; X2CINIMONT7-11-2; , ] . F3542; , .
14) 316LN; 14406 | XoOmiMoN17-12:2; | S16SC1 122CND 7T X2 OMMON 1 x 2 CinivoN 17| S 3T6LN YECINON
$31653 X2 CINIMON 17 122 122
ANC 4 grade
) - | B AMX7CiNiMo | SCS 14; .
14 o 14408 | SOOMNOISIZ | anca; 2010; sos 1A [orcniantocesamz]  FSCI
316 C 16: Fe414 SCS 14X
845 grade B
X2OrNMoN25-7-4; 75CND 25-06 .
14| s3750 1aao | ZerONES TS - 2308 X2CINIMON 25-7-4
316LN; . . F3543; .
; X2CINIMON17-13-3; | 3165 63; |23 CND 17-12 X2 CiNiMoN 43, | SUS 316 LN; X2GrNMoN
14 SIBLN | 14429 | ) CiNiMoN 17 133 | 1.4429 n 2378 1713 |X2ONMONIT g 161 17-13:3
$31563 133
3165 13; .
' X 2 CrNiMoN .
316L; S lzscND 17-12- 1713, BSSE
316L; X2CiNIMo18-4-3; ; 03, X2 CNMoN 17| F.3533-X2 3 .
14 05 15 | s | 318881 | S ey 2353 Ko | i a7 15 2 | SUSSTBLTBS: | CCHTINIAMG | X2CriMoig-4-3
J92800 W22 | 45 44.03 X 2 CrNIMON 17 clscibl
LWCF 22; A SUSF316L
845 B
| [— taszg | XEONMONIT-135; 73 OND 18-14- MR X2CINIMON
: X2 CiNIMoN 17 135 05 Az e 17135
SUS 317;
317; " X5 CrNiMo SUS 317 TB; )
14 o0 14449 | X3ONMolg-123 | 317516 o SR X3CINIMo18-12-3
SUSF 317
20 Z5CND 2705 P | susaeyt;
» X3OrNIMON27-5-2; Az 3309|1539 J 1 FB; ‘
14| s31260: taggo | e saonssar| 2 X8ONMo | S58S20Y 1T ochaensM  [xaorioNzr-5-2
S Az 2105 |Sus 3291 TP
X 8 CiNiMo 26 6
72 CND 2408
o
$31803; . , , e SUS 329 3L
14| s31260; T Nl A e I SUS 329 J 3 LTB; XOOrNIMON22-5-3
32900 MM : ) SUS 329 J 3 LTP
Z3CND 25
05 A
C i 1.4568; SUS 631;
14) TP 4 se KICGINIIT-T | gy g gy [ZIONATTOT g X2 CiNiMo 17 12 SUS631J1; |  09CHITNZJUl | X7CNA7-7
177 PH: X7 CiNAl 17 7 Z8 CNA17-07
1.4504 SUS 631-CSP
S17700
443,
: F3123; SUS 444;
444 XCrMoTI18-2: 73CDT18-02: ; N !
14 g 14521 Joomorea2 SOTIEl o X2 CMoTND | SUS 444 T; XOCrMoT18-2
182 SUS 444 TP
S44400
904L; XINCrMoCu25-20-5; .
14 oL 14539 | X1NCiMoCuN25 | 904513 | £ %é\lgg)u 2562 X ;\lgC;(\)/l(;Cu
N08904 205
T XSCINICUND16-4; £ 7 CNU 1505 SUS 630
14 0% tasep | JIONOTEE 77 CNU 16-04; SUS 630 FB; XSCNICUNb16-4
; 27 CNU17-04 SUS F 630
$17400
14| S31254 14547 | XICINIMoN20-18-7 2378 KON

ISCAR




USER GUIDE

o
2
Q.
3 L~
3 <
S
g USA Germany UK. France Sweden Italy Spain Russia EURONORM
% AISI/SAE/
=| UNS/
ASTM/AA | Werkstoff DIN BS AFNOR SS UNI UNE JIS GOST EN
14 ”6'%; 1.4568 XIOGINAIT-T | gy g gy [COONATTOT g 2 CiNiMo 17 12 sgg 23?1311;1' 0OCHIZNZIUT |  XTOINIAI7-7
17.7 PH: : X7 CINiAI 17 7 Z8CNA 17-07 ;
SUS 631-CSP
$17700
X6 CINMoT
1712 F3108; ,
. 12, " | susaieT; | 08CHIBN1IMAT; .
316 T; X6OINMoTi7-12-2; | 3208 31: X6CNMoT 17| F3535; - C | xecmivom
14 s3163 L4871 |y g omiMomi17 122 | ao0s 1 FOONDTI7-14 2350 12KG | X6CNMoTi 17 %ﬂ%gg?‘}% ?%%T}Eﬁ%g 17-12-2
X6CNMoT 17| 122
12 KW
3008,
309S: o o SUS 309S;
14 309 14833 NIZNESTS | amsze [SI9NZTE X6 CNi 23 14 SUS 3095 TB; X120Ni23-13
$30908; SUS 309 S TP
$30900
XACNISNT8-10; ~
14| sam15 1agor | SIS0 2372 YACINISIN 1810
XOONISNCe21-11-2: Y9CINISINCe
17 L 14893 | 7’8 GriisiN 21 11 = 21-11-2
304H; X60mNI18-10; ,
304 H; Yeonifg-11; | S04S50; .
14 , 14948 1811 | 3045 51; | 25CN 18-09 SUS 302 X6CINi18-10
$30409; XEONi1811; |00,
530480 ees
ANC 4 grade
(o
GXSCINMOND19-11-2;| ANG4C; | Z4 CNDNb GX 6 GrNiIMoNb GXSCINIMONb
14 14581 |6 %5 CriMoNb 18 10| 318C17: | 18.12M 2011 seoz 19-11-2
845 grade
Nb
303; X8CrNiS18-9; F.310.C; X8CrNiS18-9;
14 ; 14305 189 | a03531 |z8ONF1B-09| 2346 10CmNiS 1809  F3508; SUS 303 30Ch18N11 *
$30300 X 10 CINiS 189 . 58M
X 10 CNiS 18-09
304 11;
LWi4; ,
LW20, |Z1CN18-12; sﬁgssggﬁb-
304L; o | LWCF 14 |Z3CN 18-10: | Fstog; ;
14| 3040 14306 ?gocrm: ?9111 LWCF20; |Z3CN19-11;| 2352 i%(gfw 11% 1111 F3503; SSUUSS%%“&TBBS*_ 03Ch18N11 X2CNi19-11
$30403 $536; | 230N 19-11 X2 CrNi 18 10 ;
: SUS 304 LTP:
Lt & SUS F 304 L
304 C 12
3045 11
e X10oNiteg; | 3ot sof; |21 ONTT-08 F3517; sussusso?%;sp-
14 oo 14310 Xizonmr | sotsz [FHON b I [ omi 1707 [ 5 20 10| S s 12Ch18NO X10CINi18-8
$30200 SUS 302 FB
e Z3CON 1810
; XOOININ1B-10; ; . F3541; | SUS304LN; .
14| 304LN; 1.4311 JooNBI0 L aoaset | | 2 [xaomNg 1|, , BN | S80I XOONIN{8-10
$30453 v
30481,
30482:
30483;
304 B1: -
14| 3042 1.4350 X5CINI18-0 04831 |Z6ON1809 | SNZ | x5CNi1810 | R3St 58E
304 B3:
S30461-
$30462:
330463
SUS 317 L
14 gi 77 LL 14438 | XEONMo18-15-4 | 407 45 B CNOE‘)‘;1 o 2367 REZERIN | (':J?I\iﬁllgo 18 gﬂg gl; gg X2CrNIMo18-15-4
ol : X2 CrNiMo 18 16 4 Z3CND 18 16 o SUS 317 LTP;
19-15-04 SUSF317L;
SUS Y 317 L
SUS 321,
SUS 321 HFB;
- SUS 321 HTB:
; X120ITH18-10; _ ‘ SUS 321 HTP: X120ITH8-10;
14 @i 14878 D ON e | 21881 [Z6ONT1B10] 2897 [XeONTIBAT| 35 | 32 i
SUS 321 TP:
SUS F 321;
SUS Y 321

D)
LLJ
A
<
o
O
A
Z
<
@p)
—
<
s
i
<
=




USER GUIDE

S /'
O K €
Q.
=] d /
ay : <
S
Z g USA Germany UK. France Sweden Italy Spain Japan Russia EURONORM
<C £|AISI/SAE/
=| UNS/
(f) ASTM/AA | Werkstoff DIN BS AFNOR SS UNI UNE JIS GOST EN
| 347 31, X6 CININD ,
< ANC 3 grade 18 11; Sggssf; I7:B
— et B, HBCRD i SUS 347 HTB; X6CrNIND18-10:
o KPR 4550 Y6CNINb18-10; | ANC3B; | Z6CNNb - 1 KG; e AN AL R NRoie-10
S34700: : X6CNND 1810 | 347820 | 1840 X6 CiNIND 18 [X 6 CrNiIND 18 10 3 ;
, : SUS 347 TKA:
LL| $34800 347 S 40: 11 KW: ANl
347 S 50: X 6 CiNINb 18 s
—= 347 S 51 KT
<C W EE Casg3 | X10CNMONDIB-12 76 CNDNb X6 CrNiMoND
E $31803 : X 10CNIMoNb 18 12 18-12 2011
310H; SUS310S;
310 H: 310516; | 5 o 25,20 SUS 310 FB;
3108; Y8oNi25-21; | 3105 24; 3 X 6 Cii 25 20 SUS310STG; | 10Ch2aNis; .
4 505, M5 | xizomizsar | 0825 (512NN 26T 6CMi2520) | o' | sUsaiosTR: | 2ochaantg | X120MN2S21
S31008: 3108 31 SUS10 TB;
$31009 SYSY310S
7 14465, | X1CINIMoN25-22-2; XICrNMoN
14466 | X2 CiNIMON 25 227 25-20-2
. - Z9CN 2413 F3312 SUH 309; ,
14 S 1ags | JIOCEOIE | ams2e | Z17CNs X16CNI28 14| X15CNSI | SUS309TB; | oochoontase | .. 585
20-12 20-12 SUS 300 TP
HK: ‘
; . | AMX40CMi | SOH 21
J94203; GXAOCINISI25-20; | 310G 40; GX 40 CNi { ; o
14 o0 1agas | e | e e 2520, SCH 22 GX40CINISI25-20
F8452 SCH22X
194224
HK 30; SCH 13;
J93503; - . SCH 13 A:
! 1.4837, GX40CrNiSi25-12; G X 35CrNi ! .
14) Jodoog | o8| SOEEESTE | a9 e SCH13X | 40CHo4N12SL | GX4OCINISiZ5-12
J94013; SCH 17;
HH SCS 17
310,
314 B - F3310; SUH 310:
14|  s3100; 14841 | ) gccrmlss‘?g;;o 314525 715 CNS 25-20 i 126502r(l)\h8\ X15CNiSi | SUS310TB; | 20Ch25N20S2 | X15CiNisis-21
$31400: 2520 SUSY 310
S31500
GXAONICrSND38-19; GXAONICISND
14 14849 | G X 40 NICrSi 38 18 38-19
S32760; .
14| SA351/995; | 14501  [X2CrNMoCUWN25-7-4| 1.4501 éggggg morgé"_"ﬁiuw’\‘
250r-7N-Mo-N
25.130;
25143
8, . S m
14 & 14546 XSONND18-10 | 53 Ted
$525;
S527
1.4544; St Zw1f§)-1C1NT
14 o S95 | ot X 6 CINTi 18 11 08CH1BN12T FE-PA 13
9160C201
X120Mi18-9;
14 145E08 X12 CiNi 18 9
X120Mi22-12;
14 252 X12 CiNi 22 12
. 750 CMINNb X50CMMANINDN
14 14882 | X50CIMANINON21-9 P e
st GX2CNMo19-11-2; Z30ND G2 CNMo | AMX2CNiMo | SCS 16 A; GX2CrNiMo
14 316N 144091 o' GiMo 19 11 2 1910 M 1911 Uiy | ses aaiste 19-11-2
J92804 ' Fets 16 AXN
3040 ARX2CN | gog 10,
14{304 L Jo2s00;| 14300 GXOONI19-11 | 304C12 [Z3CN19.10M GX20Mi1910] 19 10; oS GX2CNi19-11
192620 Fa412
A48 25 B; EN-GJL150; , . . ot
15| Cass2s | 06015 GG 15; Grade 150 | 10D 01 15-00 ol FG 15 S SChi5 N
No 25 B EN-JL 1020
B30 B; EN-GUL-200; , _ o
15| Clss30, | 06020 GG 20; Grade220 | Ft20D 01 20-00 e FG 20 o SCh20 FNr
No.30 B EN-JL 1030
MB20B; EN-GJL-100; _ P
15| Cass20; | 06010 GG 10; Ft10D 01 10-00 G10 FG 10 S SCh10 N
No 20 B EN-JL 1010

ISCAR




USER GUIDE

oL = e
Q)
L~
3 — < 4
G
g USA Germany UK. France Sweden Italy Spain Japan Russia EURONORM
% AISI/SAE/
=| UNS/
ASTM/AA | Werkstoff DIN BS AFNOR SS UNI UNE JIS GOST EN
AI845B; EN-GUL-300; . .
16| Chss45 | 06030 GG 30; Grade300 | Ft30D 0130-00 G0 FG 30 o SCh30 ENT
No 45 B EN-JL 1050
AI850B; EN-GUL-350; o EN-GJL-350;
16| Cass50; | 06035 GG 35, Grade350 | Ft35D | 013500 6% FG 35 o 5Ch 35 GG 35;
No 50 B EN-JL 1060 EN-JL 1060
AI8-60 B; N
16| Class60; | 06040 * Graded00 | Ft40D | 014000 SCh 40 EN-ILZ
¥ GG 40
0608
A8-40B; EN-GUL250; N U250
16| Cassd0; | 06025 GG 25, Grade260 | Ft25D | 012500 625 FG 25 FC 25 SCh 25 T
No 408 EN-JL 140
17 o703 | ENVGISS0LT \oump L ao| FasaTO/7 | 071745 | @337047 | FNG3B17 | FCD3W02L | VOh212  [EN-GJS35022T
EN-GJS-400-18; B
60-40-18; EN-GUS-400-18-T; | 37077; ,
17 s | oo oo || Fasar017 | o775 | 6040012 VCh 422 N
EN-GUS-400-18ALT e
EN-GJS-400-15;
60-40-18; % | a0z, ! ] ! ) ; EN-GUS-400-15;
17| ps536 60-4048] 07040 E,\é;ése 1 ggo NG 420/12| FCS 400-12 0717-02 GS 400-12 FGE 38-17 FCD 40 VCh 42-12 ENAJS 1030
654512, 450/10;
17, 5912 | sa0r | ENGuS4010 | iol0 | FGS 40-10 GS400-12 | FGE42-12 |  FODASO VCh 45 EN-GUS-450-10
65451 SnasooT, FOD 50; EN-GJS-500-7;
18 1 07050 A | soo7 | Fesso7 | o702 | GSB007 | FGESOT | FCDSOO VCh502 | EN-GUS-500-7A;
A536 654512 EN-JS 1050;
FCD 500-7 EN-JS 1050
GGG-50
EN-GUS-600-3; FOD 60;
18|, 205006 | o700 | ENGISOO0SA | gnyn | keseo0s | 073203 | GSG0M3 | FGE60-2 | FCD6OD;
AG36 80-55.06 EN-JS 1060;
FOD 600-3
GGG-60
18 07652 | GGG-NMn137 |SNMn137| SNM137 | 073203 | GGG6O GGG 60
100-70-03; EN-GUS-7002; , FOD 70; s
18 A536100- | 07070 ENJS 1070, | ol 0 | FaSTO02 | 07871 GS7002 | FGE702 | FCD700; von7op | ENGHSTO0Z
70-03 GGG-70 FOD 700-2
18/A20Type D2| 07660 | GGGNCr202 |SNCro02| SNC202
18| O | oeet GGG-NCr203  [S-Nicr2o3| sNG203
A4T-32510
A7 Class EN-GUVB-350-10;
! MN 35-10; FOMB 340;
32510; EN-M 1130, | B340/12; ' 6TS 35, : EN-GJMB-350-10;
19 a7 Grage | 081 aTs3s10,  [3t0Bayig) ALTEMN | 0810 B0 1 gor1atypen | GOTBFOMB | KONSO0 EN-JM 1130
32510; GTS-35
32510
AAT-35018,
A4T7 Class MN 380-18;
19) 35018 A32-702 MN KCh 37-12
A47 Grade 380-18
35018
A47-22010
A s B32-10;
19| 200 c6s13 FOMB 310 KCh 338
22010;
UNS F22200
A220-50005;
A220 Class ENGIMBSR04 | ocoe | wpropnip Type C; KChS5-4; | EN-GUMB-550-4;
20  50005; 0.8155 EN-JM1160; ' , 0856-00 P 55-04 po o FOMP 540 ; '
P50/ | 603 36116 Type C KChe0-3 EN-JM1160
A220 Grade GTS-55-04 e
50005
A220-70003; .
A220 Class ENGMB6502, | 00D N GUNB650.2.
20|  70003; 08165 EN-JM1180; 817 | Wnesos | 0m2030 | GMNGS FOMP 590 KCh 63-3 A
A220 Grade GTS-65-02 A
70003
A220-70003; VP 102
A220 Class EN-GIMB-T00-2; | P702; ' : P
20  70003; 08170 ENM1190,  [6se1 P 702 ASZTBMP I ogep g Gz | aBti6TipeA | FOMP 6% Kenrop | ENSMNETIO0Z
A220 Grade GTS-70-02 P | 192
70003 n e

Member IMC Group
T | Iy
L 4 11 ]

D)
LLJ
A
<
o
O
A
Z
<
@p)
—
<
s
i
<
=




USER GUIDE

(D cng; >
Ql
L~
N §';E; <
S
Z g USA Germany UK. France Sweden Italy Spain Japan Russia EURONORM
<C £|AIS/SAE/
=| UNS/
U) ASTM/AA | Werkstoff DIN BS AFNOR SS UNI UNE JIS GOST EN
| A220-45006;
< A220 Class
45006;
A220 Grade EN-GJMD-450-6;
oC | pasos | MP505
45006 A220- EN-JM1140; : o ) ] Type E; ! EN-GJMD-450-6;
LLJ 20 45008; LIS GTS-45-06; 64658235 ASQ;E? ) LEsAl P45-06 | 35116 Type E e EN-JM1140
A220 Class GTS-45
I_ 45008;
<E £220 Grade
E 45008
A220-80002;
A220 Class ’
20| 80002, P702 | MN7002 854 FFSME . KCh80-1.5
A220 Grade
80002
A220-90001;
A220 Class
20|  90001;
A220 Grade
90001
A220-60004;
A220 Class
20|  60004;
A220 Grade
60004
A220-40010;
A220 Class
20 40010; 0852-00
A220 Grade
40010
EN-GJMW-400-5; EN-GJMW-400-5;
20 08040 L W40-05 | MB 400-5 W40-05 | 36113 Type A | FCMW 370 SO
EN-GJMW-350-4; EN-GJMW-350-4;
20 08035 ST W35-04 | MBB35-7 W35-04 | 36113 TypeB | FCMW 330 N
AA5005;
AA5006;
A95005;
: AMg1; : 1510; AMg1C;
Agggge 33315 AMgIC N41 AGO-6 144106 13350 A5005 AMg] =
5005A:;
5006
ﬁg} 8?8 995, ARG
21 N 3.0255 () 1B A5 14407 9001/2 L-3051 ADO AI99,5;
1050; AI99.5 et
1050A
:31122535{ A99.0: A0,
o 3.0205 AI99.0; 1c Ad 144010 AI99.0 L-3001 A1200 A0 AL99,0;
' Al99 1200
1200A
/:\ggg} ; 3.1325: Aol AICU25SiA);
2 i R ACu2.58i(A); A-U4G 1-3120 V65 AlCu2.,5Si(A);
: : AlCuMg1 2017A
2017A
l 32315 AMgSit Hao | A-SGMo7 144312 9006/4 L3453 AD35 A'Sé"gg;‘"”?
AlZnMgCu0.5;
AlZnMgCuO,5;
22 3.4345 o AIZnMgCu0,5;
AlZnMgCu0.5 7002
AICuBBIPb; . AICUBBIPD;
l 3.1655 e FC1 A-USPDB 144355 9002/5 L-3192 A2011 T
AlZn5,5MgCu; AlZn5.5MgCu;
AATOT5; 7075;
! 3.4365; AlZn5.5MgCu; 7 r : AlZn5,.5MgCu;
22 A%%& " AZMCu1 5 LL%% A-Z56U 9007/2 L-3710 A7075 B95 AN TOTE:
AlZnMgCu1.5 7075
AA2024;
0 3.1355; 2024; » 9002/4; ) AlCudMg;
I AZ%%AL e AlCuMg? e A-U4GH e L-3140 A2024 D16 T
. AlZn4.5Mg1;
22 34335 ﬁ'é”“'wg“ H17 A-Z5G 144425 90074 L-3741 AlZnd,5Mg1;
n4.5Mg1 7020
AABOBT; — EN AW-6061;
AB061; S AMg1SiCu H20 A-GSUC 9006/2 L-3420 ABOBT AD33 EN AW-AIMg1SiCu;
6061 : AMg1SiCu

ISCAR




USER GUIDE

= e
Q.
L~
3| — < "4
S
g USA Germany UK. France Sweden Italy Spain Japan Russia EURONORM
% AISI/SAE/
=| UNS/
ASTM/AA | Werkstoff DIN BS AFNOR SS UNI UNE JIS GOST EN
G-AMg5S;, EN AC51400;
GK-AMg5S:; EN AC-AMg5S;;
23 33261 e LM5 144163 AL13 ST
VDS 245 AMg5SI
GD-AIS2(Cu); Ei” :g;}?&%
G-AISi12(Cu); e
32082 £1 20} AS12U 3048 G-AISiT2Cy;
AISi12(Cu); AISH2CU:
VDS 231D Al
AISi12Cui(Fe)
5200,
23| AA500; AG10S 3056 L2310 ACTB A8
A05200
2220,
AA2220; LM12 3041 L2110
02220
5180 G-AMgD; EN AC-51200;
B8 ansino | o GD-AMgS: EN AC-AMgS:
P AMgO: G-AMgS;
VDS 349 AMgO
2030; e
M230; | 31754 FO AUSNKZr
02030 '
ERA04T; . 4047A; SGASHZ;
23 Lo 32585 SG-AISIT2 o 144262 N e
, G-AIZn10S8Mg; ENAC-71100;
V20 GK-AZN10SiBMg; &l
AATI20; e AZ5GF 3602 AC-AZ10SiEMg;
AOT120 s G-AZN10SiEMg;
AZn10S8Mg
514.0; .
514.1: GiAIMgo; , EN AC-51300;
AA5140; i R EN AC-AMg5:
23 O 33561 AMg5; AGE 3058 L2331 AMGEMz; 9;
AA5141; . G-AMg5;
A05140; ENIACS]1800; AMg5
* VDS 244 9
05141
B413.0; .
AAB43.0; G-AISTH2; ENIAG-44200,
A0, | 32081, GR-AIS2, LM6 AS13 144261 4514 L2520 AC3 R avars
B213.0; 32582 GD-ASI2; AR
AA2130; ASi2 e
22130
GASITT; EN AC-44000;
23 32211 GK-AISiTT; EN AC-AIS1;
ASITT G-ASITT
[y
A AJAD; AKT
A14440
C-AMg3; EN AC-51100;
ERRlee: EN AC-AIMg3:
23 33541 GF-AMg3; Heo AG3T 144224 3059 L2341 ADC6 e
AMg3: '
VDC 244 FLgE
G-AMgaS;
515.0; GK-AMg3S; ”
AA5I50; | 33241 GF-AMg3S; b
A05150 AMg3Si 9
AMg3Sit
G-AISOMg; o
24 3.2873 GK-AISIOMg; A-S9G 3051 AC4A AK9 GA’%%?AMQ*
AISiMg 9
A356.0;
AAAZS6.0; G-AISTMg;
A13560; GK-AISTMg; : ) G-AISTMg;
s 32371 o 299 | AS7Ge3 L2651 ACACH AL9 ol
AAAZS6.2; ASTMg
A13562
2040; oL EN AG-21000;
24| ma2040, | 3137 g AUSGT L2140 AC1B EN AC-AICU4TIMg;
02040 Elrmeilig G-AICU4TiMg
AICUATIMg
A3330; s EN AC-AISIBCU3;
MAIB0; | 32161 e 144163 AL13 EN AC-AISIBCU3;
A13330 G-AISI8CU3
| 4 | | ]

@)
LLJ
A
<
o
Q)
A
Z
<
@p)
—
<
s
i
<
=




@p)
LLJ
A
<
o
Q)
A
Z
<
@p)
—
<
s
i
<
=

USER GUIDE

= e
Q.
L~
3| — < "4
5}
g USA Germany UK. France Sweden Italy Spain Japan Russia EURONORM
S| AISI/SAE/
=| UNS/
ASTM/AA | Werkstoff DIN BS AFNOR SS UNI UNE JIS GOST EN
3800: G-AISI90U3; EN AC-46200;
O GD-AISI90U3; AKBMS; EN AC-AISIBCUS;
24 A:Ogg%g, 32163 NSO LM24 A-S9U3 144952 3610 L-2630 AC4B e ASBOE:
VDS 226 AISiBCu3
e EN A(:E-sasoo;
Aﬁog%gg; Ol AC-AISHOMnMg;
G-AISITOMnMg
5190 G-AISIB0U4; EN AC-45000;
24| AA3190; 32151 Gflé.'sg}c‘?‘“ LM21 A-S5UZ 144230 7369/4 L-2620 AC2B AK5M ENGA/i?'SC'GCf‘4?
A03190 i6Cu4; v .'6 ud;
VDS 225 AISIBCU4
G-AISITOMgOu;
GK-AISI10MgCu;
G-AISi10Mg(Cu); !
32383 GRASHOMGOU) A-S10UG
AIS1OMgCu;
AIS0Mg(Cu)
GO EN AC-43000;
32381; A fop EN AC-AISITOMg:
24 ey GD-AISIOMg; A-810G 144253 VolTUVG:
3.2385 ol G-AISI1OMg;
AlSi10Mg; ASHOM
VDS 239 d
EN AC-21100;
G-AICU4T; EN AC-AICU4T;
Gt ACU4TI REIE G-AICU4Ti
AICU4Ti
=
25| AA390.0; G-AISIT7Cu4Mg LM30 4282 ST
A03900 ol LUSMG;
AISi17Cu4Mg
393.0; . i
AA 393.0; GA’?&%%CU‘;AM%’\I" LM29 AK2TM2N2
A03930 9
G-AISi18Cu1MgN;;
25 AS8CUTMNi iz
C3600; ,
C36000 20875 CuZn36Pb3 Cz124 | CuzndePb 12167 C3601; CITTEs ik}
- CWB03N
CuSn3Zn8Pb5-C;
26| C83810 2.1098 S LG CuSn3Zn8Pb5-C
21096: CuSn5Zn5Pb5-C; CuPb5Sn5Zn5; H5111:
CB3600 | HToon o G-CuSN5ZnPb; LG2 UES; 5204-15 NS BrOSTS5S5 | CuSNGZn6Pb5-C
050 Ry 5 UE5Pb5Z5
CuSn7Zn4Pb7-C;
G-CuSn7ZnPb; CuSn7Pb6Zn4;
26| 93200 2.1090 GC-CuSn7ZnPb; | GC 493K UET; CuSn7Zn4Pb7-C
GZ-CuSn7ZnPb; UE7Z5Pb4
Rg 7
CuSn7Pb15-G;
G-CuPb15n; U-Pb15E8; CuSn7Pb15-C;
Ly T GC-CuPb158N; BT upp1ses Lk CC496K
GZ-CuPb15Sn
CuSn10Pb10-G;
G-CuPb10Sn;
26| 093700 21176 e LB2 U-Pb10 CuSn10Pb10-C
GZ-CuPb10Sn
Cuznio; U-Z10; P-Cuzn10; Cuzni0;
l 22000 2.0230 i cz101 ol e 2200 L90 Sl
Cuzn34Mn3AI2Fe1-C; .
o7| Ce020; P65 G-CuZn34A2; VT U-Z36N3; H51|-(|J2/Sc%ts 5 LTs23A; C“Z’;z%”,%'z
SAE 430A : GK-CuZn34AI2; CuZn19AIBY20 " | LTs23A6Zh3MTs2 '
H5102/class 4 CC764S
GZ-CuZn34A2
CuZn36; U-Z36; CuZn36;
l 27200 20335 v cz108 o C 2700 163 S
CuzZn3r; P-Cuzn37; CuZn3T;
27| cor400 2,0321 v CZ108 o 2720 163 e
Cuzn35Mn2Al1Fel-C;
G-OuZn35AN; -~y CuZn35Mn2Al
86400 20592 GK-CuZn3BAI; HTB 1 S Fel-C;
GZ-CuZn35AIT; CC7655
G-Ms60

ISCAR



USER GUIDE

S @ >
Q.
L~
3 — <
S
g USA Germany U.K. France Sweden Italy Spain Japan Russia EURONORM
% AISI/SAE/
=| UNS/
ASTM/AA | Werkstoff DIN BS AFNOR SS UNI UNE JIS GOST EN
CuzZn38Sn1As; CuZn38SniAs;
27| css400 20530 el czi12 P-Cuzn39Sn1 C4640 L0B0-1 ceeont
5112-02;
(G23000; Cuzn1s; U-215; ! Cuzn15;
gscu-15zn | 20240 CuZn 15 0202 | Gnts SN, 62300 w02l
5112-05
, Cuzn20; 5114-02; _
27| 2000 | 20050 CuZn 20; cz103 | Ccuz20 | 511404 C2400 Suenati
Ms80 5114-05
26000; CuZn30; CuZn30;
l o 20265 s cz106 | Ccuznd0 C2600 et
, BIAD: ‘
CuAl10Ni5Fe4; U-A10N; ' L CuAI10Ni5Fe4;
28| 63000 20066 | MRS | catoe | et P-CUAITONiSFe5 06301 BAZNIO-4-4 Apics
CuSni0-C; .
C90700 21050 G-CuSn 10; cT Cusng cé(s:%%}?
SnBz10
2.1052; CuSn12-G;
Co0B00; | 2.1052.01; G-CuSn12: CACS02C; Cusn12-C;
28 o0 | 2105204 GZ-Cusni2; PB2 LA PRC2C CC4B3K
2105203 | SnBzi2, Gbzi2
, G-CuAOFeBNi5-C; .
%%2%?% 20975 G-CuAl 10N C“A'L%%%N'E’ CACT03C 0C333G
NIAIBZ-F60
Cu-ETP; CuETP;
28| ci1000 2.0060 E-CusT: ciof CuB Cu-DHP C11020 c1100 M E-CuST:
ECu57 CW004A
28] csts00 21202 G-CuCF 35 CCIFF | UCo8zr
28| 10300 20070 Cu-PHC; c103 1S60-2 o
SE-Cu WA
CWORTA
C10100; Cu-OF; C108; Ci-ct; C1011; Cu-OF;
C10200 2D OF-Cu cio Cu-c2 Lz c1020 L2 CW00BA
G-CuZn40Fe;
28| 86550 20590 PP G-CuzndoFe
C18100; CuCr1Zr, U-C1z; CuCrizr,
C18150 AIEES cucizr CC102 1 ez CW106C
, CuDHP; , Cu-DHP;
28] 0% 20090 E-Cus; C106 CuB P Mif E-Cus8;
E Cu 58 SF-Cu CWOR4A
096500 20071 CuAlONiFe2 UAO BrA10Z14NAL
CuAB;
28| 61000 20020 e CuAB BiA7 CuAlB
29
30
Z20NCS
20 xiaNGisas-16; | Naz | ST
31 ; 1.4864 XI2NICrSi36-16: | INCOLOY , Fa313 SUH 330
IR X12NICrSi3616 | aloyps | 318
Z12NCS
35-16
mggggi GXAONICISi38-19 | 330C 11 SoH 15,
31| Moo 14865 | GX4ONICISI38-18; | 330C 40; (GX 50 NiCr 39 19 s GXAONICrSi38-18
a0, G-X4ONICIS38 18 | 331G 40
XNCrATi32-20; .
31 14558 | JoNCUTOZ0 ] nags NCF 800 XONICIATI32-20
XINCMoCu32-28-7; XINCrMoCu
Bill  Nosost 14862 | vy NicMoCu 32 28 7 30087
XENICATI3 1-20; NCF 800 H .,
31 7T NN T VS o XSNIGIAITI31-20
YONCrAT32-21; | NA15. | Z8NC 33-21; ,
gl Noeent 1499 | xgNioma221 | NA15H |Z10NG 3221 XENCrATTIZ2-21

Member IMC Group

D)
LLJ
A
<
o
O
A
Z
<
@p)
—
<
s
i
<
=




USER GUIDE

(D S > ‘1i
E S ‘ }
Q)
=] d /
ay : <
S
Z g USA Germany U.K. France Sweden Italy Spain Japan Russia EURONORM
<C £|AISI/SAE/
=| UNS/
U) ASTM/AA | Werkstoff DIN BS AFNOR SS UNI UNE JIS GOST EN
1 Z2NCDU
XINICrMoCu31-27-4; 31-27; EK77; XINiCrMoCu
S0 31| o 14563 | %4 NicrMoCu 3127 4 Z1NCDU &5 ChN3OMDB 31-27-4
m 31-27-03
B 163;
L] N08800; X1ONICrAITi32-21; , o ) NCF 800;
|_ 31| N08sio; 1.4876 X10NICrAITi32-20; N%?H Z;g ,Z‘g 3322211 'I::%?Slé NCF 800 TB; X1ONICrAITi32-21
<E N08332; X10 NiCrAITi 32 20 i NCF 800 TP
N0B81 1
E S590; X40CoCrNi20-20;
32 e 149771 40 CoCili 20 20 2RI,
. PERICIIOYER=ils | zaner2s; XBNICITIMOVB
39| 600 e XSNCITI26-15X6 | HRST; | 5 Ei L e
66286 : NiCrTiMoVB 25 152; | HR 52 e TR
X5 NiCrTi 26 15 :
1.4943; X4NICrTi25-15; Z6NCTDV XANICrTi25-15;
32 1.4944 X5NICrTi26-15 9 25-15B 2570 X5NICrTi26-15
661; X12CrCoNi21-20; ‘
32 paoiss 149711 %45 GrGoNi 21 20 HCEE
Haynes 556;
32 “Raosss
Incoloy 825;
33|  N08825; 2.4858 NiCr21Mo NA16 | NC21FeDU ChN38VT
Hastelloy C-4; '
33( " Nopise 2.4610 NiMo16Cr16Ti
Nimonic 75; . "
33| N06075; 221235? NICr20Ti H:ZO%— 4| No2oT
AMS 5715 :
Inconel 625;
33|  N06625; 2.4856 NiCr22Mo9Nb NA21 | NC 22 FeDNb
AMS 5666
Inconel 690; ’
33 06690 2.4642 NiC29Fe NC 30 Fe
Monel 400; 2.4360; ,
33 "\0aa00 5 4361 NiCu30Fe NA 13 NU 30
Hastelloy X;
N06002; 2.4603: NiCr30FeMo;
33|  5300A; " NiCr22Fe18Mo; HR 6 NC 22 FeD
AMS 5754; : NiCr21Fe18Mo9
AMS 5536
Inconel 617;
33 NOG6I7; | 24663 NICr23Co12Mo e 15‘\/*\7A9 e
AMS 5887
HR 2;
Nimonic 90; | 465, NICr20Co18T: HHFF; i%zz
33| NO07090; 5 4969 NICr 20 Co 18 Ti HR 501" Z 8 NCDT 42 NiCr20Co18Ti
AMS 5829 .
HR 502;
HR 503
Haynes 214; ’
33 NO7214 2.4646 NiCr16Al
Rene 41;
NO7041; NiCr19Co11MoT;
33 avssrin | 2497 NiCr 19 CoMo e TR
AMS 5713
vasteloy B | 24617, NiMo28;
33 N1063é5 | 24616 EL-NiM29; YNiMo-7 NiMo28
24615 SG(UP)-NiMo27
Udimet L-605; .
33 haos0s 2.4964 CoCr20W15Ni
Monel R-405; | 2.4360; ,
33 "\ oaa0s 5 4361 NiCu30Fe NA 13 NU 30
Inconel 600; " .
33| N06600; 24816 N‘%ngﬁ NA14 | NC16FeT ChN78T NiCr15Fe8
AMS 5665
Inconel 601; NiCr23Fe15A; .
33 05601 2.4851 e N C 23 FeA ChN6OYU NiCr23Fe15A
N‘Egg%‘?& NiCo20Cr20MoTi; | HR10;
33 N 2.4650 NiCo 20 Cr20 MoTi | HR206; | NCK20D NiCo20Cr20MoTi
AMS 5872;
ey MoTi HR 404

ISCAR




USER GUIDE

A

USA

Germany

U.K.

France

Sweden

Italy

Spain

Japan

Russia

EURONORM

Material Group No.

AISI/SAE/
UNS/
ASTM/AA

Werkstoff

DIN

BS

AFNOR

SS

UNI

UNE

JIS

GOST

EN

®

Haynes 188;
Jetalloy 209;
R30188;
AMS 5772

2.4964

CoCr22W14Ni

KC22WN

3

H

Monel K-500;
N05500

2.4375

NiCu30AI3Ti;
NiCu 30 Al

NA 18

NU 30 AT

NiCu30AI3Ti

Inconel 718;
NO7718;
AMS 5596;
AMS 5589

2.4668

NiCr19Nb5Mo3;
NiCr 19 NbMoj;
NiCr19Fe19Nb5Mo3

HR 8

NC 19 Fe Nb

NiCr19Nb5Mo3

34

2.4955

NiFe25Cr20NbTi;
NiFe 25 Cr 20 NbTi

NiFe25Cr20NbTi

NiFe25Cr20NbTi

Incoloy 925;
N09925

24670

3

S

Nimonic 901;
N09901;
AMS 5660;
AMS 5661

2.4662

NiFe35Cr14MoTi;
NiCr13Mo6Ti3;
NiCr 13Mo 6 Ti 3

Z8 NCDT 42

34

Udimet 500;
NO7500;
AlSI 684

24983

NiCr18Co18MoAITi

NCK 19 DAT

NiCr18Co18MoAITi

3

S

Nimonic 80A;
NO07080

2.4631;
2.4952

NiCr20TiAl;
NiCr 20 TiAl

HR 401;
HR 601

NC 20 TA

NCF 80 A

ChN77TYUR;
ChN5BVMTYu

NiCr20TiAl

34

Jetalloy 209;
AMS 5772

CoCr22W14Ni

KC 22 WN

34

Altemp S-816

2.4989

CoCr20Ni20W

Altemp S-816

MAR-M 246

24675

NiCr23Mo16Cu;
NiCr 23 Mo 16 Cu

NiCr23Mo16Cu

34

Inconel 722;
NO7722;
AMS 5411

Waspaloy;
NO7001;
AlSI 685;
AMS 5704;
AMS 5706;
AMS 5708;
AMS 5544

24654

NiCr20Co13Mo4Ti3AL;
NiCr 19 Co 14 Mo 4 Ti

NC 20K 14

NiCr20Co
13Mo4Ti3AL

34

Rene 80

NC14 K9 T5
DWA

35

5388C;
N30002;
CW-12MW;

2.4883

G-NiM16CrW

35

N7M;
N-7M;
N30007

2.4685

G-NiMo28

ND 30 M

35

N12MV;
N-12MV;
N30012

2.4882;
9.4810;
2.4810/9.4810

G-NiMo30

35

Nimocast
PK24;
N13100;
AMS 5397

2.4674

G-NiCo15Cr10AMiMo

HC 204

NK 15 CAT

35

Jethete M-252;
N07252;
AMS 5551

2.4916

G-NiCr19Co;
G-NICR 19 Co

3

(3]

Nimocast 713;
NO77183;
AMS 5391;
Inconel 713LC

2.4670

G-NiCr13AIBMoNb

HC 203

NC 13 AD

35

M-35-1;
N214135

2.4365;
2.4365/9.4365

G-NiCu40Nb

NiCuC

36

Titanium

Grade 1;

R50250;
ASTM GR. 1

3.7024;
3.7025

Tit;
Ti99.8

TA1

T-35

Ti1-Type 1

Ti-PO1

Class 2;
Gr-1

VT1-00

Ti99.8

Member IMC Group

D)
LLJ
A
<
o
O
A
Z
<
@p)
—
<
s
i
<
=




USER GUIDE

[}
= ()
Q)
3 L~
ay : <
S
Z g USA Germany U.K. France Sweden Italy Spain Japan Russia EURONORM
<C £|AISI/SAE/
=| UNS/
U) ASTM/AA | Werkstoff DIN BS AFNOR SS UNI UNE JIS GOST EN
_l Titanium
<E Grade 2, 37034 TA2;
R50400; iy Ti2; TA3; 3 E " Class 2; )
m 36| s 4902 %77%%% Tige7 e T-40 Tit-Type 2 Ti-P02 o VT1-0 Ti99.7
AMS 4941; ' A5
LLI ASTMGr. 2
I_ Titanium
Grade 3; 3.7055; Ti3; DTD 5023, Class 3;
<E 36 psos00; 3,7056 71996 DD 5273 1750 ot Gr-3 s
E ASTM Gr. 3
Titanium
! 3.7064; - TAT; ,
36| Croed 3.7065; T4 TAB; T60 TH-Type 4 Class & 71995
R50700: G Ti99.5 e Gr-4
ASTM Gr. 4 ‘
Titanium
Grade 7: Class 13;
36|  Rsoa00. 37235 Ti2Pd-Type 7 o
Ti-0.15Pd
TA10;
Titanium LT
Grade 5; 3.7165; Tz TAGV; Class 6 0;
37 ' ek TiGAI4V TA13; TABYV: TiAIBV4-Type 5 Ti-P63 Gr60; VT6 TiBAIY
AL Eiizs TA 28; TiP63 SAT-64
T-6A-4V ; " :
TA56;
Ti-AV
Titanium Grade
6AI-2Sn-4Z-
2Mo; 3.7145;
37| a0 e TIAIBSN2Zr4Mo2 V125 TIAIBSN2Zr4Mo2
6AI-2Sn-4Z-
2Mo
3.7175;
37 37174 TIAIBVBSN2
Titanium
Grade 9; 3.7195; Class 6 1;
37| rssao0. e TiBAIR.5V TIAI3V2.5-Type 9 . PT-3V TiBAIZ.5V
Ti-3Al-2.5V
TA 21;
TA22;
37 3.7124 Ticu2 s, TU2 Ti-P11
TA24
TA45;
TA46;
TA4T;
3.7185; Ti4A4Mo2Sn; : .
37 37184 | TAMMoasus0s | A8 Tl AP
TA49;
TA50;
TAS7
Titanium
Grade 6; 3.7115.1; TiAIBSN2.5; TA14; T-ABE; )
37T Reuson; 37115 TiAl 5 Sn 22 A7 T1P65 SR Ll VAR
Ti-5A1-2.58n
R56410;
37|71 10v-2Fe-31
Titanium grade
23; TIAIBVAELI-Type Class 6 1;
37| Rseaor. TiBAIV ELI TA11 o Y
Ti-6A-4V-ELI
Ti5AI5V5MO3Cr;
37 VSTS553 Iy 5L V-5Mo-aCr
37| Ti-4A-3Mo-1V. T-A4D3V. VT14
37 VT22
75CtMoNIWG-7; .
38 1.2762 eyt 75CMoNIWE-7
SK75;
SK 85;
F520.U; ;
Wi; C80W2; £ SK 85 M; _
38 170501 1.1625 & E BW 18 F.g1 8007 K5 Us-1 C80W2
SK'5M;
SK6
o C106U; C105E2U; E515 SK 105; U10A-1;
38 17000; 1.1545 C105W 1; Y1 105; 1880 C 100 KU e SK 3; U10A-2; c108U
C105U C105E2U ' TC 105 U11-1

ISCAR




USER GUIDE

S é >
3 = < l/
=
3 <4
1]
g USA Germany UK. France Sweden Italy Spain Japan Russia EURONORM
% AISI/SAE/
=| UNS/
ASTM/AA | Werkstoff DIN BS AFNOR SS UNI UNE JIS GOST EN
BNCMo14-5; F 1260-32 ‘
38 1.6746 32 NiCivo 145 832M31 | 35NCD 14 NiCrMo 12 32NiCrMo14-5
, _ G105 E2UV 1,
3g 20 12833 Je0v: BW2 | Yii05V: 102V 2 KU SKS 43 100V4
T72302 100V 1
100V 2
6145: 735 A 50: e
6150; 51Crv4; 735 A51; | 50CrVARR; E 1'43 A SUP 10; 50ChFA:
38 61501, 18159 500HV4: 735H51; | 500V 4; 2230 50CV 4 g | sup10-CSP; iy 5104
G61500; 50 CiV 4 735M50- | 510v4 Lo SUP10M
H61500 En 47 '
P20; 35CrMo4;
38 i 12330 it 708A37 | 34CD4 2034 35 CrMo 4 35CiMos
38
38
38
38
38 18721 26MnCr6-3 26MnCr6-3
38
38
38
12083; X40Cr14; X40Cr14: F.5263;
38 1 2083 5 Y42 or 13 et 214 | xar0r1aKU | 0% | sUs 42042 X40Cr14
300M;
38|  4340M; 16928 41SINICIMOVT-6 155
K44220
38 30ChGSA
, X100CIMoV; , F.536;
39 ngabz 1363 X100CrMoV5-1: BA2 Xz1 ?gocg‘[’;‘\’,\\/’; w0 X 1001 %"OV 5| Esoor, SKD 12 X100CIMoV5
X 100 CrMoV'5 1 X 100 CrMoV' 5
. X1563CrMoV12; X160 CrMoV ,
39 TS%in 12879 X155C1VMo12-1; BD2 12, g0 X 1551026'\"0 21 Espon SSKK% 11? X153CrMov12
X155 CVMo 12 1 7160 CDV 12
F521,
Dg; X210Cr12; X200Cr12; ).
39| o 1.2080 oz BD3 | oMU X2050r12KU|  F5212: SKD 1 chi2 X210Cr12
X210 Cr 12
100Cr6RR:
102C16; ;
13; 3 BLS: 100C6; F5230;
39| oo 1.2067 ! %% (érr % as o 10206k | SuJ?2 Ch 10216
Y100G 6
M1;
0 _ HS 2-8-1:
39 M 13346 e BM1 | Z85DCWV HS2-0-1
T41301; $2.9-1 AT
T20841
1801
T HS18-0-1: HS 18-0.1; F5520;
39| ot 13355 g BT | oot 2750 HS 1804 | ooy SKH 2 Ri8 HS18-0-1
18-04-01
02, 90MINCHVS; BO2 | 90ME 90 MGV 8;
39 13500 ez 90 MnCV 8 BO? 0 MV8 S0IMoVOr 8IKUIL = 5o UL
Hi3; X40CIMoV1: X 40 OiMov 5 X40CMoV5 | F5318;
39 o013 e X40 CrMoV 5 1 BH13 "7 40c0v5 2z 11KU  |X400Mosvs| SKDO! ALl HAE 3]
39
39
39
39
39
39 Sii%gzl 14125 JICEC LT ZIRIED 1y B SUS 440G 50 X105CrMo17
Ay ' %105 CiMo 17 7100CD 17 110Ch18M-SChD
40 Azgso/f SA 1 oges0 GX260Cr27 | Grade3D 0466-00 ChWG
40| Ni-Had4 | 09630 | GX300CNiSi952
40] NiHerd 1 09625 GX330NCr42 | Grade 2B 0513-00
40 AQ%SUE grA 09655 | GX300CiMo271 | Grade 3E 20Ch25N20S2
40] NiHad2 | 09620 | GX260NCrd42 | Grade2A 0512-00

D)
LLJ
A
<
o
O
A
Z
<
@p)
—
<
s
i
<
=




@)
LLI
A
<
o
©)
A
Z
<
@)
—1
<
s
i
<
=

USER GUIDE

=z

Ql

3 <

(5]

g USA Germany UK. France Sweden Italy Spain Japan Russia EURONORM

% AISI/SAE/

=| UNS/

ASTM/AA | Werkstoff DIN BS AFNOR SS UNI UNE JIS GOST EN

A532
5 0.9645; , EN-GIN-

41 IIDEOf:é)rMo- 55600 |G 260 CrMoNi 202 1| Grade 3C HVB00NCI23)

4 IIC1?§%2M- 0.9635; GX 300 CrMo 15 3; | Grade 3A; EN-GIN-
i | 09640 [G-X 300 CrMoNi 152 1| Grade 3B HVB00(XCr14)

ISCAR



X4ANI IVOILAGVHd IV

s
s
8
5
o
2
2
§
2

\

><
(]
o
Z
_
<C
O
_l
LL]
Al
<
1
Al
]
<




X4ANI VOl LAGVHd IV

ISCAR




X4ANI IVOILAGVHd IV

s
s
8
5
o
2
2
§
2

(T | Tl 527

\



X4ANI VOl LAGVHd IV

ISCAR




X4ANI IVOILAGVHd IV

s
s
8
5
o
2
2
§
2

(T | Tl 529

\



X4ANI VOl LAGVHd IV

ISCAR




X4ANI IVOILAGVHd IV

s
s
8
5
o
2
2
§
2

(T [Tl 531

\



X4ANI VOl LAGVHd IV

ISCAR




X4ANI IVOILAGVHd IV

s
s
8
5
o
2
2
§
2

(T |l 533

\



X4ANI VOl LAGVHd IV

ISCAR




X4ANI IVOILAGVHd IV

s
s
8
5
o
2
2
§
2

(T | Tl 535

\



m M N B

X4ANI VOl LAGVHd IV

ISCAR




X4ANI IVOILAGVHd IV

s
s
8
5
o
2
2
§
2

(T | Tl 537

\



ISCAR

X4ANI VOl LAGVHd IV




X4ANI IVOILAGVHd IV

s
s
8
5
o
2
2
§
2

(T |l 539

\



X4ANI VOl LAGVHd IV

ISCAR




X4ANI IVOILAGVHd IV

s
s
8
5
o
2
2
§
2

(T | Fall 541

\



@ =

X4ANI VOl LAGVHd IV

ISCAR




X4ANI IVOILAGVHd IV

=

s
s
8
5
o
2
2
§
2

(T | Tl 543

\



= H =

X4ANI VOl LAGVHd IV

ISCAR




ISCAR LTD.

Israel

Headquarters

Tel +972 (0)4 997 0311
Fax+972 (0)4 987 3741
www.iscar.com
headquarter@iscar.co.il

Argentina

ISCAR TOOLS ARGENTINA SA
Tel +54 114 912 2200

Fax+54 114 912 4411
admin@iscararg.com.ar
www.iscararg.com.ar

Australia

ISCAR AUSTRALIA PTY. LTD
Tel +61 (0) 2 8848 3500
Fax+61 (0) 2 8848 3511
iscaraus@iscar.com.au
www.iscar.com.au

Austria

ISCAR AUSTRIA GmbH
Tel +43 7252 71200-0
Fax+43 7252 71200-999
office@iscar.at
www.iscar.at

Belarus

JV ALC “TWING-M”

Tel +375 17 506-32-38
+375 17 506-33-31/65
Tel/Fax +375 17 506-32-37
info@twing.by
www.twing.by, www.iscar.by

Belgium

n.v. ISCAR BENELUX s.a.
Tel +32 (0) 2 464 2020
Fax+32 (0) 2 522 5121
info@iscar.be
www.iscar.be

Bosnia
(Representative Office)
Tel +387 32 201 100
Fax+387 32 201 101
info@iscar.ba

Brazil

ISCAR DO BRASIL COML. LTDA.
Tel +55 19 3826-7100

Fax+55 19 3826-7171

DDG 0800 701 8877
iscar@iscarbrasil.com.br
www.iscar.com.br

Bulgaria

ISCAR BULGARIA
Tel/Fax +359 431 62557
aa_iscar@infotel.bg
www.iscar.bg

Canada

ISCAR TOOLS INC.
Tel +1 905 829 9000
Fax+1 905 829 9100
admin@iscar.ca
www.iscar.ca

Chile

J&A INTERNATIONAL
Tel +56 2 2232 5838
amedina@jya.cl
www.jya.cl

China

ISCAR CHINA

Tel +86 21 8024 8888
iscar@iscar.com.cn
www.iscar.com.cn

Colombia

ISCAR Andina

Tel +57 310 380 9932
Tel/fax +57 1 896 65 78
iscar@iscar.com.co
Www.iscar.com.co

Croatia

ISCAR ALATI d.o0.0.

Tel +385 (0) 1 33 23 301
Fax+385 (0) 1 33 76 145
iscar@zg.t-com.hr
www.iscar.hr

Cyprus

WAMET (Demetriades) Ltd.
Tel +357 (0) 2 336660/5498
Fax+357 (0) 2 333386
wamet@cytanet.com.cy

Czech Republic
ISCAR CR s.r.o.

Tel +420 377 420 625
Fax+420 377 420 630
iscar@iscar.cz
www.iscar.cz

Denmark

KJ VAERKTOEJ AS/ISCAR DENMARK

Tel +4570 11 22 44
Fax+45 46 98 67 10
kj@kj.dk
www.iscar.dk

Ecuador

ISCAR Andina

Tel/fax +57 1 821 93 38
iscar@iscar.com.co
atencioncliente@iscar.com.co
Www.iscar.com.co

Estonia
KATOMSK AS

Tel +372 6775 671
Fax+372 6720 266
aleksei@katomsk.ee

Finland

ISCAR FINLAND OY

Tel +358-(0)9-439 1420
Fax+358-(0)9-466 328
info@iscar.fi
www.iscar.fi

France

ISCAR FRANCE SAS

Tel +33 (0)1 30 12 92 92
Fax+33 (0)1 30 12 95 82
info@iscar.fr
www.iscar.fr

Germany

ISCAR Germany GmbH
Tel +49 (0) 72 43 9908-0
Fax+49 (0) 72 43 9908-93
gmbh@iscar.de
www.iscar.de

Greece

INTERNATIONAL TOOLS

K.-X. GEORGOPOULOS & SIA O.E
Tel +30 210 346 0133

Fax+30 210 342 5621
info@internationaltools.gr

VIMA

V. Mazloumian & Sons

Tel +30 2310 517-117 / 544-521
Fax+30 2310 529-107
vimaco@otenet.gr
http://www.vimaco.gr

Hong Kong

MTC TOOLING SYSTEMS LTD
Tel +85-2-23054838
Fax+85-2-27988789
yoongkamsing@hotmail.com

Hungary

ISCAR HUNGARY KFT.
Tel +36 28 887 700
Fax+36 28 887 710
iscar@iscar.hu
www.iscar.hu

India

ISCAR India Ltd.

Tel +91 77009 63707
sales@iscar.in
www.iscar.in

Indonesia

CV MULTI TEKNIK

Tel +62-21-29206242/44/45/59
Fax+62-21-29206243
contact@multi-teknik.co.id

Ireland

HARD METAL MACHINE TOOLS
Tel +353 (0) 1 286 2466
Fax+353 (0) 1 286 1514
phannigan@hardmetal.ie
www.hardmetal.ie

Italy

ISCAR ITALIA sri

Tel +39 02 93 528 1
Fax+39 02 93 528 213
marketing@iscaritalia.it
www.iscaritalia.it

Japan

ISCAR JAPAN LTD.
Tel +81 6 6835 5471
Fax+81 6 6835 5472
iscar@iscar.co.jp
www.iscar.co.jp

Latvia

MECHA, UAB

Tel +370 37 407 230
Fax+370 37 407 231
info@mecha.lt

Lithuania

MECHA, UAB

Tel +370 37 407 230
Fax+370 37 407 231
sigitas@mecha.lt

Mexico )

ISCAR DE MEXICO

Tel +52 (442) 214 5505
Fax+52 (442) 214 5510
iscarmex@iscar.com.mx
Www.iscar.com.mx

The Netherlands
ISCAR NEDERLAND B.V.
Tel +31 (0) 182 535523
Fax+31 (0) 182 572777
info@iscar.nl
www.iscar.nl

New Zealand

ISCAR PACIFIC LTD.
Tel +64 (0) 9 573 1280
Fax+64 (0) 9 573 0781
iscar@iscarpac.co.nz

North Macedonia
(Representative Office)
Tel +389 2 309 02 52
Fax+389 2 309 02 54
info@iscar.com.mk

Norway

SVEA MASKINER AS

Tel +47 32277750

Fax+47 32277751
per.martin.bakken@svea.no

Peru

HARTMETALL SAC

Tel: (511) 6612699
otorres@hartmetallgroup.com

Philippines

MESCO

Tel +63 2631 1775
Fax+63 2635 0276
mesco@mesco.com.ph

Poland

ISCAR POLAND Sp. z 0.0.
Tel +48 32 735 7700
Fax+48 32 735 7701
iscar@iscar.pl
www.iscar.pl

Portugal

ISCAR Portugal, SA
Tel +351 256 579950
Fax+351 256 586764
info@iscarportugal.pt
www.iscarportugal.pt

Romania

ISCAR Tools SRL

Tel +40 (0)312 286 614
Fax+40 (0)312 286 615
iscar-romania@iscar.com

Russia

Moscow

ISCAR LLC

Tel/fax +7 495 660 91 25/31
iscar@iscar.ru

www.iscar.ru

Serbia

ISCAR TOOLS d.o.o.
Tel +381 11 314 90 38
Fax+381 11 314 91 47
info@iscartools.rs

Singapore

SINO TOOLING SYSTEM
Tel +65 6566 7668
Fax+65 6567 7336
sinotool@singnet.com.sg

Slovakia

ISCAR SR, s.r.o.

Tel +421 (0) 41 5074301
Fax+421 (0) 41 5074311
info@iscar.sk
www.iscar.sk

Slovenia

ISCAR SLOVENIJA d.0.0.
Tel +386 1 580 92 30
Fax+386 1 562 21 84
info@iscar.si
www.iscar.si

South Africa

ISCAR SOUTH AFRICA (PTY) LTD.

ShareCall 08600-47227
Tel +27 11 997 2700
Fax+27 11 388 9750
iscar@iscarsa.co.za
Www.iscar.co.za

South Korea
ISCAR KOREA

Tel +82 53 760 7594
Fax+82 53 760 7500
leeyj@taegutec.co.kr
www.iscarkorea.co.kr

Spain

ISCAR IBERICA SA
Tel +34 93 594 6484
Fax+34 93 582 4458
iscar@iscarib.es
www.iscarib.es

Sweden

ISCAR SVERIGE AB

Tel +46 (0) 18 66 90 60
Fax+46 (0) 18 122 920
info@iscar.se
www.iscar.se

Switzerland

ISCAR HARTMETALL AG
Tel +41 (0) 52 728 0850
Fax+41 (0) 52 728 0855
office@iscar.ch
www.iscar.ch

Taiwan

ISCAR Taiwan Ltd.

Tel +886 (0)4-24731573
Fax+886 (0)4-24731530
iscar.taiwan@msa.hinet.net
www.iscar.org.tw

Thailand

ISCAR Thailand Ltd.

Tel +66 (2) 7136633-8
Fax+66 (2) 7136632
iscar@iscarthailand.com
www.iscarthailand.com

Turkey

ISCAR Kesici Takim

TIC. VE. IML. LTD

Tel +90 (262) 751 04 84 (Pbx)
Fax+90 (262) 751 04 85
iscar@iscar.com.tr
www.iscar.com.tr

Ukraine

ISCAR UKRAINE LLC
Tel +38 (050) 440 23 91
info@iscar.com.ua
www.iscar.com.ua

United Arab Emirates
SVRS General Trading LLC
Tel +971 4 342 6699
WWW.SVrS-mena.com

United Kingdom
ISCAR TOOLS LTD.

Tel +44 (0) 121 422 8585
Fax+44 (0) 121 423 2789
sales@iscar.co.uk
www.iscar.co.uk

United States

ISCAR METALS INC.

Tel +1 817 258 3200
Tech Tel 1-877-BY-ISCAR
Fax+1 817 258 3221
info@iscarmetals.com
www.iscarmetals.com

Venezuela

FERREINDUSTRIAL ISO-DIN C.A.
Tel +58 2 632 8211/633 4657
Fax+58 2 632 5277
iso-din@cantv.net

Vietham

ISCAR VIETNAM
(Representative Office)
Tel +84 8 38 123 519/20
Fax+84 8 38 123 521
iscarvn@hcm.fpt.vn
www.iscarvn.com

“© 2013 Iscar Ltd. This document, as well as all information
and other data contained herein and/or derived therefrom,
including but not limited to, all trademarks, logos, trade-
names, concepts, pictures, designs and/or devices, as well
as any data from which any proprietary and/or intellectual
property right may emanate (“Information”), is the sole

and exclusive property of Iscar Ltd. and is protected

by copyright and other applicable laws. No part of any
Information may be used or otherwise disseminated for any
purpose whatsoever without the express prior

written consent of Iscar Ltd.

ltems appearing in this catalog may be improved, amended
or withdrawn without prior notice.”

Please check ISCAR’s online catalog
www.iscar.com for the most current
technical information regarding

our products.

2022

3419151G



SCAR HOLEMAKING LINES

Metric Catalog

Download ISCAR WORLD APP E-CAT

=

[El;l:('lzlé.l!;c CATALOG

DRILLING O TELTIGENTLY

. Member IMC Group
N3] e
A 11|

WWW.iscar.com




